CONTENTS

TECHNICAL SPECIFICATION
DMfit Pneumatic Fittings Spec. ------ 4
_METRICSIZE
PBT Fl"lﬂgs ............................ 7
Mini Fl"lﬂgs ........................... zg
TWU'tDUL’h F,tt,”gs .................... 35
Speed Control Valves ---+---+=---+-- 39
Thrat”e VaIVGS ........................ 42
Hand Valves ........................... 45
Hand Slide Valves «=--=-===+=rsseses 48
Ba” VaIVES ............................. 49
Check Valves .......................... 52
Stap Fl"lﬂgs ............................ 54
Ra[ary Jai”ts .......................... 56
Main Blﬂcks ............................ 59
Palyurethane TUbes ................... 62
Polyethylene Tubes ------+--=++=-=+++- 64
Ny[an TUhes ............................ 65
_INcHSeE_
PBT Fl"l”gs .......................... 66
Mini F,",”gs .......................... 96
Speed Control Valves -------+=---""- 103
Thl’O"l& Valves ....................... 108
Ba” Valves ........................... 113
Check VaIVBS ......................... 116
Stap Flﬁlngs .......................... 118
Ratary Joints ......................... 120
Polyurethane Tubes «--------=--=--- 123
Polyethylene Tubes ----+---=-=+-- 125
Nylﬂn Tubes .......................... 126
TUBE CUTTER & THE OTHERPARTS
coupler series ....................... 128
A ir Gun ................................. 1 39
Silencel's .............................. 1 40



DMfit" Pneumatic Fittings Spec.

DM[fit® PUSH-IN TUBE FITTINGS

Lock Cap : Brass

Sleeve : POM

Tube : Urethane
Nylon
Ethylene

Body : POM, PBT, PP, PPS, Brass
O-Ring : NBR, EPDM, FPM
Backup Ring : POM

Lock : SUS
Material Standards Fluid Media Pressure & Temperature
Material Fittings Color O-ring Fluid Air Water
PBT Condition
o (2 Black
(Polybutylens Terephthalate) oo (10k f/ 2) e (10 3k 2)
Pressure ~1.0Mpal cm ~1. a(10. cm
P. P Black, White P P ’
(Polypropylens) NBR
PIPS _ _
(Polyphenylene Sulfide) Black EPDM Vacuum Pressure|  -750mmHg(10 Torr)
POM FPM
o Blue, Red o o
(Poly Oxy Methylene) Temperature 0°C ~60°C
Brass Gold, Silver
(Brass, Chromium plating) #Make app-opriate selections in case of using water as fluid
Tube Tolerances for DMfit Pneumatic
Tolerance Tolerance . . . .
Metric Size Inch Size Torque Thread | 3 | M5 | Me | us” | 147 | 38 12
Urethane Nylon Urethane Nylon
S $01 | +01 | 1/8” | +0.004” | +0.004” o | Vmum | 11 18 9.0
4 +0.1 +0.1 5/32” | +0.004” | +0.004" Toqe | . gn) 15 30
Bmm +0.1 +0.1 14 +0.004” | +0.004" g | 1 W) | 07 | 1~15 | 1.8~23] 7.0~90|120~ 14| 2.0~ %0|B0~300
8 +0.1 +0.1 5/16”7 | +0.004” | +0.004” ¢
n = = = = 0 oga| 7 | 10415 | 18-23 | 70 ~ 90| 120~ 0| 20 2] 280~ 30
10 mm +0.1 +0.1 3/8” +0.004” | +0.004”
% Make approp-iate selections in case of usingwateras fluid.
12 mm +0.1 +0.1 1/2~ +0.004” | +0.004”
A5 +0.1 +0.1 5/8” +0.004” | +0.004”

e DMfit pneumatic fittings are of one-touch type developed to facilitate connection of fittings with tubes while avoiding the
inconvenience of using existing two-touch fittings in various machining systems and factory automation facilities.

e Existing methods attempt to hold tube with multiple metal pieces. DMfit pneumatic fittings minimize scratches during tube insertion
and disassembly to prevent air leakage while ensuring no leakage through multiple uses. The following steps ensure prevention of

air leakage and facilitate assembly / disassembly.

eoCut the tube end to be
inserted into a fitting using
DM Cutter squarely.

eMake sure the Tube surface

to be inserted is clean
without any defects.

/ N

eRemove foreign matters
from the screw area if any.

e After insertion, pull out the
fitting a little. If you do not
want any slack between
Tube and Fitting, hold
Collet and push Tube in
again. And use DMT's LC
to eliminate the slack inside
of Fitting.

eDo not shake or rotate
Tube when opening Tube
to ensure long life of Fitting
and Tube.

eFittings and Tube can be
reused selectively.

e Push Tube in fully beyond
temporary holding.

eFull insertion is possible
with reasonable force and
Tube surface scratching is
avoided.

eln case of a screw fitting,
use a tool to tighten to
specified torque level (refer
to Page 4).

e Ensure that the pressure
inside of Fitting is zero.
Compress Collet towards
Body fully and separate
Tube.

% When using Fittings for any fluid other than air, please confer
with DMT Technical Department.

¥ Photographs in this catalog may be different from actual
products. Product specifications can be modified for product
development purposes without prior notices.

«POM (Acetal)

POM shows excellent resistance against organic chemicals,
organic compounds, chemical detergents and inorganic
chemicals except strong acids.

o PBT (Polybutylene Terephalate)

PBT is rigid, resilient and tough. It has strong wear resistance
against fatigue induced damage and creeping. It shows
dimensional stability, low friction coefficient, hard surface and
good dynamic friction property of moving parts.

P . P (Polypropylene)
PP presents excellent chemical resistance, even against
ordinary inorganic chemicals.

« PPS (Polyphenylene Sulfide)

PPS is a plastic material of excellent tenacity; high
elasticity and impact strength; excellent thermal stability
and workability. Also, it can be applied to where electric
properties are required.



DMfit"® Pneumatic Fittings Spec.

The outside diameter tolerance of a Tube is allowed tolerance of +0.1mm from the specified diameter. In case of an oblong
tube, we recommend Tubes with a difference between the outside diameter and the inside diameter within 0.2mm.
Excessive pulling or bending of Tube after tubing completion can negatively impact on a product. Please refer to the

following table for bending radius during piping work.

N

[
MAX
H Tube Bending Radius
Standard Type Mini Type
Tube Size
@4 P6 @8 ®10 @12 @3 @4 @6
R 20 30 50 80 150 15 20 30
Standard Type Mini Type
Tube Size
®5/32 | @3/16 | P1/4 ®5/16 | ®3/8 @1/2 ®1/8 @532 | P1/4
R 20 25 30 50 80 150 15 20 30

The following instructions are for correct use of DMfit products for prevention of bodily injuries
and property damages. DMfit products are designed and manufactured for general industrial
mechanical applications and the following instructions must be followed.

A Danger

% Do not use products for any of the following purposes.
(@ Devices for maintenance or management of human
life and body functions.
(@ Devices for transport or movement of people.

(3 Safety devices.

A Warning

@ Do not use products in any of the following circumstances.
@ Conditions and specifications other than those
specified for each product. (Check specified
conditions for each product you wish to use before
using it.)
(@ Outdoor applications.
@ Environments subject to excessive vibration or shock.

@ Environments subject to corrosive gas, chemical, sea
water, water or vapor.
e However, certain exceptions are permitted by product.

Pleases verify usage conditions and specifications of
each product before using.

e Do not disassemble or modify products to suite userJ
usage or purpose. It can cause problems to product
performance.

e Remove all air in product or tubing during product
installation or repair. Residual air pressure can cause
bodily injury.

@ Excessive frequency of air changes can cause product
body overheating, which has the risk of bodily injury.

A Safety Instructions

@ Remove all dust and foreign matters prior to tubing work.
They can cause product malfunction when induced into
adjacent devices.

e When using very soft Tube in PBT unit, make sure to use
Insert Ring inside the Tube of the device. Otherwise, tube
slippage or air leakage can result.

e Do not mix use DMfit products with products of other
manufacturers. This can result in malfunctions or poor
performance. DMT will not be responsible for any
consequences from such product mixed use.

—6 —

e One-touch fittings for pneumatic piping
e Each product comes with diverse functions and dimensions so
that they are widely applicable to all piping situations.

e These one-touch fittings enable easy and safe connection,
separation and repair of pneumatic piping.

e Oblong sleeves facilitate attachment and detachment of tubes
even in confined spaces.

eNickel surface plating presents excellent anti-corrosion
performance.

eIn case of fittings where PBT and Base are integrated, the tube
outlet angle can be varied as desired depending on the
combination of the screw unit and the main body, thus enabling
efficient piping.

eBase branch screw unit has Teflon seal so that it can be
conveniently assembled without separate sealing.

( )

Branch Thread

Backup —Ring
Lock

Lock—Cap
Sleeve

Tube )
O—Ring

ORDER INFORMATION

[B] [TTs] [o6] ([04]) [06] [Mm] - ([BKI)
[

AICLSIRORBR  (4=dm, (6=6m, 08=8m, 10=10m, 12=12m |

Part Name ‘

eAcetal - A
*Polybuzylene Terepshalate(>BT) : B

Tube O.D S o o
Stem O.D 04=4m, 06=6m, 08=8m, 10=10m, 12=12m

(2=PT1/8", 04=PT1/4", 06=PT3/8"
07=PT1/2", M5=N5X (.87, MG=MbX 1.0P

SUSORRE  (d=dmm, 06=6m, 08=8m, 10= 10m, 12=12m

Metric Size - M '_
Body Color [EsEWEREl '7

Thread Type

Specification

Fluid Alr
Pressure 0 ~ 1.0Mpa (10kgf/cm?)
Vacuum —750mmHg(10Torr)

Hose Used Polyurethane, Nylon, Polyethylene

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product Catalog
before using products.

eWhen assembling a tube to a fitting, make sure the tube is fully
inserted into a fitting as shown in the diagram. Also, do not bend
tube for assembly. Abnormal assembly can cause air leak or tube
slippage.

eln case the fluid used is water, please verify product specification
for water before using products.



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
Tube O.D Tube O.D OrficeDia. - Qty Tube O.D
Parts No. #D1 $D2 $P1l ¢P2 pd (gmm) (EA) Parts No. sD C 2] oP Qty (EA)
BUC 0404M 4 4 10 | 10 | 14 | 14 | 29 | 14 | 32 | 2 | 100 BPL 04M 4 135 195 125 100
BUC 0604M 6 4 12|10 | 16 | 14 | 25 | | o, | 3 | 50 BPL 06M 6 16.5 22 15 100
BUC 0606M 6 12| 12 | 16 | 16 | 33 IERES BPL 08M 8 17 23 7 100
BUC 0806M 6 14 | 12 | 17 | 16 | 27 4 | 50 BPL 10M 10 195 205 19 20
— 8 18 | 4.2 BPL 12M 12 23 30 21 50
BUC 0808M 8 14 | 14 | 17 | 17 | 35 5 | 50 BPL 16M 16 24 34 255 25
BUC 1008M 10 8 175| 14 | 20 | 17 | 38 | |, | 6 | 50 R
BUC 1010M 10 175|175 | 20 | 20 | 41 7 | 25 L
BUC 1210M 1 215|175| 22 | 20 | 4 7 |2 S I e E et B
T I L 12 O 5 5 0 3 23 42 5
] BUC 1212M 12 215|215 | 22 | 22 | 44 8 | 20
C1 BUC 1612M 6 12 255|215 | 24 | 22 | 47 | | ., | 10| 10 C
B BUC 1616M 16 255|255 | 24 | 24 | 49 10 | 10
(Unit:mm)
Tube O.D PT Thread Hex Qty
Y- W Stem Adapter Parts No. D B A B L C VAR
___Wnimm) BSA 04M5M M5X0.8 4 27 9 7 10 100
Parts No.  lube O.D Orfice Dia. — Qty BSA 0402M 4 PT1/8 10 33 145 135 14 100
¢D (gmm) (EA) BSA 0404M PT1/4 14 36.5 16 135 17 100
BEU 0404M BSA 06M5M M5X0.8 4 27 9 7 10 50
BEU 0606M 6 12 16 20 26 8 3.2 4 50 BSA 0602M 6 PT1/8 10 34 125 16.5 14 50
BEU 0808M 8 14 17 23 30 9.5 4.2 6 S0 BSA 0604M PTL/4 14 38 15 16.5 17 50
BEU 1010M 10 175 20 27 36 1 4.2 7 25 A " BSA 0606M PT3/8 14 38 15 16.5 19 50
BEU 1212M 12 215 22 31 42 13 4.2 8 20 / BSA 0802M PTL/8 10 345 105 17 17 50
BEU 1616M 16 25.5 24 35 48 13 5.3 13 10 — BSA 0804M PTL/4 14 39.5 15 17 17 50
\ —— 8
- H %I BSA 0806M PT3/8 14 395 15 17 19 50
c =] BSA 0807M PTL/2 19 435 155 195 24 50
J7 . o BSA 1002M PTL/8 10 38.5 105 385 385 25
re B BSA 1004M 10 PTL/4 14 425 16 385 385 25
BSA 1006M PT3/8 14 43 165 385 19 25
BSA 1007M PTL/2 19 44.5 155 38.5 24 25
BSA 1206M 1 PT3/8 14 46 165 23 24 20
BSA 1207M PTL/2 19 51 185 23 24 20
BSA 1606M 16 PT3/8 14 50 17 24 24 10
- BSA 1607M PTL2 19 55 19 24 24 10
(Unit:mm)
Tube O.D Tube O.D Oficel Qty
Lo ChiosS oD D2 59 (gun) EA)
f T D T D rfice Dia.
{0V Tee Union Parts No. UbeDOl UbeD02 6P1 ¢P2 ClL C2 sd ?@?}ma; (%% BCRS 0404M 4 4 10 [ 10 | 14 | 14 | 17 |17 | 7 | 7 | 32| 3 |100
4 ¢ BCRS 0606M 6 6 12121616 [ 20[20] 8] 8 [32] 5[50
BTU 0404M 4 4 10 | 10| 14 | 14 | 17| 17 | 55| 32 | 2 | 100 BCRS 0806M 8 6 14 |12 [ 17 [ 16 | 2320 [95]| 8 [42] 7 |50
BTU 0604M ; 4 12 | 12| 161 12| 20| 18 | 75| 32 | 5 | 50 BCRS 0808M 8 14 [ 14 |17 |17 [ 23 [ 23 [ 95| 95[42] 7 |50
BCRS 1008M 8 17514 |20 |17 [ 27 [ 23 [ 11 [95[42] 8 [ 25
: : — e g
BTU 0606M 6 12 | 12] 16| 16| 20) 20 | 65| 32| 4 | 30 BCRS 1010M 0 10 175|175 20 [ 20 | 27 [ 27 [ 11| 11 [42] 8 |25
BTU 0806M 8 6 14 | 12| 17 | 16 | 23| 22 | 9 | 42 | 5 | 50 " BcRsT2iM | 10 21511751 22 120 131 | 27 | 13| 11 (22 10| 20
BTU 0808M 8 14 | 14 | 17 | 17 | 23| 23 | 95| 42 | 6 | 50 Ei BCRS 1212M 12 215|215] 22 | 22 | 31|31 | 13| 13| 42| 10| 20
o6l Sk BTU 1008M 10 8 175 | 12 | 20 | 16 | 27| 25 | 105| 42 | 8 | 25 e
— | BTU 1010M 10 |175| 175| 20 | 20 | 27| 27 | 11 | 42 | 7 | 25 M\; j====y
Lammn I BTU 1210M 1 10 |215| 175| 22 | 20 | 31| 29 | 11 | 42 | 8 | 20 e NG ss
[l i I | (1] i
jits @k il BTU 1212M 12 |215| 215 22 | 22| 31| 31 | 13 | 42 | 10 | 20 i VA =
8 % BTU 1616M 16 16 | 255 | 255| 24 | 24 | 35| 35 | 13 | 42 | 10 | 10 & 0= Rt
[Lr——# Dc
, ==
?D2




PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
i Tube O.D  Stem O.D Orifice Dia.  Qty Tube O.D  Stem O.D OrficeDia. - Qty
1128 Tube Elbow Union Parts No. 5D1 D2 B () (A Parts No. D1 D2 gP1 P2 Cl L (oo BR)
BTEU 0404M 4 4 325 10 14 7 17 2 100 BOC 0404M 4 4 175(175| 10 | 10 | 14 | 14 | 30 | 2 | 100
BTEU 0406M 6 36.5 10 14 8 17 3 100 BOC 0406M 6 205|175 | 12 | 10 | 16 | 14 |315| 2 | 100
BTEU 0606M 5 6 36.5 12 16 8 20 4 50 BOC 0606M 5 6 205|205 | 12 | 12 | 16 | 16 |315| 4 | 50
BTEU 0608M 8 36.5 12 16 8 20 4 50 BOC 0608M 8 24 |205| 14 | 12 | 17 | 16 | 40 | 4 | 50
BTEU 0808M 8 8 40 14 17 8 23 6 50 BOC 0808M 8 8 24 | 24 | 14 | 14 | 17 | 17 | 42 | 6 | 50
BTEU 0810M 10 405 14 17 10 23 7 50 BOC 0810M 10 28 | 24 |175| 14 | 20 | 17 | 47 | 6 | 50
oP BTEU 1010M 10 10 455 | 175 20 10 27 8 25 BOC 1010M 10 10 28 | 28 |175|175| 20 | 20 | 50 | 7 | 25
204 BTEU 1012M 12 455 | 175 20 10 27 7 25 g BOC 1012M 12 32 | 28 |215|175] 22 | 20 [565| 7 | 25
. . BTEU 1212M 12 12 515 | 215 22 | 105 31 12 20 BOC 1212M 12 12 32 | 32 |215|215| 22 | 22 |[585| 8 | 20
S | | BTEU 1616M 16 16 585 | 255 24 13 35 12 10 >
(] .
BRI O
\ i =
U [ —
- Cc2
B
(Unit:mm)
Tube O.D  Stem O.D OrificeDia. ~ Qty.
Offset Connector Stem Parts No. 4D1 5D2 (omm) (BA)
BOCS 0404M 4 4 58.5 10 14 " 17 ) 100
BOCS 0406M 6 62.5 100
: BOCS 0606M 6 68 50
- BOCS 0608M 6 8 68 12 16 16 20 4 50
i Tube O.D  Stem O.D OrificeDia. ~ Qt
TE U -I_ Tube Elbow UﬂlOﬂ'LOﬂg Parts No. ¢ D1 D2 B E ( Zmm) (%X) BOCS 0808M 8 8 76 14 17 17 93 5 50
BTEU 0404ML 4 4 43 10 14 7 17 2 100 BOCS o81oM 10 815 20
BOCS 1010M 10 89.5 25
BTEU 0606ML 6 6 54 12 16 8 20 4 50 ~Bocs o2 | 10 o %8 17.5 20 20 27 T e
BTEU 0808ML 8 8 57 14 17 8 23 6 %0 BOCS 1212M 12 12 104 | 215 22 22 31 8 20
BTEU 1010ML 10 10 63 17.5 20 10 27 7 25
BTEU 1212ML 12 12 73 215 22 10.5 31 8 20
BTEU 1616ML 16 16 80 255 24 13 35 12 10
1
i
IL. {Unit:mm)
Tube O.D PT Thread Hex O0ificeDia. Qty

Parts No.

¢D R (gmm) (EA)
BOCB 04M5M M5X0.8 5 335 | 315 12 2.5 | 100
BOCB 04M6M M6X1.0 6 345 | 325 12 2.5 | 100
BOCB 0402M 4 PT1/8 8 38 34 10 | 14 17 12 2.5 | 100
BOCB 0404M PT1/4 11 41 35 14 2.5 | 100
BOCB 0406M PT3/8 12 42 | 355 17 2.5 | 100
BOCB 06M5M M5X0.8 5 38 | 315 12 25 | 50
BOCB 06M6M M6X1.0 6 39 | 325 12 25 | 50
BOCB 0602M 6 PT1/8 8 425 | 385 12 | 16 19 12 4 50
. BOCB 0604M PT1/4 11 | 455 | 395 14 4 50
m ReDucer Parts No. Tube O.D  Stem O.D . Qty BOCB 0606M PT3/8 12 | 465 | 40 17 4 | 50
pD1 ¢ D2 (2mm)  (EA) BOCB 0607M PT1/2 15 | 495 | 415 22 | 4 | 50
BRD 0406M 4 6 39 31 16 8 3 100 BOCB 0802M PT1/8 8 46 42 17 6 50
BRD 0408M 8 41 33 16 8 3 100 BOCB 0804M 8 PT1/4 11 49 43 14 | 17 22 17 6 50
BRD 0608M 8 43 35 17 8 5 50 BOCB 0806M PT3/8 12 50 | 435 17 6 50
BRD 0610M 6 10 45 35 17 10 5 50 AL BOCB 0807M PT1/2 15 53 45 22 6 50
BRD 0612M 12 47 37 17 10 5 50 [ Metic Secrew BOCB 1002M PT1/8 8 53 49 17 7 25
BRD 0810M . 10 48 38 18 | 10 7 50 ” BOCB 1004M i, PTI4_| 11 | 56 | 50 | | oo | ,5 |17 | 7 | 25
BRD 0812M 12 49 38 18 10.5 7 50 BOCB 1006M PT3/8 12 57 | 50.5 ' 17 7 25
L C 1 2 o BRD 1012M 10 12 52 52 17.5 18 10.5 8 25 BOCB 1007M PT1/2 15 60 52 22 7 25
SIS qamer gm S BOCB 1202M PT1/8 8 66.5 | 62.5 22 7 20
BOCB 1204M PT1/4 11 | 695 | 63.5 22 75 | 20
—‘* —— [?m BOCB 1206M 12 PT3/8 12 | 705 | 64.5 215\ 22 28 22 9 20
- BOCB 1207M PT1/2 15 | 735 | 65.5 22 9 20

—10 — —11 —



PBT FITTING

m Elbow Union Branch

N

2

Metric Screw
Type

U)W Elbow Union Branch-Long

Metric Screw

Type

(Unit:mm)
Tube O.D PT Thread Hex OQificeDia. Qt

Parts No. 5D n @mm) (%X)
BEUB 04M5M M5X0.8 4 23 24 10 2.5 100
BEUB 04M6M M6X1.0 4 23 24 10 2.5 100
BEUB 0402M 4 PT1/8 8 245 | 255 10 14 17 10 25 100
BEUB 0404M PT1/4 11 275 | 265 14 2.5 100
BEUB 0406M PT3/8 12 29.5 28 17 2.5 100
BEUB 06M5M M5X0.8 4 25 27 12 2.5 50
BEUB 06M6M M6X1.0 4 25 27 12 2.5 50
BEUB 0602M 6 PT1/8 8 26.5 | 285 12 16 19 12 4 50
BEUB 0604M PT1/4 11 29.5 | 295 14 4 50
BEUB 0606M PT3/8 12 31.5 31 17 4 50
BEUB 0607M PT1/2 15 345 34 17 6 50
BEUB 0802M PT1/8 8 28,5 | 315 14 6 50
BEUB 0804M s PT1/4 11 315 | 325 14 17 22 14 6 50
BEUB 0806M PT3/8 12 33 335 17 6 50
BEUB 0807M PT1/2 15 37 36 22 6 50
BEUB 1002M PT1/8 8 335 | 385 17 7 25
BEUB 1004M PT1/4 11 35 375 17 7 25
BEUB 1006M 10 PT3/8 12 36.5 39 175 20 26 17 7 25
BEUB 1007M PT1/2 15 40.5 | 40.5 22 7 25
BEUB 1202M PT1/8 8 355 | 375 22 7 20
BEUB 1204M PT1/4 11 38.5 | 385 22 7.5 20
BEUB 1206M 12 PT3/8 12 39.5 39 215) 22 28 22 9 20
BEUB 1207M PT1/2 15 43.5 41 22 9 20
BEUB 1606M PT3/8 12 71 77 24 9 10
BEUB 1607M 16 PT1/2 15 74 78 25 24 35 24 9 10

e In case of the parts assembled with Branch, Its Pastic Body rotates so easily after the screw tighten.

(Unit:mm)
Tube O.D PT Thread Hex OificeDa Qt

Parts No. 5D i (@mm) (%K)
w M5X0.8 4 30.5 | 315 10 2.5 100
BEUB 04M6ML M6X1.0 4 30.5 | 315 10 2.5 100
BEUB 0402ML 4 PT1/8 8 36.5 | 37.5 10 14 17 10 2.5 100
BEUB 0404ML PT1/4 11 39.5 | 385 14 2.5 100
BEUB 0406ML PT3/8 12 40.5 | 39.5 17 2.5 100
BEUB 06M5ML M5X0.8 4 355 | 375 12 25 50
BEUB 06M6ML M6X1.0 4 355 | 375 12 2.5 50
BEUB 0602ML 6 PT1/8 8 38 39 12 16 19 12 4 50
BEUB 0604ML PT1/4 11 41 42 14 4 50
BEUB 0606ML PT3/8 12 42 43 17 4 50
BEUB 0607ML PT1/2 15 45 46 22 4 50
BEUB 0802ML PT1/8 8 425 | 455 12 6 50
BEUB 0804ML s PT1/4 11 455 | 48.5 14 17 22 14 6 50
BEUB 0806ML PT3/8 12 46.5 | 49.5 17 6 50
BEUB 0807ML PT1/2 15 495 | 525 22 6 50
BEUB 1002ML PT1/8 8 51 56 12 7 25
BEUB 1004ML PT1/4 11 54 59 14 7 25
BEUB 1006ML 10 PT3/8 12 55 60 175 20 26 17 7 25
BEUB 1007ML PT1/2 15 58 63 22 7 25
BEUB 1202ML PT1/8 8 575 | 59.5 12 75 20
BEUB 1204ML PT1/4 11 60.5 | 62.5 14 7.5 20
BEUB 1206ML 12 PT3/8 12 61.5 | 63.5 215 22 28 17 9 20
BEUB 1207ML PT1/2 15 64.5 | 66.5 22 9 20

e When more than two Elbow Union fitinto the tube in same direction, Theycan fit inthe steps style

m Elbow Union branch Female

ELB

Elbow union Long Branch

?

B

.
LU

Metric Screw
Type

ts No.

Tube O.D PT Thread

oD R

DMfir

(Unit:mm)

Hex OificeDia.  Qty
H (gmm) (EA)

Parts No.

Tube O.D PT Thread
oD R

BEUF 04M5M M5X0.8 5 18 10 2.5 100
BEUF 04M6M 4 M6X1.0 5 18 10 14 14 10 2.5 100
BEUF 0402M PT1/8 6 23 14 2.5 100
BEUF 0404M PT1/4 9 26 17 2.5 100
BEUF 06M5M M5X0.8 5 18 12 2.5 50
BEUF 06M6M M6X1.0 5 18 12 2.5 50
BEUF 0602M 6 PT1/8 6 25 12 16 19 14 2.5 50
BEUF 0604M PT1/4 9 28 17 2.5 50
BEUF 0606M PT3/8 12 29 22 2.5 50
BEUF 0802M PT1/8 9 27 14 5 50
BEUF 0804M 8 PT1/4 12 30 14 17 22 17 5 50
BEUF 0806M PT3/8 13 31 22 5 50
BEUF 1004M PT1/4 12 33 17 7 25
BEUF 1006M 10 PT3/8 13 34 17 20 26 22 7 25
BEUF 1007M PT1/2 16 37 24 7 25
BEUF 1206M PT3/8 13 34 22 9 20
BEUF 1207M 12 PT1/2 16 37 215 22 81 24 9 20
{(Unit:mm)

Hex O0ificeDia. Qty
(gmm) (EA)

BELB 04M5M M5X0.8 4 31 32 10 25 | 100
BELB 04M6M M6X1.0 4 31 32 10 25 | 100
BELB 0402M 4 PT1/8 8 36 37 10 14 17 10 25 | 100
BELB 0404M PT1/4 11 39 38 14 25 | 100
BELB 0406M PT3/8 12 40.5 39 17 25 | 100
BELB 06M5M M5X0.8 4 355 | 375 12 25 50
BELB 06M6M M6X1.0 4 355 | 375 12 25 50
BELB 0602M 6 PT1/8 8 38 40 12 16 19 12 4 50
BELB 0604M PT1/4 11 42 42 14 4 50
BELB 0606M PT3/8 12 44.5 44 17 4 50
BELB 0802M PT1/8 8 425 | 455 14 6 50
BELB 0804M s PT1/4 11 46.5 | 475 14 17 29 14 6 50
BELB 0806M PT3/8 12 48 48.5 17 6 50
BELB 0807M PT1/2 15 525 | 515 22 6 50
BELB 1002M PT1/8 8 50.5 | 55.5 17 7 25
BELB 1004M 10 PT1/4 11 535 | 56.5 175 20 2 17 7 25
BELB 1006M PT3/8 12 55 57.5 17 7 25
BELB 1007M PT1/2 15 58.5 | 59.5 22 7 25
BELB 1202M PT1/8 8 56 63 21 7 20
BELB 1204M PT1/4 11 59 64 21 7.5 20
BELB 1206M 12 PT3/8 12 60.5 65 25| 22 2 21 9 20
BELB 1207M PT1/2 15 64 67 22 9 20
BELB 1606M PT3/8 12 71 77 24 9 10
BELB 1607M 16 PT1/2 15 74 78 2 24 = 24 9 10

e When more than two Elbow Union fitinto the tube in same direction, They can fit in the steps style




PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
Mele e swivel Branch Parts No. U b; OD PTThread £ Hex E)gfre] E:]a) ((é% FTIB ke Tu bg OD PTThread Hex ?rén?re] rn};a) (%%
BMTB 04M5M M5x0.8 | 4 | 23 | 24 10 | 25 | 100 BFTB 04M5M M5x08 | 5 | 18 7 | 10 | 25 | 100
BMTB 04M6M MeX10 | 4 | 23 | 24 10 | 25 | 100 BFTB 04M6M A mexLo | 6 |19 | | |, [ 8 [ 10[25]100
BMTB 0402M 4 PTL/8 8 | 24 |255 | 10| 135|135 | 10 | 25 | 100 BFTB 0402M PT1/8 8 | 23 12 [ 14 | 25 [ 100
BMTB 0404M PT1/4 11 [ 27 | 26 14 [ 25 | 100 BFTB 0404M PT1/4 1 | 2 15 [ 17 | 25 [ 100
BMTB 0406M PT3/8 12 [ 29 | 28 17 [ 25 | 100 BFTB 06M5M M5Xx08 | 5 | 20 7 | 12 | 25 ] 50
BMTB 06M5M M5x0.8 | 4 | 25 | 27 12 [ 25 | 50 BFTB 06M6M Mex10 | 6 | 21 8 | 12 | 25| 50
BMTB 06M6M MeXx10 | 4 | 25 | 27 12 [ 25 | 50 BFTB 0602M 6 PTL/8 8 | 25 | 12| 16 | 19 | 12 | 14 | 25 | 50
; BMTB 0602M 6 PTL/8 8 | 26 |285| 12| 155| 16 | 12 | 4 | 50 £ BFTB 0604M PT1/4 11 | 28 15 | 17 | 25 [ 50
—— BMTB 0604M PT1/4 11 | 29 | 29 14 | 4 | 50 C 1 BFTB 0606M PT3/8 12 | 29 16 | 22 | 25 | 50
. alt BMTB 0606M PT3/8 12 [ 31 | 31 17 [ 4 [ 50 A [ I I BFTB 0802M PTL/8 8 | 27 12 [ 14 [ 5 [ 50
e BMTB 0802M PTL/8 8 | 285|315 14 [ 6 | 50 i R BFTB 0804M 8 PT1/4 11 [ 30 | 14| 17 | 22 [ 15 | 17 [ 5 | 50
T I BMTB 0804M 8 PT1/4 1 [315[325 | || g, [ 14 [ 6 [ 50 i Ly BFTB 0806M PT3/8 12 | 31 16 | 22 | 5 | 50
BMTB 0806M PT3/8 12 | 33 [335 17 [ 6 | 50 - . BFTB 1004M PT1/4 11 | 33 15 [ 17 [ 7 [ 25
’ N l lr BMTB 0807M PT1/2 15 [ 37 | 36 2 [ 6 | 50 . . BFTB 1006M 10 PT3/8 12 | 34 | 17| 20 | 26 | 16 | 22 [ 7 | 25
“ ]ﬂﬂ‘% ! = BMTB 1002M PTL/8 8 | 335 38 17 [ 7 | 25 BFTB 1007M PT1/2 15 | 37 19 [ 24 | 7 [ 25
e sren BMTB 1004M PT1/4 11 | 35 [375 17 [ 7 [ 25 H R BFTB 1206M PT3/8 12 | 36 16 | 22| 9 [ 2
" BMTB 1006M 10 PT3/8 12 365 388 | 0 19| [T [ 7 [ s BFTB 1207M 12 PT1/2 15 | 30 | 2% 2 |3 oo [ 9 | 20
BMTB 1007M PT1/2 15 405 | 41 2 [ 7 |2
BMTB 1202M PTL/8 8 |[355 | 425 21 [ 7 [ 20
BMTB 1204M PT1/4 11 [385 (435 | . | i | ,5 | 21 [ 75 [ 20
BMTB 1206M 12 PT3/8 12 [ 395 | 44 21 [ 9 | 20 Un it
BMTB 1207M PT1/2 15 [ 435 | 46 2 [ 9 [ 20
BMTB 1606M 16 PT3/8 12 | 71| 77 o5 | o4 | a5 |24 | © [ 10 i Parts No. 'Y bgé).D PT Tgread Hex ?gma) (%%
BMTB 1607M PT1/2 15 | 74 | 78 24 | 9 | 10
BFRB 04M5M M5X08 | 5 | 35 7 | 10 | 25 | 100
BFRB 04M6M A mexLo | 6 | 3 | .| | ,, | 8 [ 10 [ 25]100
BFRB 0402M PT1/8 8 | 40 12 [ 14 | 25 [ 100
BFRB 0404M PT1/4 11 | 43 15 [ 17 | 25 [ 100
BFRB 06M5M M5x08 | 5 | 40 7 | 12 | 25] 50
BFRB 06M6M MEXL0 | 6 | 41 8 | 12 | 25| 50
BFRB 0602M 6 PT1/8 8 | 45 | 12| 16 | 19 | 12 | 14 | 25 | 50
. BFRB 0604M PT1/4 11 | 48 15 | 17 | 25 | 50
3 - BFRB 0606M PT3/8 12 | 49 16 | 22 | 25 [ 50
c BFRB 0802M PT1/8 8 | 49 12 [ 14 | 5 [ 50
S ‘ R BFRB 0804M 8 PT1/4 11 | 52 | 14| 17 | 22 | 15 | 17 | 5 | 50
i (7 BFRB 0806M PT3/8 12 | 53 16 | 22 | 5 [ 50
Unt:mm) U= 57/ BFRB 1004M PT1/4 11 | 59 15 [ 17 [ 7 [ 50
Tube OD PT Thread Hex 0ifieda Qty — e BFRB 1006M 10 PT3/8 12 | 60 | 17| 20 | 26 | 16 | 22 | 7 | 25
Parts No. ) A BFRB 1007M PT1/2 15 | 63 19 | 24 7 | 25
¢D R (gmm) (EA) )
BFRB 1206M PT3/8 12 | 66 16 | 22 [ 9 [ 20
~ BMRB04M5M | M5x08 | 4 | 23 | 36 10 | 25 | 100 —rreom 1 12 = 5 Teo | 285| 22 | 31 oo a0
BMRB 04M6M Mex10 | 4 | 23 | 36 10 [ 25 | 100
BMRB 0402M 4 PTL/8 8 [ 24 [ 37 | 10| 14| 17 [ 10 | 25 | 100
BMRB 0404M PT1/4 11 [ 27 | 38 14 [ 25 | 100
BMRB 0406M PT3/8 12 [ 29 | 40 17 [ 25 | 100
BMRB 06M5M M5x0.8 | 4 | 25 | 40 12 [ 25 | 50
BMRB 06M6M M6X10 | 4 | 25 | 40 12 [ 25 | 50 Unit:mm)
( ] BMRB 0602M 6 PT1/8 8 26 | 42 12| 16 | 19 | 12 | 25 | 50 Parts No Tube O.D Tube O.D 3 OrficeDia. Qty
ale £ BMRB 0604M PT1/4 11 29 43 14 25 | 50 : ¢ D1 »D2 (gmm) (EA)
N e BMRB 0606M PT3/8 | 12 | 31 | 44 17 | 25 | 50 BTD 0404M 4 4 3 | 10 | 10 | 14 | 14 | 32| 14 | 10 | 3 | 100
I BMRB 0802M PT1/8 8 |285 | 46 14 | 6 | 50 BTD 0604M 6 4 37 [ 12 [ 10 16 | 14 | 32] 14 | 10 | 3 [ 50
A BMRB 0804M s PTL/4 11 | 315 | 47 14| 17 | 9o 114 | 6 | 50 BTD 0606M 6 38 | 12 [ 12 [ 16 |16 | 32] 16 |155] 5 [ 50
N = BMRB 0806M PT3/8 12 | 33 | 48 17 6 | 50 BTD 0804M 4 38 | 14 [ 1017 |14 | 32] 14| 10 ] 3 [ 50
. BMRE 0807M PT1/2 15 | 87 | 51 22 6 | 50 ~ BTDO8OGBM | 8 6 41 [ 14 [ 12 [ 17 |16 | 32] 16 | 12 | 5 [ 50
oS BMRB 1002M PT1/8 8 |8335] 55 7 | 7 | 25 ~ BTDO080SM | 8 45 | 14 [ 14 [ 17 [ 17 [ 42| 19 [165] 7 [ 50
Sy A0 BMRB 1004M 10 PT1/4 11 185 |5 |V o5] 90 | 26 2| 7 |25 BTD 1006M 6 41 [175] 12 [ 20 [ 16 | 32| 16 | 12 [ 5 [ 50
Metrc Screw BMRB 1006M PT3/8 12 | 365 | 56 17 7125 XS 5 BTD 1008M 10 8 48 [175] 14 [ 20 | 17 | 42| 19 | 14 | 7 [ 25
e BMRB 1007M PT1/2 15 | 05 | 58 2 | 7 | 2 Jle F 2 |2k ~ BTD1010M | 10 49 [175[175] 20 [ 20 | 42| 21 [195] 7 [ 25
__ BMRB1202M | PT1/8 8 |35 6 22 | 7 | 20 i *ﬁ% i) BTD 1208M 8 48 [215] 14 | 22 [17 | 42| 19 [ 14 | 7 | 25
BMRB 1204M 12 PT1/4 11 38.5 63 21.5 22 30 22 7.5 20 ‘L } t {(— i W 12 10 52 215|175]| 22 20 4.2 21 175 7 20
BMRB 1206M PT3/8 12 |395] 63 22 | 9 | 20 > iy il ~ BTD1212M | 12 54 [215]215] 22 | 22 | 42| 23 | 21 | 10 | 20
BMRB 1207M PT1/2 15 | 435 | 66 22 9 | 20 11 L ji
BMRB 1606M 1 PT3/8 12 [ 43 [ 66 | o | 45 |24 [ o [ 10 e .
BMRB 1607M PT1/2 15 | 46 | 67 24 [ 9 | 10

—14 — —15 —



PBT FITTINGS

(Unit:mm)
A Tube O.D Stem O.D OrificeDia. Qt
(D) 28 oo vay Divider Reducer Parts No. T3¢0 Sten D ) (B2)
BTDR 0406M 4 6 32| 55 | 47 | 10 8 | 14 | 10 | 14 | 4 | 100
BTDR 0608M 6 8 32|60 | 50 | 12 8 | 16 | 12 | 16 6 | 50
BTDR 0810M 8 10 42|69 | 60 | 14 | 10 | 17 | 14 | 19 7 | 50
BTDR 1012M 10 12 42 | 755 | 66 | 17.5| 105| 29 |175| 21 | 8 | 25
o Different size between the Tube and the Stem
* ul
‘ ==
L
(Unit:mm)
44 0]: 3 Twoway Divider Branch Parts No. T“b;é’-D AR g Hex ?ma). (%%
BTDB 04M5M M5X0.8 4 | 43 | 39 10 | 2.5 | 100
BTDB 04M6M M6X1.0 4 | 43 | 39 10 | 2.5 | 100
BTDB 0402M 4 PT1/8 8 |45 | 41| 10| 14 | 16 | 32| 10 | 10 | 2.5 | 100
BTDB 0404M PT1/4 11 | 48 | 41 14 | 2.5 | 100
BTDB 0406M PT3/8 12 | 50 | 43 17 | 2.5 | 100
BTDB 06M5M M5X0.8 4 | 46 | 42 12 | 25| 50
o B BTDB 06M6M M6X1.0 4 | 46 | 42 12 | 25 | 50
R — BTDB 0602M 6 PT1/8 8 |46 | 43| 12|16 | 16 | 32| 12 | 12 | 4 | 50
[ z ™ BTDB 0604M PT1/4 11 | 50 | 44 14 | 4 | 50
7L i K M BTDB 0606M PT3/8 12 | 52 | 46 17 | 4 | 50
- %LE%; BTDB 0802M PT1/8 8 | 53 | 49 14 | 6 | 50
10 e BTDB 0804M PT1/4 11 | 56 | 50 14 | 6 | 50
I BTDB 0806M 8 PT3/8 12 (57 s | ¥V 421 T so
BTDB 0807M PT1/2 15 | 61 | 53 22| 6 | 50
L%@ BTDB 1002M PT1/8 8 | 59 | 55 17| 7 | 25
. BTDB 1004M 10 PT1/4 1161155 | ool o0 | | 4|15 27 |25
Type BTDB 1006M PT3/8 12 | 62 | 56 17| 7 | 25
BTDB 1007M PT1/2 15 | 66 | 58 2| 7 | 25
BTDB 1202M PT1/8 8 | 62 | 58 22| 7 |20
BTDB 1204M PT1/4 11 | 65 | 59 22 | 75| 20
BTDB 1206M 12 PT3/8 12 |66 | 60 | 21|22 | 2| 421215 e %0
BTDB 1207M PT1/2 15 | 70 | 62 22 9 | 20
(Unit:mm)
Tube O.D Stem O.D Orifice Dia. t
Parts No. sD1  4D2 (2mm) (%Ay)
BTDS 0404M 4 4 52 45 10 3.2 10 15 2 100
BTDS 0606M 6 6 57 49 12 3.2 12 16 4 50
BTDS 0808M 8 8 64 54 14 4.2 14 18.5 6 50
BTDS 1010M 10 10 705 | 605 | 17.5 4.2 175 | 205 7 25
BTDS 1212M 12 12 77.5 67 21.5 42 | 215 22 8 20

1

>

DMfir

(Unit:mm)

Tube O.D Tube O.D Orffce Dia. Qty
Parts No. D1 #D2 B g¢gPl1 gP2 C1 C2 J gd (gmm) (EA)

BFU 0406M 4 6 37 | 12 | 10 | 16 | 14 | 10 | 13 | 32| 3 | 25

BFU 0608M 6 8 45 | 14 | 12 | 17 | 16 | 12 | 16 | 32| 5 | 20

mmm N
J H I ¥// N #
! }; \\\ B;
I —

{Unit:mm)

Tube O.D PT Thread Hex OificeDia.  Qty

Parts No. 4D Rc () (EA)

BFUB 0402M PT1/8 8 45 41 0| 1| 10 12 4 25

BFUB 0404M 4 PT1/4 11 | 48 42 14 4 25

BFUB 0602M PT1/8 8 54 50 14 6 20

BFUB 0604M 6 PT1/4 11 57 51 12 | 16 | 12 14 6 20

BFUB 0606M PT3/8 12 59 52 17 6 20

D
| Has
D) -%%
U

(Unit:mm)

Tube O.D Stem O.D Orfice Dia.  Qty
Parts No. D1 3D2 B g¢P1 gP2 C1 C2 J ¢d (gnm) (EA)

BFUR 0406M 4 6 55 | 10 | 12 | 14 | 8 | 10 | 13 | 32| 4 | 25

BFUR 0608M 6 8 65 | 12 | 14 | 16 | 8 | 12 | 16 | 32| 6 | 20




eSS

UEJ

Universal Elbow Joint

(Unit:mm)
Tube O.D PT Thread Hex OrficeDia.  Qt
Parts No. 5D B A B b (amm) (%&’)
BUEF 04M5M M5X0.8 35 22 | 185 18 8 25 | 100
BUEF 04M6M 4 M6X1.0 35 22 | 185 | ., 18 8 25 | 100
BUEF 0402M PT1/8 8 305 | 265 19 12 5 100
BUEF 0404M PT1/4 11 | 335 | 295 19 17 7 100
BUEF 06M5M M5X0.8 35 24 | 205 20 8 25 | 50
BUEF 06M6M M6X1.0 35 24 | 205 20 8 25 | 50
BUEF 0602M 6 PT1/8 8 325 | 285 | 12 | 16 21 12 5 50
BUEF 0604M PT1/4 11 38 32 23 17 7 50
BUEF 0606M PT3/8 12 39 33 24 19 10 50
BUEF 0802M PT1/8 8 355 | 315 23 12 5 50
BUEF 0804M 8 PT1/4 11 41 35 14 | 17 25 17 7 50
BUEF 0806M PT3/8 12 43 37 26 19 10 50
BUEF 1002M PT1/8 8 41 35 28 17 5 25
BUEF 1004M 10 PT1/4 11 44 3 | 175 | 21 28 17 7 25
BUEF 1006M PT3/8 12 46 40 29 19 10 25
BUEF 1204M PT1/4 11 49 43 31 19 7 20
BUEF 1206M 12 PT3/8 12 50 44 | 215 | 22 31 19 10 20
BUEF 1207M PT1/2 15 | 57.5 | 495 34 24 12 20

Parts No.

Tube O.D Metric Thread
¢ D M

Al

(Unit:mm)

Hex OifceDa. Qty
H (gmm) (EA)

e

Metric Screw

BUEJ 04MO08M 4 M8X1.0 | 85 | 8 315 | 23 | 10| 14 | 19 | 12 | 4 | 100
BUEJ 06M08M M8X1.0 | 85 | 8 |315| 23 | 12| 16 | 21 | 12 | 4 | 50
BUEJ 06M12M 6 M12X10 | 85 | 8 | 32 [235| 12| 16 | 23 | 17 7 | 50
BUEJ 08M12M M12X10 | 85 | 8 | 35 [265| 14| 17 | 25 | 17 7 | 50
BUEJ 08M14M 8 M14X1.0 6 7 |33 | 27| 14| 17 | 26 | 19 | 75 | 50
BUEJ 10M14M 10 M14X1.0 6 7 | 3 | 30 | 175| 20 | 29 | 19 | 75 | 25
BUEJ 12M14M M14X1.0 6 7 | 40 | 34 | 215 22 | 31| 19 | 75| 20
BUEJ 12M18M 12 M18X1.0 | 10 | 10 | 49 | 39 | 215| 22 | 34 | 22 | 22 | 20

(Unit:mm)
Tube O.D PT Thread Hex OrificeDia.  Qt

Parts No. D o () (%X)
BUES 04M5M M5X0.8 45 | 215 | 17 18 8 25 | 100
BUES 04M6M . M6X1.0 | 45 |215 | 17 10 | 14 18 8 3 100
BUES 0402M PT1/8 8 |255 | 215 19 10 5 | 100
BUES 0404M PT1/4 11 | 295 | 235 21 14 | 75 | 100
BUES 06M5M M5X0.8 45 | 235 | 188 20 8 25 | 50
BUES 06M6M M6X1.0 | 45 |235 | 18.8 20 8 3 50
BUES 0602M 6 PT1/8 8 |275 | 235 | 12 | 16 21 10 5 50
BUES 0604M PT1/4 11 | 315 | 255 23 14 | 75 | 50
BUES 0606M PT3/8 12 32 | 258 25 17 10 | 50
BUES 0802M PT1/8 8 |305 | 265 23 10 5 50
BUES 0804M 8 PT1/4 11 |345 285 | | . 25 14 | 75 | 50
BUES 0806M PT3/8 12 35 29 26 17 10 | 50
BUES 0807M PT1/2 15 39 | 305 29 10 12 50
BUES 1004M PT1/4 11 | 375 | 315 28 14 | 75 | 25
BUES 1006M 10 PT3/8 12 38 32 | 175] 20 29 17 10 | 25
BUES 1007M PT1/2 15 42 | 335 34 22 12 25
BUES 1206M 1 PT3/8 12 42 LI P 31 17 10 | 20
BUES 1207M PT1/2 15 46 | 375 31 22 12 20

UTS

Universal Tee Stop

2P1
2D

DMfir

B2

E

oP1

(Unit:mm)

Tube O.D PT Thread Hex (ifiedia  Qty

Parts No. D R Pl ¢P2 H o (am) (EA)
BUTS 0402M 4 PT1/8 | 8 |38 |23 | 12 | 10 |10 | 12 | 19 | 10| 5 | 100
BUTS 0602M PT8 | 8 | 42 | 25 21 | 10| 5 | 50
BUTS 0604M 6 Pria | 11 |46 |28 | 2| 2|2 | ¥ s 14 75 | s0
BUTS 0802M PT1/8 | 8 | 46 | 28 23 | 10| 5 | 50
BUTS 0804M 8 PT1/4 | 11 | 50 |31 | 17 | 14 |14 | 17 | 25 | 14 | 75 | 50
BUTS 0806M PT3/8 | 12 | 52 | 32 26 | 17| 10 | 50
BUTS 1004M PT1/4 | 11 | 56 | 34 28 | 14| 75| 25
BUTS 1006M 10 Pras | 12 | 58 | 35 | 20 | M |TS ] 20 e 10 | 25
BUTS 1206M PT3/8 | 12 | 62 | 39 31 | 17| 10 | 20
BUTS 1207M 12 Priz | 15 | 62 |42 | 22 |0 |222 | 2 a2 12 | 20

(Unit:mm)

Tube O.D PT Thread Hex 0ffea Qty

. J

Parts No 4D R ¢P1 ¢P2 H (g (EA)
BUDTS 0402M 4 PT1/8 | 8 |38 | 50| 12 | 10| 10 | 12 | 19 | 12 | 10 | 5 | 100
BUDTS 0602M PT1/8 | 8 | 42 | 56 21|14 | 10| 5 | 50
BUDTS 0604M 6 Pria |11 | 46 |60 | 4| 2| 2 M T 14| 75 50
BUDTS 0802M PT1/8 | 8 | 46 | 63 23|17 | 10 | 5 | 50
BUDTS 0804M 8 PT1/4 | 11 | 50 | 67 | 17 | 14 | 14 | 17 | 25 | 17 | 14 | 75 | 50
BUDTS 0806M PT3/8 | 12 | 52 | 69 26 | 17 | 17 | 10 | 50
BUDTS 1004M 0 PTYA | 11 |56 | 76 | o | ool oc| 5o | 28] 20| 1417525
BUDTS 1006M PT3/8 | 12 | 58 | 78 29 | 20 | 17 | 10 | 25
BUDTS 1206M PT3/8 | 12 | 62 | 76 31|24 | 17 | 10 | 20
BUDTS 1207M 12 PTiz |15 | 62 | 76 | 22 |22 H5) 24 e o0 22 | 12 | 20

(Unit:mm)

Tube O.D PT Thread Hex 0fiede  Qty

Parts No. 5D =3 H (g (EA)
BUTTS 0402M 4 PT1/8 | 8 |38 |62 |12 |10 |10 |12 |19 |12 |12 |10 | 5 |100
BUTTS 0602M PT1/8 | 8 | 42| 70 21 10 |5 |50
BUTTS 0604M 6 Pria |11 |46 |74 | |22 e M | ¥ T 75 [ w0
BUTTS 0802M PT1/8 | 8 | 46 | 80 23 10 | 5 |50
BUTTS 0804M 8 PT1/4 |11 |50 | 84 | 17 | 14 |14 |17 | 25 | 17 | 17 | 14 |75 | 50
BUTTS 0806M PT3/8 | 12 | 52 | 86 26 17 | 10 | 50
BUTTS 1004M PT1/4 | 11 | 56 | 96 28 14 |75 | 25
BUTTS 1006M 10 PTas | 12 | 58 | 98 | 20 |11°|175] 20 5920 | 20 M7 0 [ 25
BUTTS 1206M PT3/8 | 12 | 62 | 100 31 17 [ 10 | 20

—_— 12 22 215|215/ 24

BUTTS 1207M PT1/2 | 15 | 62 | 100 31| 2 | % 212 [20



PBT FITTINGS

1S9 Tube Stop

S

TEF

(Unit:mm)
Parts No. TUb¢e§'D c B 6P Qty (EA)
BTS 04M 4 12 16 10 100
BTS 06M 6 16 18 12 50
BTS 08M 8 17 21 14 50
BTS 10M 10 20 23 175 25
BTS 12M 12 22 25 215 20
(Unit:mm)
Orifice Dia. - Qty
Parts No. ¢d (gmm) (EA)
BTE 0404M 4 22 17 10 14 10 | 195 | 12 3.2 3 100
BTE 0606M 6 27 21 12 16 12 | 215 | 13 3.2 5 50
BTE 0808M 8 30 23 14 17 14 | 245 | 15 42 6 50
BTE 1010M 10 36 37 | 175 | 20 | 175 | 345 | 23 4.2 7 25
BTE 1212M 12 40 30 | 215 | 22 [ 215 [ 335 | 20 4.2 8 20
(Unit:mm)
Tube O.D PT Thread Hex Ofieda Qty
. A B L
Parts No oD R ¢d (znm) (EA)
BTEF 04M5M 4 M5X0.8 |35 |22 |185| 10 | 14 [ 21 | 8 [ 12| 32| 8 | 25100
BTEF 0602M 6 PT1/8 |85 325|285 12 | 16 | 26 | 12 | 17 | 32| 12 | 5 | 50
BTEF 0804M 8 PT1/4 11 |41 | 35| 14 [ 17|31 |17 | 19 | 42|17 | 7 |50
BTEF 1006M 10 PT3/8 12 | 46 | 40 [175/ 20 | 34 | 19 | 20 | 42| 19 | 10 | 25
BTEF 1206M PT3/8 12 |50 | 44 [215| 22 |39 | 19 | 22 | 42| 19 | 10 | 20
BTEF 1207M 12 PT1/2 15 [57.5| 50 [215| 22 | 39 | 24 | 22 | 42| 24 | 12 | 20

T
o et et
[
|

Metric Screw
Type

D

Metric Screw Type

1]

f
>

)
]
]

/o)
N

C
[
\

DMfir

Parts No.

(Unit:mm)
Tube O.D PT Thread Hex OrficeDa. Qt

Parts No. 5D B E () (%X)
BTEB 04M5M M5X0.8 4 | 255265 10 | 2.5 | 100
BTEB 04M6M M6X1.0 4 | 255265 10 | 2.5 | 100
BTEB 0402M 4 PT1/8 8 265|275 0| 135| 10 1195 s T 100
BTEB 0404M PT1/4 11 | 295 | 285 14 | 25 | 100
BTEB 06M5M M5X0.8 4 |295]315 12 | 25 | 50
BTEB 06M6M M6X1.0 4 | 295|315 12 | 25 | 50
BTEB 0602M 6 PT1/8 8 31 | 33 | 12 |155| 12 | 215 | 12 4 50
BTEB 0604M PT1/4 11 | 34 | 34 14 4 50
BTEB 0606M PT3/8 12 | 36 | 355 17 4 50
BTEB 0802M PT1/8 8 32 | 35 14 6 50
BTEB 0804M PT1/4 1 | 35 | 36 14 6 50
BTEB 0806M 8 PT3/8 12 |65 a7 | 4165 1M 1245 6 50
BTEB 0807M PT1/2 15 | 46 | 38 22 6 50
BTEB 1004M PT1/4 11 | 385 | 415 17 7 25
BTEB 1006M 10 PT3/8 12 | 40 | 425|175 195|175 | 345 | 17 7 25
BTEB 1007M PT1/2 15 | 44 | 45 22 7 25
BTEB 1204M PT1/4 11 | 42 | 465 22 | 75| 20
BTEB 1206M 12 PT3/8 12 | 43 | 47 | 215| 21 | 215|335 22 9 20
BTEB 1207M PT1/2 15 | 47 | 495 22 9 20

(Unit:mm)

Tube O.D Metric Thread Al A2

Hex 0fieda Qty

¢D M H (gm) (EA)

BTEJ 06M10M 6 M10X1.0 5134 |34|12 |16 | 26|12 | 13|32 |12 | 4 | 50
BTEJ 08M12M 8 M12X1.0 5 6 |35 |36|14 |17 | 31|14 | 15|42 |17 | 6 | 50
BTEJ 10M14M 10 M14X1.0 6 7 |36 | 30|175| 20 | 34|17.6| 20|42 |19 | 75| 50
BTEJ 12M18M 12 M18X1.0 | 10 | 10 | 49 | 39 |21.5| 22 | 39 |21.5| 22 |4.2 | 22 | 12 | 50

. - H\ | 2-M
e ik

jl }t / —G‘} :HﬂW) i
bt L/ 40

TEP

o)

Metric Screw
Type

(Unit:mm)

Tube O.D PT Thread Hex OrfieDa Qt

Parts No. 5D & A B od Y () (%X)
BTEP 04M5M 4 M5X0.8 | 4.5 |21.5| 17 | 10 | 14 | 21 | 10| 12|32 | 8 | 25| 100
BTEP 0602M 6 PT1/8 8 [275[235) 12 |16 | 26| 12| 17|32 | 8 | 3 | 50
BTEP 0804M 8 PTL1/4 11 [345[285| 14 |17 | 31| 14 | 19|42 | 14 | 75| 50
BTEP 1006M 10 PT3/8 12 | 38 | 32 (175| 20 | 34 |175]| 20| 42| 17 | 10 | 25
BTEP 1206M PT3/8 12 | 42 | 36 |21.5| 22 | 39 |215| 22 | 42| 17 | 10 | 20
BTEP 1207M 12 PT1/2 15 | 46 |37.5(21.5| 22 | 39 |215| 22 |42 | 22 | 12 | 20




PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
Parts No. - sd ((’fgfﬁﬁf; (%% A3 Tee union Trple Branch Parts No. T%’f T%"ZD i 61 gP2 CL C2 J F2 gd ‘m (‘g%
BTA 0404M 4 14 17 10 12 3.2 3 100 BTTB 0604M5M M5X08 | 4 | 69 | 65 10 | 2.5 | 50
BTA 0606M 6 16 21 12 14 3.2 5 50 BTTB 0604M6M 6 4 [mex10] 4 [69] 65| 12|10 |16 143]10 |19 |15 |15 |3.2] 10 |25] 50
BTA 0808M 8 17 24 14 16 4.2 7 50 BTTB 060402M PTL8 | 8 | 70 | 70 10 | 25| 50
BTA 1010M 10 20 28 175 19 4.2 9 25 BTTB 080402M PTL8 | 8 | 72 | 69 14| 4 |50
BTA 1212M 12 22 31 215 21 4.2 11 20 BTTB 080404M 4 Thrua [ [ 75 |70 ¥ |10 |17 4810 118 107 147 132 ey
BTTB 080602M . PTLS | 8 | 80 | 76 14| 6 |50
BTTB 080604M PTUA | 11 | 83 | 77 14| 6 |50
BTTB 080606M 6 [Pram (12 [ea |78 | 14|12 |17 16412 119119 119 42 = gy
‘ : BTTB 080607M PTL2 | 15 | 88 | 80 22| 6 |50
| ‘ SRS \ ] BTTB 100604M PTL4 | 11 | 89 | 83 17| 7 |25
= o H:F BTTB 100606M 6 | P38 |12 ] 9184|175 12 (20 164]12 |20 |19 |19 [42] 17| 7 |25
J_) LI R UIJLE%A BTTB 100607M 10 PTL2 | 15 | 95 | 87 22| 7|25
iy == : — BTTB 100804M PTUA | 1 | 93| 87 17| 7 |25
i ((QQ )\ BTTB 100806M 8 | P38 |12 ] 9588|175/ 14 [20 17.9]14 | 20 |23 |23 |42| 17| 7 [ 25
ut‘,g\/ BTTB 100807M PTL2 | 15 | 99 | o1 27 25
(Unit:mm)
17-N:3 TriAngle uion Branch Parts No.  TubeO.D PTThread e ] & — —
: oD R H (&nm) (EA f f Tube 0.0 Tube O.D Stem 0.0 Ofeeda. Qty
BTAB 04M5M M5X0.8 4 | 255 | 265 10 | 25 | 100 TTS Tee union Triple Stem el pD1 ¢D2 ¢D3 SEE R he (nm) (EA)
BTAB 04M6M 4 M6X1.0 4 |255|265| |, 17 |10 [ 25 [100 BTTS 060402M 6 4 6 |80 |72|12]10]16]14] 8 |10 19|15 |15 |32]50
BTAB 0402M PT1/8 8 27 | 28 10 | 25 | 100 BTTS 080408M 4 84 |76 | 1410 17|14 8 |10 |19 |27 |17 [3.2] 50
BTAB 0404M PT1/4 11 | 30 | 29 14 | 25 | 100 BTTS 080608M 8 6 8 o1 [82|12|16| 8 |12 | 19| 1 | 19 |19 | 19 |42] 50
BTAB 06M5M M5X0.8 4 29 | 31 12 | 25 | 50 BTTS 100610M 1 6 1o |100[ 90 [175/12 [ 20 [ 16 [ 10 [12 [ 2019 [19 [42] 25
BTAB 06M6M M6X1.0 4 29 | 31 12 | 25 | 50 BTTS 100810M 8 104 | 94 [175] 14 | 20| 17 [ 10 [ 14 [ 20 [ 23 | 23 [ 42| 25
BTAB 0602M 6 PT1/8 8 |305]|325]| 12 | 16 21 | 12 4 | s0
. BTAB 0604M PT1/4 11 | 335 | 335 14 4 | s0
BTAB 0606M PT3/8 12 | 355 | 35 17 4 | s0 e
BTAB 0802M PT1/8 8 |325]| 36 14 6 | 50 ]ﬁ uiinuiiuuiin
BTAB 0804M PT1/4 11 | 355 | 46 14 6 | 50 —
o BTAB 0806M 8 PT3/8 12 | a7 |a8s5| ¥ |V B 3 6 | 50 j% L] | E
BTAB 0807M PT1/2 15 | 46 | 38 22 7 | s0
BTAB 1004M PT1/4 11 | 395 | 425 17 7 | 25
BTAB 1006M 10 PT3/8 12 | 41 | 435|175 | 20 28 | 17 7 | 25
et serew e ?E BTAB 1007M PTL/2 15 | 45 [ 455 22 | 7 [ 25
= BTAB 1204M PT1/4 11 | 43 | 48 21 | 75 | 20
sE BTAB 1206M 12 PT3/8 12 | 44 | 485 | 215 | 22 31 | 21 9 | 20
\ BTAB 1207M PT1/2 15 | 48 | 505 22 9 | 20
(Unit:mm)
3 (@ Single Too vy Connector Parts No. T“b;[?-[’ ARl A2 (Om (‘é%
BSTC 0402M PT1/8 | 8 | 52 | 48 | 15 10 | 3 | 100
(UnE:mm) BSTC 0404M 4 PT1/4 | 11 | 55 | 49 | 16 | 10 | 14 | 18 | 12 | 10 | 14 | 3 | 100
— BSTC 0406M PT3/8 | 12 | 57 |50.5|17.5 17 | 3 | 100
TT Tee union Triple Parts No. TuzeDol'D TugeD%D 4P2 C1 ¢d ?@;E‘S (%% BSTC 0602M PTL/8 | 8 | 58 | 54 | 16 10 | 35| 50
BSTC 0604M 6 PT1/4 | 11 | 62 | 56 | 18 | 12 | 16 | 21 | 14 | 12 | 14 | 35| 50
BTT 0604M 6 4 61 |12 |10 | 16 | 14 | 10 | 19 | 15 | 15| 3.2| 5 |50 BSTC 0606M PT3/8 12 63 |56.5|18.5 17 35| 50
BTT 0804M 3 4 64 | 14 10 | 17 | 14 | 10 19 | 17 17 | 32| 7 50 BSTC 0802M PT1/8 8 67 63 | 175 14 5 50
BTT 0806M 6 72 |14 |12 | 17 |16 | 12 | 19 | 19 | 19| 42| 7 |50 / BSTC 0804M PT1/4 11 70 | 64 |185 14 5 50
BTT 1006M 10 6 78 [175] 12 [ 20 |16 |12 | 20 | 19 | 19 [ 42| 9 |25 mem " Bstcososm | 8 pTa/s | 12 | 72 |e55/205| Y4 | 17| 25 | 17 |85,
BTT 1008M 8 82 (175| 14 | 20 | 17 | 14 | 20 | 23 | 23 | 42| 9 | 25 [H} - BSTC 0807M PT1/2 15 | 76 |67.5|225 22 5 | 50
B BSTC 1004M PT1/4 | 11 |805|745]| 21 17 | 5 | 25
A BSTC 1006M 10 PT3/8 | 12 |815|755|215|17.5| 20 | 29 | 20 |195] 17 | 5 | 25
ot BSTC 1007M PT1/2 | 15 |855|77.5| 24 22| 5 |25
s AT BSTC 1204M PT1/4 | 11 |955|895| 25 22 | 10| 20
»PWM“' O BSTC 1206M 12 PT3/8 | 12 |955| 89 |245|215| 22 | 34 | 24 | 24 | 22 | 10 | 20
N o BSTC 1207M PT1/2 | 15 |985| 90 | 26 22 | 10| 20

—22 — —23 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
f Tube O.D PT Thread Hex Ofieda Qt ; Tube O.D PT Thread Orifice Dia. - Qt
3 & (@l Singete vy Comnector Parts No. o0 Re v Qty Parts No. s = 8 e (‘é 3
BSHC 0402M PT1/8 8 | 40 | 36 | 14 10 | 3 | 100 BUEH 04M5M M5X0.8 4 17 | 215 5 25 | 100
BSHC 0404M 4 PT1/4 | 11 | 43 | 37 | 16 | 10 | 14 | 18 | 12 | 10 | 14 | 3 [ 100 BUEH 04M6M 4 M6X1.0 10 14 18 4 17 | 215| 5 3 100
BSHC 0406M PT3/8 | 12 | 45 |38.5|17.5 17 | 3 | 100 BUEH 0402M PT1/8 8 215 | 255 6 5 100
BSHC 0602M PT1/8 8 | 44| 40 | 16 10 | 35| 50 BUEH 06M5M M5X0.8 4 18.8 | 235 5 25 | 50
| BSHC 0604M 6 PT1/4 | 11 | 48 | 42 | 18 | 12 | 16 | 21 | 14 | 12 | 14 | 35| 50 BUEH 06M6M M6X1.0 4 188 | 235 | 5 3 50
BSHC 0606M PT3/8 | 12 | 49 | 425|185 17 | 35| 50 BUEH 0602M 6 PT1/8 12 16 21 8 235 | 275 6 5 50
BSHC 0802M PT1/8 8 | 50 | 46 [175 14 | 5 | 50 BUEH 0604M PT1/4 11 | 255 | 315 | 8 75 | 50
BSHC 0804M o PTY4 | 11 | 53 | 47 |185| | .- | o | 15|13/ 24 | 5 |50 BUEH 0606M PT3/8 12 | 265 | 325 | 10 10 50
BSHC 0806M PT3/8 | 12 | 55 |48.5| 20 17 | 5 | 50 BUEH 0802M PT1/8 8 26.5 | 30.5 6 5 50
BSHC 0807M PT1/2 8 |58.5|50.5|22.5 22| 5 | 50 BUEH 0804M PT1/4 11 | 285 | 345 | 8 75 | 50
BSHC 1004M PT14 | 11 |605|545]| 21 17| 5 | 25 BUEH 0806M 8 PT3/8 4 17 2 T 9 | 35 | 10 | 10 | 50
BSHC 1006M 10 PT3/8 | 12 |615| 55 [21.5[17.5| 20 | 29 | 20 |19.5| 17 | 5 | 25 c BUEH 0807M PT1/2 15 | 305 | 39 12 12 50
BSHC 1007M PT1/2 | 15 |655|57.5| 24 2| 5|25 a9 ‘ BUEH 1004M PT1/4 11 | 315|375 | 8 75 | 25
BSHC 1204M PT1/4 | 11 |715|655]| 25 22 | 10| 20 i BUEH 1006M 10 PT3/8 175 | 20 29 | 12 32 38 10 10 25
BSHC 1206M 12 PT3/8 | 12 |715| 65 | 25 (215 21 | 34 | 24 | 24 | 22 | 10 | 20 i e BUEH 1007M PT1/2 15 | 335 | 42 12 12 25
BSHC 1207M PT1/2 | 15 |745| 66 | 26 22 | 10| 20 4 I BUEH 1204M PT1/4 11 | 355 | 415 | 8 75 | 20
: LA, BUEH 1206M 12 PT3/8 215 | 22 34 | 12 36 42 10 10 20
R BUEH 1207M PT1/2 15 | 375 | 46 12 12 20
(Unit:mm)
Tube O.D PT Thread Hex (iieda Qt
Parts No. 4D i H2 (o) (%&’)
BDTC 0402M PT1/8 8 | 40 | 36 | 15 10 | 3 | 100
BDTC 0404M 4 PT1/4 | 11 | 43 | 37 | 16 | 10 | 14 | 21 | 12 | 10 | 14 | 3 [100 tWnit:mm)
BDTC 0406M PT3/8 | 12 | 45 |38.5(17.5 17 | 3 | 100 Tube O.D Metric Thread E E (ificeDa. Qt
BDTC 0602M PTL8 | 8 | 44 | 40 | 16 10 | 35| 50 Parts No. ¢D M 6Pl gP2 C1 C2 (Min) (Min) (mm) (%A)\I)
BDTC 0604M 6 PT1/4 11 48 | 42 18 12 | 16 | 26 14 12 | 14 35| 50 BBUS 04M12M 4 M12 X 1.0 10 16 14 14 1 8 5 32 14 3 100
BDTC 0606M PT3/8 12 | 49 1425|185 17 | 35| 50 BBUS 06M14M 6 M14X1.0 | 12 | 18 | 16 | 16 1 9 5 36| 17 | 5 | 50
BDTC 0802M PT1/8 8 | 50 | 46 |17.5 14 | 5 | 50 BBUS 08M16M 8 M16X1.0 | 14 | 22 | 17 | 17 1 9 6 38| 19| 7 | 50
BDTC 0804M 8 PT1/4 11 | 53 | 47 |185 1417 31| 17 | 14 14 | 5 |50 BBUS 10M20M 10 M20X 1.0 |175| 28 | 20 | 20 1 10 | 6 | 435 24| 8 | 25
BDTC 0806M PT3/8 12 | 55 |485| 20 17 5 | 50 BBUS 12M22M 12 M22X1.0 [215| 31 | 22 | 22 1 16 | 6 | 475 27 | 10 | 20
BDTC 0807M PT1/2 | 15 [58.5|50.5|22.5 22| 5 | 50
BDTC 1004M PT1/4 | 11 |60.5|54.5| 21 17| 5| 25
BDTC 1006M 10 PT3/8 | 12 |61.5| 55 |21.5[17.5| 20 | 34 | 20 |195| 17 | 5 | 25
BDTC 1007M PT1/2 | 15 |655|57.5| 24 2| 5|25
BDTC 1204M PT1/4 | 11 |71.5|655]| 25 22 | 10| 20
BDTC 1206M 12 PT3/8 | 12 |715| 65 [245|215| 22 | 39 | 24 | 24 | 22 | 10 | 20
BDTC 1207M PT1/2 | 15 |745| 66 | 26 22 | 10| 20
(Unit:mm)
Tube O.D PT Thread Hex Ofieda Qt
Parts No. 5D o H2 (am) (%X)
BDHC 0402M PT1/8 8 | 52| 48 | 15 10 | 3 |100 : ”'“mm)
BDHC 0404M 4 PTU/4 | 11 | 55|49 | 16 | 10 | 14 |21 | 12 | 10 | 14 | 3 | 100 ' Parts No,  Tube O.D MecThead py (b spg 1 g Vel Qty
BDHC 0406M PT3/8 | 12 | 57 |505|175 17 | 3 | 100 gD M (fmm) (EA)
BDHC 0602M PT1/8 8 | 58 | 54 | 16 10 | 35| 50 BBUE 04M12M 4 M12X1.0/ 10 | 10 | 16 | 14 | 14 | 18| 16| 5 | 34 | 14 | 3 | 100
BDHC 0604M 6 PT1/4 | 11 | 62 | 56 | 18 | 12 | 16 | 26 | 14 | 12 | 14 | 35| 50 BBUE 06M14M 6 M14X1.0| 12 | 12 | 18| 16 | 16 | 21| 15| 5 | 3 | 17 | 5 | 50
BDHC 0606M PT3/8 | 12 | 63 |56.5|18.5 17 | 35| 50 BBUE 08M16M 8 M16X1.0] 14 | 14 | 22| 17 | 17 | 25| 16| 6 | 42 | 19 | 7 | 50
BDHC 0802M PT1/8 8 | 67 | 63 |17.5 14 | 5 | 50 BBUE 10M20M 10 |[M20X1.0/175[175| 28| 20 | 20 | 29 | 18| 6 | 48 | 24 | 8 | 25
BDHC 0804M PT1/4 | 11 | 70 | 64 [185| 14 | 17 | 31 | 17 | 14 | 14 | 5 | 50 BBUE 12M22M 12 |M22X1.0/215(215| 31| 22 | 22 | 34| 20| 6 | 54 | 27 | 10 | 20
BDHC 0806M 8 PT3/8 | 12 | 72 |65.5| 20 17 | 5 | 50
BDHC 0807M PT1/2 | 15 | 76 |67.5|225 22| 5 |50
BDHC 1004M PT1/4 | 11 |805|745]| 21 17| 5| 25 el
BDHC 1006M 10 PT3/8 | 12 [815| 75 (21.5[17.5| 20 | 34 | 20 |195| 17 | 5 | 25 N
e — © [HEH
BDHC 1007M PT1/2 | 15 |855|77.5| 24 22| 5| 25 [ -
BDHC 1204M PT1/4 | 11 |955(89.5| 25 22 | 10| 20
BDHC 1206M 12 PT3/8 | 12 |955| 89 (24.5(215| 22 | 39 | 24 | 24 | 22 | 10 | 20 E U :
BDHC 1207M PT1/2 | 15 [985| 90 | 26 22 | 10| 20

—24 — —25 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
Y Lo 2 B e Comector for Hexagon Parts No. T”:’;S-D FETiead e ‘(’g'ﬁf]ﬁf; (%‘Ay) FAS Parts No. T“bgé’-D El e gp  Hex ?g;ﬁﬁ]‘;‘ (‘étAy)
BMCH 04M5M M5X0.8 5 21 16 10 25 100 BFAS 0402M PTL/8 8 24 12 100
BMCH 04M6M M6XL.0 5 21 16 10 25 100 BFAS 0404M 4 PTL/4 11 27 135 10 17 25 100
BMCH 0402M 4 PTL8 8 17 17 14 10 25 100 BFAS 0406M PT3/8 12 30 17 100
BMCH 0404M PTL/4 11 24 17 14 25 100 BFAS 0602M PTL/8 8 26 14 50
BMCH 0406M PT3/8 12 25 18 17 25 100 BFAS 0604M 6 PTL/4 11 29 155 12 17 4 50
BMCH 06M5M M5X0.8 5 23 18 12 25 50 BFAS 0606M PT3/8 12 31 19 50
BMCH 06M6M M6X1.0 5 23 18 12 25 50 BFAS 0802M PTL/8 8 28 14 50
BMCH 0602M 6 PTL8 8 24 20 16 12 4 50 ) HT BFAS 0804M . PTL/4 11 30 165 " 17 3 50
BMCH 0604M PTL/4 11 24 18 14 4 50 o == BFAS 0806M PT3/8 12 32 : 19 50
BMCH 0606M PT3/8 12 25 18 17 4 50 == i BFAS 0807M PT1/2 15 35 24 50
BMCH 0802M PTL8 8 27 25 14 6 50 - BFAS 1002M PTL/8 8 30 20 17 17 25
A [
. Vet Serew BMCH 0804M . PTL/4 11 28 22 . 14 6 50 i BFAS 1004M o PTL/4 11 33 17 . 25
Type BMCH 0806M PT3/8 12 27 21 17 6 50 BFAS 1006M PT3/8 12 34 195 17 19 25
BMCH 0807M PTL2 15 30 22 22 6 50 BFAS 1007M PTL2 15 37 24 25
BMCH 1002M PTL8 8 31 27 17 5 25 BFAS 1204M PTL/4 11 35 22 20
BMCH 1004M 0 PTL/4 11 34 28 0 17 6 25 BFAS 1206M 12 PT3/8 12 36 21 21 22 6 20
BMCH 1006M PT3/8 12 29 22 17 8 25 BFAS 1207M PTL2 15 39 24 20
BMCH 1007M PTL2 15 29 21 22 8 25
BMCH 1202M PTL/8 8 33 27 21 5 20
BMCH 1204M " PTL/4 11 36 30 ” 21 6 20
BMCH 1206M PT3/8 12 33 27 21 8 20
BMCH 1207M PTL2 15 34 26 22 8 20 (Unit:mm)
__ BMCH1606M | 16 PT3/8 12 39 3 24 24 10 10 f Parts No Tube O.D PT Thread Metric Thread E Hex Hex (rficeDia
BMCH 1607M PTL2 15 40 32 24 10 10 . 4D R M H2  (gnm)
e Due to Hexagon type hole, Easy screwing available by the Wrench eventhough in no much space forthe Spanner BFBS 0402M12M PT1/8 8 27 35 14 100
BFBS 0404M12M 4 PTL4 |M12X10| 4 | 11 | 30 | 14 | 45 | 17 | 17 | 25 | 100
BFBS 0406M12M PT3/8 12 | 31 45 | 17 100
BFBS 0602M14M PTL/8 8 | 28 6 | 17 50
BFBS 0604M14M 6 PTL4 |M14X10| 4 | 11 | 31 | 16 | 55 | 17 | 17 | 4 | 50
BFBS 0606M14M PT3/8 12 | 41 65 | 19 50
" BFBS 0802M16M PTL/8 8 | 29 45 | 19 50
721, BFBS 0804M16M . PTua | ool o |22 [82 | o [4s5 (19| | o [50
ET BFBS 0806M16M PT3/8 12 | 33 45 | 19 50
Uni:mm) F.. BFBS 0807M16M PTL2 15 | 36 5 | 24 50
" ) S L -
Parts No Tube 0.D PT Thread Hex OrfceDia.  Qty g i BFBS 1002M20M PT1/8 8 | 3 55 | 22 25
. === BFBS 1004M20M PTL/A4 11 | 34 5 | 24 2
o A HLenm) (B4 Y BFB: 1836M23M 10 PT3;8 M20X10| 6 25 20 g 2 2 | 4|8 22
— DMCROAMIM MoX0.8 > 2 10 10 L SOl E L LA " BFBS 1007M20M | PT1/2 15 | 38 65 | 24 25
— BMCR 04M6M M6XL.0 5 21 16 10 100 i ) " :
BMCR 0402M 4 PTL8 8 21 17 10 | 135 | 25 | 25 | 100 _ BFBS 1202M22M | PT1/8 8 | 32 7|24 20
BMCR 0404M PT1/4 11 24 17 | 10 100 _ BFBS 1204M22M |, PTUA |\ooxio| 6 L2 135 | o L7 128 ) | 4 |20
BMCR 0406M PT3/8 12 25 18 10 100 _ BFBS 1206M22M | PT3/8 12 | 36 7| 24 20
BMCR 06MEM VEXO.8 5 2 18 - o | e 5 BFBS 1207M22M PTL2 15 | 39 8 | 24 20
. BMCR 06M6M M6XL.0 5 23 18 12 : : 50
BMCR 0602M 6 PTL8 8 24 20 | 12 | 155 50
BMCR 0604M PTL/4 11 24 18 14 4 4 50
BMCR 0606M PT3/8 12 25 18 17 50
BMCR 0802M PTL8 8 27 25 14 50 Unit:mm)
BMCR 0804M PTL/4 11 28 22 14 50 : Tube O.D OfficeDia. Qty
e — | l . - . 3
BMCR 0806M 8 PT3/8 2 | 27 | a1 | a7 | %] ° 6 50 @ Straight CouPler Parts No. ¢ D1 L (gmm) (EA)
BMCR 0807M PT1/2 15 30 2 | 22 50 BSCP 04M 4 10.9 10 131 | 14 | 325 | 205 | 3 100
__BMCR1002M | PT1/8 8 31 27 17 | 25 BSCP 06M 6 109 12 131 | 16 | 335 | 205 5 50
_ BMCR1004M | . PT1/4 11 34 28 7 | 195 | & 6 % BSCP 08M 8 10.9 14 131 | 17 37 205 7 50
_ BMCR1006M | PT3/8 12 29 2 | 17 25 BSCP 10M 10 109 175 | 131 | 20 44 | 205 | 8 25
BMCR 1007M PT1/2 15 29 21 22 25 BSCP 12M 12 109 215 | 131 | 22 | 475 | 205 | 10 20
_ BMCR1202M | PT1/8 8 33 27 21 6 6 |20 BSCP 16M 16 10.9 255 | 131 | 24 | 505 | 205 | 13 10
BMCR 1204M " PTL4 11 36 30 | 21 , 20
BMCR 1206M PT3/8 12 33 27 | 21 . . 20
BMCR 1207M PTL2 15 34 26 | 21 20
BMCR 1606M PT3/8 12 39 33 | 24 10
BMCR 1607M 16 PTL2 15 40 32 | 24 24 12 10 10

e DUe to Hexagon type holke, Easy scewing available by the Wrench eventhough in no much space torthe Spanner

—26 — —27 —



PBT FITTINGS S

(Unit:mm)

ORDER INFORMATION

Stem O.D Stem O.D Orifice Dia.  Qty L
Parts No. D1 5D2 (gmm)  (EA) ”
BSS 0404M 4 4 7 7 3 2 100 (8] [EUB] [04] ([o4]) [o2] [M] [C] —
BSS 0604M . 4 8 7 36 3 50 1 _] | I L E
BSS 0606M 6 8 8 38 4 50 “ ==
BSS 0804M 4 8 7 38 4 50 . _ _ . 2
BSS 0806M 8 6 8 8 39 4 50 & WELIICHEE]  03=3m, 04=4m, 06=6m | E
BSS 0808M 8 8 8 39.5 6 50 : e
. BSS 1006M 6 10 8 42 7 25 ’ , 3 R NEIE ‘ =
‘ BSS 1008M 10 8 10 8 43 7 25 —
h BSS 1010M 10 10 10 46 8 25 i * Acefal : A =
fJ T | S J BSS 1208M 8 10.5 8 46 8 20 * Polybutylene Terepthalate (PBT) : B —
T =~ BSS 1210M 12 10 10.5 10 48 12 20 0 =3
BSS 1212M 12 10.5 10.5 50 12 20 Tube O.D _ _ .
BSS 1612M N 12 13 105 54 12 10 S ey  03=3m, 04=4mn, 06=5mn —
BSS 1616M 16 13 13 54 12 10
Thread Type M§=M3 x 0.5P, M&=M5 xf).8P
M6=M6 x 1.0P, 02=PT1/8 —
(Unit:mm)
Stem O.D  Tube I.D Orfice Dia. - Qty m Metic Size * M '—
Parts No. D1 $D2 (ann) (EA) »
e These products are extra small, one-touch type fittings used Mini Tvoe G |
__BBS0404M | 4 4.8 ! 16 17 35 3 3 2 100 for small size air pressure piping and other similar devices. nitype -
BBS 0405M 5.9 7 17 17 | 36 3 3 3 100 S ] ) )
BBS 0605M 59 8 17 18 38 4 3 4 50 e Each product comes with diverse functions and dimensions so
BBS 0606M 6 6.8 8 17 19 | 385 4 4 4 50 that they are widely applicable to all piping situations.
BBS 0806M 8 6.8 8 175 | 195 | 39.5 6 4 4 50
BBS 0808M 8.6 8 | 175 | 20 | 40 6 6 6 50 Specification
EET BBS 1008M 10 8.6 10 18 | 225 | 435 | 68 6 7 25
ol ‘ c 7 BBS 1208M 8.6 105 | 18 | 25 | 45 | 95 | 6 8 25 Features
S || B BBS 1210M 12 10.6 10.5 18 25 | 465 | 9.5 6.8 12 25 R . . Fluid Air
: BBS 1213M 135 o5 | 20 e 18 o5 0 o e o't:hese m||n|4f(|)t$ngslof one-touch tc)‘/pe for afljr pc:e:s_ure plpzng
T GBS 1616M 16 167 12 » | 27 | &2 T 1 125 20 ave only 40% volume compared to standard fittings, thus
successfully miniaturizing the fittings. Pressure 0~ 1.0Mpa (10kgi/cm?)
e Since these fittings are small and light, they have excellent
Uni mm) applicability in various pneumatic piping situations and
instructional devices. Vacuum —750mmHg(10Torr)
CT RIS e eNickel surface plating presents excellent anti-corrosion
BCT 04M 4 11 8 42 | 25 4 108 | 73 | 35 | 11 | 100 performance. Hose Used Polyurethane . Nylon, Polyethylene
BCT 06M 6 13 10 6.2 4 41 | 119 | 79 4 13 | 100
BCT 08M 8 15 12 8.2 6 54 | 125 | 8 45 16 | 100
BCT 10M 10 18 15 | 102 | 8 54 | 146 | 96 5 19 | 100 e R
BCT 12M 12 22 18 | 122 | 10 54 | 161 | 111 5 23 | 100
iagram .
A Safety Instruction
&/ &/ : i O—Rng ePlease read the safety instruction (page 5) of the Product
3 Catalog before using products.
el Lock )
L= i eEnsure that the tube and O-ring are fully assembled.
L ) Lock—Cap eUpon tube assembly, pull tube out to ensure that the assembly
i Seeve——— has been done properly.
(Unit:mm)
Locking Clip Parts No. T“%eD‘f-D A B c T Qty (EA) A Warning
BLC 04M 5.8 5.5 8.5 10.5 0.8 100 eln case the fluid used is water, please verify product
BLC 06M 78 6.7 10.7 12 0.9 100 specification for water before using products.
BLC 08M 9.6 7.7 12.6 14.5 1.3 100
BLC 10M 12.2 9.5 15.2 14.5 1.3 100
BLC 12M 145 11 17.5 185 1.4 100
Tube

WaRY \ )
0

—28 — —29 —



MINI FITTINGS DMfir'

(Unit:mm)

(Unit:mm)
i Tube O.D Tube O.D (0]3Y Stem O.D
@ | Union Connector Parts No. D1 4 D2 oP1 gP2 Cl  C2 B &) I Plug Parts No. 0 C B oP Qty (EA)
BUC 0303C 3 3 6.5 6.5 10 10 205 100 BPL 03C 3 10 22 4 100
BUC 0404C 4 4 8.5 8.5 115 115 235 100 BPL 04C 4 115 27 5 100
” BUC 0606C 6 6 11 11 135 135 265 100 ’ BPL 06C 6 13 32 7 100
el it
P | | T | C
2 ’[ll _;-1 s H_é .
(Unit:mm) (Unit:mm)
i Tube O.D Tube O.D Qty Tube O.D
m Elbow Union Parts No. D1 sD2  PL P2 Cl C2 EL E2 Bl B2 g2 CRosS Parts No. 5D 6P c E Qty (EA)
BEU 0303C 3 3 65 | 65 | 10 | 10 | 12 | 12 [ 155 | 155 100 BCRS 0303C 3 6.5 10 12 100
BEU 0404C 4 4 85 | 85 | 115|115 | 14 | 14 | 185 | 185 100 BCRS 0404C 4 85 115 14 100
m BEU 0606C 6 6 105|105 | 13 | 13 | 17 | 17 | 225 | 22.5] 100 BCRS 0606C 6 105 13 17 100
B2 -
o |0 c2
NS C - B)
A H gl
N _ L
S AR
e - e
201 i
2P1 i i )
(Unit:mm) (Unit:mm)
i Tube O.D Tube O.D Qty i Parts No Tube O.D Stem O.D
1L/ TeeUnion Parts No. D1 wp2 9P1 ¢P2 Cl C2 El E2 @)X TEU : D1 sD2
BTU 0303C 3 3 6.5 6.5 10 10 12 12 100 BTEU 0303C 3 3 19.8 13.2 9 10 10 12 100
BTU 0404C 4 4 85 | 85 | 115 | 115 | 14 14 100 BTEU 0404C 4 4 22 | 148 9 115 | 115 | 14 100
BTU 0606C 6 6 105 | 105 | 13 13 17 17 100 “ BTEU 0606C 6 6 25 | 173 9 12 13 17 100
ek £
[ E g @ S
Wﬁ% T \LH Bl e ii H J 41
b mae H

—30 — —31 —



MINI FITTINGS

DMfit*

(Unit:mm) (Unit:mm)
m ReDucer Parts No. ~ TW0SRP SEMOD yp1 42 o1 2 B Y 1(») | Two way Divider Parts No.  TUDeDD TWeBD g 4p €1 2 gd F 3 2N
BRD 0304C 3 4 29 17.5 6.5 10 115 100 BTD 0303C 3 3 26 | 65 | 65 | 65| 32 | 75 | 65 | 100
BRD 0406C 4 6 325 19.5 8.5 115 13 100 BTD 0403C 3 245 | 85 | 7 65| 32 | 75 | 65 | 100
V BTD 0404C 4 4 255 | 85 7 7 3.2 8 85 | 100
BTD 0604C 4 275 | 105 | 8 7 | 32| 8 | 85 | 100
~ BTDO606C | 6 6 29 | 105 | 8 8 | 32 | 85 | 11 | 100
i._c‘_’ g 3 =
la_m _h 1| Ly
T HiEHE -
il S
2-C2 1
(Unit:mm)
i Tube O.D PT Thread Hex Qty
m Elbow Union Branch Parts No. 5D R A B L ¢p C E W E A
BEUB 03M3C M3 x0.5 3 | 125 | 125 6 | 100 .
—mnovee 1 3 eos a5 3 11251 65| 10 | 12 [ 100 Male Tee swivel Branch PartsNo, TS O-P PTThead g 1 4p ¢ & O
_ BEUB 03M6C M6 x1.0 45 | 14 | 125 8 | 100 BMTB 03M3C M3x0.5 3 | 122 | 92 6 | 100
= BEUB 04M3C M3 <0.5 3 | 132 145 8 | 100 BMTB 03M5C 3 M5%08 | 35 | 127 | 92 | 65 | 10 | 12 | 8 | 100
- BEUB 04M5C . Msx08 | 35 [ 137 [1as| | | 8 | 100 ~ BMTBO3M6C | M6x10 | 45 | 137 [ 15 8 | 100
BEUB 04M6C M6 x1.0 45 | 147 | 145 8 100 BMTB 04M3C M3 x0.5 3 18 15 8 100
Fc_—‘— BEUE 0402C PT1/8 8 | 162 ] 145 10 | 100 BMTB 04M5C 4 Ms<08 | 35 [185[ 15 | | | | 8 | 100
RS BEUB 06M5C M5 x0.8 35 | 145 | 165 8 | 100 BMTE 0AMBC Mex10 | 25 195 | 15 : : s | 100
. GEH. BT BEUB 06M6C 6 M6 x1.0 45 | 155 | 165 | 105 13 | 17 8 100 __—ia BMTB 0402C PT1/8 8 21 17 10 | 100
] 4 BEUB 0602C PT1/8 8 | 17 | 185 10 | 100 g ] s BMTE 06MEC M5 <08 35 | 15 | 15 s | 100
LI, | S ;J}J}__ BMTB 06M6C 6 M6 = 1.0 45 | 16 | 115 | 105| 13 17 8 100
"] t—h? 1y i BMTB 0602C PT1/8 8 | 175 | 135 10 | 100
Metric Screw I ll—: =
s
Metric Screw
Type
(Unit:mm)
= = Ebowunion Long Branch Parts No.  TWPe 0P PTTHead a5 1 gp ¢ B AP R
BELB 03M3C M3 x0.5 3 20 20 6 100 (Unit:mm)
BELB 03M5C 3 M5x08 | 35 | 205 | 20 | 65| 10 | 12 | 8 | 100 Parts No. Tubeé).D PT Tgread A B L 4P C E Hﬁx %’2’
BELB 03M6C Mex10 | 45 | 215 | 25 8 | 100 2 (EA)
BELB 04M3C M3x05 | 3 | 225 25 g8 | 100 __ BMRBOIM3C | M3x05 | 8 |122 | 212 6 | 10
“ersomsc |, vs<0s | 35 |25 | 25 | 85 | 15| 1 | 5 | 100 BB 0350 . woxos |85 |71 #z) o5 | 0| 12 [8 | o
BELB 04M6C M6x10 | 45 | 245 | 25 8 | 100 - : : :
£ T BELB0a02C | — s 255 26 0 T 100 _ BMRBO04M3C | M3 %0.5 3 177 [ 287 8 | 100
TR ~ BELBOGM5C | M5 x0.8 35 | 265 | 29 8 | 100 % 4 mzzj's 4312 13’2 ;2'; 85 | 115 | 14 2 igg
e;%’a: BT BELB 06M6C 6 M6x10 | 45 | 275 | 29 | 105| 13 | 17 | 8 | 100 - ——vrE oa0a0— ] . =207 307 100
| BELB 0602C PT1/8 8 29 | 305 10 100 S8 313 " : :
= o IEEENN BMRB 06M5C M5 % 0.8 35 | 152 | 287 8 100
‘#, § e e N BMRB 06M6C 6 M6x10 | 45 | 162 | 287 | 105| 13 | 17 | 8 | 100
L] BMRB 0602C PT1/8 8 | 177 | 307 10 | 100
J Ii il | H 3 )
yfany gy
<t
Metric Screw Metric Screw R LJ
Type Type

—32 — — 33—



MINI FITTINGS

(Unit:mm)
f Tube O.D  Metric Thread Hex Qty
m BulKhead Union Parts No. 5D v G A B C E Ho EA)
BBKU 03M08C 3 MO8 x 1.0 3 7 29.5 10 45 10 100
BBKU 04M10C 4 M10 x1.0 3 75 34 115 6.5 12 100
BBKU 06M12C 6 M12 1.0 3 75 36 13 9.5 14 100
PE—
2=C 2=G
R | T "!
BN 1 1 | o
o
1Y e e
o E
(Unit:mm)
Tube O.D PT Thread Hex Qty
Y, (@ 2} Ml Gonnector for Hexagon Parts No. D y A B L ¢ g 2
BMCH 03M3C M3 x0.8 3 13.6 10.5 10 6 100
BMCH 03M5C 3 M5 x0.8 3.5 15.5 10.5 10 8 100
BMCH 03M6C M6 %1.0 45 16.5 10.5 10 8 100
BMCH 04M3C M3 x0.8 3 15 12 11.5 8 100
BMCH 04M5C 4 M5 %0.8 35 15.5 12 115 8 100
BMCH 04M6C M6 x1.0 45 16.5 12 11.5 8 100
£ f BMCH 0402C PT1/8 8 15 11 115 10 100
a N BMCH 06M5C M5 % 0.8 35 175 14 13 10 100
Pl @ BMCH 06M6C 6 M6 x1.0 45 18.5 14 13 10 100
Al BMCH 0602C PT1/8 8 18 14 13 10 100
Metric Screw
Type e Due to Hexagon type hole, Easy screwing available by the Wrench eventhough in no much space forthe Spanner
(Unit:mm)
g T .D PTThr
V@22 Male Connector for cRcle Parts No. “bgg B o
BMCR 03M3C M3 x0.5 3 13.6 | 105 6 10 15 100
BMCR 03M5C 3 M5 x0.8 35 155 | 105 8 10 2 100
BMCR 03M6C M6 x1.0 45 165 | 10.5 8 10 2 100
BMCR 04M3C M3 x0.5 3 15 12 8 11.5 15 100
BMCR 04M5C 4 M5 % 0.8 35 15.5 12 8 11.5 2 100
BMCR 04M6C M6 x 1.0 45 16.5 12 8 11.5 2 100
BMCR 0402C PT1/8 8 15 11 10 11.5 2 100
BMCR 06M5C M5 %0.8 35 17.5 14 10 13 2 100
BMCR 06M6C 6 M6 x1.0 45 185 14 10 13 2 100
BMCR 0602C PT1/8 8 18 14 10 13 4 100
(Unit :mm)

Stem O.D PT Thread

Parts No.

¢D Rc
BFAS 03M3C 3 M3 x0.5 35 15.5 s 1 . 100
BFAS 03M5C M5 x0.8 5 16.5 100
BFAS 04M3C M3 x0.5 35 15.5 100
—_— 4 8 11.5 8
BFAS 04M5C M5 50.8 5 17.5 100
H

o

10="10mm, 12 =12m
Part Name
* Polyvinylidene Fluorude @ PVDF

W * Teflon : PFA

iR 02=PT18", 04=PT1/4"
06=PT38", 07=PT1/2"

* Acetal T A
* Polyplopylene : PP
* Polyamid @ PA

e These fittings are of nut tightening type fittings used for
pneumatic tubing and other similar devices.

eWide variety of product sizes provides wide range of e "
applications. Specification

ORDER INFORMATION

Fluid Air

e Since Tube connection is by forced tightening, these products Pressure
provide excellent performance in situations of vibration or

0 ~1.0Mpa (10kgf/cm?)

shaking.

. . Vacuum =
eProducts are made of plastic and thus have semi-permanent 750mm Hg (10T orr)

useful life.

eExcellent resistance against corrosion, chemicals and Hose Used Polyurethane, Nylon

compounds.

e Good performance in vibration situations.

-

_/

A\ Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

eAssemble Tube into Fitting fully.
oDo not overly force Cap Nut during assembly.

eAfter Tube assembly, pull Tube out somewhat to ensure
complete assembly.

Cap Nut

——
=
—
——
<>
—
=
-
-
[—3
==
j—
—
L ——1
e
[—3
[ ——
<=2
— —
—_—
—1
—
—
=
[—



TWO-TOUGH FITTINGS

DMfir

(Unit:mm) (Unit:mm)
Tio-touch Male Connectr ({001 Tidouch Sngle Cometor =]
[
TMC 0402M PT1/8 8 26 12 2 100 TSC 0402M-D1 PT1/8 8 10 | 20 | 30 100 ==
— R |y 11 s Ly 20 | 27 11 | 35 =
TMC 0404M PT1/4 11 29 14 2 100 TSC 0404M-D1 PT1/4 12 14 | 24 | 34 100 =
TMC 0602M PTL 2 12 TSC 0602M-D1 PT1/8 8 10 | 20 | 30 50 =
. TMCO0602M | g 8 8 9 135 3 50 e 6 23 | 30 135 | 35 =
TMC 0604M PTL/4 11 32 14 3 50 TSC 0604M-D1 PT1/4 12 14 | 24 | 34 50 =
TMC 0802M PT1/8 8 30 14 45 50 TSC 0802M-D1 PT1/8 8 14 | 21 | 32 50 =
TMC 0804M 8 PT1/4 11 33 155 14 45 50 TSC 0804M-D1 8 PT1/4 11 | 26 | 345 | 14 | 24 | 35 | 155 | 5 | 50 =
TMC 0806M PT1/8 12 35 17 45 50 TSC 0806M-D1 PT3/8 12 17 | 26 | a7 50 =1
TMC 1004M 0 PT1/4 11 36 1o 17 5 25 o TSC 1004M-D1 PTL/4 11 17 | 27 | 405 25 é
TMC 1006M PT3/8 12 37 17 5 25 e TSC 1006M-D1 10 PT3/8 12 | 305 | 415 | 17 | 29 |415| 19 | 5 | 25 =
TMC 1206M - PT3/8 12 11 ” 19 65 20 ;%L — TSC 1007M-D1 PT1/2 15 22 | 32 | 455 25
TMC 1207M PT1/2 15 44 22 6.5 20 joc %Di/ TSC 1204M-D1 PTL/4 11 17 | 28 | 425 20
o _ - TSC 1206M-D1 12 PT3/8 12 | 35 | 46 | 17 | 29 |435| 21 | 5 | 20
‘\ f < 1 TSC 1207M-D1 PT1/2 15 22 33 | 475 20
H R
(Unit:mm)
(Un t :mm) | ({0102 Tiwodouch Single Comnector
TME 0402M . PTL/8 8 | 145 | 20 | 11 | 175 | 23 2 | 100 TSC 0404M-D2 PTl; 4 | 12 14 | 48 | 24 100
TME 0404M PT1/4 11 | 175 | 23 | 14 19 26 2 | 100 __TSC0602MD2 | 6 PT1/8 8 | 23|30 (20 [ 44120 1, | 35] 35 20
TME 0602M . PT1/8 8 | 155 | 22 | 11 | 205 | 26 3 50 TSC 0604M-D2 PTI/4 | 12 14 | 48 | 24 50
TME 0604M PT1/4 11 | 185 | 25 | 14 22 29 3 50 __TSC0802M-D2 | PT1/8 8 14 | 48 | 21 50
TME 0802M PT1/8 8 | 165 | 245 | 14 | 225 | 295 | 45 | 50 __Tscosoam-bz | 8 P”j 4 |11 10261345 14 | 51 | 24 | 16 | 185) 5 | 50
TME 0804M 8 PTL/4 11 | 195 | 275 | 14 23 30 | 45 | 50 TSC 0806M-D2 PT3/8 | 12 17 | 53 | 26 50
L2 TME 0806M PT3/8 12 | 205 | 285 | 17 | 245 | 33 | 45 | 50 __TSC1004M-D2 | PT/4 | 11 17 1605] 27 25
b TME 1004M 0 PT1/4 11 | 215 | 31 | 17 26 | 345 | 5 25 % 10 Eg 2 152_, 305415 Z gé'g zz 2011815 ;g
) TME 1006M PT3/8 12 | 225 | 32 | 17 | 265 | 35 5 25 - - o 1204t Ds p o0 -
— \ TME 1206M 1 PT3/8 12 23.5 34 20 32 42 6.5 20 N [ __T1sc1204Mbz | PT1/4 11 17 | 645
— [\ |q TME 1207M PT1/2 15 | 265 | 37 | 215 | 33 | 44 | 65 | 20 - . __Tsc1206mM-Dz | 12 PT3/8 | 12 | 35 | 46 | 17 | 655} 29 | 22| 21| 5 | 20
= o \ =|® (\ TSC 1207M-D2 PT12 | 15 22 | 695 | 33 20
mm N s
c N hJ ,
(Uni:mm)
P10 Two-touch Tee Union Wnit:mm)
TTU 04M 4 11 35 75 25 235 2 100 TSC'D3 Tivo-touch Single Connectr
TTU 06M 6 13.5 46 11 el 19.5 el 50 TSC 0402M-D3 . PTL/8 8 | Lo | oy |20 | 88 [ 2 | | | _[100
TTU 08M 8 155 50 11 45 325 45 50 ~Tscos0amD3 | PT1/ o % T2 2 5 oo
TTU 10M 10 19 55 11 45 8.5 5 25 TSC 0602M-D3 PT1/8 8 10 | 58 | 20 50
Ty iem 12 2 68 16 45 R 63 20 TSC 0604M-D3 ° pra | 12 | 2| 14 (62| 2a | M| % 50
TSC 0802M-D3 PT1/8 8 14 | 64 | 21 50
TSC 0804M-D3 8 PT1/4 11 | 26 |345| 14 | 67 | 24 | 16 | 155| 5 | 50
s TSC 0806M-D3 PT3/8 12 17 | 69 | 26 50
] TSC 1004M-D3 PT1/4 11 17 | 805 | 27 25
. T ] TSC 1006M-D3 10 PT3/8 12 | 305|415 | 17 |815| 29 | 20 | 19 | 5 | 25
i TSC 1007M-D3 PT1/2 15 22 | 855 32 25
- ’;\3 Eﬂ TSC 1204M-D3 PT1/4 11 17 | 865| 28 20
UL 2 =) ] TSC 1206M-D3 12 PT3/8 12 | 35 | 46 | 17 |875| 29 | 22 | 21| 5 | 20
\go r‘) — TSC 1207M-D3 PT1/2 15 22 | 915 33 20
Y o =

—36 — —37 —



TWO-TOUCH FITTINGS SPEED CONTROL VALUES

ORDER INFORMATION

[B | [CUE] [06] ([04]) [06] [M] - ([BK])
L L

Unimm LCIERCRPR  04=4m, 06=6m, 08 =Ban, 10=10m, 12=12m |
(0010 ) | Tooouch Dol Comector =
)
TDC 0402M-D1 PT1/8 8 10 | 20 | 30 100 ==
—_— . A CA =i
TDC 0404M-D1 4 PT1/4 2 | O Y T e | M3 o .Pcetzlu lene Terepthalate (PBT) : B ==
TDC 0602M-D1 PTL/8 8 10 | 20 | 30 50 CIPE 2ty s Targniltats : =
— et 6 46 | 14 135 | 35 =
TDC 0604M-D1 PT1/4 12 14 | 24 | 34 50 e —— ==
TDC 0802M-D1 PT1/8 8 17 21 32 50 St o .D 04=4nm, 06=6mm, 08 =Bnm, 10=10mm, 12=12mm = =
TDC 0804M-D1 8 PT1/4 11 | 52 | 17 [ 17 | 24 | 35 | 155 | 5 50 em 0. —
TDC 0806M-D1 PT3/8 12 22 | 26 | 37 50 =
5 TDC 1004M-D1 PT1/4 11 22 | 27 | 405 25 Thread Type 02=PT1/8", 04=PT1/4" 06=PT3/8" =
] TDC 1006M-D1 10 PT3/8 12 | 61 | 22 | 22 28 | 415 | 19 5 25 07=P1/2", M5=M5%0.8P, M6=M6x1.0P | =
TDC 1007M-D1 PT1/2 15 22 | 32 | 455 25
Il Stem O.D = A= = = =
g TDC 1204M-D1 PT1/4 11 22 | 28 | 425 20 =t U=t U <. UL =0, 12=1m
— L ~ TDC1206M-D1 | 12 PT3/8 12 | 70 | 22 | 22 | 29 | 435 21 5 20 Descrintion T '_
T, i 5 TDC 1207M-D1 PT1/2 15 22 | 33 | 475 20 P Metric Stze : M
BN
" @ These valves are used for flow control of air pressure driving devices. Body Color =l =IS l_
e These valves can be useful for control and operation of cylinders and
other devices in a confined space.
(Un 1 :mm) Flow controller Labeling
02J Too-touch Doubl Comector [ Features )
TDC-D2 Features 1)Meter-Out Control
TDC 0402M-D2 4 PT1/8 8 0 14 10 20 44 1 . 100 @ Flow control is possible from low volume to large volume. o Air inflow _through screw section is co_nt_rolle_d
TDC 0404M-D2 PT1/4 12 14 24 48 100 e Valve configuration and dimensions are uniform for different valve \:\;‘W but the air that enters through the fitting is
__Tbcoeo2m-D2 | PT1/8 8 | 46 | 14 |10 | 20 | 44 | | .. | 50 openings so that they facilitate applications in diverse circumstances. not controlled and allowed to flow through
TDC 0604M-D2 PTL4 | 12 14 | 24 | 48 50 o Same flow rate can be achieved regardless of valve size. the screw secton.
TDC 0802M-D2 PT1/8 8 17 | 21 | 48 50 - A
~TDC 080aMD2 | 8 PT1/4 11 52 | 17 17 24 51 1155 | s 50 o Control modes (Meter In or Out) are indicated as A or B on needle area.
. . . AT N
TDC 0806M-D2 PT38 | 12 2 | 26 | 53 50 % A: Marked as A’ in needle area. 7~
TDC 1004M-D2 PTL/4 11 22 | 27 | 605 25 - - - Color of Lock Nut : Silver
TDC 1006M-D2 10 PT3)8 | 12 | 61 | 22 | 22 | 28 |615| 19 | 5 | 25 Specification
TDC 1007M-D2 PT1/2 15 22 | 32 | 655 25
TDC 1204M-D2 PT1/4 11 22 | 28 | 645 20 Fluid Air 2)Meter-In Control
TDC 1206M-D2 12 PT3/8 12 | 70 | 22 | 22 | 29 | 655 21 5 20 . e
e Air that enters through Fitting is controlled
TDC 1207M-D2 PT1/2 15 22 | 33 | 695 20 Pressure 0~ 1.0Mpa (10kgt/cm?) eV put the ai th g h % h -
cree ut the air that enters through the screw is
Vacuum —750mmHg (10Torr) not pqntrolled and allowed to flow through
the fitting.
Hose Used Polyurethane, Nylon, Polyethyle ne B
i B: Marked as 'A' in needle area. C A
4 )\ Y Color of Lock Nut : Gold
. Controlled
' Diagram (Type A) Flow
(Unit:mm)
Needle
([0 0} Tuo-touch Doublp Connector
TDC 0402M-D3 4 PT1/8 8 | 4ol 14 1201 0 | 1 58] 45 | 55 [ 200 sy Lock Nut A Safety Instruction
TDC 0404M-D3 PTL/4 12 14 62 ~ | 100 Lock ePlease read the safety instruction (page 5) of the Product
TDC 0602M-D3 6 PT1/8 8 16 | 14 10 14 14 58 135 | 35 50 Brass Body Catalog b.efore us-mg products. -
TDC 0604M-D3 PTL4 | 12 14 62 50 olf needle is used in rough manner, it can be separated from the
__TDC0802M-D3 | PT1/8 8 17 64 50 main body.
% 8 Egg i; 52 | 17 ;Z 16 | 16 Z; 155715 :g eThese valves may have minute amounts of air leak. Do not use
Holder these products where required air leak is zero.
~ TDC 1004M-D3__| PT1/4 11 22 80.5 25 Pk
B TDC 1006M-D3 10 PT3/8 12 | 61 | 22 | 22 | 20 | 20 [815| 19 | 5 | 25 o
TDC 1007M-D3 PT1/2 15 22 85.5 25 Threed
[ TDC 1204M-D3 PT1/4 11 22 86.5 20 A Warning
§ TDC 1206M-D3 12 PT3/8 12 | 70 |22 [ 22 | 22 | 22 [875] 21 | 5 | 20
Shaft Hole ; ircuit di i
TDC 1207M-D3 PT1/2 15 2 915 20 oo e Verify prpduqt features and circuit diagram gnd ensure that air
Ing control direction has been set right before using product.
%g \ BESkUT=RIE eWhen controlling speed of a driving device, slowly open the
\_ J

valve from needle fully closed condition and apply control.

# Type B: Holder and V-Packing are assembled in opposite way
of Type A.

eDo not forcibly drive or rotate the product where the main body
itself rotates.



SPEED CONTROL VALVES

DMfit*

(Unit:mm) (Unit:mm)
(o |25 ControlUniveral Ehow A Type Parts No. 'Y bgt?-D PTThread A g (0 701 ControlEow Straight 8 Type Parts No. 'Y bgt?-D PTThiead A B L1 L2 C E gp1 gP2 M (%% =
=
[
BCUE 04M5MA M5X0.8 3.5 | 285 25 17 115 8 50 BCES 04M5MB M5X0.8 35 | 285| 25 27 14 11 10 11.5 8 50 ==
BCUE 0402MA 4 PT1/8 8 34 30 19 14 10 14 10 50 BCES 0402MB 4 PT1/8 8 34 30 32 14 14 10 50 E
BCUE 0404MA PT1/4 12 41 35 20 175 | 14 50 BCES 06M5MB M5X0.8 35 | 285| 25 28 12 11.5| 8 50 g_-,:;
BCUE 06M5MA M5X0.8 35 | 285 | 25 18 115 8 50 BCES 0602MB 6 PT1/8 8 34 30 33 16 13 12 14 10 50 E
BCUE 0602MA 6 PT1/8 8 34 30 20 16 12 14 10 50 BCES 0604MB PT1/4 12 41 35 34 16 18 14 50 %
BCUE 0604MA PT1/4 12 41 35 21 175 | 14 50 BCES 0802MB PT1/8 8 34 30 34 15 14 10 25 =
BCUE 0606MA PT3/8 12 44 | 375 23 21 17 50 BCES 0804MB 8 PT1/4 12 41 35 35 17 17 14 18 14 25 E—
BCUE 0802MA PT1/8 8 34 30 23 14 10 25 BCES 0806MB PT3/8 12 44 | 375 | 38 20 21 17 25 E
BCUE 0804MA 8 PT1/4 12 41 35 25 17 14 175 | 14 25 BCES 1004MB PT1/4 12 41 35 38 20 17 176 18 14 20 =
P BCUE 0806MA PT3/8 12 44 | 375 26 21 17 25 BCES 1006MB 10 PT3/8 12 44 | 375 | 41 19 ' 21 17 20
%%( BCUE 0807MA PT1/2 15 50 |415| 29 26 22 25 BCES 1206MB PT3/8 12 44 | 375 | 43 24 21 215 21 17 20
BCUE 1004MA PT1/4 12 41 35 28 17.5 14 20 BCES 1207MB 12 PT1/2 15 50 | 415 | 44 25 ' 26 22 20
BCUE 1 MA 1 PT 12 44 7. 2 2 17. 21 17 2
i i} i —BEEE 188$MA 0 PTig 15 50 212 32 0 ° 26 22 20 « Use a gold plated Lock Nut with 'B" inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)
J ,,ﬁ Eﬂ\ BCUE 1206MA 12 PT3/8 12 44 | 375 | 31 o4 | 215 21 17 20
BCUE1207MA PT1/2 15 50 | 415 34 ’ 26 22 20 HI@
Metric Screw % R R
Type e Use a silver plated Lock Nut with 'A" inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?) Metric Screw
Type
(Unit:mm)
o |25 Conrol UniverslElow B Tpe Parts No. W00 PTThread 5 g Wnitmm)
i i Tube O.D t
BCUE 04M5MB M5X0.8 35 | 285 25 | 17 115| 8 | 50 Gontrol Union Straight Parts No. 4D Bl B2 ¢P L C F1L F2 g¢d J (%X)
BCUE 0402MB 4 PT1/8 8 34 30 19 14 10 14 10 50
— BCUS 0404M 4 40 13 10 23 14 4.5 12 3.2 14 50
BCUE 0404MB PT1/4 12 41 35 20 175 | 14 50
BCUE 06M5MB M5X0.8 35 | 285 | 25 18 115 3 50 BCUS 0606M 6 48 17.5 12 30.5 16 7.5 15.5 3.2 20 50
T BCUE 0602MB | PTllé 8 3"1 20 20 1['1 0 50 BCUS 0808M 8 52 17.5 14 315 17 7.5 15 4.3 21 25
T BCUE 0604MEB | 6 PT1/2 2 n 35 21 16 12 175 | 14 50 BCUS 1010M 10 61 215 | 175 34 20 9 15 4.3 26 20
T BCUE 0606MB | PT3/8 12 2 375 23 21 17 50 BCUS 1212M 12 64 23 215 | 355 22 9.5 14.5 4.3 26 20
BCUE 0802MB PT1/8 8 34 30 23 14 10 25
BCUE 0804MB 8 PT1/4 12 41 35 25 17 14 175 | 14 25
BCUE 0806MB PT3/8 12 44 | 375 26 21 17 25
%x%;( BCUE 0807MB PTL/2 15 [ 50 415 29 26 | 22 | 25 Sl ﬁ%
- BCUE 1004MB PT1/4 12 41 35 28 175 | 14 20 o ol
- BCUE 1006MB 10 PT3/8 12 | 44 |375| 29 | 20 |175| 21 | 17 | 2 T ay VN
| _— I 1T \")
BCUE 1007MB PT1/2 15 | 50 |415]| 32 26 | 22 | 20 i =l bi N\
} ,,ﬁ nigﬂ BCUE 1206MB 12 PT3/8 12 44 | 375 | 31 o4 | 215 21 17 20 . 2-C .
U:J BCUE1207MB PT1/2 15 50 | 415 34 ’ 26 22 20 - —
Metric Screw 2 R
Tvpe e Use a silver plated Lock Nut with 'B" inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)
(Unit:mm)
: T .D PT Thr Hex
(0 135\ ContolEbow Stght A Type Parts No.  TUP®0 head A B L1 L2 Cc E gP1 gp2 M (‘é%
BCES 04M5MA 4 M5X0.8 35 | 285 | 25 27 135 11 10 115 8 50
BCES 0402MA PT1/8 8 34 30 32 ) 14 14 10 50
BCES 06M5MA M5X0.8 35 | 285| 25 28 12 115| 8 50
BCES 0602MA 6 PT1/8 8 34 30 33 16 13 12 14 10 50
BCES 0604MA PT1/4 12 41 35 34 16 18 14 50
BCES 0802MA PT1/8 8 34 30 34 15 14 10 25
BCES 0804MA 8 PT1/4 12 41 35 35 17 17 14 18 14 25
BCES 0806MA PT3/8 12 44 | 375 | 375 20 21 17 25
BCES 1004MA 10 PT1/4 12 41 35 35 20 17 176 18 14 20
BCES 1006 MA PT3/8 12 44 | 375 | 375 19 ' 21 17 20
BCES 1206MA 12 PT3/8 12 44 | 375 | 375 24 21 215 21 17 20
BCES 1207MA PT1/2 15 50 | 41.5]| 415 25 ' 26 22 20

e Use a silver plated Lock Nut with ‘A" inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)

Metric Screw
Type

—40 — —41 —



THROTTLE VALVES

DMfit*

ORDER INFORMATION

[TUE] [06] ([04]) [06] [M] - ([BK])
7 i

(Unit:mm)
INCLSISH ORI (=4, 06=6mn, 08=8m, 10 =10mm, 12=1 2un | f Tube O.D PT Thread Hex Qty
= TLE )= Throttle Universal Elbow Parts No. 5D g A B L E C gPior2 " cIS
Part Name BTUE 04M5M M5X0.8 | 35 | 285 | 25 | 165 115 8 | 50 S
BTUE 0402M 4 PT1/8 8 | 34 |30 | 18]135| 10 [ 14 [ 10 | 50 =
e Acetal : A BTUE 0404M PT1/4 12 | 41 | 35 | 195 175] 14 | 50 ==
*Polyb uykene Terepthakte(PBT) : B BTUE 06M5M M5X0.8 35 | 285 25 | 18 15| 8 | 50 =
BTUE 0602M . PT1/8 8 | 34|30 [195| .| . [ 14] 10 |50 =
Tube O.D - BTUE 0604M PT1/4 12 | 41 | 35 | 21 : 175| 14 | 50 —
ROy U4=tm. 06=tun. 08=6m. 10=I0m. 12=1 2m = BTUE 0606M PT3/8 12 | 44 375 225 21 | 17 | 50 =
BTUE 0802M PT1/8 8 [ 34 |30 | 2 14 | 10 [ 25 =
ST (s P (RBTR? : BTUE 0804M PT1/4 12 [ 41| 35 | 24 175] 14 | 25
Thread Type [l RiAIE PTE/ s [ BTUE 0806M 8 PT3/8 12 | 44 375 255 % | M [ [17 | 25
07=PT1/2", M3=M5x0.8P, Mo=M6 x1.0P |_ \ —_—
s = BTUE 0807M PT1/2 15 | 50 [415] 28 26 | 22 | 25
SUEEORPE 04=4m, 06=6m, 08=8m, 10 =10m, 12=1 2un o , BTUE 1004M PTL/4 12| 4] 35 | 27 175] 14 | 20
R = BTUE 1006M 10 PT3/8 12 | 44 |375] 285|195 (175 | 21 | 17 | 20
Metric S ze M |— : BTUE 1007M PT1/2 15 | 50 [415] 31 26 | 22 | 20
-] 1] BTUE 1206M b PT3/8 12 | 44 375305 [, [ 21 [17 [ 20
Usages Body Color YR, |_ e 22 BTUE 1207M PT1/2 15 | 50 | 415/ 33 26 | 22 | 20

e These valves are used for flow control of air pressure driving
devices.

eThese valves can be useful for control and operation of Specificat ion

cylinders and other devices in a confined space.

{(Unit:mm)
) i Tube O.D PT Thread Hex Qt

Fluid A 1) =3 Throttle Elbow Straight Parts No. oD . A B LL L2 C g¢P1gp2 E (‘é X)
Features ) BTES 04M5M M5X0.8 | 3.5 | 285/ 25 |26.5 115| 8 | 8 | 50
- Pressure 0 ~ 1.0Mpa (10kgi/cm”) BTES 0402M 4 PTL8 8 |34 | 30 3152 714 [10 | 10 50
e Flow control is possible from low volume to large volume. y BTES 06M5M M5X0.8 35 |285| 25 |275 115 8 | 8 | 50

. . . . . . acuum —750mmHg (10 Torr
e Valve configuration and dimensions are uniform for different o 9 ) __BTES0602M | 6 PT1/8 8 | 34|30 |325]155]12 | 14 | 10 | 10 | S0
valve openings so that they facilitate applications in diverse BTES 0604M PT1/4 12 | 41 | 35 1335 18 | 14 | 14 | 50
circums?anceg y PP Hose Used Polyurethane, Nylon, Polyethylene ~ BTES0802M | 5T/ s 32 | 30 (335 2 T10 102
' . . BTES 0804M 8 PT1/4 12 | 41 | 35 345|165 14 | 18 | 14 | 14 | 25
e Same flow rate can be achieved regardless of valve size. BTES 0806M PT3/8 12 | 44 | 375 37 21 | 17 | 17 | 25
BTES 1004M PTL/4 12 [a1 |35 [375] [ [ 18|14 [ 14 [ 20
BTES 1006M 10 PT3/8 12 | 44 [375] 40 |77 21 17 [ 17 | 20
s ~N Throttle Valve Label \714/ BTES 1206M PT3/8 12 | 44 [375[ a2 [, |, |21 [ 17 [ 17 | 20
BTES 1207M 12 PTL2 15 | 50 415|435 |2 |“° [ 26 | 22 | 22 | 20
Diagram d‘\ S

Body

Need| .
= A Safety Instruction e~

Lock Nut ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

olf needle is used in rough manner, it can be separated from the
main body. Wnit:mm)

eThese valves may have minute amounts of air leak. Do not use 1013 Throttle Union Straight Parts No. 1uPeOD g1 B> 4p L c F1L F2 gd J QW

Lock
Lock—Cap
Sleeve Brass Sody

Tube

these products where required air leak is zero. 8D (EA)
BTUS 0404M 4 385 | 13 10 | 23 [135 | 45 | 12 32 | 14 | 50
BTUS 0606M 6 465 | 175 | 12 [ 305 | 155 | 75 |155 | 32 | 20 | 50
T BTUS 0808M 8 50 | 175 | 14 | 315 |165 | 7.5 | 15 43 | 21 | 25
BTUS 1010M 10 58 | 215 | 175 | 34 | 195 9 15 43 | 26 | 20
BTUS 1212M 12 62 23 | 215|355 | 21 95 | 145 [ 43 | 26 | 20

Shaft Hole e \Verify product features and circuit diagram and ensure that air

' control direction has been set right before using product.
©7Ang eWhen controlling speed of a driving device, slowly open the op %
Backup—Ring valve from needle fully closed condition and apply control. T
eDo not forcibly drive or rotate the product where the main body : 1‘1 ﬂ : H H @3
\_ J itself rotates. P H

—42 — —43 —



SPEED CONTROL VALVES

DMfir

FLOW RATE / CUE, CES TYPE FLOW RATE / CUS TYPE

F
HOIR et Mo 9 ARR (=)
9
= // 1
100 — 100 —— 100 7 100 e
— — — & —
z // s 5 z BCUS 0404M £ % P g £ a0 = -]
BOUE 04M5 £ 80 5 & £ 80 s = 5 2 3 =
BCUE 06M5 2 | o 2 A ] ~ ¢ ] Z
5 60 — < £ 60 e £ 6o i s 2 L 60 > |
< 3 2 < & y > P a ; M
BCES 04M5 = 40 —f s = 40 Z 40 7 o e 2 40
[} L~ | a s} / ] / 3 /
BCES 06MS5 S 9 L
© 0 /, |+ 1 " ,/ “ 20 4/./ . “ 20 ,/
A %/ 7
0 0 0 0
1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9
1 2 3 4 5 6 1 2 3 4 5 6 7 8 9
Needle Return PRESSURE(kgf/ o) Needle Return PRESSURE (kgf/ cr)
9 9
| "
250 -~
250 . — 7
BCUE 0402M _ L1 |+ = _ L1 BCUS 0606M = | —t g =
BCUE 0602M € 200 ] T 2 € 400 ] £ 200 —— = £ 400
BCUE 0802M £ 5 £ < S = ] s
= L~ 5 = B / =z P 5 T = L1
z 1 g =1 = I} -~ & o -
& 160 > i< Z 300 > o 150 P g I 300 —
= 13 23 = A < / L~ 3 3 < L
BCES 0402M s L 3 & P g - 2
BCES 0602M = 100 = —= @ = 200 = g 100 7 o % 200 —
BCES 0802M S |t & S L1 o / // S L1
© 50 —7// = ! 100 S " 50 — ! * 100 —
0 0 0 [o]
1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9
Needle Return PRESSURE(kef/ or) Needle Return PRESSURE (kef/ )
BCUE 0404M 500 ———9 BCUS 0808M 500 . 9
BCUE 0604M = l// % = = =" 5 =
BCUE 0804M € 400 — 7 = £ 700 £ 400 73 £ 700
BCUE 1004M 3 //// 2 s 3 A /// 2 E L~
2 — g o Z 300 g g 500
& 300 = 5 > = 500 / = / > =
<< n < < 0 <
BCES 0404M T L1 4] « L~ < /] & < ]
BCES 0604M 2 200 7 3 2 300 = Z 200 7 1 3 Z 300 —
BCES 0804M 2 e A1 1 T L~ T 74 e 1 T all
BCES 1004M 100 A 100 =" 100 g —— 100
//’ | /”' o
0 0 0 0
1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9
Needle Return PRESSURE(kef/ o) Needls Return PRESSURE (kgf/ o)
BCUE 0606M 1800 1800
BCUE 0806M _ 9 = _ BCUS 1010M o -
BCUE 1006M < — s < = " 5 =
BCUE 1206M £ 1400 / 7 % E 1400 E 1400 ;B £ 1400
2 1000 = 5 5 i 1000 — I 1000 = 5 < T 1000 —
< —— 9] < / = // 2 =2 /
3 1% « o @ o
BCES 0606M = 600 — ¢ = 600 - — = 600 — 3¢ = 600 -~
BCES 0806M 6l P — a 3 L1 3 7 — T 3 /'
BCES 1006M € 1 1 2 g A - 1 g
A — 1 [ —— | et [
BCES 1206M 200 E— 200 200 9‘ 200
0 o LT é% -
0 0
1 4 6 8 10 12 14 1 2 3 4 5 6 7 8 9 q 2 3 4 5 6 7 8 { 2 3 4 5 6 7 8 9
Needle Return PRESSURE(kgf/ om) Needle Retumn PRESSURE(kgf/ or)
BCUE 0807M 2500 // o / BCUS 1212M 2500 —
BCUE 1007M z L 17 = ~ < | % < .
BCUE 1207M £ 2000 =1 A 3 £ 2000 = € 2000 — — = € 2000 —
: T A - : P : 1T s & : Pre
£ 1500 1 5 £ 1500 = T 1500 s < I 1500 =
BCES 0807M T A A 3 9 < L~ & P 3 & L~
BCES 1007M = 1000 P o« = 1000 = 3 w P
¢l ] @ 3] L~ = 1000 - o« = 1000 >
BCES 1207M z /// z 9 L] [ S] L1
500 —A— 1 500 © 00 A 1 © 500 |~
= = g —
et A = |
0 0 0 0
1 4 6 8 10 12 14 1 2 3 4 5 6 7 8 8 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9

PRESSURE (kgf/ o)
Needle Return Needle Return PRESSURE((kgf/ cr)

—44 — —45 —



e These valves are used for open-close of air pressure in a device.
eThese valves can be applied appropriately to user's intended
usages (such as for Fitting-Tube or Thread).

eHand valves are used to turn on or off air pressure in a
pneumatic device.

eThree-way valves eliminate residual air pressure within device
when closing while two-way valves do not have such a function.

( )

Handle

Cap

Liner

Guide Ring

Shaft
O—Ring
Backup—Ring
Lock
Lock —Cap
Sleeve

Tube

ORDER INFORMATION

_Lli%_[ [HVMT|

06| [06] [M]| - [BK]
L

Tube O.D

(6= 6m, 08=8m, 10=10m, 12=12m |

Part Name

o Acefal : A
o Polybutylene Terepthalae (PBT) : B

T

AEL0I=HONBE (6= Brm, 08= 8m, 10= 10m, 12= 12m
AL ORNAIEE  02=PTI/8 | 04=PT1/4', 06=PT3/8', 07=PT1/2"

DLW OIIE  Metic Size : M I—
EL\ASHIIM o Black : BK l—

Specification
Fluid Air
Pressure 0~ 1.0Mpa (10kgf/cm?)

Vacuum —750mmHg(10Torr)

Hose Used Polyurethane, Nylon, Polyethyle ne

% Three-way valves and two—-way valves

e Three-way valves close air flow
while discharging residual air
through the output side, thus
ensuring safe adjustment or
repair work of connected device

eTwo-way valves do not discharge
residual air pressure. Thus they
are suitable for devices that do
not require residual air bleeding,
for air supply to such tanks and
for devices where vacuum
piping is used.

A Safety Instruction

ePlease read safety instructions (P. 5) of this Product Catalog
before using these products.

e\When operating the handle, make sure to turn it fully to either
Close or Open direction. Otherwise, incomplete cutoff/open
action can result in insufficient flow rate.

AV A1 Hand Vlve Union Connectr

(]
] =5
e
4]

DMfir

(Unit:mm)

Tube O.D Tube O.D Qty

Parts No. D1 4D2 gPl gP2 B1 B2 C1 C2 E1 E2 ¢gK J F ¢d (EA)

BHVUC 0606M 6 6 12| 12 |405| 22 | 16 | 16 | 24 | 24 |165| 18 [185] 45 | 50

BHVUC 0806M 6 14 | 12 [405] 22 | 17 | 16 | 27 | 24 50

BHVUC 0808M 8 8 1] 14 205 2 | 17|17 | 27 | 27 | 105| 8|185]45 5,

BHVUC 1010M 10 10 175 175[415] 20 | 20 | 20 | 31 | 31 | 19 |215] 24 | 45 | 25

BHVUC 1210M 10 215]175]415] 20 | 22 | 20 | 34 | 31 20
e 19 |215| 24 | 45 F——

BHVUC 1212M 12 215(215[415] 20 | 22 | 22 | 34 | 34 20

(Unit:mm)

Tube O.D PT Thread Oiela. Qty

GAA TR Hand Valve Male to Tube Parts No.  “Ep" "% 6P E L C A H gK gd B1B2 J F i)
BHVMT 0602M PTU8 | 12 | 24 |335| 16 | 8 | 12 4 | 50

BHVMT 0604M 6 PT1/4 | 12 | 24 |365| 16 | 11 | 14 | 166| 45 |405| 22 | 18 [185] 4 | 50

BHVMT 0606M PT3/8 | 12 | 24 385 16 | 12 | 17 4 |50

BHVMT 0802M PTL8 | 14 | 26 | 355| 17 | 8 | 14 6 | 50

BHVMT 0804M 8 PT1/4 | 14 | 26 |385| 17 | 11 | 14 | 166| 45 |405| 22 | 18 [185] 6 | 50

BHVMT 0806M PT3/8 | 14 | 26 | 40 | 17 | 12 | 17 6 |50

BHVMT 1004M PTU4 | 175| 31 | 425| 20 | 11 | 17 7 |25

‘ | BHVMT 1006M 10 | PTaig |175) 31 | 44 | 20 | 12| 17 | 19 | 45 |415] 20 | 215| 24 | 7 | 25
‘ BHVMT 1007M PT12 | 175 31 | 48 | 20 | 15 | 22 7 |25

: BHVMT 1204M PTU4 | 215 34 | 46 | 22 | 11 | 21 75 | 20
ﬂﬁj N BHVMT 1206M 12 | PT3i8 | 215 34 | 47 |22 | 12 ] 21| 19| 45 |415] 20 | 215| 24 | 9 | 20
A ;: BHVMT 1207M PT12 | 215 34 | 51 | 22 | 15 | 22 9 |20
(Unit:mm)

Tube O.D PT Thread Ofieda Qty

Parts No. PE L C A H K gd B1 B2 J F

gD R ¢ or @ (gm) (EA)

BHVTM 0602M PTL8 | 12 | 24 |335| 16 | 8 | 12 4 | 50

BHVTM 0604M 6 PT1/4 | 12 | 24 |365]| 16 | 11 | 14 |165| 45 |405| 22 | 18 [185] 4 | 50

BHVTM 0606M PT3/8 | 12 | 24 [385] 16 | 12 | 17 4 | 50

BHVTM 0802M PTL8 | 14 | 26 [355| 17 | 8 | 14 6 | 50

BHVTM 0804M 8 PT1/4 | 14 | 26 |385]| 17 | 11 | 14 |165| 45 |405| 22 | 18 [185] 6 | 50

BHVTM 0806M PT3/8 | 14 | 26 | 40 | 17 | 12 | 17 6 | 50

BHVTM 1004M PTU4 175 31 |425] 20 | 11 | 17 7 | 25

BHVTM 1006M 10 | PT3/8 [17.5] 31 | 44 |20 | 12 | 17 | 19 | 45 |415| 20 |215| 24 | 7 | 25

E%l BHVTM 1007M PT1/2 |175| 31 | 48 [ 20 | 15 | 22 7 |25
BHVTM 1204M PTU4 |215| 34 | 46 | 22 | 11 | 21 75| 20

@\ BHVTM 1206M 12 | PT318 [215] 34 | 47 |22 | 12 | 21 | 19 | 45|415| 20 | 215 24 | 9 | 20
= BHVTM 1207M PT1/2 |215| 34 | 51 | 22 | 15 | 22 9 | 20
(Unit:mm)

SAAV LY Hand Valve Male to Male

e
E

£

PT Thread PT Thread

Ofieda Qty

Parts No. R1 Rz HL H2 AL A2 L1 L2 ¢K ¢d B1 B2 F J () (EA)
BHVMM 0202 PT1/8 | PTI8 | 14 | 14 | 8 | 8 |355|355|166 | 45 | 405|21.95 185| 18 | 6 | 50
T T Rk R TR TR RN N ETIE Tahiad sl il i R B AR
st osos | "1 ot o [ [ [ [ [ 0| 4|48 0| # s
a0 | " [ otie [ [ [ e s 40 D H

—
)
—
—
<« D
]
=
| |
—
=}
-_
==
F—
——
[ —J
=
—
~rm
[— 3




HAND SLIDE VALVES

BALL VALVES

e These valves are used for open-close of air pressure in a device.

e These products are made of brass and aluminum and thus can
be used for long period of time in outdoor environments.

Aluminium Case

Brass Body

O—Ring

Snap Ring

ORDER INFORMATION

HSV ([m])

Part Name

( )

i

o Brass :B |

Metrc Size : MiCnly Metrc Thread avalable ) |—

TR 02=PTI/8", G4=PTI/4", (6=PT38"
07=PTi/2", 0=PT3/4", M5=MEX0.8P

Specification

Fluid Air
Pressure 0 ~ 1.0Mpa (1 Okgf/cm?)
Vacuum —750mmHg(10Torr)

A Safety Instruction

ePlease read safety instructions (P. 5) of this Product Catalog
before using these products.

eWhen opening the flow, open valve fully. Otherwise, incomplete
open action can result in insufficient flow rate.

eoCheck flow direction of product before using it. Wrong flow
direction can result in bodily injury or device damage.

eWhen disassembling device, make sure the residual air
pressure inside of device is zero before the work.

(Unit:mm)
- 10"/ Hand Slide Valve Parts No. ~ PTThread 5 c L D HeX qty (EA)
BHVS M5 M5 45 2 46 22 12
BHVS 02 PT1/8 7.5 2 53 22 12
BHVS 04 PT1/4 8.5 25 66 25 17
BHVS 06 PT3/8 11 25 68 29 22
BHVS 07 PT1/2 12 25 75 32 24
BHVS 09 PT3/4 14 25 80 47 30
ii%g
% k;g;t s
L
L

e These valves are used for open-close of air pressure in a device.
e These valves can be applied appropriately to suit the user's
intended application (Fitting-Tube, Thread).

e Bulkhead products are suitable for tubing fixation.

e These products are made of PPS.
e Compressed air and water can be used with these valves.

e These valves are small in size but have sufficient effective
cross sections corresponding to tube dimensions.

( )

Handle

Bat
Shaft

Body
S—Ring
O—Ring
Pin
Backup—Ring

Tube

ORDER INFORMATION

!BI !BVUC| [06] [06] ||v|! - |BK!
Tube O.D (6=6an, 08=8mm, 10=10m, 12=12m
WICESRITI  (p-pri/s" 0=PTI/L" 0= PTYS" O7=PT1"

i

: ESIlfylene Terepthdae (PBT) : B
(5=6m, 08=6mn, 10=10m, 12=12m

WUICEURBTER  (p=pT1/g, 4P TI/4", 06=PTI"  07=PT12"
Me tric Size : M |
* Black :BK |

Specification

Fluid
Conditions

Air Water

Pressure 0~1.0Mpa(1Ggfcm?d | 0~0.3Mpa (Xkgticm?)

Vacuum —750mmHg(10Tor) =
Temperature 0C ~607C
Hose Used Polyurethane, Nylon, Polyethylene

A Safety Instruction

ePlease read safety instructions (P.5) of this Product Catalog
before using these products.

eWhen operating the handle, make sure to turn it fully to either

Close or Open direction. Otherwise, incomplete cutoff/open
action can result in insufficient flow rate.

eWhen using water as the fluid medium, the operating pressure
must not exceed 0~3kgf/cm?. Do not use in situations subject to
vibration, bending or shock.

eVerify Lock Pin is installed correctly before using a valve. If
Lock Pin is missing, the main body will be disassembled.

—
~r
—
——
1
—— ]
| — ]
~r
—
—3
——]
—
=—
——
—]
[
[ =
[ —
~r
—
—
-
(5=
—
-
—
——
[
==
-
=)
=2
==
===
e
—_
—
=
| —
-
D




BALL VALVES

DMfir

(Unit:mm) (Unit:mm)
Ball Valve Union Gonnecor Ball Valve Elbow Union
BBVUC 0606M 6 6 16 | 16 | 17 | 17 | 235|545| 17| 5 50 BBVEU 0606M 6 6 16 | 16 | o | ,, [275/505] | | 5 |50
BBVUC 0806M 8 6 17 | 16 | 17 | 17 | 23 |555| 17| 5 50 BBVEU 0608M 8 16 | 14 28 | 505 5 | 50
BBVUC 0808M 8 17 | 17 | 17 | 17 | 235| 56 17 | 6 50 BBVEU 0806M 8 6 14 |16 [ | o f2zs] 51| | o[ 5 |50
BBVUC 1010M 10 10 20 | 20 | 24 | 24| 28 | 74 | 24| 8 25 BBVEU 0808M 8 17 | 17 28 | 51 6 | 50
BBVUC 1210M 1 10 22 | 20 | 24 | 28| 28 | 74 | 24| 8 20 BBVEU 1010M 10 10 20 |20 |, |, [ 37 ]ess] |, [ 8[25
BBVUC 1212M 12 22 | 22 | 24 | 24| 28 | 74 | 24| 9 20 BBVEU 1012M 12 20 | 22 37 | 37 ' 8 | 20
BBVEU 1210M 10 22 | 20 37 | 37 8 | 20
PK e —
] H B2 . BBVEU 1212M 12 12 2 2| %] % 37 [ess5| 2|35 9 [ 20
. E5
] 1 R
EE Rl ] il B gl ﬂ
. B e
c1 c2
B1
(Unit:mm)
Ball Valve Male Elbow
(Un i :mm) BBVME 0602M PT1/8 16 | 17 |335| 23 | 57 | 28 | 8 5 | 50
BBVME 0604M 6 PT1/4 16 | 17 |365] 23 | 60 | 28 | 11 | 17| 17 | 5 | 50
Ball Valve Male Connector BBVME 0606M PT3/8 16 | 17 [375] 23 | 61 | 28 | 12 5 | 50
BBVME 0802M PT1/8 17 | 17 |335] 23| 57 | 29 | 8 6 | 50
BBVMC 0602M PT1/8 8 61 50 BBVME 0804M 8 PT1/4 17 | 17 |365] 23 | 60 | 29 | 11 | 17| 17 | 6 | 50
BBVMC 0604M 6 PT1/4 16 17 | 32 11 64 17 17 | 5 50 BBVME 0806M PT3/8 17 | 17 [375] 23 | 61 | 29 | 12 6 | 50
BBVMC 0606M PT3/8 12 65 50 BBVME 1004M PT1/4 20 | 24 |445| 28 |725]| 38 | 11 8 | 25
BBVMC 0802M PT1/8 8 63 50 BBVME 1006M 10 PT3/8 20 | 24 |455| 28 |735] 38 | 12 | 24| 24| 8 | 25
BBVMC 0804M 8 PT1/4 17 17 | 32 11 66 17 17 6 50 BBVME 1007M PT1/2 20 | 24 |48.7| 28 | 76.5| 38 | 15 8 | 25
BBVMC 0806M PT3/8 12 67 50 BBVME 1204M PT1/4 22 | 24 |445| 28 |725] 38 | 11 9 | 20
BBVMC 1004M PT1/4 11 82 25 BBVME 1206M 12 PT3/8 22 | 24 |455| 28 [735] 38 | 12 | 24| 24| 9 | 20
BBVMC 1006M 10 PT3/8 20 24 | 405 12 83 24 24 8 25 BBVME 1207M PT1/2 22 | 24 |485| 28 | 76.5| 38 15 9 20
BBVMC 1007M PT1/2 15 86 25
BBVMC 1204M PT1/4 11 82 20
BBVMC 1206M 12 PT3/8 22 24 | 405 | 12 83 24 24 | 9 20
BBVMC 1207M PT1/2 15 86 20
(Unit:mm)
Ball Valve Bulkhead Elbow
BBVBE 0606M 6 6 M14X1.0 |155(155| 17 | 23 |275|655| 17 | 17 | 19 | 5 | 50
BBVBE 0806M 6 M16X1.0 |16.5|15.5| 17 | 23 [275 5 | 50
—_—— 3 66.5| 17 | 17 | 19
(Uni mm) BBVBE 0808M 8 M16X1.0 [16.5]16.5| 17 | 23 | 28 6 | 50
. BBVBE 1010M 10 10 M20X1.0 [19.5/19.5| 24 | 28 [ 37 |81 | 24 | 24 | 24| 7 | 25
Ball Vialve Bulkhead Union BBVBE 1210M 1 10 M22X1.0| 21 [195| 24 | 28 |37 | o | oy | oy | 94 |7 | 20
BBVBE 1212M 12 M22X1.0| 21 | 21 | 24 | 28 | 37 8 | 20
BBVBU 0606M 6 6 M14X1.0| 16 | 16 | 17 | 43 | 23 | 71 | 17 | 19 | 5 | 50
BBVB
_ BBVBUOBOBM | 4 6 M16x1.0 |~ 1201 17 | aa | 23| 73 | 17 | 19 210
BBVBU 0808M 8 17 | 17 6 | 50
BBVBU 1010M 10 10 M20X1.0| 17 | 20 | 24 | 53 | 28 | 91 | 24 | 24 | 7 | 25
BBVBU 1210M 10 22 | 20 7 | 20 &2
— =t 12 M22X1.0 24 | 54 | 28| 92 | 24 | 24 &z ¢
BBVBU 1212M 12 22 | 22 8 | 20 H
T
aK . j==ms]
T /MHZ ol mﬂ
8 == e i 2
W FF-‘ W] ﬂ\rgii
] lo ==
| —1 M"M
B cz @ /Iiff
51 E H2- w

—50 — —51 —



e Check valves are used where air flow has to be in one direction only.

e These valves are used where the air flow has to be constant
without variation in the fluid pressure at the output side.

e Check valves ensure that air flows in one direction only and
block air flow of reverse direction.

eCheck valves operate at the pressure of 0.1kgf/cm? and
1.42(PS) vacuum pressure is maintained. They are connected
at low pressure.

4 )

Valve Spring

Sleeve

Case

Backup—Ring

Tube Lock —Cap

ORDER INFORMATION

|__||3_| !CVMC| |_o|§| |ng| |_|\|/|_| - (BK]

Tube O.D

04=4mm, 06=6am, 08=8mm, 10=10mm, 17=1"m

02=PT1/8", 04=FT1/4", 06=PT3/8"
07=PT1/2" , M5=M5X0.8P, M6=M6X1.0P

Thread Type

eBrass i B
®Polybutylene Terepthalate (PBT) : B

Tube O.D

04=4mm, 06=6am, 08=8mm, 10=10mm, 17=1"m

02=PT1/8", 04=FT1/4", 06=PT3/8"
07=PT1/2" , M5=M5X0.8P, M6=M6X1.0P

Metric Size : M

Thread Type

|_
oBlack : BK I—

Specification

Conditions =Ll il
Pressure 0 ~ 1.0Mpa (1 Okgf/cm?)
Vacuum —750mmHg(10T orr)
Temperature 0C ~60C
Hose Used Polyurethane, Nylon, Polyethylene

Control Method

Type Meter IN Meter OUT

Air Flow Thread to Tube Tube to Thread
CvMC o— o
cveu | e | oo
cvuc f——%—1  ustkeepthe drecion marked on the Bady

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

eWhen tightening a screw product, screw can be stuck into the
main body, resulting in a malfunction.

e Verify air flow direction before using a check valve.

eln case of too frequent operations of a valve body, excessive
heat generation could inflict burn injury to human skin.

0\ Tos]Chick Vel Union Comector

DMfit*

C oo
o s
H—L_iwu—ti Bil
B

0"\, [ 0 Check Valve Mele Connector

' :|1] Check Valve BUsh

R2—]

A2

s

!

(Unit:mm)
Parts No. e bgé) = C 6P B Qty (EA)
BCVUC 0404M 4 14 10 42 50
BCVUC 0606M 6 15 12 45 50
BCVUC 0808M 8 17 14 53 50
BCVUC 1010M 10 20 17.5 58 25
BCVUC 1212M 12 22 21.5 70 20
(Unit:mm)
Tube O.D PT Thread Qty
Parts No. 5D R A #P C B H EA)
BCVMC 04M5M M5X0.8 4 10 14 32 10 100
BCVMC 04M6M 4 M6X1.0 4 10 14 32 10 100
BCVMC 0402M PT1/8 8 10 14 36 10 100
BCVMC 0602M 6 PT1/8 8 12 15 30 12 50
BCVMC 0604M PT1/4 11 13 15 30 14 50
BCVMC 0802M 3 PT1/8 8 14 17 43 14 50
BCVMC 0804M PT1/4 11 14 17 30 14 50
BCVMC 1006M 10 PT3/8 12 17.5 20 46 17 25
BCVMC 1007M PT1/2 15 17.5 20 46 22 25
BCVMC 1206M 12 PT3/8 12 21.5 22 53 22 20
BCVMC 1207M PT1/2 15 21.5 22 53 22 20
(Unit:mm)
Parts No.  P7Tead PTThread 5, A2 B H  Qty (EA)
R1 R2
BCVBU 0202M PT1/8 PT1/8 8 8 22 14 100
BCVBU 0404M PT1/4 PT1/4 11 11 28 17 50
BCVBU 0606M PT3/8 PT3/8 12 12 37 24 25
BCVBU 0707M PT1/2 PT1/2 15 15 45 27 20

——
i
—f]
—
(1
e
—]
-
—y
[—3
=9
==}
— —
=]
(w3
==
—
=
=1
=
=D




DMfir

ORDER INFORMATION

(Unit:mm)
[B] [stmc] [o6] [02] [M] - ([BK]) o
| I I STop ftting Union Connector
BSTUC 04M 4 14 10 42 100
UCLIRORPE  (4=dm, 06=6m, 08=8m, 10=10m, 12=12m | BSTUC 06M 6 16 1 45 50
— BSTUC 08M 8 17 14 53 50
Part Name ‘ BSTUC 10M 10 20 17.5 58 25
BSTUC 12M 12 22 215 70 20
* Brass :B -
* Polybutylene Terepthalate (PBT) | B SIS
RTEI—" MBS stuemE Bl
LR D2PTIR GA=PTIIL, 06=PTSR" || JHH L
07=PT1/2", M5=M5X(.8P, ME=M6X1.0P B
Metric Size : M '—
Body Color Bz Ed ez '—
e Stop fittings are used mostly where pneumatic tubing is frequently
changed.
e Stop fittings are also used widely in laboratory and instructional tWUnit:mm)
devices. -
STop fiting Male Connector
BSTMC 0402M 4 PT1/8 8 10 14 23 10 100
BSTMC 0602M 6 PT1/8 8 12 16 o6 12 50
Fluid Medium Air BSTMC 0604M PT1/4 11 13 14 50
e Stop Valve is imbedded to allow bi-directional air flow when BSTMC 0802M PT1/8 8 14 14 50
connected to Tube. When Tube is separated air flow stops. G BSTMC 0804M 8 PT1/4 11 14 17 35 14 50
o . . Pressure ~ 2
eInterior is of two-stage structure to facilitate attachment and P 0 ~ 1.0Mpa (10kgt/cm?) BSTMC 0806M PT3/8 12 14 17 50
detachment . BSTMC 1004M PT1/4 11 17 17 25
: ] BSTMC 1006M 10 PT3/8 12 17 20 39 17 25
Vacuum —750mmHg(10Torr) : BSTMC 1007M PTLI2 15 175 22 25
o BSTMC 1206M 1 PT3/8 12 21 - 6 21 20
Hose Used Polyurethane, Nylon, Polyethyle ne o BSTMC 1207M PTL2 15 22 22 20
( )
Valve Spring
Shaft
Liner A
O—Ring ePlease read the safety instruction (page 5) of the Product
Catalog before using products.
Lock e Verify flow direction of Stop Fitting before using it. Wrong flow Wnitmm)
Sleeve connection can result in no air flow. STop fitting Male Elbow
BSTME 04M5M M5X0.8 25 10 4 100
BSTME 04M6M 4 M6X1.0 14 30 10 25 10 4 100
BSTME 0402M PT1/8 26.5 10 8 100
BSTME 06M5M M5X0.8 275 12 4 50
- BSTME 06M6M M6X1.0 27.5 12 4 50
A BSTME 0602M 6 PT1/8 16 = 12 29 12 8 50
e c BSTME 0604M PT1/4 32 14 11 50
eWhen separating Tube with pressure applied to Stop Fitting, oo C BSTME 0802M PT1/8 30.5 14 8 50
Backup—Ring the Tube may abruptly shoot out and cause bodily injury. R BSTME 0804M 8 PT1/4 17 40 145 | 335 14 11 50
H BSTME 0806M PT3/8 35 17 12 50
Tube ———— Lock—Cap BSTME 1004M PT1/4 37.5 17 11 25
BSTME 1006M 10 PT3/8 20 46 17.5 39 17 12 25
BSTME 1007M PT1/2 43 22 15 25
- J BSTME 1206M PT3/8 41 21 12 20
R BSTME 1207M 12 PT1/2 2 >4 2 45 22 15 20

—54 — —55 —



ROTARY JOINTS

DMfir

ORDER INFORMATION

[B] [REMC] [06] [02] [M] - ([BK] —
T | | ( ;) >0 Lol Rotary Jint el Connector Parts No.  'upeO-D PTThread = 5 p ¢ pgpm Hex QU

@D Rc H (EA)
BRIMC 04M5M M5X0.8 4 100
LI OHBE  0d=dnm, 06=6mm, 08=08mm, 10 =10mm, 12=1 2mn BRIMC 04M6M 4 M6X1.0 4 34 10 16 500 12 100
p P o BRIMC 0402M PT1/8 8 100
CERRRTN  02=PT1/8”, 04=PT1 /4", 06 =PT3/8 BRIMC OBMEM VEXO0. . 5
07=PT1/2", M5=M5x0.8P, M6=No x1.0P “BRIMC 06M6M | . MBX1.0 2 w65 » - 500 y 50
BRJIMC 0602M PT1/8 8 : 50
BRIMC 0604M PT1/4 11 50
__ B , BRJIMC 0802M PT1/8 8 50
eBrass : B = o BRJIMC 0804M 8 PT1/4 11 435 14 185 400 17 50
o Polb uylene Terepthakte(PBT) © B JoriH : BRIMC 0806M PT3;8 12 50
S ! BRJIMC 1006M 10 PT3/8 12 56 176 1 200 - 25
PTG 04=PT 1 06 =PT3l8" BRJIMC 1007M PT1/2 16 25
Thread Type 12 P”/,8 O=IUA, — g Re BRJIMC 1206M PT3/8 12 20
07=PT1/2", M5=M5x0.8P, M6=Mp x1.0P " BRIMC 1207M | 12 PT1/2 16 62 21.6 22.5 250 24 20
MetricSize : M '—
eRotary joints are used for piping of swing area and rotating area. Body Color N '_

e Rotary joints are applied to Index Tables and industrial robots.

(Unit:mm)
i Specification X\ |8 Rotary Joint Male Elbow PantsiNGi [RHEICAR (EINTEad] BV AN B B BTEN e R pril B =48 Bty

eBearings are imbedded to enable use in high speed rotation 9D Rc H (EA)

and Swinging areas. BRJME 04M5M M5X0.8 4 21 100
. . . ) i BRJIME 04M6M 4 M6X1.0 4 21 17.5 10 | 14 500 12 100
eHigh Rotary Joint, which has double bearings, are used where Condit Fl Air T BRIME0A0ZM | PT18 3 22 100
g ; e 3 onditions
Plgherr] roag#pnlrate than_for regular Rotary Joint is required or BRIME 06M5M M5X0.8 2 245 50
or other difficult connections. o
e 0~ 1 OMpa (1 Okaf /om? - BRJME 06M6M M6X1.0 4 24.5 50
2 i Ol ) - BRJME 0602M 6 PT1/8 8 245 | 206 18 17 500 14 50
B BRJME 0604M PT1/4 11 245 50
Vacuum —750mmHg (10Torr) - BRJME 0802M PTL/8 8 | 305 50
s ~ BRJME 0804M 8 PT1/4 11 30.5 24 18 | 185 | 400 17 5
BRJME 0806M PT3/8 12 30.5 50
Diagram Temperature 0C ~607C BRJIME 1006M 10 PT3/8 12 35 28 176 | 215 300 - 25
g BRJME 1007M PT1/2 16 35 ) ) 25
BRJME 1206M PT3/8 12 40.5 20
Body Hose Used Polyurethane, Nylon, Polyethylene BRIME 1207M 12 PTL/2 16 | 405 | Ot | e 25 280 24 T,
O—Ring
Backup—Ring
LocK
Lock—Cap A Safety Instruction
Sz ePlease read the safety instruction (page 5) of the Product
y pag (Unit:mm)

C.atalog b(.efore usmg products. N . SR Tube O.D PT Thread
eTiny bearings are imbedded within a rotary joint. Therefore, : gD Rc
applied load on a rotary joint should be kept a minimum. BRHMC 04M5M M5X0.8 4 43 100
Y BRHMC 04M6M 4 M6X1.0 4 43 10 16 1500 12 100
. BRHMC 0402M PT1/8 8 47 100
BRHMC 0602M 6 PT1/8 8 52 16 17 1200 17 50
BRHMC 0604M PT1/4 11 52 50
. BRHMC 0802M PT1/8 8 52.5 50
—_— 8 18 185 | 1200 17
A Warning BRHMC 0804M PT1/4 11 55.5 50
) ) B
eln case of high speed movement, use urethane tubing. Hard C A  BRHMC 1006M__ | 10 PT3/8 12 65 17.6 21.5 | 1000 24 =
‘ ; e : . BRHMC 1007M PT1/2 16 68 25
Bearing tubing can cause additional increase of the rotational load.
BRHMC 1206M PT3/8 12 67 20
— =t 12 21.6 225 | 1000 24
Tube BRHMC 1207M PT1/2 16 70 20

—56 — —57 —



ROTARY JOINTS

MAIN BLOCKS

ORDER INFORMATION
\:Ela_l [MCS] [06] ([04]) [06] [M] - (
] | —

(Unit:mm)
int i Tube O.D PT Thread UCIOIEORPE  (d=dm, 06=6m, 08=8m, 10=10m, 12= 12m |
M Rotary Joint High Mele Elbow Parts No. 5D Re
BRHME 04M5M M5X0.8 4 33 100 Part Name
BRHME 04M6M 4 M6X1.0 4 33 | 175 | 10 14 | 1500 | 12 100
BRHME 0402M PT1/8 8 375 100 e Acetal - A
BRHME 0602M PT1/8 8 43 50 ® Brass B
BRHME 0604M 6 PT1/4 11 46 206 16 1 12000 17 50 e SUS:S
BRHME 0802M PT1/8 8 44 50
BRHME 0804M 8 PT1/4 11 47 24 18 | 185 12001 17 50 Tube O.D s _ _ ~ _
BRHME 1006M 0 PT3/8 12 55 2 76 | 215 | 1000 5 25 SlemeD 04=4m, 06=6m, 08=8m, 10=10m, 12=12m F—
BRHME 1007M PT1/2 16 58 : ) 25 ___—_—_—
BRHME 1206M PT3/8 12 57 20 SDTI" (=P T (R=PTA/A
—_— 12 31 | 216 | 225 | 1000 | 24 T e 02=PT1/8", 04=PT1/4" 06=PT3/8
BRAME 1207M Pralz | 16 | & 20 07=PT1/2", M5=N6X 0.8, M6=N1.0P
SRS SUCIHORPE  (4=4m, 06=6m, 08=8m, 10=10m, 12= 2m
Metric Size * M I—
e Main blocks are used for assembly type manifolds such as Body Color : gﬁ;ff‘éﬁa“ra”
collection or distribution. R
e Main blocks are applied in many instructional devices.
(Unit:mm)
ot PT Thread PT Thread Hex Hex Qty Features Specification
m RotaryJont High Ml to Femle Parts No. Rel Re2 Al A2 B RPM T D EA)
BRHME 0202M PTL/8 PTL/8 P 5 49 14 100 oMa'ig bIoc'k'?‘ provide strong tubing and uniform flow rate to
BRHMF 0204M PT1/8 PT1/4 8 9 52 1200 1 17 100 facilitate piping work. Pressure Air
BRHMF 0402M PT1/4 PT1/8 8 9 52 1200 17 14 50 e These products can be used for different applications as
BRHMF 0404M PT1/4 PT1/4 11 12 55 17 50 appropriate for users’ needs through diverse assembly ,
) - Vacuum ~ 2
BRHMF 0606M PT3/8 PT3/8 8 9 635 | 000 - 22 25 configurations. 0~ 1.0Mpa (10kgf/cm?
BRHMF 0607M PT3/8 PT1/2 11 17 66.5 24 25
) BRHMF 0706M PT1/2 PT3/8 16 13 66.5 22 20 _
= BRHMF 0707M PT1/2 PT1/2 16 17 go5 | 000 2 24 20 Temperature 750mmHg (1 0Torr)
( )
- Hose Used Polyurethane, Nylon, Polyethylene
Re2 Diagram y - B sty
Oo-Ring———————— Brass Body
Backup—Ring——— A Safety Instruction
Lock—————— ePlease read the safety instruction (page 5) of the Product
Catalog before using products.
Lock—Cap .
ePlease use DMT tools for assembly or disassembly of these
Wnitzmm) Sleave products for convenient work.
ot i PT Thread PT Thread Hex Hex Qty
W Rotay JoitHigh et Nel Parts No. S Rez . AL A2 B RPM O R0 X
BRHMM 0202M PT1/8 PT1/8 8 8 49 1200 17 14 100
BRHMM 0204M PT1/8 PT1/4 8 11 52 14 100
BRHMM 0402M PT1/4 PT1/8 11 8 52 14 50 Warnin
BRHMM 0404M PT1/4 PT1/4 11 11 55 1200 1 14 50 A g
BRHMM 0606M PT3/8 PT3/8 12 12 | 635 | 1600 | 24 22 25 eUse a supporting frame when assembling a number of main
BRHMM 0607M PT3/8 PT1/2 12 16 66.5 22 25 blocks or where a load is applied on the assembly. Otherwise,
:i:mm 8;3% EEZ Eﬁg 12 ié gg'g 1000 24 Z zg deformation or damage of product on the opposite side of
. assembly can result.
Tube
\_ J

—58 — —59 —



MAIN BLOGKS

DMfit*

(Unit:mm) (Unit:mm)
i D Metric Thread Metric Thread Hex Hex 0ificelia Qty Metric Thread PT Thread Hex Qty
Bulkhead Adapter Straight Parts No. ML M2 HL M2 () (EA) Socket Parts No. v B Al A2 B . ER)
BBAS 04M0812M 4 M8X1.0 | M12X1.0 | 4 7 | 25 [135] 5 | 17 | 14 | 25 | 100 BSK MO8M5M M8X1.0 M5X0.8 7 5 15 12 100
BBAS 06M0814M M8X1.0 7 | 25 50 BSK M12M6M M12X1.0 M6X1.0 75 5 17 17 50
6 M14X1.0| 4 155 6 | 17 | 17 | 4
BBAS 06M1214M M12X1.0 75 | 25 50 ‘ BSK M1402M M14X1.0 PT 1/8 8.5 8 23 17 50
BBAS 08M1216M M12X1.0 75 | 275 50 : BSK M1804M M18X1.0 PT 1/4 8.5 11 26 22 25
BBAS 08M1416M 8 MiaxLo| MIOXLO S mg oy g 165 6 19 19 1 6 g,
BBAS 10M1220M M12X1.0 75 | 325 25
. BBAS 10M1420M 0 Tygaxao| MO0 6 e g g | 195 T | 24 24 T g
H2 BBAS 12M1422M M14X1.0 85 | 345 20
- % BBAS 12M1s22M | - |wisxio| V20| ® g5 aas| | T | M| | 8 Wit e
]
N il Laz]
ol £ Lal
B
(Unit:mm)
m BUsh A type Parts No. T TRhlread =l TF?Zread Al A2 (%%
(Unit:mm)
Tube O.D PT Thread Qrifice Dia, Qty BBUA M08M5M M8X1.0 M5X0.8 9 5 13 12 100
Parts No. #D =) (pmm) (EA) . BBUA M12M6M M12X1.0 M6X1.0 9 5 13 14 50
BMCS 04M5M M5X0.8 5 205 16 10 o5 100 BBUA M1402M M14X1.0 PT 1/8 10 11 24 22 50
T BMCS 0aMeM | MOXL0 c 205 s M 25 100 BBUA M1804M M18X1.0 PT 1/4 10 8 20 17 25
BMCS 0402M 4 PTL8 8 18 14 | 135 10 25 | 100 BBUA 02M5M PT1/8 M5X0.8 8 5 13 12 100
BMCS 0404M PTLA4 11 22 16 14 25 | 100 BBUA 04M6M PT 1/4 M6X1.0 11 5 16 17 50
~BMCS 0406M | oT3/8 o 3 7 7 25 100 e BBUA 0602M PT 3/8 PT 1/8 12 8 20 19 50
BMCS 06MS5M MEX08 5 225 m o 25 0 u\-—LI AL BBUA 0704M PT 1/2 PT 1/4 15 11 25 24 25
BMCS 06M6M M6X1.0 5 225 18 12 2.5 50 1]5'
I._c_ BMCS 0602M 6 PT1/8 8 23 19 15.5 12 4 50 t
BMCS 0604M PT1/4 11 26 20 14 4 50 : L
BMCS 0606M PT3/8 12 24 18 17 4 50 —
BMCS 0802M PT1/8 8 26 22 14 6 50
BMCS 0804M 8 PT1/4 11 26 20 165 14 6 50 (Unit:mm)
—BMCS 0806M PT3/8 12 26 195 . 1 6 50 Metric Thread Metric Thread Hex
BMCS 0807M PT1/2 15 28 20 22 6 50 B U B BUsh B type Parts No. M1 M2 A B H Qty (EA)
BMCS 1002M PT1/8 8 30 26 17 5 25
T BMCS 100aM | " PT1/a 11 32 265 | oo 17 5 25 BBUB M08M12 M8X1.0 M12X1.0 9 14 17 100
. T BMCS 1006M | PT3/8 2 29 225 : 17 8 25 BBUB M12M14 M12X1.0 M14X1.0 10 20 17 50
T BMCS 1007M | PT1/2 15 29 o1 22 3 25 BBUB M14M18 M14X1.0 M18X1.0 10 15 22 50
BMCS 1202M PT1/8 8 31 27 21 5 20
BMCS 1204M 1 PT1/4 11 34 28 ”1 21 6 20
BMCS 1206M PT3/8 12 31 245 21 8 20
BMCS 1207M PT1/2 15 32 24 22 8 20
e Due to Hexagon type hole, Easy screwing available bythe Wrench eventhough in no much space fo-the Spanner
(Unit:mm)
(Unit:mm)

Tube O.D Metric Thread E Hex OrificeDia.  Qty
oD M H (gmm) (EA)

Parts No.

Parts No.

PT Thread Metric Thread
M

Rc

BBKU 04M12M 4 M12X1.0 | 4 85 | 315 | 135 | 14 | 17 | 25 | 100
BBKU 06M14M 6 M14X10 | 4 85 | 375 | 155 | 205 | 17 4 50 BBUC 02MO8M PT 1/8 M8X1.0 8 17 13 12 100
BBKU 08M16M 8 M16X10 | 5 | 105 | 39 | 165 | 18 19 6 50 BBUC 02M12M PT 1/8 8 19 15 17 100
BBKU 10M20M 10 M20X10 | 6 | 115 | 425 | 195 | 195 | 24 7 25 BBUC 04M12M PT 1/4 M12X1.0 11 22 16 17 100
BBKU 12M22M 12 M22X10 | 6 11 26 21 | 235 | 24 9 20 BBUC 06M12M PT 3/8 12 23 16.5 17 50
BBUC 04M14M PT 1/4 11 23 17 17 1100
BBUC 06M14M PT 38 M14X1.0 12 24 175 17 50
) BBUC 07M14M PT 112 15 25 17 24 50
A BBUC 06M18M PT 3/8 M1EXL0 12 26 195 22 50
== BBUC 07M18M PT 112 : 15 30 22 24 50
M
| S _L
L
B

—60 — —61 —



DMfir

POLYURETHANE TUBES

ORDER INFORMATION

(Unit:mm)
[Duo4zs] ([m]) [BL] [0200] WSITH Polyurethane Parts No.  TubeOD Tube 10 wall Reel Lengin [ o
1 =
Tube length — DU 0320M 3 2 05 200 p—
_ L Color:Blue , X DU 0420M 4 2 1 200 —
' » Size: mm o, DU 0425M 4 2.5 0.75 200 =_=E'
. » Part No.(O.D & I.D) DU 0640M 6 1 100 E
DU 0850M 8 1.5 100 allal-
DU 0855M 8 55 1.25 100 %
DU 0860M 8 6 1 100 e
DU 1065M 10 6.5 1.75 100
DU 1070M 10 7 1.5 100
I — Operating pressure graph DU 1075M 10 75 1.25 100
on. P DU 1280M 12 8 2 100
m p. Fressure DU 1290M 12 9 1.5 100
W DU 1611M 16 11 2.5 100
eln general, polyurethane tubes are used for industrial robots 90 AN DU 1612M 16 12 2 100
and pneumatic tubing. 80 -
eThese tube products can be applied to diverse applications 70
, B 60 =
based on user’s requirements.. % . N~
-§ ;\3 40 ]
= T'-” 30
o 3
Featur% E g 20 (Unit:mm)
T TR Ea g
e Better erX|b|I|.ty_t_han nylon tubes, then excellent workability. . D U C PonUrethane-CmI tube Parts No. Tube O.D Tube I.D L Reel Length
e Excellent flexibility even at low temperatures. Y 0 2 Y < £ &Y e &y (m)
eGood wear resistance, climate resistance and bending fatigue Temperature(‘C) DUC 0420M15M 253 | 78 | 70 | 70 | 218 15
resistance. DUC 0420M30M 4 2 1 253|167 | 70 | 70 | 307 3
e No static accumulation and excellent dimensional stability. DUC 0420M45M 253 | 257 | 70 | 70 | 397 45
DUC 0640M15M 42 | 150 | 80 | 80 | 310 3
o DUC 0640M45M 42 | 69 | 80 | 80 | 229 15
o Col = 2 e 5 T % A Safety Instruction DUC 0850M35M 50 | 200 | 90 | 90 | 380 35
ode olor . . ) : I ——
Bl Bloe (:m gm gm gm Omm Omm Do not use tube beyond its the minimum bending radius. DUC 0850MS0M 8 5 15 50 | 291 | 90 | 90 | 471 5
u
- ~ - - - - - : ) : DUC 0850M75M 50 | 443 | 90 | 90 | 623 7.5
YE Yellow | O O O O O O GCt tube sufﬁcnlep.t length in consideration of future length DUC 0850M100M 50 I 592 90 | 90 772 10
- adjustment possibility.
WT White @) @) O O @) O c 5 0 DUC 1065M35M 62.7 | 199 | 100 | 100 | 399 35
NA Natural O O ) O O O eEnsure tube is cut squarely with fitting surface. Also, avoid ‘ DUC 1065M50M 1 65 . 62.7 | 290 | 100 | 100 | 490 5
- - - - - - oblong cross section area of tube when cutting. DUC 1065M75M : ’ 62.7 | 441 | 100 | 100 | 641 75
BK BlacK O O O O O O - . .
RE red < DUC 1065M100M 62.7 | 592 | 100 | 100 | 792 10
€ O O O O O O DUC 1280M35M 845 | 174 | 100 | 100 | 374 35
GR Gray O O O O O O L DUC 1280M50M 1 8 ) 84.5 | 253 | 100 | 100 | 453 5
GN | CGreen | O O O O O O DUC 1280M75M 84.5 | 385 | 100 | 100 | 585 75
s Colors may be used by usage or by fluid medium. A Warning DUC 1280M100M 84.5 | 517 | 100 | 100 | 717 10
Do not use product other than for air. Gas decomposition can
Max Operating Pressure & Temperature result in tube cracking or splitting, thus leading to gas leak.
= eDo not store or install this product close to a heating device.
aeggry 3mm, 4mm, 6mm, mm, 10mm, T2mm Tube heating can result in blow up.
Material Polyursthane ) .
Operating Pressure 0 ~ 1.0Mpa (10kgf/cm?) eMake sure the tube is not damaged by sharp tools or objects. It
Vacuum Pressure —750mmHg (10 Torr) can result in tube rupture.
Operating Temperature —15C ~60C eMake sure no excessive twisting, bending or twirling of tube
Fluid Medium Air, Water(No other gases or liguids) occurs. It can result in tube rupture or slippage.
% Max op pressure can vary by operating temperature. #Do not use where sparks occur.
—62 — —63 —



POLYETHYLENE TUBES

eln general, polyethylene tubes are used for food industry.
Coiled tube is suitable for air tubing and air driver tubing.

e These tube products enable tubing in confined spaces such as
within a device driving mechanism.

e Excellent durability and flexibility.

eDiverse tube colors enable different colors to be used for
different uses. Also, same color may be used for same type of
devices.

Colors

Code | Color Al ©mm 8mm | 10mm | 12mm
BL Blue O O O O O
YE | Yellow O O O O O
WT | White O O O O O
NA Natual O O O O O
BK Black O O O O O
RE Red O @) @) O O
GR Gray O @) @) O O
GN Green O O O O O

% Colors may be used by usage or by fluid medium.

Max Operating Pressure & Temperature

Category 4mm, 6mm, 8mm, 1 Omm, 1 2mm
Material Polyethyle ne
Operating Pressure 0 ~ 1.0Mpa (10kgf/cm?)
Vacuum Pressure —750mmHg (10Torr)
Operating Temperature —15C ~60TC
Fluid Medium Alr, Water(No other gases or liguids)

% Max op pressure can vary by operating temperature.

ORDER INFORMATION

[IDPE 0425] ([M]) [BL] [0200]

»- Tube length
- Color:Blue
» Size: mm

» Part No.(O.D & I.D)

Operating pressure graph

Op. Pressure

100
90
80 \\
70 \\
@ 60
&
< 50
s —_
% 40
— [
g 5%
a 20
2 9
= a 1o
0
0 10 20 30 40 50 60

Temperature(°C)

A Safety Instruction

eUse the tube in consideration of the minimum bending radius.

oCut tube sufficient length in consideration of future length
adjustment possibility.

eEnsure tube is cut squarely with fitting surface. Also, avoid
oblong cross section area of tube when cutting.

Do not use product other than for air. Gas decomposition can
result in tube cracking or splitting, thus leading to gas leak.

eDo not store or install this product close to a heating device.
Tube heating can result in blow up.

eMake sure the tube is not damaged by sharp tools or objects. It
can result in tube rupture.

eMake sure no excessive twisting, bending or twirling of tube
occurs. It can result in tube rupture or slippage.

Do not use where sparks occur.

(Unit:mm)

m PolyEthylene Parts No. Tube 0.0 Tube 1.0 wall G ('r-ne)”gth
’ : Y DPE 0425M 4 25 0.75 500
DPE 0535M 5 35 0.75 400
b DPE 0640M 6 4 1 300
DPE 0860M 8 6 1 200
DPE 1070M 10 7 1.5 150
DPE 1290M 12 9 1.5 100

e Widely used for pneumatic tool tubing.
e Used for chemical plant pneumatic piping, medical industry and
food industry.

e Excellent wear resistance, climate resistance and bending
fatigue resistance, hence longer useful life.

eExcellent pressure resistance, vibration resistance and heat
resistance.

e Light and flexible to facilitate tubing work.

e Food originated material use allows these tubes to be used for
medical devices and food handling devices.

Colors

Code | Color | 3pm | 4mm | 6mm | 8mm | 10mm | 12 mm
BL Blue O O O O O O
YE Yellow | O O O O O O
WT White O O O O O O
NA Natual O O O O O O
BK Black O O O O O O
RE Red O @ C O O O
GR Gray O O C O O O
GN Green O O O O O O

s Colors may be used by usage or by fluid medium.

Max Operating Pressure & Temperature

Category 3mm, 4mm, ©mm, 8mm, 10mm, 12mm
Material Nylon
Operating Pressure 0 ~ 1.0Mpa (10kgf/cm?)
Vacuum Pressure —750mmHg (10Torr)
Operating Temperature —15C ~60T
Fluid Medium Ar(No other gases or liquids)

% Max op pressure can vary by operating temperature.

ORDER INFORMATION

IDN0425] ([M]) [BL] [0200]

» Tube length
- Color:Blue
» Size: mm

» Part No.(O.D & |.D)

Operating pressure graph

Op. Pressure

3
8

/
7

=
8

=
3

ES
3

8

/

8

The Variation rate
8

Pressure(%)

o 3

o

10 20 30 40 50 60 70 80 90 100

Temperature(°C)

A Safety Instruction

Do not bend the tube beyond its minimum bending radius.

oCut tube sufficient length in consideration of future length
adjustment possibility.

eEnsure tube is cut squarely with fitting surface. Also, avoid
oblong cross section area of tube when cutting.

eDo not use product other than for air. Gas decomposition can result
in tube cracking or splitting, thus leading to gas leak.

eDo not store or install this product close to a heating device. Tube
heating can result in blow up.

eMake sure the tube is not damaged by sharp tools or objects. It can
result in tube rupture.

eMake sure no excessive twisting, bending or twirling of tube occurs.
It can result in tube rupture or slippage.

oDo not use where sparks occur.

(Unit:mm)
DN 0320M 3 2 0.5 200
DN 0420M 4 2 200
DN 0425M 4 25 0.75 200
DN 0640M 6 4 100
DN 0860M 8 6 1 100
DN 1080M 10 8 1 100
DN 1290M 12 9 1.5 100
— 65 —

—
i
—
=
[
F——4
=
i
—
=
_
=
=
jo—
3
—
— —
_—
= |
—
—r
—
[—
==
—r
—
(1
=
— |
™
o = |
(—3
==
—
—
o
(—3
——
—
[—
(==
~r




DMfir

ORDER INFORMATION

(Unit:mm)
(B] [1Ts] [o6] ([o4]) [os] - (BK]) : Tube O.D Tube O.D OficeDia. Qt
I [ Parts No. : P $P1 gP2 C1 ¢d e
_] ¢ D1 ¢ D2 (gmm) (EA)
BUC 0101 5/32 5/32 10 | 10 | 14 | 14 | 25 | 14 | 32 | 2 | 100
01=5/32", 03=3/16", 04=1/4", 05 =5/16 " BUC 0301 5/32 12 | 10 | 16 | 14 | 25 3 | 50
Jlelerz QLD 06=3/8", 07=1 /2" BUC 0303 36 3/16 12 | 12 | 16 | 16 | 33 | ° | ** 4 100
BUC 0401 5/32 12 [ 10 | 16 | 14 | 25 3 | 50
BUC 0403 1/4 3/16 12 | 10 | 16 | 16 | 33 | 16 | 32 | 4 50
BUC 0404 1/4 12 [ 12| 16 | 16 | 33 4 | s0
BUC 0504 14 14 | 12 175 | 16 | 27 5 | 50
o Acelal : A BUC 0505 56 5/16 14 | 14 175 | 175 35 | | *?* 6 | w0
* Polybutylene Terepthalate(PBT) : B BUC 0605 38 5/16 17 | 14 | 20 | 175] 38 | , | ,, | 6 25
A BUC 0606 3/8 17 [ 17 | 20 | 20 [ & ' 7 | 25
QULIRORRR (1 =6/32", 03=3/167,04=1 /4", 06=5/16", =D _BUCO706 | 3/8 22 | 17 | 22 | 20 | 43 | ), | 8 | 20
Stem O.D EETENA . ¢ c2 BUC 0707 1/2 22 | 22 | 22 22 | 44 ' 8 20
! B
OPTI8, 0&PTIL , (6-PTRE , (=PTI
Thread Type WENRA]3
e One-touch fittings for pneumatic piping H2=NPTLE" Nem NPTL" NG NP3, NT=HPTT .2
e Each product comes with diverse functions and dimensions so SHEORRE (15737, 041/, 05=516",06=38", (7=12"

that they are widely applicable to all piping situations.

(Unit:mm)
Body Color ETEN ST '7
; . OrficeDia.  Qty

Parts No. (gmm)  (EA)

m BEU 0101 5/32 10 14 17 22 7 3.2 2 100

Th ne-touch fittin nabl nd safe connection — - BEU 0303 3/16 12 16 20 26 8 3.2 4 50
.se e:;tﬁ)neat:dufe aitrt Ofgsn:u;t;t?ce?s% and safe connection, Specification BEU 0404 1/4 12 16 20 26 8 3.2 4 50

P P o P PIpINg. BEU 0505 5/16 14 17 23 30 9.5 4.2 6 50

oObIon_g slee_ves facilitate attachment and detachment of tubes ) BEU 0606 28 175 20 27 36 1 12 7 5

even in confined spaces. Fluid Air BEU 0707 12 215 22 30 42 13 4.2 8 20
eNickel surface plating presents excellent anti-corrosion

performance. B )
e!n case of fittings where PBT and Base are integrated, the tube ressure 0~ 1.0Mpa (1 Okgf/om?

outlet angle can be varied as desired depending on the

compinatipr) of the screw unit and the main body, thus enabling Vacuum —750mmHg(10T orr)

efficient piping.
eBase branch screw unit has Teflon seal so that it can be

conveniently assembled without separate sealing. Hose Used Polyurethane, Nylon, Polyethylene

F
( )
Diagram .
A Safety Instruction
Branch Thread ePlease read the safety instruction (page 5) of the Product Catalog Un it

before using products.

eWhen assembling a tube to a fitting, make sure the tube is fully TU Tee Union Parts No. Tube 0.0 Tube 0.0

OrficeDia.~ Qty

¢d

Backup—Ring inserted into a fitting as shown in the diagram. Also, do not bend sD1__4D2 (gnn) (EA)
Lock tube for assembly. Abnormal assembly can cause air leak or tube BTU 0101 5/52 5132 10 | 10 | 14 | 14 17 17 ! 8.2 2 100
S, BTU 0303 3/16 3/16 12 | 12 | 16 | 16 | 20 | 20 | 8 | 32 | 4 50
Lock —Cap BTU 0401 va 5/32 12 | 10 | 16 | 16 | 20 | 17 | o | .| 4 50
BTU 0404 1/4 12 | 12 | 16 | 16 | 20 | 20 4 50
Slesve BTU 0504 va | 14 | 12 | 17 | 16 | 23 | 20 4 | 50
Tube BTU 0505 S/16 5/16 1 | 14| 17 |17 | 3| 23 | * [ 50
O-Ring P BTU 0605 a8 516 | 175 | 14 | 20 | 17 | 27 | 23 | | , | 6 25
A Warning ZoTlsp BTU 0606 3/8 175|175 20 | 20 | 27 | 27 ) 8 25
AT . BTU 0706 o 38 | 215 | 175| 22 | 20 | 31 | 27 | | ,, | 7 20
eln case the fluid used is water, please verify product specification HH= =H1 BTU 0707 Y2 |2151215] 22 | 22 | 31 | 31 8 | 20
for water before using products. o ST ﬁj <
\ = o

—66 — —67 —



PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
I Plug Parts No. Steg][? L C B oP Qty (EA) TEU Parts No. 'Y %eD?'D SteqrjnDcz)'D B O(rgf:g:;" (%%
BPL 01 5/32 13,5 195 125 100 BTEU 0101 5/32 32,5 10 14 14 17 2 100
BPL 03 3/16 16.5 22 15 100 BTEU 0103 5/32 3/16 345 10 14 14 17 2 100
BPL 04 1/4 16.5 22 15 100 BTEU 0104 14 36.5 10 14 155 17 2 100
BPL 05 5/16 17 23 17 100 BTEU 0303 16 3/16 36.5 12 16 14 20 4 50
BPL 06 3/8 19.5 26.5 19 50 BTEU 0304 1/4 36.5 12 16 155 20 4 50
BPL 07 12 23 30 21 50 BTEU 0404 va 14 36.5 12 16 155 20 4 50
- BTEU 0405 5/16 36.5 12 16 17 20 4 50
401 BTEU 0505 516 5/16 40 14 17 17 23 6 50
BTEU 0506 3/8 405 14 17 20 23 6 25
| B BTEU 0606 3/8 455 | 175 20 20 27 7 25
w© \ BTEU 0607 3/ 12 455 | 215 20 215 27 7 20
‘ I L BTEU 0707 112 112 515 | 215 22 215 31 8 20
N -
o Cc2
B
(Unit:mm)
GO Stem Adapter Parts No. ~ StemOD NPT Twread 5 g GO
BSA 01U1 10-32UNF 5 32 12 100
BSA 01N2 5/32 NPT1/8 10 33 145 135 14 100
BSA 01N4 NPT1/4 14 36.5 16 135 17 100
BSA 03U1 10-32UNF 5 34 12.5 16.5 12 50 (Unit:mm)
BSA 03N2 3/16 NPT1/8 10 34 12.5 16.5 14 50 i Tube O.D Stem O.D Orifice Dia. t
BSA 03N4 NPT1/4 14 38 15 16.5 17 50 TE U 'I- Tube Elbow UnIOH-LOHQ Parts No. ¢ D1 ¢D2 B (gmm) ((I%A){)
N y BSA 04U1 10-32UNF 5 34 125 16.5 12 50 BTEU 0101L 5/32 5/32 43 10 14 14 17 2 100
] J BSA 04N2 Im NPT1/8 10 34 125 16.5 14 50 BTEU 0303L 3/16 3/16 54 12 16 16 20 4 50
—_— BSA 04N4 NPT1/4 14 38 15 16.5 17 50 BTEU 0404L 14 14 57 12 16 16 20 4 50
] H gl BSA 04N6 NPT3/8 14 38 15 17 19 50 BTEU 0505L 5/16 5/16 63 14 17 17 23 6 50
Ll BSA 05N2 NPT1/8 10 34.5 10.5 17 17 S0 BTEU 0606L 3/8 3/8 73 175 20 20 27 7 25
7 - BSA 05N4 5/16 NPTL/4 14 395 15 17 17 50 BTEU 0707L I I 30 215 22 22 22 P 20
Re—] L 5 c BSA 05N6 NPT3/8 14 39.5 15 17 19 50
BSA 06N4 NPT1/4 14 425 16 195 17 25 T
BSA 06N6 38 NPT3/8 14 43 165 195 19 25 m===
BSA 06N7 NPT1/2 19 51 185 23 24 25 =
BSA 07N4 NPT1/4 14 46 165 23 24 20 \E:qﬂj i
BSA 07N6 112 NPT3/8 14 46 165 23 24 20 N i
BSA 07N7 NPT1/2 19 51 185 23 24 20
(Unit:mm)
Tube O.D Tube O.D Orfice Dia. Qt.
Parts No. #D1 D2 ¢d (gmn) (%&’)
BCRS 0101 5/32 5/32 10 |10 |14 |14 |17 [17 | 7 | 7 [32] 2 |100
BCRS 0303 3/16 3/16 12 |12 |16 |16 | 20 [ 20 | 8 | 8 [ 32] 4 |50
BCRS 0404 1/4 14 12 |12 |16 |16 | 20 |20 | 8 | 8 | 32| 4 | 50 Unit:mm)
BCRS 0504 1/4 14 | 12 | 17 | 16 | 23 | 20 |95 | 8 | 42| 6 | 50 Tube O.D Stem O.D OrificeDia. ~ Qty
BCRS 0505 5/16 5/16 14 |14 |17 | 17 | 23 [ 23 [ 95 [95 | 42| 6 | 50 m ReDucer FarSINO. ¢ D1 pD2 s (gmm) (EA)
BCRS 0605 28 5116 |175] 14 | 20 | 17 | 27 | 23 | 11 |95 | 42| 7 | 25 BRD 0104 53 1/4 39 | 167 | 10 14 | 155 2 100
g BCRS 0606 3/8 175|175| 20 | 20 | 27 [ 27 |11 |11 | 42| 7 | 25 BRD 0105 5/16 41 [ 167 | 10 14 17 2 100
AT C BCRS 0706 " 3/8 215 [175] 22 | 20 | 31 [27 [13 [ 11 [42] 8 [ 20 BRD 0405 5/16 43 [ 185 | 12 16 17 4 50
I BCRS 0707 112 215 (215 22 | 22 | 31 [ 31 [ 13 [ 13 [ 42| 8 | 20 BRD 0406 1/4 3/8 45 | 185 | 12 16 20 4 50
N de\; [Saa] i BRD 0407 12 47 [ 185 | 12 16 | 215 | 4 50
N p— qs BRD 0506 3/8 48 21 14 17 20 6 50
S Ve SE £ ’ BRD 0507 S/6 12 49 20 | 14 17 | 215 6 50
o DOy Bi o ’ g N BRD 0607 3/8 12 52 | 225 | 175 | 215 | 215 7 50
H-F0 -
S ——) | I
9D2 T Ine

oP2

—68 — —69 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
A Tube O.D PT Thread Hex OifceDia. Qty A Tube O.D PT Thread Hex OrficeDia. Qty
m Elbow Union Branch Parts No. 5D L e (anm) GA) {23 Elbow union Long Branch Parts No. 5D A E R (gnm &)
BEUB 01M5 M5X0.8 4 23 | 24 12 | 25 | 100 BELB 01M5 M5X0.8 4 31 | 32 12 | 25 | 100
BEUB 01M6 M6X1.0 4 23 | 24 12 | 25 | 100 BELB 01M6 M6X1.0 4 31 | 32 12 | 25 | 100
BEUB 0102 5/32 PT1/8 8 | 245 | 255| 10 | 14 | 17 | 12 | 25 | 100 BELB 0102 5/32 PT1/8 8 3 | 37 | 10 | 14 17 | 12 | 25 | 100
BEUB 0104 PT1/4 11 275 | 26.5 14 25 100 BELB 0104 PT1/4 11 39 38 14 25 100
BEUB 0106 PT3/8 12 | 295 | 28 17 2.5 | 100 BELB 0106 PT3/8 12 | 405 | 39 17 2.5 | 100
BEUB 03M5 M5X0.8 4 25 27 14 25 | 50 BELB 03M5 M5X0.8 4 355 | 37.5 12 25 | 50
BEUB 03M6 M6X1.0 4 25 27 14 25 | 50 ” BELB 03M6 M6X1.0 4 355 | 37.5 12 25 | 50
-‘F ¥,\ BEUB 0302 3/16 PT1/8 8 26.5 28.5 12 16 19 14 4 50 BELB 0302 3/16 PT1/8 8 38 40 12 16 19 12 4 50
\1 :L BEUB 0304 PT1/4 11 29.5 29.5 14 4 50 BELB 0304 PT1/4 11 42 42 14 4 50
| — —
BEUB 0306 PT3/8 12 1315 31 7 | 4 | 50 T BELB 0306 PT3/8 12 | 445 | 44 17 | 4 | 50
BEUB 04M5 MS5X0.8 4 25 27 14 4 | 50 l L HH— 7% BELB 04M5 M5X0.8 4 | 355|375 2 25 | 50
BEUB 04M6 M6X1.0 4 25 27 14 4 | 50 BELB 04M6 M6X1.0 4 | 355|375 12 | 25 | 50
BEUB 0402 1a PT1/8 8 | 265 )| 285]| 12 | 16 | 19 | 14 4 | 50 BELB 0402 1/4 PTL/8 8 38 | 40 | 12 | 16 | 19 | 12 4 | 50
@ BEUB 0404 PT1/4 11 | 295 | 295 4 4 | 50 T BELBOs0Z | — 1 | 2 | a2 " 7+ | %0
et e __BEUBO0406 | PT3/8 12 | 815 st r | 4 | 50 [EE=t BELB 0406 PT3/)8 | 12 | 445 | 44 17 | 4 | s0
BEUB 0407 PT1/2 15 | 36 | 35 22 | 4 | %0 BELB 0502 PTL/8 8 | 425 | 455 12 | 6 | 50
__BEUBO0502 | PT1/8 8 | 285 315 17 6 | 50 k, BELB 0504 16 PTU4 | 11 | 465|475 | | | | 14 | 6 | 50
__BEUBOSO4 | o PTU4 | 11 | 815|825} ) | ;7 | 5 |17 | 6 | %0 MJ@C — BELB 0506 PT38 | 12 | 48 | 485 17 | 6 | s0
BEUB 0506 PT3/8 12 | 33 | 335 17 6 | 50 e T p— 16 | 525 | 515 ” s | =0
BEUB 0507 PT1/2 15 | 36 | 3 22 6 | 0 BELB 0602 PT1/8 8 | 505|555 12 7 | 25
_BEUBO602 | PT1/8 8 | 335 385 17 T BELB 0604 a8 PT1/4 11 | 535|565 | | e |14 7 | 25
_BEUBO6O4 | ¢ PTL/4 1135 [375] 75 | 20 | 26 |/ L BELB 0606 PT3/8 12 | 55 | 575 17 7 | 25
BEUB 0606 PT3/8 12 | 365 | 39 17 7 | 25 T —
— —— BELB 0607 PT1/2 16 | 585 | 59.5 22 7 | 25
BEUB 0607 PT1/2 15 | 395 | 395 22 7 | 25
BELB 0702 PT1/8 8 56 | 63 12 7 | 20
BEUB 0702 PT1/8 8 | 355 | 375 22 7 | 20 _—
— BELB 0704 PT1/4 11 | 59 | 64 14 | 75 | 20
BEUB 0704 PT1/4 11 | 385 | 385 2 | 75 | 20 — 215 | 22 28
ettt S B 215 | 22 | 28 BELB 0706 PT3/8 12 | 605 | 65 17 9 | 20
BEUB 0706 PT3/8 12 | 395 | 39 22 9 | 20 -
- BELB 0707 PT1/2 16 | 64 | 67 22 9 | 20
BEUB 0707 PT1/2 15 | 425 | 40 22 9 | 20
T Tube O.D NPT Thread Orifice Dia.
Parts No.  Tube O.D NPT Thread Orfice Dia. Parts No. D R (gmm)
: ¢ D R (@mm)
BELB 01U1 10-32UNF | 5 30 | 32 12 | 25 | 100
BEUB 01U1 10-32UNF | 5 | 225 | 24 12 | 25 | 100 e ————
e BELB 01N2 NPT1/8 7 35 | 37 12 | 25 | 100
BEUB 01N2 NPT1/8 7 24 | 265 12 25 | 100 — 1 532 10 12 17
" ) 532 10 | 14 | 17 BELB 01N4 NPT1/4 | 105 | 385 | 38 14 | 25 | 100
BEUB 01N4 NPT1/4 | 105 | 275 | 285 14 | 25 | 100 _
—_— BELB 01N6 NPT3/8 | 105 | 385 | 39 17 | 25 | 100
BEUB 01N6 NPT3/8 | 105 | 275 | 28 17 | 25 | 100
BELB 03U1 10-32UNF | 5 | 345 | 375 12 | 25 | 50
BEUB 03U1 10-32UNF | 5 | 225 | 24 12 | 25 | 50 —_—
_——— BELB 03N2 NPT1/8 7 37 | 40 12 | 25 | 50
BEUB 03N2 NPT1/8 7 24 | 265 12 4 | 50 ¢ | 316 12 | 16 | 19
=P b 36 12 | 16 | 19 BELB 03N4 NPT1/4 | 105 | 415 | 42 14 4 50
BEUB 03N4 NPTL/4 | 105 | 275 | 285 14 4 | 50 —_—
—_—— BELB 03N6 NPT3/8 | 105 | 415 | 44 17 4 50
BEUB 03N6 NPT3/8 | 105 | 275 | 28 17 4 | 50
SEUB 04UL 10320NF | 5 1255 | 285 - + 5o BELB 04U1 10-32UNF | 5 | 345 | 375 14 | 25 | 50
BEUB 04N2 NPT1/8 7 27 | 305 12 | 25 | 50 _BELBOANZ |, NPT1/8 ! 37 140 |y | 16 | 10 |4 | 25 ] S0
BEUB 04N4 1/4 NPT1/4 | 105 | 305 | 325 | 12 | 16 | 19 | 14 4 | 50 _ BELBOAN4 | NPT1/4 | 105 | 415 | 42 14 4 50
BEUB 04N6 NPT3/8 | 105 | 305 | 31 17 4 | 50 BELB 04N6 NPT3/8 | 105 | 415 | 44 S 4 50
BEUB 04N7 NPT12 | 14 |345 | 37 22 4 | 50 _ BELBOSN2 | NPT1/8 7| 435 ] 455 ll 6 50
BEUB 05N2 NPT1/8 7 |215 | 32 12 6 | 50 _ BELBOSN4 | g6 NPT1/4 | 105 | 47 |475 | 14 | 17 | 2 |V 6 50
T BEuBOSNA | e NPTVa [ 105 | a1 | a4 | | | L, | 14 s | =0 BELB 05N6 NPT3/8 | 10.5 | 4935 | 48.5 17 6 50
BEUB 05N6 NPT3/8 | 105 | 31 | 335 17 | 6 | 50 BELB 05N7 NPT1/2 | 14 | 535 | 515 2 | 6 50
BEUB 05N7 NPTL2 | 14 | 345 | 37 22 6 | 50 BELB 06N2 NPT1/8 | 7 | 515|555 17 7 25
BEUB 06N2 NPTL/8 7 | 285 | 345 12 7 | 25 BELB 06N4 28 NPT1/4 | 105 | 525 | 565 | .o | 55 | o |17 7 25
BEUB 06N4 o NPTL/4 | 105 | 32 | 365 | | ,0 | 5 | 14 7 | 25 BELB 06N6 NPT3/8 | 105 | 57 | 575 17 7 25
BEUB 06NG NPT3/8 | 105 | 32 | 38 : 7 7 | 25 BELB 06N7 NPT1/2 | 14 | 595 | 59.5 22 7 25
BEUB 07N NPTL/2 | 105 | 335 | 395 12 | 75 | 20 BELB 07N6 1/2 NPT3/8 | 105 | 62 | 65 | 215 | 22 | 28 | 22 9 20
BEUB 07N6 1/2 NPT3/8 | 105 |335 | 39 |215 | 22 28 17 9 20 BELB 07N7 NPT1/2 14 65 | 67 22 9 20
BEUB 07N7 NPT1/2 14 37 42.5 22 9 20 e When more than two Elbow Union fitinto the tube in same direction, They can fit in the steps style

—70 — —71—



PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
Parts No. 'Y bg I:()).D NPT Tthead g Hex (zrg%e] r[;:z; ((é% Offset Connector Branch Parts No. 1Y bg I:()D.D PT Tlgread Hex ((Jrg?ﬁr[?s ((é%
BEUF 01U1 10-32UNF 5 18 10 25 | 100 BOCB 01M5 M5X0.8 5 | 335 | 315 12 | 25 | 100
BEUF 01N2 5/32 NPT1/8 6 23 10 14 14 14 2.5 100 BOCB 0102 532 PT1/8 8 38 34 10 " 17 12 25 100
BEUF 01N4 NPT1/4 9 26 17 2.5 | 100 BOCB 0104 PT1/4 11 | 2 35 14 | 25 | 100
BEUF 03Ul 10-32UNF | 5 18 12 | 25 | 50 BOCB 0106 PT3/8 12 | 42 | 355 17 | 25 | 100
EEEE gizj 3/16 E;ﬁ S ;Z 12 16 19 i‘; ig gg BOCB 03M5 M5X0.8 5 38 | 315 12 | 25 | 50
BEUF 03N6 NPT3/8 12 29 22 25 50 _BOCBO3Z | g4 PTL8 8 1425 1385) 1, | 16 19 12 4 =0
C BEUF 0401 10.32UNF 5 18 " o s BOCB 0304 PT1/4 11 | 455 | 395 14 4 50
i N T BEUFOaNz | » NPTUS P >5 b . . 14 55 50 BOCB 0306 PT3/8 12 | 465 | 40 17 4 50
i % BEUF 04N NPT1/2 9 28 17 25 50 BOCB 04M5 M5X0.8 5 38 | 315 12 | 25 | 50
| . BEUF 04N6 NPT3/8 12 29 22 25 50 BOCB 0402 PT1/8 8 42.5 | 385 12 4 50
- “J BEUF 05N2 NPT1/8 9 27 14 5 50 BOCB 0404 14 PT1/4 11 | 455 | 395 | 12 | 16 19 14 4 50
) BEUF 05N4 5/16 NPT1/4 12 30 14 17 - 17 5 50 L*@ BOCB 0406 PT3/8 12 | 465 | 40 17 4 50
BEUF O5N6 NPT3/8 13 31 22 5 50 Vet Serem BOCB 0407 PT1/2 15 | 495 | 415 22 4 50
BEUF 06N4 NPT1/4 12 33 17 7 25 BOCB 0502 PT1/8 8 6 2 17 6 50
#ﬁgﬂ? 3/8 EEE Z 12 2‘7‘ 17 20 | 26 2421 ; ii BOCB 0504 616 PTL/4 u |49 | 8| | |, LT 6 | 50
BOCB 0506 PT3/8 12 | 50 | 435 17 6 50
BOCB 0507 PT1/2 15 | 53 45 22 6 50
(Unit:mm) BOCB 0602 PT1/8 8 53 | 49 17 7 | 25
oC Parts No. 'Y t;eDcl"D T”%eDg'D B1 6P1 gP2 C1 C2 L %“;';;g? (%% ~ soceoes | Prva | 11 | 56 | 50 | |, | e |17 | 7 | %
: BOCB 0606 PT3/8 12 | 57 | 505 17 7 25
BOC 0101 5/32 5/32 175 | 175 | 10 10 14 | 14 | 30 2 | 100 T BocBOso7 | PT1/2 5 | 60 52 2 - p
BOC 0301 36 5/32 205 | 175 | 12 10 16 | 14 | 315 | 2 | 100 BOCB 0702 — s | 665 | 625 s . 2
BOC 0303 3/16 205 | 105 | 12 12 16 | 16 | 315 | 4 50 EEErve— p— 11 605 | 635 2 | 75 | 20
BOC 0401 5/32 205 | 175 | 12 10 16 | 14 | 295| 2 | 100 - ap 215 | 22 28
BOC 0403 1/4 3/16 205 | 205 | 12 12 16 | 16 | 315 | 4 50 _ BOCBO706 | PT3/8 12 | 705 | 645 22 9 20
BOC 0404 1/4 205|205 | 12 | 12 | 16 | 16 | 315| 4 | 50 BOCB 0707 PT1/2 15 | 735 | 655 22 9 | 20
BOC 0504 516 1/4 24 | 205 | 14 12 16 16 40 4 50 Parts No. Tube O.D NPT Thread Orifice Dia.
BOC 0505 5/16 24 | 24 | 14 14 | 17 | 17 | 42 6 50 D R (@mm)
BOC 0605 a8 5/16 28 | 24 | 175 | 14 | 20 | 17 | 47 6 50 BOCB 01U1 10-32UNF | 5 |335 | 315 12 | 25 | 100
BOC 0606 3/8 28 | 28 | 175 | 175| 20 | 20 | 50 7 25 BOCB 01N2 532 NPT1/8 7 39 3 | 0 | 17 12 2 | 100
BOC 0706 12 3/8 32 28 215 | 175 22 20 56.5 7 25 BOCB 01N4 NPT1/4 105 | 415 35 14 2 100
BOC 0707 12 32 | 32 | 215|215 22 | 22 | 585 8 | 20 BOCB 01N6 NPT3/8 | 105 |435 | 355 17 2 | 100
BOCB 03U1 10-32UNF | 5 38 | 315 12 | 25 | 50
ﬁffﬂ BOCB 03N2 3/16 NPT1/8 7 |435 385 | 16 10 12 4 50
EEH BOCB 03N4 NPT1/4 | 105 | 46 | 39.5 14 4 50
BOCB 03N6 NPT3/8 | 105 | 48 40 17 4 50
(Un timm) BOCB 04U1 10-32UNF | 5 38 | 315 12 | 25 | 50
S Tube O.D Stem O.D 2 Orfice Dia. Oty BOCB 04N2 NPT1/8 7 | 435 | 385 12 4 50
¢ D1 ¢ D2 (omm) (EA) BOCB 04N4 14 NPT1/4 | 105 | 46 |395 | 12 | 16 19 14 4 50
BOCS 0101 5/32 58.5 100 BOCB 04N6 NPT3/8 | 105 | 48 40 17 4 50
BOCso0103 | 532 3/16 605 10 14 14 17 2 | 100 BOCB 04N7 NPT1/2 | 14 |515 | 415 22 4 50
BOCS 0104 1/4 62.5 100 BOCB 05N2 NPT1/8 7 47 42 12 6 50
BOCS 0303 316 3/16 68 1 16 16 17 ) 50 BOCB 05N4 516 NPT1/4 | 105 | 495 | 43 | | . - 14 6 50
BOCS 0304 1/4 68 50 BOCB 05N6 NPT3/8 | 105 | 515 | 435 17 6 50
BOCS 0404 va 1/4 68 1 16 16 20 4 50 BOCB 05N7 NPT1/2 | 14 | 54 45 22 6 50
BOCS 0405 5/16 68 50 BOCB 06N2 NPT1/8 7 54 | 49 12 7 | 25
% 5116 53’/186 81‘.35 14 17 17 23 6 % BOCB 06N4 o NPTL/4 | 105 |565 | 50 | .o | o | o | 14 7 | 25
D oCS 0606 7 oy s BOCB 06N6 NPT3/8 | 105 | 585 | 50.5 17 7 25
—socsosor | 3/8 P o 175 20 20 27 7 B BOCB 06N7 NPT12 | 14 | 61 52 22 7 25
BOCS 0707 12 12 104 215 22 22 21 8 20 _BOCBOIN2 | NPT1/8 7_|675 | 625 12 8 20
BOCB 07N4 2 NPT1/4 | 105 | 70 | 635 |, . | ,, 08 14 8 20
BOCB 07N6 NPT3/8 | 105 | 72 | 635 17 8 20
BOCB 07N7 NPT1/2 | 14 |745 | 655 22 8 20
—72 — —73 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
Parts No. T“geD%D T“geD%D J ?'gﬁgfn‘; (%% 8] Twoiay Divider Branch Parts No. 'Y bg[?-D AL g |b ((%E)L (%{)
BTD 0101 5/32 5/32 | 36 | 10 | 10 | 14 | 14 | 32 | 16 | 10 | 3 | 100 BTDB 01M5 M5X0.8 | 4 | 43 | 39 10 | 25 | 100
BTD 0301 16 5/32 | 37 | 14 | 10 | 16 | 14 | 32 | 16 | 10 | 3 | 100 BTDE 01M6 MEX10 | 4 | 43 | 39 10 | 25 | 100
BTD 0303 316 | 38 | 14 | 14 | 16 | 16 | 32 | 16 | 12 | 5 | SO BTDB 0102 5/32 PT1/8 8 | 45 | 41 | 10 | 14 | 16 | 3.2 | 10 | 10 | 25 | 100
BTD 0401 5/32 | 37 | 14 | 10 | 14 | 14 | 32 | 16 | 10 | 3 | 100 —_— ]
BTD 0403 1/4 316 | 38 | 14 | 14 | 16 | 16 | 32 | 16 | 12 | 5 | 50 __BTDBO0104 | PT1/4 | 11 | 48 | 41 14 | 25 | 100
BTD 0404 1/4 38 14 14 | 16 16 | 32 | 16 | 12 5 50 BTDB 0106 PT3/8 12 | 50 | 43 17 | 2.5 | 100
ey BTD 0501 5/32 | 37 | 175| 10 | 17 | 14 | 42 | 16 | 10 | 3 | 100 BTDB 03M5 M5X0.8 | 4 | 46 | 42 12 | 25 | 50
1 e e = 4 BTD 0504 5/16 1/4 40 | 175] 14 | 17 | 16 | 42| 16 | 12 | 5 | 50 BTDE 03M6 MEX10 | 4 | a6 | 42 12 | 25 | s0
- > BTD 0505 516 | 45 | 175 175] 17 | 17 | 42 | 19 | 14 | 7 | SO BTDB 0302 3/16 PT1/8 8 | 46 | 43 | 12 | 16 | 16 |32 | 12 | 12 | 4 | 50
L i 8 5y i BTD 0604 1/4 40 | 215] 14 | 20 | 16 | 42 | 16 | 12 | 5 | 50 —sroaoss | e T 50 |2 7 s
] b BTD 0605 3/8 5/16 | 48 | 215| 175| 20 | 17 | 42 | 19 | 14 | 7 | 50 _ BIbBO304 |
T BTD 0606 3/8 49 | 215| 215| 20 | 20 | 42 | 21 |175| 7 25 BTDB 0306 PT3/8 12 | 52 | 46 17 | 4 |50
= <l BTD 0705 5/16 48 | 22 | 175 22 | 17 | 42| 19 | 14 | 7 | s0 BTDB 04M5 M5X0.8 | 4 | 46 | 42 12 | 25 | 50
BTD 0706 1/2 3/8 52 | 22 | 215 22 | 20 | 42| 21 |175| 7 | 25 L@ BTDE 04M6 MEX10 | 4 | a6 | 42 12 | 25 | s0
BTD 0707 12 S4 |2 | 22| 2 |22 |42 28 |215] 10 | 20 Ve screw BTDB 0402 1/4 PT1/8 8 | 46 | 43 | 12 | 16 | 16 |32 | 12 | 12 | 4 | 50
BTDB 0404 PT1/4 | 11 | 50 | 44 14 | 4 | 50
BTDB 0406 PT3/8 | 12 | 52 | 46 17 | 4 | 50
BTDB 0502 PT1/8 8 | 53 | 49 14 | 6 | 50
BTDB 0504 St PT14 | 11 |56 | 50 | | 10 | 1o | 4o | 14 | 24| 6 | 50
BTDB 0506 PT3/8 | 12 | 57 | 51 17 | 6 | 50
BTDB 0507 PT12 | 15 | 61 | 53 22 | 6 | 50
A BTDB 0602 PT1/8 8 | 59 | 55 17| 7 | 25
nit:mm S ——
R Tube O.D Stem O.D OrificeDia. - Qty _DTDBOSM 3/8 PTLA S R 175120 | 21 | 42 175 772
TD R Two way Divider Reducer Parts No. 4D1 5 D2 B F (gmm) (EA) BTDB 0606 PT3/8 | 12 | 62 | 56 17 | 7 | 25
BTDR 0104 5/32 1/4 55 | 47 | 10 | 15 | 32 | 10 | 16 4 | 100 BTDB 0607 PT1/2 | 15 | 66 | 58 21712
BTDR 0405 14 5/16 60 | 50 | 12 | 16 [ 32 | 12 | 16 | 6 | 50 BTDB 0702 PTI/8 | 8 | 62 |58 2|7 ]2
BTDR 0506 5/16 3/8 69 | 60 | 14 | 18 | 42 | 14 | 19 7 50 BTDB 0704 PT1/4 | 11 | 65 | 59 22 | 75| 20
BTDR 0607 38 172 755 | 66 | 175 | 21 | 42 | 175 | 21 | 8 | 25 " BmBoTos | 2 pras | 12 |6 |60 || 2| 2| o [ 2
o Different size between the Tuoe and the Stem BTDB 0707 PT1/2 15 70 | 62 22 9 20
Tube O.D NPT Thread (Orifce D
— Parts No. R ()
1 e BTDB 01U1 10-32UNF | 5 [40.5| 39 10 | 25 | 100
l T BTDB 01N2 5/32 NPTL/8 | 7 | 42 |375| 10 | 14 | 16 | 32| 10 | 10 | 4 | 100
L BTDB 01N4 NPTL/4 [10.5 |455 | 39 14 | 4 | 100
BTDB 03U1 10-32UNF | 5 [40.5| 39 12 | 25 | 50
BTDB 03N2 16 NPTU8 | 7 | 42 |375| | | o sy | gp | 22 4 | 50
BTDB 03N4 NPT1/4 [10.5 |455| 39 14 | 4 | 50
BTDB 03N6 NPT3/8 [10.5 |455 | 40 17 | 4 | 50
BTDB 04U1 10-32UNF | 5 | 46 | 41 12 | 25 | 50
BTDB 04N2 U4 NPTU8 | 7 |475435| | | 1o | ap | gp | 22 4 | 50
BTDB 04N4 NPT1/4 |105 | 51 | 45 14 | 4 | 50
Un it ) BTDB 04N6 NPT3/8 (105 | 51 | 45 17 | 4 | 50
o BTDB 05N2 NPTL/8 | 7 | 52 | 48 14 | 6 | 50
TDS Two way Divider Stem Parts No. 'Y %eD?.D Ste(;n D(2).D F ?[}E;ggl‘a) (%% BTDB 05N4 516 NPTV4 |105 |855| 51 | | o | 4o | 4p | 14 | 24| 6 | 50
BTDS 0101 . 5132 2 | 45 | | 1o lan | 10 | 16 | 2 |10 BTDB 05N6 NPT3/8 |10.5 |55.5 |49.5 17 | 6 | 50
BTDS 0104 1/4 54 47 100 BTDB 05N7 NPT1/2 14 59 51 22 6 50
BTDS 0303 3/16 3/16 57 | 49 | 12 | 16 | 32 | 12 | 16 | 4 50 BTDB 06N2 NPT1/8 | 7 | 56 | 52 17 | 7 | 25
2132 gjg;‘ 14 51//1‘2 gg ‘5‘2 12 | 16 | 32| 12 | 16 | 4 28 BTDB 06N4 a8 NPTV/4 |105 |59.5| 54 | | o0 | 51 | 4p 475 71 7 | 25
05 050 T o T oa o BTDB 06N6 NPT3/8 |10.5 |59.5 |53.5 17 | 7 | 25
T BTDS 0506 | 5/16 208 6 56 14 17 | 42 14 19 6 50 BTDB 06N7 NPT1/2 | 14 | 63 | 56 22 | 7 | 25
; W BTDS 0606 38 3/8 705 60.5 175 20 a2 175 1 ; 25 BTDB 07N4 NPT1/4 105 | 67 |[61.5 22 |75 20
t i £E L BTDS 0607 1/2 72 | 62 25 BTDB 07N6 1/2 NPT3/8 [10.5 | 67 | 61 |215| 22 | 23 | 42 |215| 22 | 9 | 20
LeEh S e BTDS 0707 1/2 1/2 775 | 67 | 22 | 22 | a2 [ 215| 23 | 8 20 BTDB 07N7 NPTL2 | 14 | 705|625 22 | 9 | 20

—74 — —75 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)

R i b¢e O.D PT Thread £ Hex ?[g%e] Er:a) (%% Male Tee swivel Branch CTu bg O.D PT Thread g Hex t()rg?; 3'3 (%%
BMRB 01M5 M5X0.8 5 22 24 10 25 100 BMTB 01M5 M5X0.8 5 23 24 10 25 100
BMRB 01M6 M6X1.0 5 2 24 10 25 100 BMTB 01M6 M6X1.0 5 23 24 10 25 100
BMRB 0102 5/32 PT1/8 8 24 25.5 10 14 17 10 25 100 BMTB 0102 5/32 PT1/8 8 24 25.5 10 14 17 10 25 100
BMRB 0104 PT1/4 11 27 26 14 25 100 BMTB 0104 PT1/4 11 27 26 14 25 100
BMRB 0106 PT3/8 12 29 28 17 25 100 BMTB 0106 PT3/8 12 29 28 17 25 100
BMRB 04M5 M5X0.8 5 24 27 12 25 50 BMTB 04M5 M5X0.8 5 25 27 12 25 50
BMRB 04M6 M6X1.0 5 24 27 12 25 50 E BMTB 04M6 M6X1.0 5 25 27 12 25 50
BMRB 0402 1/4 PT1/8 8 26 28.5 12 16 19 12 4 50 BMTB 0402 m PT1/8 8 26 28.5 12 16 19 12 4 50
} BMRB 0404 PT1/4 11 29 29 14 4 50 i BMTB 0404 PT1/4 11 29 29 14 4 50
} BMRB 0406 PT3/8 12 31 31 17 4 50 BMTB 0406 PT3/8 12 31 31 17 4 50
BMRB 0502 PT1/8 8 28,5 | 315 14 6 50 - BMTB 0407 PT1/2 16 35 35 22 4 50
t}:@ BMRB 0504 5/16 PT1/4 11 315 | 325 14 17 29 14 6 50 %ﬁw BMTB 0502 PT1/8 8 285 | 315 14 6 50
et Serow BMRB 0506 PT3/8 12 33 335 17 6 50 Type BMTB 0504 5/16 PT1/4 11 315 | 325 14 17 22 14 6 50
Tvpe BMRB 0507 PT1/2 15 36 36 22 6 50 BMTB 0506 PT3/8 12 33 335 17 6 50
BMRB 0602 PT1/8 8 33.5 38 17 7 25 BMTB 0507 PT1/2 16 37 36 22 6 50
BMRB 0604 8 PT1/4 11 35 37.5 175 20 2% 17 7 25 BMTB 0602 PT1/8 8 335 38 17 7 25
BMRB 0606 PT3/8 12 36.5 | 38.8 17 7 25 BMTB 0604 a8 PT1/4 11 35 37.5 175 20 26 17 7 25
BMRB 0607 PT1/2 15 41 41 22 7 25 BMTB 0606 PT3/8 12 36.5 | 38.8 17 7 25
BMRB 0702 PT1/8 8 425 | 425 22 7 20 BMTB 0607 PT1/2 16 40.5 41 22 7 25
BMRB 0704 12 PT1/4 11 135 | 435 215 29 28 22 7.5 20 BMTB 0702 PT1/8 8 355 | 425 22 7 20
BMRB 0706 PT3/8 12 44 44 22 9 20 BMTB 0704 12 PT1/4 11 38.5 | 435 215 22 28 22 7.5 20
BMRB 0707 PT1/2 15 46 46 22 9 20 BMTB 0706 PT3/8 12 39.5 44 22 9 20
Tube O.D NPT Thread Orifice Dia. BMTB 0707 PT1/2 16 | 435 | 46 22 9 20

Parts No.

¢ D R (gmm) Tube O.D NPT Thread Oifice Dia.
R

Parts No. #D

BMRB 01U1 10-32UNF | 55 | 215 | 24 10 | 25 | 100 (@mm)
BMRB 01N2 NPT1/8 8 24 255 10 25 100 -
5/32 10 14 17 BMTB 01U1 10-32UNF 5 22 24 10 2.5 100
BMRB 01N4 NPT1/4 11 27 26 14 2.5 100 BMTB 01N2 /32 NPT1/8 7 23 25.5 0 10 2.5 100
- - = | _ 5 1 14 17
BMRB 01N6 NPT3/8 12 29 28 17 2.5 100 BMTB 01N4 NPT1/4 105 | 275 26 14 2.5 100
BMRB 03U1 10-32UNF | 5.5 23.5 27 12 2.5 50 BMTB 01N6 NPT3/8 10.5 | 30.5 28 17 2.5 100
LOSNZ 3/16 NPT1/8 8 26 28.5 12 16 19 12 4 50 BMTB 03U1 10-32UNF 5 24 27 10 2.5 50
BMRB 03N4 NPT1/4 11 29 29 14 4 50 BMTB 03N2 3/16 NPT1/8 7 27 28.5 2 6 9 10 4 50
_— _ 1 1 1 1
BMRB 03N6 NPT3/8 12 31 31 17 4 50 BMTB 03N4 NPT1/4 105 | 29.5 29 14 4 50
BMRB 04U1 10-32UNF | 5.5 235 27 14 25 50 BMTB 03N6 NPT3/8 105 | 325 31 17 4 50
BMRB 04N2 NPT1/8 8 26 28.5 14 4 50 BMTB 04U1 10-32UNF 5 24 27 10 2.5 50
BMRB 04N4 1/4 NPT1/4 11 29 29 12 16 19 14 4 50 BMTB 04N2 NPT1/8 7 27 28.5 10 4 50
BMRB 04N6 NPT3/8 12 31 31 17 4 50 BMTB 04N4 1/4 NPT1/4 105 | 29.5 29 12 16 19 14 4 50
BMRB 04N7 NPT1/2 15 35 35 17 4 50 BMTB 04N6 NPT3/8 105 | 325 31 17 4 50
BMRB 05N2 NPT1/8 8 28.5 | 31.5 17 6 50 BMTB 04N7 NPT1/2 14 35 35 22 4 50
BMRB 05N4 5116 NPT1/4 11 315 | 325 14 17 2 17 6 50 BMTB 05N2 NPT1/8 7 275 | 315 14 6 50
BMRB 05N6 NPT3/8 12 33 33.5 17 6 50 BMTB 05N4 5/16 NPT1/4 10.5 31 325 14 17 22 14 6 50
BMRB 05N7 NPT1/2 15 37 36 22 6 50 BMTB 05N6 NPT3/8 10.5 | 345 | 335 17 6 50
BMRB 06N2 NPT1/8 8 335 38 17 7 25 BMTB 05N7 NPT1/2 14 38 36 22 6 50
BMRB 06N4 NPT1/4 11 35 37.5 17 7 25
38 175 20 25 BMTB 06N2 NPT1/8 7 34.5 38 17 7 25
BMRB 06N6 NPT3/8 12 36.5 | 38.8 17 7 25 BMTB 06N4 /8 NPT1/4 105 | 355 | 37.5 175 20 26 17 7 25
BMRB 06N7 NPT1/2 15 40.5 41 22 7 25 BMTB 06N6 NPT3/8 10.5 37 38.8 ’ 17 7 25
BMRB 07N2 NPT1/8 8 355 | 425 22 7 20 BMTB 06N7 NPT1/2 14 41.5 41 22 7 25
BMRB 07N4 12 NPT1/4 11 38.5 | 435 215 29 28 22 7.5 20 BMTB 07N2 NPT1/8 7 345 | 425 22 7 20
BMRB 07N6 NPT3/8 12 39.5 44 22 9 20 BMTB 07N4 12 NPT1/4 10.5 39 435 215 22 28 22 7.5 20
BMRB 07N7 NPT1/2 15 43.5 46 22 9 20 BMTB 07N6 NPT3/8 10.5 41 44 ’ 22 9 20
BMTB 07N7 NPT1/2 14 44.5 46 22 9 20

—e— —77 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
Tube O.D PT Thread Hex OrificeDa. Qt g Tube O.D NPT Thread Hex OrificeDia. Qt
Parts No. 5D L E F (o) (%Ay) FTB Parts No. 5D g b (g (%X)
BFRB 0102 PTL/8 8 40 12 | 14 | 25 | 100 BFTB 01U1 10-32UNF | 5 18 7 | 10 | 25 | 100
BFRB 0104 5/32 PTL/4 11 | 43 | 10 | 14 | 17 | 15 | 17 | 25 | 100 BFTB O1N2 5/32 NPTL8 | 9 23 | 10 | 14 | 17 | 12 | 14 | 25 | 100
BFRB 0106 PT3/8 12 | 44 16 | 22 | 25 | 100 BFTB O1N4 NPTL/4 | 12 2 15 | 17 | 25 | 100
BFRB 0402 PTL/8 8 45 12 | 14 | 25 | 50 BFTB 03U1 10-32UNF | 5 20 7 | 12 | 25 | s0
BFRB 0404 1/4 PTL/4 11 | 48 | 12 | 16 | 19 | 15 | 17 | 25 | 50 ? BFTB 03N2 3/16 NPTL8 | 9 25 | | e | go 12| 14 [25] 50
BFRB 0406 PT3/8 12 | 49 16 | 22 | 25 | 50 BFTB 03N4 NPT1/4 | 12 | 28 15 | 17 | 25 | 50
. BFRB 0502 PTL/8 8 49 2 | 14 | 5 | 50 - BFTB 03N6 NPT3/8 | 13 | 29 16 | 22 | 25 | 50
7 BFRB 0504 S16 PTL/4 u [s2 | | | , 15 [17[5 [50 = ; BFTB 04U1 10-32UNF | 5 20 7 | 12 | 25 | 50
C BFRB 0506 PT3/8 12 | 53 16 | 22 | 5 | 50 . I BFTB 04N2 va NPTL/8 | 9 25 | | | 12 [ 18 [25] 50
e . BFRB 0507 PTL2 15 | 56 19 | 24 | 5 | 50 s BFTB 04N4 NPTL4 | 12 | 28 15 | 17 | 25 | 50
- BFRB 0602 PTL/8 8 56 15 | 17 | 7 | 25 R . i BFTB 04N6 NPT3/8 | 13 | 29 16 | 22 | 25 | 50
oty *fL=é BFRB 0604 PTL/4 11 | 59 15 | 17 | 7 | 25 N I :jwi BFTB 05N2 NPTL/8 | 9 27 12 | 14 | 5 | 50
‘ - BFRB 0606 3/8 PT3/8 2 |60 | Y|P BT T [ 7 | N = BFTB 05N4 5/16 NPTL4 | 12 | 30 | 14 | 17 | 22 | 18 | 17 | 5 | 50
s BFRB 0607 PTL/2 15 | 63 19 | 24 | 7 | 25 '11 BFTB 05N6 NPT3/8 | 13 | 31 6 | 22 | 5 | 50
BFRB 0704 PTL/4 11 | 59 15 | 17 | 7 | 20 R . BFTB 06N4 NPT1/4 | 12 | 33 15 | 17 | 7 | 25
BFRB 0706 12 PT3/8 12 | 60 | 17 | 20 | 26 | 16 | 22 | 7 | 20 BFTB 06N6 38 NPT3/8 | 13 | 34 | 17 | 20 | 26 | 16 | 22 | 7 | 25
BFRB 0707 PT1/2 15 | 63 19 | 24 | 7 | 20 BFTB 06N7 NPT12 | 16 | 37 19 | 24 | 7 | 25
Tube O.D NPT Thread Orfice Dia.
Parts No. 6D R (2mm)
BFRB 01U1 10-32UNF | 5 35 7 | 10 | 25 | 100
BFRB 01N2 5/32 NPTL8 | 8 40 | 10 | 14 | 17 | 12 | 14 | 25 | 100
BFRB 01N4 NPTL4 | 11 | 43 15 | 17 | 25 | 100
BFRB 03U1 10-32UNF | 5 40 7 | 12 | 25 | 50
BFRB 03N2 NPTL8 | 8 45 12 | 14 | 25 | 50
BFRB 03N4 sie neTia | a1 | 48 | 2| | 1[5 17 [ 25 | s0 _Wnitmm)
BFRB 03N6 NPT3/8 | 12 | 49 16 | 22 | 25 | 50 i Parts No. D PTThread o Hex Ol Qty
BFRB 04U1 10-32UNF | 5 40 7 12 | 25 | 50 Rc H (g (EA)
BFRB 04N2 NPTL8 | 8 45 12 | 14 | 25 | 50 BFUB 0102 PT18 | 8 | 45 | 41 13 | 12 | 4 | 100
BFRB 04N4 4 NeTwa | 11 | a8 | 2| ¥ | ¥ s 17 [ 25 | s0 BFUB 0104 532 orya 11 a8 | a2 | 0B T 4 100
BFRB 04N6 NPT3/8 | 12 | 49 16 | 22 | 25 | 50 BFUB 0402 PT18 | 8 | 54 | 50 6 | 14 | 6 | 50
BFRB 05N2 NPTL8 | 8 49 2 | 14 | 5 | 50 BFUB 0404 1/4 PT14 | 11 |57 | 51 | 16 | 12 | 16 | 16 | 14 | 6 | 50
BFRB 05N4 S16 NPTV4 | 11 | 52 | 4, | 47 | 95 | 15 | 17 | 5 | 50 BFUB 0406 PT3/8 | 12 | 59 | 52 6 | 17 | 6 | 50
BFRB 05N6 NPT3/8 | 12 | 53 16 | 22 | 5 | 50 NPT Thread (e D
BFRB 05N7 NPT12 | 15 | 56 19 | 24 | 5 | 50 . Parts No. RC (mm)
_ BFRBO6N2 | NPT1/8 | 8 59 12 | 14 | 7 | 25 | " BFUB 01N2 NPTL18| 8 | 45 | 41 12 | 4 | 100
BFRB 06N4 a8 NPTVA [ 11 [ 60 | o | o | L | 15 | 17 [ 7 [ 25 AT é{' ~—arusoma 1 32 netoal i Tas Taz ] ©| ¥ | 10 1B — 0
BFRB 06N6 NPT3/8 | 12 | 63 6 | 22 | 7 | 25 {’ R ] BFUB 04N2 NeTUs s 52 | m0 2 5 1 o
BFRB 06N7 NPT1/2 | 15 | 66 19 | 24 | 7 | 25 j_;;;,Kf“lki%i, BFUB 04N4 U4 |[NPTL4| 11 | 57 |51 | 12 | 16 | 12 | 16 | 14 | 6 | 50
BFRB 07N4 NPT1/4 | 11 | 59 15 | 17 | 7 | 20 2 —ruBoie ] T38| 12 15 &2 7 T 6 =
BFRB 07N6 112 NPT3/8 | 12 | 60 | 17 | 20 | 26 | 16 | 22 | 7 | 20
BFRB 07N7 NPT12 | 15 | 63 19 | 24 | 7 | 20
(Unit:mm)
Four way Union Parts No.  1ubeOD TubeOD g o oo o1 c2 g F g U QY SEul b
pD1 ¢ D2 (omm) (EA) Parts N Tube O.D Stem O.D o clL c2 3 g Viede Qty
BFU 0104 5/32 1/4 37 | 12 | 10 |142]161] 20 | 13 | 32| 3 | 50 AltS N0 ¢ D1 pD2 9Pl ¢P2 20 (gnm) (EA)
BFU 0405 1/4 5/16 45 | 14 | 12 [161]177] 24 | 16 | 32| 5 | 50 BFUR 0104 5/32 1/4 55 | 10 | 12 | 14 | 8 101 13 | 32| 4 | 50

BFUR 0405 1/4 5/16 65 12 14 16 8 12| 16 3.2 6 50

|
:
|

f

[
P

A

i
|
—

;
|

—78 — —79 —



PBT FITTINGS

DMfir

(Un'it :mm) (Unit:mm)

Tube O.D PT Thread Hex O0ificeDia. Qty i Tube O.D PT Thread Hex OrficeDia.  Qty
: A B . : .
Parts No 5D R (gnm) (EA) Universal Elbow Female Parts No 5D R A B L gP C E W G ER)
BUES 01M5 M5X0.8 | 45 | 215 | 17 18 | 8 | 25 | 100 BUEF 01M5 s3 M5x0.8 | 35 [ 22 [185 | [ 18 [ 8 | 25 | 100
BUES 01M6 M6X1.0 | 45 | 215 | 17 18 | 8 3 | 100 é BUEF 0102 PTL/8 | 82 | 305 | 265 19 [ 12 | 5 | 100
~ Buesowz | PTL/8 8 |25 2151 2 | ¥ 19 [ 10 5 | 100 BUEF 03M5 316 M5x08 | 35 | 24 [205 | [ |20 | 8 [ 25100
BUES 0104 PT1/4 11 | 295 | 235 21 | 14 | 75 | 100 SSEEE gf&"; MPST)(léBB gé 322‘-15 gg-g gé 182 255 15000
BUES 01M5 M5X0.8 | 45 | 235 | 18.8 20 | 8 | 25 | 100 —Seer ooV : - : :
o2 BUEF 0402 1/4 PT1/8 | 82 |325 | 285 | 12 | 16 | 21 | 12 | 5 | 50
BUES 01M6 3/16 M6X1.0 4.5 23.5 | 18.8 12 16 20 8 3 100 T BUEFO0404 | PT1/4 11 38 3 23 17 7 50
BUES 0302 PT1/8 8 | 275 | 235 21 | 10 | 5 | 100 BUEF 0502 PTL/8 | 82 | 355 | 315 23 | 12 | 5 | 50
BUES 04M5 MS5X08 | 45 | 235 | 188 20 8 25 | 50 BUEF 0504 5/16 PT1/4 11 [ 41 35 14 | 17 25 17 7 50
BUES 04M6 M6X1.0 45 | 235 | 18.8 20 8 3 50 BUEF 0506 PT3/8 12 43 37 6 19 10 50
5 /- BUES 0402 1/4 PT1/8 8 | 275|235 12 | 16 | 21 | 10 | 5 | 50 BUEF 0604 e PT1/4 1 | as |88 | [ |2 [17 [ 7 |25
& T BUES 0404 PTL/4 11 | 315 | 255 23 | 14 | 75 | =0 o ! BUEF 0606 PT3/8 12 | 46 | 40 : 29 | 19 | 10 | 25
A BUES 0406 PT38 | 12 | 32 | 258 25 | 17 | 10 | 50 9T ‘ BUEF 0706 o PT3/8 | 12 | 50 | 44 | |3 | 19 | 10 | 20
e ~ BUES 0502 P18 s 305 | 265 2 T 10 T 5 | 0 - BUEF 0707 PT1/2 15 | 575 | 495 | °- 34 | 24 | 12 | 20
e [ Ej}\ _ BUESO0504 | .. PTi/a_ | 11 |345|285| | . [ 25 [ 14 [ 75 [ 50 Ht Parts No.  Tube O.D NPTThread 5 Orfice D
! BUES 0506 PT3/8 | 12 | 35 | 29 26 | 17 | 10 | 50 < [ = R (@mm)
et Scrow g BUES 0507 PT1/2 5 | 39 | 305 20 | 17 | 12 | s0 I I N— BUEF 01U1 532 1032UNF | 4 |215 [185 | [ [ 18 | 8 | 25 | 100
BUES 0604 PT1/4 11 | 375 | 315 28 | 14 | 75 | 25 h BUEF 01N2 NPT1/8 5 35 | 265 19 | 12 2| 100
BUES 0606 38 PT3/8 12 | 38 | 32 |175| 20 | 29 | 17 | 10 | 25 % a6 121_3%)/';': ;‘ 23355 gg-g I g‘l’ 182 255 gg
BUES 0607 PT1/2 15 | 42 | 335 34 | 22 | 12 | 25 — SL=rioRe :
BUEF 03N4 NPTL/4 | 8 | 41 | 32 23 | 17 | 7 | s0
_BUBSO706 |, T3/ | 12 | 42 | 36 81 | 1r | 10 | 20 BUEF 04U1 10-32UNF | 4 | 235 | 205 20 | 8 | 25 | 50
BUES 0707 PTL2 | 15 | 46 | 375 st | 22 | 12 | 20 BUEF 04N2 14 NPT1/8 | 11 | 36 | 285 | 12 | 16 | 21 | 12 | 5 | 50
Parts No Tube O.D NPT Thread Orifice Dia. BUEF 04N4 NPT1/4 11 [ 41 32 23 | 17 7 50
: R (gmm) BUEF 05N2 NPTL/8 | 8 | 355 | 315 23 | 14 | 5 | 50
BUES 01U1 10320NF | 35 | 225 | 17 18 | 8 | 25 | 100 _BUEFOSN4 | 516 NPT1/4 | 11 | 41 | 35 | 14 | 17 | 25 | 19 | 7 | SO
BUES 01N2 5/32 NPT1/8 8 | 255 | 215| 10 | 14 | 19 | 10 | 5 | 100 EBEE ggsg mgiﬁ ﬁ ji g; gg ig 170 2(5)
BUES 01N4 NPT1/4 11 | 295 | 235 21 | 14 | 75 | 100 ~—BUEFoeNs | /8 NPTas 12 a6 a0 1175 | 21 a9 T 22 T 10 1 25
BUES 03U1 10-32UNF 35 245 | 18.8 20 8 2.5 50 BUEE 07N6 1o NPT3/8 12 50 44 15 - 31 19 10 20
BUES 03N2 316 NPT/ 8 |275|235| | ;|2 [ 10 [ 5 |50 BUEF 07N7 NPTL/2 | 15 | 575 | 495 | °© 34 | 22 | 12 | 20
BUES 03N4 NPT1/4 11 | 315 | 255 23 | 14 | 75 | 50
BUES 03N6 NPT3/8 12 | 32 | 258 25 | 17 | 10 | 50
BUES 04U1 1032UNF | 35 | 245 | 188 20 | 8 | 25 | 50
BUES 04N2 s NPT1/8 8 |275[285| | |2 [10 [ 5 [ 50
BUES 04N4 NPT1/4 11 | 315 | 255 23 | 14 | 75 | 50
BUES 04N6 NPT3/8 12 | 32 | 258 25 | 17 | 10 | 50 (Unit:mm)
BUES 05N2 NPT1/8 8 | 305 | 265 23 | 10 | 5 | 50 UTS Uitz T G Parts No. _ Tube O.D PTThread Ofiela Qty
BUES 05N4 s16 NPT1/4 1 [345]285] | [ 25 [ 14 |75 [ 50 P . R (amm) (EA)
—2352 ggzj :Eﬁg ig z: 3%95 zg Z 1(2’ :g BUTS 0102 532 | PTU8 | 8 |38 |23 | 12 | 10 |10 | 12 | 19 | 10 | 5 | 100
BUES 06N4 NPTL4 | 11 | 375 | 315 28 | 14 | 75 | 25 _ Butso42 | ., PT1/8 | 8 |42 |25 | /| 15 | 1o | 14 .22 |10 | 5 | 50
BUES 06N6 38 NPT3/8 12 | 38 | 32 |175| 20 | 29 | 17 | 10 | 25 BUTS 0404 PTL/4 | 11 | 46 | 28 23 | 14 | 75 | 50
BUES 06N7 NPT1/2 15 | 42 | 335 34 | 22 | 12 | 25 BUTS 0502 PTL/S | 8 | 46 | 28 23 |10 | 5 | 50
BUES 07N6 12 NPTSB | 12 | 42 | 36 |, 5| ,, |31 | 17 | 10 | 20 BUTS 0504 516 | PTU4 | 11 | 50 |31 | 17 | 14 |14 | 17 | 25 | 14 | 7.5 | 50
BUES 07N7 NPT12 15 | 46 | 375 31 | 22 | 12 | 20 UTS 0506 o 12 102 (5 26 117 10 | =
B! BUTS 0604 PTL/4 | 11 | 56 | 34 28 | 14 | 75 | 25
| = ; bbb S B V7 20 |175 |175 | 20
(Untt:mm) T 1 1/ BUTS 0606 PT3/8 | 12 | 58 | 35 29 | 17 | 10 | 25
i i Tube O.D Metric Thread Hex 0ifceDa Qt S T
(W)W W Universal Elbow Joint Parts No. 5D N BNl QL - _ BUTSO706 |, | PT38 |12 | 62 |39 | ,) |y | 4 |31 ] 27 |10 | 20
BUTS 0707 PTL2 | 15 | 62 | 42 31 | 22 [ 12 | 20
BUEJ 01M08 5/32 M8xL | 85| 8 |315| 2 | 10 | 14 | 19 | 12 | 4 | 100 <[ TN -
BUEJ 04M08 MéxL | 85 | 8 |3L5| 23 21 | 12| 4| 50 : Parts N Tube O.D NPT Thread OreDia
14 12 16 arts 0. D R (W‘]m)
BUEJ 04M12 Mi2xl | 85 | 8 | 32 | 235 23 | 17| 7 | 50 ¢
BUEJ 05M12 ) Mi2x1 | 85 | 8 | 35 | 265| 14 | 17 | 25 | 17 | 7 | 50 BUTS 01N2 532 | NPTL/8 | 7 | 38 | 22 | 12 |10 |10 | 12 | 19 | 10 | 5 | 100
BUEJ 05M14 5/16 M14x1 6 7 33 27 26 19 75| 50 BUTS 04N2 1a NPTL1/8 7 42 24 14 1 1 14 21 10 5 50
BUEVOGMI | | Waed [ 6 | 7 e | @[5l e [m [ w ] 7s]a ~eursoma | NeTUs | 105 | 46 | 265 2 14 75 | w0
— = 1P a 215 | 22 : BUTS 05N2 NPTL8 | 7 | 46 | 27 23 |10 | 5 | 50
BUEJ 07M18 Mi8xl | 10 | 10 | 49 | 39 34 | 22| 9| 20 _ SY SN
o BUTS 05N4 5/16 | NPTL/4 [10.5 | 50 | 295| 17 | 14 |14 | 17 | 25 | 14 | 7.5 | 50
{ ; w : [ BUTS 05N6 NPT3/8 | 105 | 52 | 30.5 26 | 17 | 10 | 50
S bl BUTS 06N4 NPTL4 105 | 56 | 325 28 | 14 | 75 | 25
T - —— 22" 3 20 |175 |175 | 20
) BUTS 06N6 NPT3/8 | 105 | 58 | 335 29 | 17 | 10 | 25
r BUTS 07N6 NPT3/8 | 105 | 62 | 37.5 31 |17 | 10 | 20
Ean) B AL Y 22 |215 |215 | 24
BUTS 07N7 NPT12 | 14 | 62 | 41 31 | 22 | 12 | 20

—80 — —81 —



PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
i Tube O.D PT Thread Hex 0ifiedia Qty OrficeDia.  Qty
V]DJ Y Universal Double Tee Stop Parts No. "SSP TR A B1 B2 G gPrgr2 ¢ E 9 TFnn 2R Parts No. 59 (gmm (ER)
BUDTS 0102 5/32 PT1/8 | 8 | 38|50 | 12| 10 | 10 | 12 | 19 | 12 | 10 | 5 | 100 BTE 0101 5/32 22 17 10 14 10 | 195 | 12 | 3.2 3 100
BUDTS 0402 118 | 8 | 22 | 56 511121 101 5 | s0 BTE 0404 1/4 27 21 12 16 12 | 215 | 13 | 32 5 50
BUDTS 0404 14 orva T |26 | 80 14 |12 | 12| 14 231 14 1 12 175 | 50 BTE 0505 5/16 30 23 14 17 14 | 245 | 15 | 4.2 6 50
: BTE 0606 3/8 36 27 | 175 | 20 | 175 345 | 23 | 42 7 25
BUDTS 0502 PT1/8 | 8 | 46 | 63 23|17 | 10| 5 | 80 BTE 0707 12 40 | 30 | 215 | 22 | 215 335 | 20 | 428 | 8 20
BUDTS 0504 5/16 PT14 | 11 | 50 | 67 | 17 | 14 | 14 | 17 | 25 | 17 | 14 | 75 | 50
BUDTS 0506 PT3/8 | 12 | 52 | 69 26 | 17 | 17 | 10 | 50
BUDTS 0604 a8 PTUA | 11 | 56 | 76 | oo | o] 06| oo | 28| 20 | 14 | 75| 25 7 1
BUDTS 0606 PT3/8 | 12 | 58 | 78 29 | 20 | 17 | 10 | 25 § @)
I
Il
BUDTS 0706 1o PT3/8 | 12 | 62 | 76 | . |, |y 5| o4 | 31|24 | 17 | 10 | 20 N
BUDTS 0707 PT12 | 15 | 62 | 76 31|24 | 22| 12 20 - -
Tube O.D NPT Thread (Orifice Dia
Parts No.
oD R (gmm)
BUDTS 01N2 5/32 | NPTL/8 | 7 |38 |49 |12 | 10 | 10 | 12 | 19 [ 12 | 10 | 5 | 100
BUDTS 04N2 NPT1 7 | 42 21 | 14 | 1
ubTS 0 1/4 8 S| 12] 12 14 015 | %0
BUDTS 04N4 NPT1/4 [10.5| 46 |59.5 23 (14 | 14 | 75| 50
BUDTS 05N2 NPT1/8 | 7 | 46 | 62 2317 | 10| 5 | 50
BUDTS 05N4 5/16 | NPT1/4 |105| 50 |66.5| 17 | 14 | 14 | 17 | 25 | 17 | 14 | 7.5 | 50
BUDTS 05N6 NPT3/8 [10.5| 52 | 67.5 26 | 17 | 17 | 10 | 50
BUDTS 06N4 8 NPTY4 |105 | 56 | 755| 0 | o o] 76| oo | 28| 20 | 14 | 75| 25 (Unit:mm)
BUDTS 06N6 NPT3/8 |10.5 | 58 |76.5 T 29 | 20 | 17 | 10 | 25 TE B Parts No. Tube[(;).D PT Tgread sd H|_e|x Orfe D %&l
BUDTS 07N6 12 NPT3/8 |105 | 62 | 74.5| . |0 | »1s| o4 | 3L | 24 | 17 | 10 | 20 9 (gm) (EA)
BUDTS 07N7 NPT1/2 | 14 | 62 | 75 ' ' 31|24 | 22| 121 20 —EIEE gmz mgﬁ'g j ;gg 22'2 18 ;2 150(?
— | 532 : : ~1 10 | 14 | 10 | 20 | 16 | 32 :
BTEB 0102 PT18 | 8 |265]|275 10 | 2.5 | 100
BTEB 0104 PT1/4 | 11 | 295|285 14 | 2.5 | 100
BTEB 04M5 M5X0.8 | 4 |295]315 12 | 25 | 50
BTEB 04M6 M6X1.0 | 4 |295]315 12 | 25 | 50
BTEB 0402 1/4 PT1/8 | 8 |31 ] 33|12 |16 |12 | 22 | 16 | 32 | 12 | 4 | 50
BTEB 0404 PTL/4 | 11 | 34 | 34 14 | 4 | 50
- BTEB 0406 PT3/8 | 12 | 36 | 355 17 | 4 | 50
(Unit:mm)
TR T et BTEB 0502 PT1/8 | 8 | 32 | 35 14 | 6 | 50
g A . e D e
(VR RY Universal Triple Teg Stop Parts No. "85 TR i (%g) BTEB 0504 sne | PTUA [ 11135 [36 | | || oo | g | 4, 24| 6 |50
BTEB 0506 PT3/8 | 12 |36.5]| 37 “117| 6 | 50
BUTTS 0102 5/32 PT1/8 | 8 | 38|62 |12 |10 |10 |12 [ 19 |12 |12 |10 | 5 |100 BTEB 0507 PT1/2 | 15 | 46 | 38 22 | 6 | 50
BUTTS 0402 Ua PTU8 | 8 |42 |70 | )| 5| in |14 |20 ] 34 | 4 [ 20| 5 |50 BTEB 0604 PT1/4 | 11 |385]415 17 | 7 |25
BUTTS 0404 pTia | 11 | 26 | 74 23 12 |75 | 50 ipm—— BTEB 0606 3/8 PT3/8 | 12 | 40 |425|175| 20 |175| 35 | 21 | 42| 17 | 7 | 25
BUTTS 0502 PT1/8 | 8 | 46 | 80 23 10| 5 |50 HE BTEB 0607 PTL2 | 15 | 44 | 45 21712
[ N A BTEB 0704 PT1/4 | 11 | 42 |465 22 |75 20
BUTTS 0504 5/16 PT1/4 |11 |50 | 84 | 17 | 14 | 14 |17 | 25 | 17 | 17 | 14 |75 | 50 i T BTEBOTO6 | 12 P38 | 12 | 23 | a7 |215| 22 |215| 34 | 23 | a2 22 | 9 | 20
BUTTS 0506 PT3/8 | 12 | 52 | 86 26 17 | 10 | 50 BTEB 0707 PT12 | 15 | 47 | 495 22| 9 |20
BUTTS 0604 PT1/4 | 11 | 56 | 96 28 14 |75 | 25
38 20 |17.5]17.5| 20 20 | 20 Parts No.  Tube O.D NPT Thread
BUTTS 0606 PT3/8 | 12 | 58 | 98 29 17 |10 | 25 R
BUTTS 0706 PT3/8 12 | 62 | 100 31 17 | 10 | 20 BTEB 01U1 10-32UNF| 4 |25.5|26.5 10 | 2.5 | 100
1/2 22 [21.5|21.5] 24 24 | 24 ——=renning ]
BUTTS 0707 p112 | 15 | 62 | 100 n 2 112 | 20 BTEB 01N2 5/32 | NPT1/8 | 5 |265|275| 10 | 14 | 10 | 20 | 16 | 32| 10 | 25 | 100
— BTEB 01N4 NPT1/4 | 8 |295]|285 14 | 2.5 | 100
Parts No.  1ube O.D NPTThread UieDi BTEB 04U1 10-32UNF| 4 |29.5|315 12 | 25 | 50
gD R (gn) BTEB 04N2 va NPTL8 | 5 |31 |33 | | (o | 1o | oy | 16 | 3p |12 ] 4 [ 50
BUTTS 01N2 5/32 | NPT1/8 | 7 |38 |61 |12 |10 |10 |12 |19 |12 |12 |10 | 5 |100 BTEB 04N4 NPTL/4 | 8 | 34 | 34 “l14 | 4 |50
BUTTS 04N2 NPTL/8 | 7 | 42 | 69 21 10 | 5 | 50 BTEB 04N6 NPT3/8 | 11 | 36 |35.5 7] 4 |50
14 14 112 |12 | 14 14 | 14 BTEB 05N2 NPT1/8 | 5 | 32 | 35 14 | 6 | 50
BUTTS 04N4 NPT1/4 |10.5| 46 |73.5 23 14 |75 | 50 — ST osNg | oTia s T35 38 26 T
BUTTS 05N2 NPTL/8 | 7 | 46 | 79 23 10| 5 |50 —stesosne | ¥ NPTas 11 T3es 3y M| 17| 14|25 |19 |42 o
BUTTS 05N4 5/16 NPT1/4 |10.5| 50 |83.5| 17 | 14 | 14 | 17 | 25 | 17 | 17 | 14 |75 | 50 BTEB 05N7 NPT1/2 15 | 46 38 22 50
BUTTS 05N6 NPT3/8 |10.5| 52 [84.5 26 17 | 10 | 50 BTEB 06N4 NPT1/4 | 8 |385]|415 17| 7 | 25
BUTTS 06N4 NPT1/4 105! 56 |95.5 28 4 |75 | 25 BTEB 06N6 3/8 NPT3/8 | 11 | 40 |425|175| 20 |175| 35 | 21 | 42| 17 | 7 | 25
3/8 20 |17.5]17.5) 20 20 | 20 BTEB 06N7 NPT1/2 | 15 | 44 | 45 22| 7 | 25
BUTTS 06N6 NPT3/8 |10.5| 58 [96.5 29 17 | 10 | 25 STEB 07Ns NoTia 8 42 Ta6s o 75 20
—_— ~1215| 22 |215] 34 | 23 | 42 -
BUTTS 07N6 " NPT3/8 105 62 |985| ., |, |1 | o4 | 3L | oy | 94 |17 |10 | 20 STEB 07NG 12 NPTae | 11 | 43 | 27 2 9 [ 20
BUTTS 07N7 NPT1/2 | 14 | 62 | 99 31 22 |12 | 20 BTEB 07N7 NPT1/2 15 | 47 | 495 22 9 20

—82 — —83 —



PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
Tube O.D PT Thread Hex 0ifteDa  Qty f A Tube O.D Tube O.D Oifrela. Qty
. A B L cC J E F : : ‘
BTEF 01M5 5/32 | M5x0.8 |35 | 22 |185| 10 | 14 | 21 | 8 | 12 | 32| 8 | 25 |100 BTT 0301 3/16 5/32 61 | 12|10 | 16 | 14 | 10 | 19 | 15 | 15 |32 | 3 | 50
BTEF 0402 1/4 PT1/8 |85 |325(285| 12 | 16 | 26 | 12 | 17 [ 32| 12 | 5 | 50 BTT 0401 1/4 5/32 61 |12 |10 | 16 |14 | 10|19 |15 | 15 [32| 5 | 50
BTEF 0504 5/16 PT1/4 | 11 |41 |35 | 14 | 17 |31 | 17 | 19| 42| 17 | 7 | 50 BTT 0501 516 5/32 64 | 14 [ 10 | 17 |14 | 10|19 | 17 | 17 |42 | 7 | 50
BTEF 0606 3/8 PT3/8 | 12 | 46 | 40 |17.5| 20 | 34 | 19 | 20 | 42| 19 | 10 | 25 BTT 0504 1/4 72 |14 |12 |17 |16 | 12|19 |19 | 19 |42 | 7 | 25
BTEF 0706 " PT3/8 | 12 | 50 | 44 |215] 22 |39 | 19 | 22 | 42| 19 | 10 | 20 BTT 0604 38 1/4 78 |175) 12 | 20 | 16 | 12 |20 | 19 | 19 |42 | 9 | 25
BTEF 0707 PT1/2 | 15 |57.5| 50 |21.5| 22 | 39 | 24 | 22 | 42| 24 | 12 | 20 BTT 0605 5/16 82 |175| 14 [ 14 |17 | 14 | 20 | 23 | 23|42 | 9 | 25
Tube O.D NPT Thread (rfice ia
Parts No. R (o)
= T BTEF 01U1 5/32 |10-32UNF| 4 [215|185| 10 | 14 | 21 | 8 | 12 | 32| 8 | 25| 100 | Ean
[ H—y s BTEF 03N2 3/16 | NPT1/8 | 8 |33 [285| 12 | 16 | 26 | 12 | 17 | 32| 8 | 5 | 50 TS S T
-1 i BTEF 04N2 14 | NPTU8 | 8 |33 [285] 12 |16 |26 | 12 [ 17 | 32| 12 | 5 | 50 tH—H H—Hi
— 0K BTEF 05N4 5/16 | NPT1/4 | 11 | 41 | 35 | 14 | 17 |31 | 17 | 19 | 42| 17 | 7 | 50 o
Metric Screw BTEF 06N6 3/8 NPT3/8 | 12 | 46 | 40 [17.5| 20 | 34 | 19 | 20 | 42| 19 | 10 | 25
e BTEF 07N6 1 NPT3/8 | 12 | 50 | 44 [215| 22 |39 | 19 | 22 | 42| 19 | 10 | 20
BTEF 07N7 NPT1/2 | 15 |57.5| 50 [215| 22 |39 | 24 | 22 | 42| 24 | 12 | 20
(Un i :mm) Writmm)
Tube O.D PT Thread Hex iieda Qty L B3 Tes union Triple Branch P (i, | LD e L 4L g2CLC2 J b e
pd ¢D1 ¢D2 R H (jm) (EA)
D R (gmm) (EA)
BTEP 01M5 532 | M5x0.8 | 45 |215| 17 | 10 | 14 | 21 | 10 | 12 | 32| 8 | 25 | 100 BTTB 030102 3/16 | 5/32 |PT1/8| 8 |65 | 65| 12|10 |16 [14.2/ 10 |19 | 15 |15 [3.2| 10 | 25|50
BTEP 0402 1/4 PT1/8 | 8 [275|235| 12 | 16 | 26 | 12 | 17 [ 32| 8 | 3 | 50 __BTTB040102 | PT1/8| 8 | 70 | 70 10 125 | 50
BTEP 0504 516 pTa | 11 134512851 14 | 17 | 31 (14 | 19 [ 221 14 |75 | 0 _ BTTB040104 | 1/4 | 5/32 |PT1/4[11 |73 |73 |12 |10 |16 |14.2/10 | 19 | 15 | 15 [3.2| 10 | 2.5 | 50
BTEP 0606 3/8 PT3/8 | 12 | 38 | 32 |175| 20 | 34 |175| 20 | 42| 17 | 10 | 25 BTTB 040106 PT3/8 |12 | 74 | 74 10125 | 50
BTEP 0706 1/2 PT3/8 | 12 | 42 | 36 |215| 22 | 39 |[215| 22 [ 42| 17 | 10 | 20 % gﬁ;ﬁ 181 ;E 32 E i gg
BTEP 0707 1/2 PT1/2 | 15 | 46 |37.5|21.5| 22 | 39 |215| 22 | 42| 22 | 12 | 20 = o
— BTTB 050106 532 Toraig 12 |76 | 70| 14| 10| 17|42 10 |18 117 17|82 o Ty
Parts N Tube 0.0 NPT Thread Oree i BTTB 050107 PT1/2 15 |79 | 74 2] 4 |50
arts No. #D R (gmm) 5/16
BTTB 050402 PT1/8| 8 |80 76 14| 6 |50
=) H ool BTEP 01U1 5/32 |10-32UNF| 4 22 17 | 10 | 14 | 21 | 10 12 | 32| 8 2.5 | 100 BTTB 050404 PT1/4 |11 | 83 | 77 14| 6 |50
— 1 _ 1/4 14 (12 |17 |16 12 |19 | 19 | 19 |42
BTEP 03N2 3/16 NPT1/8 8 |275|235| 12 | 16 | 26 | 12 17 | 32| 8 3 50 mam emm e BTTB 050406 PT3/8 |12 | 84 | 78 17| 6 |50
TTTITT Il e —
] = BTEP 04N2 1/4 NPT1/8 8 |275|235| 12 16 26 12 17 | 3.2 8 3 50 | R : \ . ] BTTB 050407 PT1/2 | 15 | 88 | 80 221 6 |50
e BTEP 05N4 516 | NPTL/4 | 11 |345|285| 14 | 17 | 31 | 14 | 19 | 42| 14 | 75 | 50 e n-150 BTTB 060404 PT1/4 |11 | 89 | 83 1771 7 | 25
BTEP 06N6 3/8 NPT3/8 | 12 | 38 | 32 |17.5| 20 | 34 |175] 20 | 42| 17 | 10 | 25 o] 5 BTTB 060406 1/4 | PT3/8 |12 |91 | 84 17,5/ 12 | 20 |16.1) 12 | 20 | 19 |19 |42 |17 | 7 | 25
BTEP 07N6 1/2 NPT3/8 | 12 | 42 | 36 |215| 22 | 39 |215| 22 | 42| 17 | 10 | 20 BTTB 060407 PT1/2 |15 | 95 | 87 221 7 |25
BTEP 07N7 1/2 NPT1/2 | 15 | 46 |37.5|21.5| 22 39 |215| 22 | 42| 22 12 20 BTTB 060504 3/8 PT1/4 | 11 | 93 | 87 171 7 |25
BTTB 060506 5/16 |PT3/8 |12 | 95 | 88 [17.5| 14 | 20 [17.7| 14 | 20 | 23 | 23 |42 | 17| 7 |25
BTTB 060507 PT1/2 | 15 [ 99 | 91 2|7 |25
Tube 0.0 NPT Thread (rfeDi
Parts No. sD2 R 3PL ¢
BTTB 0301N2 3/16 | 5/32 |NPTL/8| 7 |66 | 65| 12 | 10| 16 [142| 10 |19 | 15| 15 |32 | 10 | 2.5 | 50
(Un o) BTTB 0401N2 NPT1/8| 7 |71 | 70 10 | 2.5 50
: AILEIIL BTTB 0401N4 1/4 | 5/32 |NPT1/4(105|745| 73| 12 | 10| 16 [14.2| 10 [ 19 | 15 [ 15 | 32| 10| 25|50
TEJ Parts No. TUbegD Metncl\;hread ALA2 B L gPC E J F gd Hﬁx ?’mﬂ) (%% BTTB 0401N6 NPT3/8[105 745 74 10 [ 2550
P BTTB 0501N2 NPT1/8| 7 | 73 | 69 14| 4 |50
BTEJ 06M14 3/8 M14x1.0 | 6 | 7 |36 | 30|17.5| 20 | 34 |17.5| 20 | 42| 19 | 7.5 | 50 BTTB 0501N4 NPT1/4[105 |755]| 7 14| 4
X _ BTTBOSOIN | 5/32 J4{105 17551 70 |4\ 1 19| 17 [142] 10 | 18 | 17 | 17 | 32 50
BTEJ 07M18 1/2 M18x1.0 | 10 | 10 | 49 | 39 |21.5| 22 | 39 |21.5| 22 | 42| 22 | 12 | 50 BTTB 0501N6 NPT3/8|10.5 [755| 71 17| 4 |50
BTTB 0501N7 NPT1/2| 14 | 79 | 74 22| 4|50
BTTB 0504N2 516 NPT1/8| 7 |80 | 76 14| 6 |50
BTTB 0504N4 NPT1/4(105| 83 | 77 14| 6 |50
BTTB 0504N6 Y& INpraisli05 | sa |78 | 14| 12| 17|16 12|19 110 )19 42 P
BTTB 0504N7 NPT1/2| 14 | 88 | 80 22| 6 |50
. H\ 2m BTTB 0604N4 NPT1/4(105 | 89 | 83 17| 7 |25
. ol ajg IHIE BTTB 0604N6 1/4 |NPT3/8|10.5| 91 | 84 |17.5| 12|20 |161| 12 [20 | 19 | 19 [42| 17| 7 |25
[ ‘ _ BTTBU6GUANG |
}’ JEEN 4 { 5 BTTB 0604N7 NPT1/2| 14 | 95 | 87 2| 7|25
j] i E}} B ) H BTTBOGOSN4 | /8 NPTY/4[105 | 93 | 87 7] 7 |25
1L T~ Pt L BTTB 0605N6 5/16 |NPT3/8[105| 95 | 88 [17.5| 14| 20 [17.7| 14 | 20 | 23 | 23 |42 | 17| 7 |25
R {3 BTTB 0605N7 NPTL/2| 14 | 99 | 91 2| 7|25

—84 — —85 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
TubeOD TubeOD StemOD (il Qty f f . Orifice Dia. ~ Qty
Parts No. #D1 ¢D2 ¢D3 B L 4P1gP2C1 C2C3 J ¢d o) (EA) Parts No. pd (gmm)  (EA)
BTTS 030103 3/16 | 5/32 | 3/16 |80 | 72 |12 | 10 |16 | 14 | 8 |10 | 19 | 15 |15 [ 32| 3 | 50 BTA 0101 5/32 14 17 10 12 3.2 3 100
BTTS 040104 14 | 532 | 14 |80 |72 |12 | 10|16 | 14| 8 [10 |19 |15 |15 [32]| 4 |50 BTA 0404 1/4 16 21 12 14 3.2 5 50
BTTS 050105 5/32 84 | 76 |14 | 10 |17 | 14| 8 |10 |19 [ 17 |17 [42]| 7 | 50 BTA 0505 5/16 17 24 14 16 4.2 7 50
BTTS 050405 56 ™4 | 516 o1 (82 (14 |12 |17 | 16 | 8 |12 |19 | 19 |19 |42 7 | 50 BTA 0606 3/8 20 28 17.5 19 4.2 9 25
BTTS 060406 1/4 200 |90 |17 | 12|20 |16 | 10 |12 [ 20 [ 19 [19 [42| 9 | 25 BTA 0707 1/2 22 31 21.5 21 42 11 20
BTTB 060506 88 516 | 38 [10a o4 |17 | 14 |20 | 17 | 10 |14 | 20 | 23 |23 | 42| 9 | 25
I ] I
1‘ i anp
li | = [ )
e p—— B S
IIRE(@)
TN
(Unit:mm)
T .D
19 Tube Stop Parts No. qujeg c B #P Qty (EA) i)
BTS 04 14 16 18 12 50 TriAnale union Branch Tube O.D PT Thread d Hex Ofieda Qty
BTS 05 5/16 17 21 14 50 TA B g D R ¢ H
BTS 06 3/8 20 23 17.5 25 BTAB 01M5 M5X0.8 | 4 |[255 |26.5 10 | 25 | 100
BTS 07 1/2 22 25 215 20 BTAB 01M6 M6X1.0 | 4 |[255 | 265 10 | 25 | 100
BTAB 0102 5182 pTis | 8 | 27 | 28 | 0| W |V 7132 0 25 [ 100
BTAB 0104 PT1/4 | 11 | 30 | 29 14 | 25 | 100
BTAB 04M5 M5Xx0.8 | 4 | 29 | 31 12 | 25 | 50
BTAB 04M6 MeX1.0 | 4 | 29 | 31 12 | 25 | 50
BTAB 0402 1/4 PT1/8 | 8 |305|325| 12 | 16 | 21 | 8 |32 | 12| 4 | 50
BTAB 0404 PT1/4 | 11 |335 |335 14 | 4 | 50
BTAB 0406 PT3/8 | 12 [355 | 35 17 | 4 | 50
BTAB 0502 PT1/8 | 8 [325| 36 14 | 6 | 50
BTAB 0504 PT1/4 | 11 |355 | 46 14 | 6 | 50
BTAB 0506 516 PTais | 12 | 37 |a8s| 4| 17| 2 | 9542 o,
BTAB 0507 PT1/2 | 15 | 46 | 38 22| 6 | 50
BTAB 0604 PTL/4 | 11 |395 | 425 17| 7 | 25
Metric Screw Type BTAB 0606 3/8 PT3/8 | 12 | 41 |435|175| 20 | 28 | 11 |42 | 17| 7 | 25
"\ BTAB 0607 PT1/2 | 15 | 45 |455 2| 7 | 25
i BTAB 0704 PTL/4 | 11 | 43 | 48 21 | 75 | 20
""" BTAB 0706 1/2 PT3/8 | 12 | 44 |485|215| 22 | 31 | 13 |42 | 21| 9 | 20
BTAB 0707 PT1/2 | 15 | 48 |50.5 22 9 | 20
(Unt:mm) Tube O.D NPT Thread

Parts No. #D R

Parts No. Tube O.D Stem O.D c1 Orifice Dia. ~ Qty

$D1 ¢ D2 (@mm)  (EA) BTAB 01U1 10-32UNF| 4 | 255 | 265 10 | 25 | 100
BTAB 01N2 532 | NPTL8 | 8 | 27 | 28 | 10 | 14 | 17 | 7 |32 [ 10 | 25 | 100

BSS 0101 5/32 5/32 7 7 35 2 100 — - mne
BTAB 01N4 NPTL/4 | 11 | 30 | 29 14 | 25 | 100
_ BSSOs0L | g6 5/32 8 7 36 8 50 BTAB 04U1 10-32UNF| 4 | 29 | 31 12 | 25 | 50
BSS 0303 3/16 8 8 38 4 50 BTAB 04N2 NPT1/8 | 8 |305 |325 12 | 4 | 50

— e 12|16 | 21| 8 |32

BSS 0401 5/32 8 7 35 3 50 BTAB 04N4 NPTL/4 | 11 |335 |335 14 | 4 | 50
BSS 0403 14 16 o 5 P . . BTAB 04N6 NPT3/8 | 12 |355 | 355 17 | 4 | 50
—_— BTAB 05N2 NPTL8 | 8 |325 | 36 14 | 6 | 50

‘ BSS 0404 1/4 8 8 38 4 50 B L il S
B BTAB 05N4 one | NPTLA | 11 (355136 | | | o | oo | 4, | 14| 6 | 50
_ BSsosor | 5/32 8 7 38 4 50 BTAB 05N6 NPT3/8 | 12 | 37 | 385 7 | 6 | s0
BSS 0504 5/16 1/4 8 8 39 4 50 BTAB 05N7 NPTL2 | 15 | 46 | 38 22 | 6 | 50
BSS 0505 5/16 8 8 395 6 50 BTAB 06N4 NPTL/4 | 11 |395 | 425 17 | 7 | 25
BSS 0605 e 516 10 5 3 s Py BTAB 06N6 3/8 | NPT3/8 | 12 | 41 |435|175| 20 | 28 | 11 |42 [ 17 | 7 | 25
—_— BTAB 06N7 NPT12 | 15 | 45 | 455 22 | 7 | 25

BSS 0606 38 10 10 46 8 25

BTAB 07N4 NPTL4 | 11 | 43 | 48 21 | 75| 20
__BSsOvoe | 12 3/8 105 10 48 12 20 BTAB 07N6 12 | NPT3/8 | 12 | 44 |485|215| 22 | 31 | 13 |42 | 21 | 9 | 20
BSS 0707 172 105 105 50 12 20 BTAB 07N7 NPT12 | 15 | 48 | 505 22 | 9 | 20

—86 — —87 —



PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
i ) ficeDia. T .D PTThr Hex Hex (iea
Single Two way Connector Parts No, |[Lut=iOD) Bihica ey o ke B0 Double Tiwo way Connector Parts No.  1ube0 ead e e el | Oty
¢D Rc H2 (gmm) (EA) oD R H2 (gmm) (EA)
BSTC 0102 PTL/8 8 |52 |48 | 15 10 | 3 | 100 BDTC 0102 PT1/8 | 8 |40 [ 36 | 15 10 | 3 | 100
BSTC 0104 5/32 PTL4 | 11 | 55 | 49 | 16 | 10 | 14 | 18 | 12 | 10 [ 14 | 3 | 100 BDTC 0104 5/32 PT1/4 | 11 | 43 | 37 | 16 | 10 | 14 |21 |12 | 10 | 14 | 3 | 100
BSTC 0106 PT3/8 | 12 | 57 |505 175 17 | 3 | 100 BDTC 0106 PT3/8 | 12 | 45 | 385175 17 | 3 | 100
BSTC 0402 PTL/8 8 |58 | 54 | 16 10 | 35 | 50 BDTC 0402 PT18 | 8 | 44 | 40 | 16 10 | 35| 50
BSTC 0404 14 PTL4 | 11 |62 | 56 | 18 | 12 | 16 | 21 | 14 | 12 [ 14 | 35 | 50 BDTC 0404 1/4 PT1/4 | 11 | 48 | 42 | 18 | 12 | 16 | 26 | 14 | 12 | 14 | 35| 50
BSTC 0406 PT3/8 | 12 | 63 | 565 | 185 17 | 35 | 50 BDTC 0406 PT3/8 | 12 | 49 | 425185 17 | 35| 50
BSTC 0502 PTL/8 8 |67 | 63 | 175 14 | 5 | 50 BDTC 0502 PT18 | 8 | 50 | 46 | 175 14| 5 | 50
BSTC 0504 PTL/4 | 11 | 70 | 64 |185| 14 | 17 | 25 | 17 |135[ 14 | 5 | 50 BDTC 0504 PTUA |11 [ 53 | 47 [185] | |, | 45 | 4, 245 [50
BSTC 0506 5/16 PT3/8 | 12 | 72 | 655 | 205 17 | 5 | 50 BDTC 0506 5/16 PT3/8 | 12 | 55 | 485 20 3 17 | 5 | 50
BSTC 0507 PTL/2 | 15 | 76 |67.5 | 225 22 | 5 | 50 BDTC 0507 PT1/2 | 15 |5835] 505 | 225 22 | 5 | 50
/ BSTC 0604 PTL4 | 11 |80.5 | 745 21 17 | 5 | 25 / BDTC 0604 PT1/4 | 11 |605 | 545 21 17 | 5 | 25
| BSTC 0606 3/8 PT3/8 | 12 |715 755|215 |175| 20 | 29 | 20 [195[ 17 | 5 | 25 ) BDTC 0606 3/8 PT3/8 | 12 |615| 55 |215]|175| 20 | 34 | 20 | 195 17 | 5 | 25
[ HEE! BSTC 0607 PT12 | 15 |755 | 775 | 24 22 | 5 | 25 i BDTC 0607 PT1/2 | 15 | 655 |57.5] 24 22 | 5 | 25
BSTC 0704 PT1/4 11 [955 (895 25 22 [ 10 | 20 H?FIF_%E BDTC 0704 PT1/4 11 [715]655| 25 22 [ 10 | 20
Ml BSTC 0706 112 PT3/8 | 12 |955 | 89 | 245|215 | 22 | 34 | 24 | 24 [ 22 | 10 | 20 —ih ) BDTC 0706 12 PT3/8 | 12 |715| 65 |245|215| 22 | 39 | 24 | 24 [ 22 | 10 | 20
Rl BSTC 0707 PT12 | 15 |985| 90 | 26 22 | 10 | 20 T BDTC 0707 PT1/2 | 15 |745| 66 | 26 22 | 10 | 20
NPT Thread Orfce Dia 5 NPT Thread (Orfiee D
A Parts No. Rc (amn) Parts No. R

)
]
|

BSTC 01N2 NPTL8 | 7 | 53 | 48 | 15 10 | 3 | 100 il BDTC 01N2 NPTL/8 | 7 | 41 | 36 | 15 10 | 3 | 100
BSTC 01N4 5/32 NPTL/4 | 105 |555 | 49 | 16 | 10 | 14 | 18 | 12 | 10 | 14 | 3 | 100 i BDTC 01N4 5/32 NPTL/4 |105 (435 37 | 16 | 10 | 14 | 21 | 12 | 10 [ 14 | 3 | 100
BSTC 01IN6 NPT3/8_|10.5 |58.5 | 505 | 17.5 17 | 3 | 100 fl BDTC 01NG NPT 3/8 | 105 | 46,5 | 38.5 | 17.5 17 | 3 | 100
BSTC 04N2 NPTL8 | 7 |59 | 54 | 16 10 | 35 | 50 ] BDTC 04N2 NPTL/8 | 7 | 45 | 40 | 16 10 | 35| 50
BSTC 04N4 U4 NPTL/4 |105 | 62 | 56 | 18 | 12 | 16 | 21 | 14 | 12 [ 14 | 35 | 50 BDTC 04N4 1/4 NPTL/4 |105 (485 42 | 18 | 12 | 16 | 26 | 14 | 12 | 14 | 35| 50
BSTC 04N6 NPT3/8_|10.5 | 64.5 | 565 | 185 17 [ 35 | 50 BDTC 04N6G NPT3/8 | 105 |505 | 42.5 | 185 17 | 35 | 50
BSTC 05N2 NPTL8 | 7 | 68 | 63 | 175 14 | 5 | 50 BDTC 05N2 NPTL/8 | 7 | 51 | 46 | 175 14| 5 | 50
BSTC 05N4 NPTL/4 | 105 |70.5 | 64 | 185 4 | 5 | 50 BDTC 05N4 NPT1/4 | 105 |535 | 47 | 185 14 | 5 | 50
BSTC 05N6 5/16 NPT3/8 |10.5 | 735 | 655 205 ¥4 | 17 | 25 | 17 118537175 |'g5o BDTC 05N6 5/16 NPT3/8 |105 |56.5 |485] 20 | 4 | 17 |31 | 17 | 14 4775 [ 50
BSTC 05N7 NPTL2 | 14 | 77 | 675|225 2 | 5 | 50 BDTC 05N7 NPTL1/2 | 14 |59.5 | 50.5 | 225 22 | 5 | 50
BSTC 06N4 NPTL/4 |105 | 8L | 745 21 17 | 5 | 25 BDTC 06N4 NPTL/4 | 105 | 615 | 545 21 17| 5 | 25
BSTC 06N6 38 NPT3/8 |10.5 | 83 | 755 |215|17.5| 20 | 29 | 20 |195[ 17 | 5 | 25 BDTC 06N6G 3/8 NPT3/8 |105 | 62 | 55 | 21.5|17.5| 20 | 34 | 20 | 195 17 | 5 | 25
BSTC 06N7 NPTL2 | 14 |86.5 | 77.5 | 24 2 | 5 | 25 BDTC 06N7 NPTL/2 | 14 | 67 | 575 24 22 5 | 25
BSTC 07N4 NPTL/4 |10.5 | 90 | 785 | 25 22 |10 | 20 BDTC 07N4 NPTL/4 | 105 |72.5 | 655 | 25 22 [ 10 | 20
BSTC 07N6 i) NPT3/8 105 | 97 | 89 | 245|215 | 22 | 34 | 24 | 24 [ 22 | 10 | 20 BDTC 07N6 12 NPT3/8 |105 | 72 | 65 | 245|215| 22 | 39 | 24 | 24 | 22 | 10 | 20
BSTC 07N7 NPTL2 | 14 |995| 90 | 26 22 10 | 20 BDTC 07N7 NPT1/2 | 14 | 76 | 66 | 26 22 [ 10 | 20
(Unit:mm) (Unit:mm)
; Tube O.D PT Thread Hex Hex 0fiela Qty Tube O.D PT Thread Hex (ifieda Qty
Y g (@8 Singetee way Comnecor Parts No. 5 T B L1 L2 6P C E J ) 15 () E4) (D) 5 @l Doubletee ey Comneor Parts No. %5 70 H2 (o] (EA)
BSHC 0102 PTL8 | 8 | 40 | 36 | 14 10 | 3 | 100 BDHC 0102 PTL8 | 8 | 52 | 48 | 15 10 | 3 | 100
BSHC 0104 5/32 PTL4 | 11 | 43 | 37 | 16 | 10 | 14 | 18 | 12 | 10 [ 14 | 3 | 100 BDHC 0104 5/32 PTL/4 | 11 | 55 | 49 | 16 | 10 | 14 | 21 | 12 | 10 | 14 | 3 | 100
BSHC 0106 PT3/8 | 12 | 45 | 385175 17 | 3 [ 100 BDHC 0106 PT38 | 12 | 57 | 505175 17 | 3 [ 100
BSHC 0402 PTL8 | 8 | 44 | 40 | 16 10 | 35| 50 BDHC 0402 PTL8 | 8 | 58 | 54 | 16 10 | 35| 50
BSHC 0404 1/4 PTL4 | 11 | 48 | 42 | 18 | 12 | 16 | 21 | 14 | 12 | 14 | 35| 50 BDHC 0404 1/4 PTL/4 | 11 | 62 | 56 | 18 | 12 | 16 | 26 | 14 | 12 | 14 | 35| 50
BSHC 0406 PT3/8 | 12 | 49 | 425185 17 [ 35| 50 BDHC 0406 PT3/8 | 12 | 63 | 565 185 17 | 35| 50
BSHC 0502 PTL8 | 8 | 50 | 46 | 175 14| 5 | 50 BDHC 0502 PTL8 | 8 | 67 | 63 | 175 14| 5 | 50
BSHC 0504 PTLU4 | 11 | 53 | 47 | 185 14| 5 | 50 BDHC 0504 PTL4 | 11 | 70 | 64 | 185 14| 5 | 50
BSHC 0506 5/16 PT3/8 | 12 | 55 | 485 20 | ¥ | 17| 25| 17 | 183537 "5 [ 50 BDHC 0506 5/16 PT3/8 | 12 | 72 | 655 20 | ¥ | 17 |31 | 17 | 14 97175 [ 50
BSHC 0507 PTL2 | 15 |58.5 | 505 | 225 22| 5 | 50 BDHC 0507 PT12 | 15 | 76 | 675 225 22 | 5 | 50
BSHC 0604 PTL4 | 11 |60.5 545 21 17| 5 | 25 BDHC 0604 PTL/4 | 11 |805 | 745 21 17| 5 | 25
BSHC 0606 3/8 PT3/8 | 12 | 615 55 | 215|175 20 | 20 | 20 | 195 17 | 5 | 25 BDHC 0606 3/8 PT3/8 | 12 |715| 75 | 215|175 20 | 34 | 20 | 195 17 | 5 | 25
BSHC 0607 PTL2 | 15 | 655|575 24 22| 5 | 25 BDHC 0607 PT12 | 15 | 755 | 775 24 22 [ 5 | 25
BSHC 0704 PTL4 | 11 | 715|655 25 22 | 10 | 20 BDHC 0704 PTL/4 | 11 |955 895 25 22 | 10 | 20
BSHC 0706 12 PT3/8 | 12 |715] 65 | 25 |215| 22 | 34 | 24 | 24 [ 22 | 10 | 20 BDHC 0706 12 PT3/8 | 12 |955| 89 | 245|215 22 | 39 | 24 | 24 | 22 | 10 | 20
BSHC 0707 PT12 | 15 |745| 66 | 26 22 | 10 | 20 BDHC 0707 PT12 | 15 |985| 90 | 26 22 [ 10 | 20
NPT Thread (rfce i Tube O.D NPT Thread Orfiee D
Parts No. R () 5D R
BSHC 01N2 NPTL/8 | 7 | 41 | 36 | 14 10 | 3 | 100 BDHC 01N2 NPTL/8
BSHC 01N4 5/32 NPT1/4 |105 435 37 | 16 | 10 | 14 | 18 | 12 | 10 | 14 | 3 | 100 BDHC 01N4 NPT1/4 | 10.
BSHC 01ING NPT3/8 | 10.5 | 46.5 | 385 | 17.5 17 | 3 | 100 BDHC 01N6 NPT 3/8 | 105 | 585 | 50.5 | 17.5 17 | 3 | 100
BSHC 04N2 NPTL/8 | 7 | 45 | 40 | 16 10 | 35| 50 ] BDHC 04N2 NPTL/8 | 7 | 59 | 54 | 16 10 | 35| 50
BSHC 04N4 1/4 NPT1/4 |105 485 42 | 18 | 12 | 16 | 21 | 14 | 12 | 14 | 35| 50 BDHC 04N4 1/4 NPT1/4 |105 [625| 56 | 18 | 12 | 16 | 26 | 14 | 12 | 14 | 35| 50
BSHC 04N6 NPT3/8 | 10.5 | 50.5 | 425 | 185 17 | 35| 50 BDHC 04N6 NPT3/8 | 105 | 645 | 56.5 | 18.5 17 | 35| 50
BSHC 05N2 NPTL/8 | 7 | 51 | 46 | 175 14| 5 |50 BDHC 05N2 NPTL/8 | 7 | 68 | 63 | 175 14| 5 | 50
BSHC 05N4 NPTL/4 | 105 |535 | 47 | 185 14| 5 | 50 BDHC 05N4 NPT1/4 | 105 |705 | 64 | 185 14| 5 | 50
BSHC 05N6 5/16 NPT3/8 |10.5 |56.5 |485] 20 | 14 | 17| 25| 17 | 35375 [ 50 BDHC 05N6 5/16 NPT3/8 | 105 [725|655] 20 | 4 | 17 |81 | 17 | 14 /995 [ 50
BSHC 05N7 NPTL/2 | 14 |59.5 | 505 ] 22.2 22 | 5 | 50 BDHC 05N7 NPTL2 | 14 | 77 |67.5] 225 22 | 5 | 50
BSHC 06N4 NPTL/4 | 105 | 61 | 545] 21 17| 5 | 25 BDHC 06N4 NPT1/4 |105 | 8L | 745 21 17| 5 | 25
BSHC 06N6 3/8 NPT3/8 |10.5 | 63 | 55 |21.5|175| 20 | 29 | 20 | 195[ 17 | 5 | 25 BDHC 06N6 3/8 NPT3/8 105 | 83 | 75 | 21.5|17.5| 20 | 34 | 20 | 195 17 | 5 | 25
BSHC 06N7 NPTL/2 | 14 | 665|575 24 22 | 5 | 25 BDHC 06N7 NPTL2 | 14 |865 | 77.5| 24 22| 5 | 25
BSHC 07N4 NPTL/4 | 105 | 72 | 655] 25 22 | 10 | 20 BDHC 07N4 NPT1/4 |105 | 96 |89.5| 25 22 | 10 | 20
BSHC 07N6 12 NPT3/8 105 | 73 | 65 | 25 |215| 22 | 34 | 24 | 24 [ 22 | 10 | 20 BDHC 07N6 12 NPT3/8 105 | 97 | 89 | 24.5|215| 22 | 39 | 24 | 24 [ 22 | 10 | 20
BSHC 07N7 NPTL2 | 14 |755| 66 | 26 22 [ 10 | 20 BDHC 07N7 NPT12 | 14 995 90 | 26 22 | 10 | 20

—88 — —89 —



PBT FITTING

DMfir

(Unit:mm) (Unit:mm)
Tube O.D NPT Thread Hex OifteDa  Qt Tube O.D PT Thread Hex OificeDia.  Qt
Parts No. B () Qty Parts No. 5D K H (gmm) (%X)
BUEH 01U1 g3y |1OB2UNF| 1 15 |35 | 165 | 21 5 25 | 100 BEUB 0102L PT1/8 8 | 365 | 375 10 | 25 | 100
ESE: 8;Bi lONZ;LlJ/le 335 21155 22555 g 235 15000 BEUB 0104L 5/32 PT1/4 | 11 | 395 | 385 | 10 14 17 | 14 | 25 | 100
—suEhoanz | NPT 5 o 25 6 3 = BEUB 0106L PT3/8 12 | 405 | 395 17 | 25 | 100
~ Buerosna | M [nerwa | 2| M| P Tin 285 (315 | 8 | 75 | 50 BEUB 0402L PTU8 | 8 | 38 | 39 12 | 4 | 50
BUEH 03N6 NPT3/8 12 26.5 | 325 10 10 50 BEUB 0404L 1a PT1/4 1 41 42 12 16 19 14 4 50
BUEH 04N2 NPT1/8 35 | 185 | 26 6 3 50 BEUB 0406L PT3/8 12 42 43 17 4 50
BUEH 04N4 NPT1/4 23. . 7. : T REUB O407I |
—omiome—| ¥ [hemad # | | # Sirfestus ot R e [ e 2] s lw
BUEH 04N7 NPT1/2 12 | 265 | 35 12 12 | 50 —_— - :
BUEH 05N2 NPTL/8 8 | 265 | 305 | 6 3 | 50 BEUB 0504L 5/16 PT/4 | 11 | 455 | 485 | | | 457 | o [ 14 6 50
;. c BUEH 05N4 516 NPTVA |, 17 5 | 11 [ 285 [345 [ 8 75 | 50 F BEUB 0506L PT3/8 12 | 465 | 495 17 6 50
i N— BUEH 05N6 NPT3/8 12 29 35 10 10 | 50 BEi R BEUB 0507L PT1/2 15 | 495 | 525 22 6 50
U - T ESE: 822; EEEZ ﬁ 222 3?;95 182 7125 22 NESIi BEUB 0602L PT1/8 8 51 56 12 7 25
< [[jj\ BUEH 06N6 3/8 NPT3/8 | 175 | 20 29 | 12 32 38 10 10 | 25 B _ BEUBOGOAL | g4 PTL/4 11 >4 % 1475 | 20 26 |4 ! %
E . BUEH 06N7 NPTL/2 15 [ 335 | 42 | 12 | 12 | 25 , BEUB 0606L PT3/8 | 12 | 55 | 60 w |7 |3
BUEH 07N6 2 NPT3/8 o15 | 22 ” 12 36 42 10 10 20 L@ BEUB 0607L PT1/2 15 58 63 22 7 25
BUEH 07N7 NPT1/2 15 | 375 | 46 12 12 | 20 —— BEUB 0704L PT1/4 11 | 605 | 62,5 14 | 75 20
Tove BEUB 0706L 112 PT3/8 12 | 615 | 635 | 215 | 22 28 | 17 9 20
BEUB 0707L PT1/2 15 | 645 | 66.5 22 9 20
Tube O.D NPT Thread Orifice Dia.
Parts No. 5D R (gmm)
(Un 1 mm) BEUB 01U1L 10-32UNF | 55 | 345 | 355 10 | 25 | 100
Parts No. Tube O.D Metric Thread Offcela Qty _ BEUBOIN2ZL | NPT1/8 8 36 36 10 14 17 [0 25 | 100
M (gnm) (EA) BEUB 01N4L NPT1/4 | 11 39 40 14 | 25 | 100
BBUS 03M14 3/16 |M14X10| 12 | 18 | 16 | 16 | 1 | 9 | 5 |36 | 17 | 5 | 50 BEUB 01N6L NPT3/8 | 12 | 40 | 14 17 | 25 | 100
BBUS 04M14 14 |M14ax10| 12 | 18 | 16 | 16 | 1 | 9 | 5 |36 |17 | 5 | 50 BEUB 03N2L NPT1/8 | 8 39 39 12 | 25 50
BBUS 06M20 3/8 M20 X 1.0| 175 | 28 20 20 1 10 6 435 | 24 8 25 BEUB 03N4L 3/16 NPT1/4 11 41 42 12 16 19 14 4 50
BBUS 07M22 12 |M22Xx10[215| 31 | 22 | 22 | 1 |16 | 6 |475| 27 | 10 | 20 BEUB 03N6L NPT38 | 12 2 3 17 4 50
BEUB 04U1L 10-32UNF | 55 | 34 | 375 10 | 25 50
BEUB 04N2L NPT1/8 | 8 39 39 12 4 50
BEUB 04N4L 1/4 NPT1/4 | 11 a1 42 | 12 16 19 | 14 4 50
BEUB 04N6L NPT3/8 | 12 42 43 17 4 50
BEUB 04N7L NPT1/2 | 15 45 46 22 4 50
BEUB 05N2L NPT1/8 | 8 | 425 | 455 12 6 50
BEUB 05N4L 516 NPTV4 | 11 | 455 | 485 | 17 0 |14 6 50
BEUB 05N6L NPT3/8 | 12 | 465 | 49.5 17 6 50
BEUB 05N7L NPT1/2 | 15 | 495 | 525 22 4 50
BEUB 06N2L NPT1/8 | 8 51 56 12 7 25
BEUB 06N4L - NPT1/4 | 11 54 59 | 125 | 20 0 |14 7 25
Untmm) BEUB 06N6L NPT3/8 | 12 55 60 17 7 25
Parts No. Tube O.D  Metric Thread 4P3 C1 Hex OliﬁceDia Qty BEUB 06N7L NPTL2 | 15 %8 63 22 ! 25
sD M H (gm) (EA) BEUB 07N4L NPT1/4 | 11 | 605 | 62,5 14 | 75 20
BBUE 03M14 3/16 |M14X1.0| 12 | 12 |18 | 16 | 16 | 21 | 15| 5 | 38 | 17 | 5 | 50 __ BEUBO7NGL | 112 NPT3/8 | 12 | 615 | 635 215 | 22 | 28 | 17 9 20
BBUE 04M14 1/4 M14X1.0| 12 |12 | 18 | 16 |16 | 21 | 15| 5 | 38 | 17| 5 | 50 BEUB 07N7L NPT1/2 | 15 | 645 | 66.5 22 9 20
BBUE 06M20 3/8 |M20X1.0(175(175] 28 | 20 |20 |29 | 18| 6 |48 | 24| 8 | 25
BBUE 07M22 12 |M22X10[215(215|31 | 22 |22 [ 34 | 20| 6 | 54| 27| 10| 20

=iy
\

—90 — —91 —



PBT FITTINGS

DMfir

Y [osl o N Vale Gonnectorfr Hexagon Y [@s 28 Male Connector for ciRcle

™

Metric Screw Type

(Unt:mm)

Tube O.D PT Thread Hex Orifice Dia.  Qt
Parts No. 5D B C H (gmm it
BMCH 0102 PT1/8 8 20 16 12 100
BMCH 0104 5/32 PT1/4 11 20 14 135 12 2 100
BMCH 0106 PT3/8 12 20 135 12 100
BMCH 0302 PT1/8 8 22 18 14 50
BMCH 0304 3/16 PT1/4 11 25 19 16.5 14 4 50
BMCH 0306 PT3/8 12 26 195 14 50
BMCH 0402 PT1/8 8 22 18 14 50
BMCH 0404 va PT1/4 11 25 19 165 14 4 50
BMCH 0406 PT3/8 12 26 195 14 50
BMCH 0407 PT1/2 15 29 21 17 50
BMCH 0502 PT1/8 8 27 23 17 50
BMCH 0504 516 PT1/4 11 25 19 17 17 6 50
BMCH 0506 PT3/8 12 26 195 17 50
BMCH 0507 PT1/2 15 29 21 22 50
BMCH 0602 PT1/8 8 295 | 255 17 25
BMCH 0604 a8 PT1/4 11 32 26 195 17 ; 25
BMCH 0606 PT3/8 12 27 205 19 25
BMCH 0607 PT1/2 15 30 22 22 25
BMCH 0702 PT1/8 8 33 29 22 20
BMCH 0704 2 PT1/4 11 36 30 - 22 8 20
BMCH 0706 PT3/8 12 37 305 22 20
BMCH 0707 PT1/2 15 33 25 22 20
Parts No. NETead C()”gﬁ%
BMCH 01U1 10-32UNF | 5 20 15 12 100
BMCH 01N2 532 NPT1/8 7 19 15 135 12 5 100
BMCH 01N4 NPT1/4 | 105 | 195 13. 14 100
BMCH 01N6 NPT3/8 | 105 | 185 17 17 100
BMCH 03U1 10-32UNF | 5 20 15 12 50
BMCH 03N2 316 NPT1/8 7 19 15 135 12 4 50
BMCH 03N4 NPT1/4 | 105 | 195 | 135 14 50
BMCH 03N6 NPT3/8 | 105 | 185 12 17 50
BMCH 04U1 10-32UNF | 5 225 | 175 14 50
BMCH 04N2 NPT1/8 7 21 17 14 50
BMCH 04N4 14 NPT1/4 | 105 | 245 | 185 | 165 14 4 50
BMCH 04N6 NPT3/8 | 105 | 145 18 17 50
BMCH 04N7 NPT1/2 14 28 17 22 50
BMCH 05N2 NPT1/8 7 26 22 17 50
BMCH 05N4 516 NPT1/4 | 105 | 245 | 185 17 17 6 50
BMCH 05N6 NPT3/8 | 105 | 245 18 17 50
BMCH 05N7 NPT1/2 14 28 20 22 50
BMCH 06N2 NPT1/8 7 285 | 255 17 25
BMCH 06N4 38 NPT1/4 | 105 | 215 | 255 | .. 17 ; 25
BMCH 06N6 NPT3/8 | 105 | 255 19 19 25
BMCH 06N7 NPT1/2 14 29 21 22 25
BMCH 07N2 NPT1/8 7 355 | 295 22 20
BMCH 07N4 o NPT1/4 | 105 | 355 | 295 03 22 8 20
BMCH 07N6 NPT3/8 | 105 | 355 29 22 20
BMCH 07N7 NPT1/2 14 32 24 22 20

e Due to Hexagon type hole, Easy scewing available by the Wrench eventhough in

no much space forthe Spanner

7C

(Unit:mm)
Tube O.D PT Thread Hex OrficeDia.  Qt
Parts No. D & c 5 () (%X)
BMCR 0402 PT1/8 8 24 20 12 4 4 50
BMCR 0404 1/4 PT1/4 11 24 18 14 | 155 4 4 50
BMCR 0406 PT3/8 12 24 25 17 4 4 50
BMCR 0504 516 PT1/4 11 28 22 14| e 6 6 50
BMCR 0506 PT3/8 12 27 21 17 6 6 50
BMCR 0604 PT1/4 11 34 28 17 6 6 25
BMCR 0606 1/2 PT3/8 12 34 29 22 | 195 8 8 25
BMCR 0607 PT1/2 15 34 21 22 8 8 25
Tube O.D NPT Thread ex  Orfice Dia.
oD R H (gmm)
BMCR 01U1 10-32UNF 5.5 21 16 10 25 | 25 | 100
BMCR 01N2 532 NPT1/8 8 21 17 10 | .5 | 25 | 25 | 100
BMCR 01N4 NPT1/4 11 24 17 10 25 | 25 | 100
BMCR 01N6 NPT3/8 12 25 18 10 25 | 25 | 100
BMCR 03U1 10-32UNF 5.5 23 18 12 25 | 25 | 50
BMCR 03N2 3/16 NPT1/8 8 24 20 12 | 155 50
BMCR 03N4 NPT1/4 11 24 18 14 4 4 50
BMCR 04U1 10-32UNF 5.5 23 18 12 25 | 25 | 50
BMCR 04N2 1/4 NPT1/8 8 24 20 12 | 155 4 4 50
BMCR 04N4 NPT1/4 11 24 18 14 4 4 50
BMCR 05N2 NPT1/8 8 27 25 14 6 6 50
BMCR 05N4 5/16 NPT1/4 11 28 22 14 | 165 6 6 50
BMCR 05N6 NPT3/8 12 27 21 17 6 6 50
BMCR 06N2 NPT1/8 8 31 27 17 6 6 25
BMCR 06N4 a8 NPT1/4 11 34 28 17 | s 6 6 25
BMCR 06N6 NPT3/8 12 29 22 17 6 6 25
BMCR 06N7 NPT1/2 15 29 21 22 6 6 25
BMCR 07N4 NPT1/4 11 36 30 21 6 6 20
BMCR 07N6 1/2 NPT3/8 12 33 27 21 21 8 8 20
BMCR 07N7 NPT1/2 15 34 26 21 8 8 20

e Dueto Hexagon

type hole, Easy screwing available by the Wrench eventhough in nomuch space fo- the Spanner

(Unit:mm)
Tube O.D
Parts No. 8D
BCT 01 5/32 11 8 42 | 25 4 108 | 7.3 35 11 100
BCT 04 1/4 13 10 6.2 4 41 | 119 | 7.9 4 13 100
BCT 05 5/16 15 12 8.2 6 54 | 125 8 45 16 100
BCT 06 3/8 18 15 10.2 8 54 | 146 | 96 5 19 100
BCT 07 1/2 22 18 122 | 10 54 | 161 | 111 5 23 100




PBT FITTINGS

DMfir

(Unit:mm) (Unit:mm)
i Tube O.D PT Thread Hex OrficeDia.  Qty g Tube O.D PT Thread Metric Thread Hex Hex 0ificelia Qty
o) Female Adapter Straight Parts No. 5D 1 A B C  gP 5 Gom ER) Female Bulkhead Straight Parts No.  ""Ep" T gl I WL H2 (g (BA)
BFAS 0102 PT1/8 24 24 14 100 BFBS 0102M12 PT1/8 8 24 100
_ BFASO0104 | 5/32 PT1/4 285 | 285 | 135 12 17 2 100 BFBS 0104M12 5/32 PT1/4 |M12X1.0| 4 | 11 | 285|135 | 6 | 14 | 14 | 25 | 100
BFAS 0106 PT3/8 305 | 305 22 100 ~BFBS 0106M1z | — 12 1305 100
_ BFASO0302 | 3/16 PTL/8 26 26 16.5 14 14 4 50 BFBS 0302M12 PT1/8 8 2é 50
BFAS 0304 PT1/4 31 31 : 17 50 LA sl VT M14X1.0| 4 65| 75 | 17 | 17 | 4
BFAS 0402 " % % 1 = BFBS 0304M12 PT1/4 11 | 31 50
BFAS 0404 1/4 PT1/4 31 31 | 165 | 14 17 4 50 __BFBS0402M14 | PT1/8 8 | 26 75 50
BFAS 0406 PT3/8 33.5 33.5 22 50 o BFBS 0404M14 1/4 PT1/4 | M14X1.0 4 11 31 16.5 17 17 4 50
§ BFAS 0502 PT1/8 27 27 17 50 2 BFBS 0406M14 PT3/8 12 | 335 9 50
i BFAS 0504 PT1/4 315 | 315 17 50 = BFBS 0502M16 PT1/8 8 | 27 50
a g] —_— 5/16 17 16 6 1 | A — T
- BFAS 0506 PT3/8 335 | 335 22 50 o {iH—— BFBS 0504M16 516 PTUA |\ ool 4 L1385 ol 0 |49 | 10 | 6 |50
o - BFAS 0507 PT1/2 375 | 375 24 50 o BFBS 0506M16 PT3/8 ’ 12 | 335 50
B ] __ BFAS0602 | PT1/8 34 34 19 19 25 ol £l lal BFBS 0507M16 PT1/2 15 | 375 25
% 38 Eg;g 22 22 20 ;g 7 zg BFBS 0604M20 PTL/4 11 | 3 25
— s otor | = I I 20 ot o BFBS 0606M20 3/8 PT3/8 |M20X1.0| 5 | 12 | 36 |195| 10 | 24 | 24 | 7 | 25
BFAS 0704 i = = 2 2 BFBS 0607M20 PT1/2 15 | 40 25
BFAS 0706 1/2 PT3/8 39 39 23 22 22 8 20 _ BFBS0704M22 | PT1/4 1 | 37 20
BFAS 0707 PT1/2 43 43 24 20 BFBS 0706M22 1/2 PT3/8 M22X1.0 6 12 39 23 115 24 24 8 20
Parts No NPT Thread Orifice Dia. BFBS 0707M22 PT1/2 15 43 20
' Rc (@mm) Parts No .D NPT Thread Metric Thread Orfice D
BFAS 01N2 NPT1/8 7 23 14 100 : Rc M (@mm)
BFAS 01N4 5132 NPT1/4 10.5 28 13.5 12 17 2 100 BFBS 01N2M12 NPT1/8 7 23 100
BFAS 01N6 NPT3/8 10.5 29 22 100 BFBS 01N4M12 5/32 | NPT1/4 |M12X1.0| 4 [105| 28 |[135| 6 | 14 | 14 | 25 | 100
% 316 EEEﬁ 155 3355 165 14 1;' 4 gg BFBS 01N6M12 NPT3/8 105 | 29 100
: : BFBS 03N2M12 NPTL/8 7 | 25 50
BFAS 04N2 NPTL/8 7 25 14 50 ——= Tt | 316 4 MiaxLo| 4 165 | 75 | 17 | 17 | 4
BFAS 04N4 1/4 NPTL/4 105 | 305 | 165 14 17 4 50 BFBS 03N4M12 NPT1/4 105 | 305 50
BFAS 04N6 NPT3/8 105 | 32 22 50 _ BFBS04N2M14 | NPT1/8 7% 75 50
BEAS 05N2 NPT1/8 7 26 17 50 BFBS 04N4M14 1/4 NPT1/4 | M14X1.0 4 10.5 | 30.5 | 16.5 17 17 4 50
BFAS 05N4 NPT1/4 105 31 - 16 17 . 50 BFBS 04N6M14 NPT3/8 105 | 31 9 50
BFAS 05N6 5/16 NPT3/8 105 | 32 22 50 BFBS 05N2M16 NPT1/8 7 | 26 50
" BFAsOsNT | NPT1/2 124 | 365 24 50 BFBS 05N4M16 e | NPTUA | ool 4 1053 | o] g | e 150
BFAS 06N2 NPT1/8 7 335 19 19 25 BFBS 05N6M16 NPT3/8 ' 105 | 32 50
i | [emmeles | Y e [E Cwsonus | [ e :
—arasoans ] NPT12 o - 20 ~ = BFBS 06N4M20 NPTL/4 5 | 105335 25
BFBS 06N6M20 3/8 | NPT3/8 | M20X1.0 105 | 345|195 | 10 | 24 | 24 | 7 | 25
BFAS 07N4 NPTL/4 105 | 365 22 20 T e— T YRR -
BFAS 07N6 12 NPT3/8 105 | 375 23 22 22 8 20
~BFASOINT | NPTL/2 i w2 2 2 BFBS 07N4M22 NPTL/4 o 105365 20
BFBS 07N6M22 12 | NPT3/8 | M22X1.0 105 | 375|115 | 10 | 24 | 24 | 8 | 20
BFBS 07N7M22 NPT1/2 14 | 42 20
(Unit:mm)
R A T .D
W@ Locking Clip Parts No. ~ T4°% 0 A B c T Qty (EA)
BLC 01 5/32 55 8.5 10.5 0.8 100
BLC 04 1/4 6.7 10.7 12 0.9 100
BLC 05 5/16 7.7 12.6 145 13 100
BLC 06 3/8 95 15.2 145 13 100
BLC 07 12 11 175 185 14 100

—94 — —95 —



e These products are extra small, one-touch type fittings used
for small size air pressure piping and other similar devices.

eEach product comes with diverse functions and dimensions so
that they are widely applicable to all piping situations.

e These mini fittings of one-touch type for air pressure piping
have only 40% volume compared to standard fittings, thus
successfully miniaturizing the fittings.

eSince these fittings are small and light, they have excellent
applicability in various pneumatic piping situations and
instructional devices.

eNickel surface plating presents excellent anti-corrosion
performance.

4 N\
Diagram

O—Ring

Lock

Lock —Cap

Sleewe

Tube

ORDER INFORMATION

] I:I_IEUB [04] ([o4]) [02

Tube O.D

gl
|

187, 5/82", 1/4

Part Name

* Acetal - A
* Polybutykne Terspthalate (PBT) : B

Tube O.D
Stem O.D

18", 5/32",1/4 —

U1 =10-32UNF, NT=NPT1/16",
N2 =NPT1/8",

Thread Type

IBER

Description

|_

Mini Type (Inch) : C

Specification
Fluid Air
Pressure 0~ 1.0Mpa (10kgt/cm?)

Vacuum —750m mHg(10T orr)

Hose Used Polyurethane, Nylon, Polyethylene

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

eEnsure that the tube and O-ring are fully assembled.

eUpon tube assembly, pull tube out to ensure that the assembly
has been done properly.

eln case the fluid used is water, please verify product
specification for water before using products.

DMfit*

(Unit:mm)
f Tube O.D Tube O.D Qty
/{@ " Union Connector Parts No. D1 woo | ®PL gP2 C1 c2 B =R
BUC 1/8-1/8C 1/8 1/8 6.5 6.5 10 10 20.5 100
BUC 5/32-1/8C 5/32 1/8 8.5 6.5 115 10 21 100
BUC 5/32-5/32C 5/32 5/32 8.5 8.5 115 11.5 235 100
BUC 1/4-1/4C 1/4 1/4 11 11 13.5 135 26.5 100
. E—._c:_:|
{(Unit:mm)
Elbow Union Parts No. 140D o p 1 2 B2 E2 B QU
D (EA)
BEU 1/8-1/8C 1/8 6.5 6.5 10 10 12 12 15.5 100
BEU 5/32-5/32C 5/32 8.5 8.5 11.5 11.5 14 14 18.5 100
m BEU 1/4-1/4C 1/4 10.5 10.5 13 13 17 17 225 100
B2
i E2
o |0 Cc2
SIS [
HR
gy i
6 ()
o
oot | ||
oP1
{(Unit:mm)
f Tube O.D Qty
1| Tee Union Parts No. D gP1 gP2 ClL C2 El E2 &)
BTU 1/8-1/8C 1/8 6.5 6.5 10 10 12 12 100
BTU 5/32-5/32C 5/32 8.5 8.5 11.5 11.5 14 14 100
BTU 1/4-1/4C 1/4 10.5 10.5 13 13 17 17 100
M T
e
SEEE

—
D
— —
oo
~
M
o |
>
—=/
—
—
—
]
—|
—
[
ED




MINI FITTINGS

DMfit®

(Unit:mm) (Unit:mm)
I Plug Parts No. Steg;g’-D c B 4P Qty (EA) m Elbow Union Branch Parts No. T”bq‘;‘[‘))-D PrThread o B L 4p c £ He (%%
BPL 1/8C 18 10 22 4 100 BEUB 1/8-M3C M3X0.5 3 125 | 125 6 100
'ZZLLSI’ZZCC 51’212 11155 ;Z ? 138 BEUB 1/8-M5C 18 M5X0.8 35 | 13 | 125 | 35 | 13 | 125 | 8 | 100
BEUB 1/8-M6C M6X1.0 45 | 14 | 125 8 | 100
BEUB 5/32-M3C M3X0.5 3 | 132 | 145 8 | 100
] BEUB 5/32-M M5XO0. 5 | 137 | 1a. 1
ol —HFHHHEH ¢ _ BEUBSRZMSC | o) oX0.8 35 | 13 > 35 | 137 | 145 |- ° 00
c ' BEUB 5/32-M6C M6X1.0 45 | 147 | 145 8 | 100
5 ,:‘: BEUB 5/32- 02C PT1/8 8 | 162 | 165 10 | 100
J el:I} TN _ BEUB 1/4-M5C | M5X0.8 35 | 145 | 165 8 | 100
e L] BEUB 1/4-M6C 14 M6X1.0 45 | 155 | 165 | 45 | 155 | 165 | 8 | 100
o BEUB 1/4-02C PTL8 8 | 17 | 185 10 | 100
=\
{ Hie Tube O.D NPT Thread
{_J Parts No. 5D R
=)
BEUB 1/8-U1C 10-32UNF | 35 | 12 | 125 6 | 100
Metric Screw - |
Tie BEUB 1/8-N1C 18 NPTL6 | 75 | 13 | 125 | 65 | 10 | 12 | 8 | 100
BEUB 1/8-N2C NPTL/8 8 | 14 | 125 8 | 100
BEUB 5/32-U1C 10-32UNF | 35 | 125 | 145 8 | 100
(Unt:mm) BEUB 5/32-N1C 5/32 NPTL16 | 7.5 | 145 | 145 | 85 | 115 | 14 | 8 | 100
CRosS Parts NoO. Tu b;é)-D c E Qty (EA) BEUB 5/32-N2C NPT1/8 8 | 162 | 165 10 | 100
— / BEUB 1/4-U1C 10-32UNF | 35 | 145 | 165 8 | 100
BCRS 1/8-1/8C 18 6.5 10 12 100 _—
BCRS /32,53 32 o s o 100 BEUB 1/4-N1C 14 NPTL16 | 7.5 | 155 | 165 | 105 | 13 | 17 | 8 | 100
BCRS 1/4-1/4C m 105 3 7 100 BEUB 1/4-N2C NPTL/8 8 | 17 | 185 10 | 100
:
C J
pRotl o
I | T
|1 . ‘77‘H HU_
. : (Unit:mm)
m - T D PTThr
S = 125 Ebow union Long Branch Parts No. ~ 'UP®0 e
BELB 1/8-M3C M3X0.5 3 | 125 | 125 6 | 100
BELB 1/8-M5C 18 M5X0.8 35 | 13 | 125 | 65 | 10 | 12 | 8 | 100
BELB 1/8-M6C M6X1.0 45 | 14 | 125 8 | 100
BELB 5/32-M3C M3X0.5 3 | 132 | 145 8 | 100
BELB 5/32-M5C M5X0.8 35 | 137 | 145 8 | 100
L DEE e L 32 85 | 115 | 14
BELB 5/32-M6C M6X1.0 45 | 147 | 145 8 | 100
BELB 5/32-02C PTL8 8 | 162 | 165 10 | 100
(Un i mm) BELB 1/4-M5C M5X0.8 35 | 145 | 165 8 | 100
TE U Tube Elbow Unian B TubeO.D StemOD g i e e £ Qy BELB 1/4-M6C 14 M6X1.0 45 | 155 | 165 [ 105 | 13 | 17 | 8 | 100
: ¢ D1 ¢ D2 (EA) BELB 1/4-02C PT1/8 8 17 | 185 10 | 100
BTEU 1/8-1/8C 1/8 18 198 | 132 | 9 10 | 10 12 | 100 Tube O.D NPT Thread Hex Qty
BTEU 5/32-5/32C 5/32 5/32 22 | 148 | 9 115 | 115 | 14 | 100 Parts No. ) R ALB L gk C O E R EA
“ BTEU 1/4-1/4C 1/4 /4 25 | 173 | 9 12 | 13 17 | 100 BELB 18.01C 10800NF 35 | 12 125 s | 100
BELB 1/8-N1C 18 NPTL16 | 7.5 | 14 | 125 | 65 | 10 | 12 | 8 | 100
Metric Screw _—
BELB 1/8-N2C NPTL/8 8 | 165 | 125 8 | 100
Fi‘l BELB 5/32-U1C 10-32UNF | 35 | 13 | 145 8 | 100
D BELB 5/32-N1C 5/32 NPTL16 | 7.5 | 145 | 145 | 85 | 115 | 14 | 8 | 100
g BELB 5/32-N2C NPTL/8 8 | 16 | 165 10 | 100
03 BELB 1/4-U1C 10-32UNF | 35 | 145 | 105 8 | 100
9 BELB 1/4-N1C 14 NPTL16 | 7.5 | 155 | 105 | 105 | 13 | 17 | 8 | 100
o2 BELB 1/4-N2C NPTL/8 8 | 17 | 105 10 | 100

—98 — —99 —



MINI FITTINGS

Male Tee swivel Branch

s

Metric Screw
Type

m Male Run swivel Branch

D

IHEE
ML e mmy
T T
IOy
[ 119
1
-
Y

Metric Screw
Type

(Unit:mm)

s Ve, Tubgé).D PT Tlgread A B L oP C E Hﬁx ((é%
BMTB 1/8-M3C M3x0.5 3 [122 ] 92 6 | 100
BMTB 1/8-M5C 1/8 M5x0.8 35 | 127 | 92 | 65 | 10 | 12 8 | 100
BMTB 1/8-M6C M6x1.0 45 | 137 | 9.2 8 | 100
BMTB 5/32-M3C M3x0.5 3 18 | 15 8 | 100
BMTB 5/32-M5C 530 M5x0.8 35 | 185 | 15 | oo || 1. 8 | 100
BMTB 5/32-M6C M6x1.0 45 | 195 | 15 10 | 100
BMTB 5/32-02C PT1/8 8 21 | 17 10 | 100
BMTB 1/4-M5C M5x0.8 35 | 15 | 115 100
BMTB 1/4-M6C 1/4 M6x1.0 45 | 16 | 115 | 105 | 13 | 17 100
BMTB 1/4-02C PT1/8 8 | 175 | 135 10 | 100

Parts No. Tubgé).D L Lhread A B L g¢P C = Hﬁx (%%
BMTB 1/8-U1C 10-32UNF | 35 | 125 | 95 6 | 100
BMTB 1/8-N1C 1/8 NPT1/16 75 | 145 | 95 | 65 | 10 | 12 8 | 100
BMTB 1/8-N2C NPT1/8 8 15 | 95 8 | 100
BMTB 5/32-U1C 10-32UNF | 35 | 185 | 15 8 | 100
BMTB 5/32-N1C 5/32 NPT1/16 75 | 205 | 15 | 85 | 115 | 14 | 10 | 100
BMTB 5/32-N2C NPT1/8 8 21 | 17 10 | 100
BMTB 1/4-U1C 10-32UNF | 35 | 15 | 115 100
BMTB 1/4-N1C 1/4 NPT1/16 75 | 17 | 115 | 105 | 13 | 17 100
BMTB 1/4-N2C NPT1/8 8 | 175 | 135 10 | 100

(Unit:mm)

Parts No. Tubqtjaé).D PT Tgread A B L 6P C E Hﬁx ((é%
BMRB 1/8-M3C M3X0.5 3 |122 | 92 6 | 100
BMRB 1/8-M5C 1/8 M5X0.8 35 |127 | 92 | 65 | 10 | 12 | 8 | 100
BMRB 1/8-M6C M6X1.0 45 | 137 | 6.2 8 | 100
BMRB 5/32-M3C M3X0.5 3 18 | 15 8 | 100
BMRB 5/32-M5C 530 M5X0.8 35 |185 | 15 | o |, .| 1, |8 |100
BMRB 5/32-M6C M6X1.0 45 195 | 15 8 | 100
BMRB 5/32-02C PT1/8 8 21 | 17 10 | 100
BMRB 1/4-M5C M5X0.8 35 | 15 | 115 10 | 100
BMRB 1/4-M6C 1/4 M6X1.0 45 | 16 | 115 | 105 | 13 | 17 | 8 | 100
BMRB 1/4-02C PT1/8 8 | 175 | 135 10 | 100

Parts No. TubgDO.D L Lhread A B L g¢P C E Hﬁx (%,_3\’)
BMRB 1/8-U1C 10-32UNF | 35 | 125 | 95 6 | 100
BMRB 1/8-N1C 1/8 NPT1/16 75 | 145 | 95 | 65 | 10 | 12 8 | 100
BMRB 1/8-N2C NPT1/8 8 15 | 95 8 | 100
BMRB 5/32-U1C 10-32UNF | 35 | 185 | 15 8 | 100
BMRB 5/32-N1C 5/32 NPT1/16 75 | 205 | 15 | 85 | 115 | 14 | 10 | 100
BMRB 5/32-N2C NPT1/8 8 21 | 17 10 | 100
BMRB 1/4-U1C 10-32UNF | 35 | 15 | 115 100
BMRB 1/4-N1C 1/4 NPT1/16 75 | 17 | 115 | 105 | 13 | 17 100
BMRB 1/4-N2C NPT1/8 8 | 175 | 135 10 | 100

— 100 —

m ReDucer

|

[

L

DMfit®

===

=

=8|

— 801

=
[
o
[1e]

(Unit:mm)
Tube O.D Stem O.D Qty
Parts No. #D1 #D2 B P2 9Pl C1 C2 )
BRD 1/8-5/32C 1/8 5/32 29 175 6.5 10 115 100
BRD 5/32-1/4C 5/32 1/4 325 19.5 8.5 115 13 100
(Unit:mm)

Parts No.

m

iy

Hgn

Parts No.

BBKU 1/8-M8C

oD
1/8

Tube O.D Metric Thread

BTD 1/8-1/8C 1/8 1/8 26 6.5 6.5 6.5 3.2 7.5 6.5 100

BTD 5/32-1/8C 5/32 1/8 24.5 8.5 7 6.5 3.2 7.5 6.5 100

BTD 5/32-5/32C 5/32 25.5 8.5 7 7 3.2 8 8.5 100

BTD 1/4-5/32C 1a 5/32 275 | 10.5 8 7 3.2 8 8.5 100

BTD 1/4-1/4C 1/4 29 10.5 8 8 3.2 8.5 11 100
(Unit:mm)

10 100

— 101 —




MINI FITTINGS

SPEED CONTROL VALUES

(Unit:mm)
Tube O.D NPT Thread Hex t
1Y, (@ 5 Mele Comnetorfor Heragon Parts No. o = A B | L | c | TIE
BMCH 1/8-M3 M3X0.5 3 13.6 10.5 6 100
BMCH 1/8-M5C 1/8 M5X0.8 3.5 155 10.5 10 8 100
BMCH 1/8-M6C M6X1.0 4.5 16.5 10.5 8 100
BMCH 5/32-M3C M3X0.5 3 15 12 8 100
BMCH 5/32-M5C 5/32 M5X0.8 3.5 155 12 115 8 100
BMCH 5/32-M6C M6X1.0 4.5 16.5 12 8 100
c BMCH 5/32-02C NPT1/8 8 15 11 10 100
v BMCH 1/4-M5C M5X0.8 3.5 175 14 10 100
=+ Lﬁ BMCH 1/4-M6C 1/4 M6X1.0 45 185 14 13 10 100
. BMCH 1/4-02C NPT1/8 8 18 14 10 100
A

B Metric Screw Type

VL@ 2 Male Connector for ciRcle

eDueto Hexagon type holke, Easy screwing available by the Wrench eventhough in no much space for the Spanner

Lﬂ BMCR 5/32-02C

-] o)

L Parts No.

(Unit:mm)
Tube O.D  PT Thread Hex t
Parts No. 4D g A B L g¢p C g (%K)

BMCR 1/8-M3C M3x0.5 3 13.6 | 105 6 15 100
BMCR 1/8-M5C 1/8 M5x0.8 35 155 | 105 8 10 2 100
BMCR 1/8-M6C M6x1.0 45 16,5 | 105 8 2 100
BMCR 5/32-M3C M3x0.5 3 15 12 8 15 100
BMCR 5/32-M5C 530 M5x0.8 35 155 12 8 115 2 100
BMCR 5/32-M6C M6x1.0 45 16.5 12 8 2 100
PT1/8 8 15 11 10 2 100

BMCR 1/4-M5C M5x0.8 35 175 14 10 2 100
BMCR 1/4-M6C 1/4 M6x1.0 45 18.5 14 10 13 2 100
BMCR 1/4-02C PT1/8 8 18 14 10 4 100

Tube O.D NPT Thread Hex t
oD = A B L g4p c He (% s

BMCH 1/8-U1C 10-32UNF 35 15.5 1.5 100
BMCH 1/8-N1C 1/8 NPT1/16 75 155 | 10.5 8 10 2 100
BMCH 1/8-N2C NPT1/8 8 16 2 100
BMCH 5/32-U1C 10-32UNF 35 15.5 1.5 100
BMCH 5/32-N1C 5/32 NPT1/16 75 14.5 12 8 115 2 100
BMCH 5/32-N2C NPT1/8 8 15 2 100
BMCH 1/4-U1C 10-32UNF 35 17.5 2 100
BMCH 1/4-N1C 1/4 NPT1/16 75 17.5 14 10 13 2 100
BMCH 1/4-N2C NPT1/8 8 18 4 100

eDueto Hexagon type holke, Easy screwing available by the Wrench eventhough in no much space for the Spanner

m Female Adapter Straight

== BFAS 1/8-N1C

#F
2R

(Unit:mm)

Tube O.D PT Thread Hex Qty

Parts No. 4D R A B P C H (EA)
BFAS 1/8-M3C s M3X0.5 3.5 15.5 8 10 8 100
BFAS 1/8-M5C M5X0.8 5 16.5 100
BFAS 5/32-M3C M3X0.5 35 15.5 100
BFAS 5/32-M5C 5/82 M5X0.8 5 17.5 8 115 8 100
Tube O.D NPT Thread Hex Qty

Parts No. 4D R A B P C H (EA)
BFAS 1/8-U1C 10-32UNF 5 16.5 100
18 NPT1/16 8.5 18 8 10 8 100

BFAS 5/32-U1C 53 10-32UNF 5 17.5 8 115 8 100
BFAS 5/32-N1C NPT1/16 8.5 19 : 100

—102 —

e These valves are used for flow control of air pressure driving devices.

e These valves can be useful for control and operation of cylinders and
other devices in a confined space.

o Flow control is possible from low volume to large volume.

e Valve configuration and dimensions are uniform for different valve
openings so that they facilitate applications in diverse circumstances.

e Same flow rate can be achieved regardless of valve size.
o Control modes (Meter In or Out) are indicated as A or B on needle area.

Specification

Fluid Air
Pressure 0~ 1.0Mpa (10kgf/cm?)
Vacuum —750mmHg (10Torr)
Hose Used Polyurethane, Nylon, Polyethyle ne
e )
Diagram (Type A)
Needle
Lock Nut
Brass Body
Holder
V—Packing
Thread
Shaft Hole
O—Ring
Back up—Ring
\_ J

# Type B: Holder and V-Packing are assembled in opposite way
of Type A.

ORDER INFORMATION

|:E,a_| [CUE] [06] ([04]) [06] - ([BKI])
I L L
Tube O.D

e Acelal 1 A

Material

e Polybutylene Terepthaate (PBT) : B
NIUIOIHONPR  (1=5/32",03=3/16" 04=1/4", 05=5(16",
SICINNONDE  (6=3/8", 07 =1/2"

(P=PTYE, 04=PTIA" 06=PT38" 07=PT12"
Ul=10-2UNF
N2=NPTH", =P TIA", NG=NPTYE , NT=NPTY/2"

01=b32, (6=316', O4=1/4, 06=bA 6, (B=38", O7=1 72

01=5/32",03=3/16", 04=1/4", 05=5/16",
06=3/8", 07=1/2"

Thread Type

Stem O.D

Body Color B Fr ez

Flow controller Labeling

1)Meter-Out Control

Air inflow through screw section is controlled
but the air that enters through the fitting is
Fow not controlled and allowed to flow through

the screw section.
A

% A Marked as 'A'in needle area.
Color of Lock Nut : Silver

=

2)Meter-In Control

Air that enters through Fitting is controlled
but the air that enters through the screw is
not controlled and allowed to flow through

rree Fow

the fitting. 5

% B: Marked as ‘A" in needle area.
Y Color of Lock Nut : Gold
Controlled

Flow

-

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

elf needle is used in rough manner, it can be separated from the
main body.

eThese valves may have minute amounts of air leak. Do not use
these products where required air leak is zero.

e Verify product features and circuit diagram and ensure that air
control direction has been set right before using product.

eWhen controlling speed of a driving device, slowly open the
valve from needle fully closed condition and apply control.

eDo not forcibly drive or rotate the product where the main body
itself rotates.

— 103 —

[E—
=]
=
=
=l
-
-
F—]
==
(]
-
—
| -]
[ —J
[ ]
==}
—
—
==
—]
—
=
=
—
[— 3



SPEED CONTROL VALVES

DMfit*

(Unit:mm) (Unit:mm)
(o [N ContolUnverseElow ATpe Parts No.  TuPe D PTThread 5 g E c gP1gP2 5 @Y CUE-B Rl =
BCUE 01M5A M5X0.8 3.5 | 285 25 17 11.5 8 50 BCUE 01M5B M5x0.8 35 | 285 | 25 17 11.5 8 50 §
BCUE 0102A 5/32 PT1/8 8 34 30 19 14 10 14 10 50 BCUE 0102B 5/32 PT1/8 8 34 30 19 14 10 14 10 50 z’
BCUE 0104A PT1/4 12 41 35 20 175 | 14 50 BCUE 0104B PT1/4 12 41 35 20 175 | 14 50 g
BCUE 04M5A M5X0.8 3.5 | 285 25 18 11.5 8 50 BCUE 04M5B M5x0.8 3.5 | 285 25 18 115 8 50 %
BCUE 0402A a4 PT1/8 8 34 30 20 16 12 14 10 50 BCUE 0402B a4 PT1/8 8 34 30 20 16 12 14 10 50 g
- BCUE 0404A PT1/4 12 41 35 21 175 | 14 50 - - BCUE 0404B PT1/4 12 41 35 21 175 | 14 50 =
é%%;( BCUE 0406A PT3/8 12 44 375 | 23 21 17 50 i [:il‘:!! BCUE 0406B PT3/8 12 44 375 | 23 21 17 50
I }‘,—m o BCUE 0502A PT1/8 8 34 30 23 14 10 25 ) L o BCUE 0502B PT1/8 8 34 30 23 14 10 25
1 mnf—ﬂ BCUE 0504A 5/16 PT1/4 12 41 35 25 17 14 175 | 14 25 1 BCUE 0504B 5/16 PT1/4 12 41 35 25 17 14 175 | 14 25
} ) TN BCUE 0506A PT3/8 12 | 44 | 375/ 26 21 | 17 | 25 \ B E BCUE 05068 PT3/8 12 | 44 | 375 26 21 | 17 | 25
Me"_ir?::’e‘” BCUE 0507A PT1/2 15 50 415 | 29 26 22 25 Me"_ir‘;sg’ew BCUE 0507B PT1/2 15 50 415 | 29 26 22 25
BCUE 0604A PT1/4 12 41 35 28 175 | 14 20 BCUE 0604B PT1/4 12 41 35 28 175 | 14 20
BCUE 0606A 3/8 PT3/8 12 44 375 | 29 20 | 175 21 17 20 BCUE 0606B 3/8 PT3/8 12 44 375 | 29 20 | 175 21 17 20
BCUE 0607A PT1/2 15 50 |415]| 32 26 22 20 BCUE 0607B PT1/2 15 50 | 415 | 32 26 22 20
BCUE 0706A 2 PT3/8 12 44 375 | 31 24 | 915 21 17 20 BCUE 0706B 112 PT3/8 12 44 375 | 31 24 | 215 21 17 20
BCUE 0707A PT1/2 15 50 415 | 34 26 22 20 BCUE 0707B PT1/2 15 50 415 | 34 26 22 20
Parts No. TubgDO | Lhread A B L E C gPLgP2 X (%% Parts No. T”bglg) = NPTLhread A B L E C gP1gp2 ¥ (%%
BCUE 01U1A 10-32UNF 3.5 | 285 25 17 115 8 50 BCUE 01U1B 10-32UNF 35 | 285 | 25 17 11.5 8 50
BCUE 01N2A 5/32 NPT1/8 3.5 | 385 30 19 14 10 14 10 50 BCUE 01N2B 5/32 NPT1/8 35 [385 | 30 19 14 10 14 10 50
BCUE 01N4A NPT1/4 7 46 35 20 175 | 14 50 BCUE 01N4B NPT1/4 7 46 35 20 175 | 14 50
BCUE 03U1A 10-32UNF 3.5 | 285 25 18 11.5 8 50 BCUE 03U1B 10-32UNF 35 [ 285 | 25 18 11.5 8 50
BCUE 03N2A 3116 NPT1/8 35 | 375 | 30 20 16 12 14 10 50 BCUE 03N2B 316 NPT1/8 35 | 375 | 30 20 16 12 14 10 50
BCUE 03N4A NPT1/4 7 46 35 2 175 | 14 50 BCUE 03N4B NPT1/4 7 46 35 2 175 | 14 50
BCUE 03N6A NPT3/8 10 46 | 375 | 23 21 17 50 BCUE 03N6B NPT3/8 10 46 375 | 23 21 17 50
BCUE 04U1A 10-32UNF 3.5 | 285 25 18 11.5 8 50 BCUE 04U1B 10-32UNF 35 [ 285 | 25 18 11.5 8 50
BCUE 04N2A Im NPT1/8 7 375 30 20 16 12 14 10 50 BCUE 04N2B 14 NPT1/8 7 375 | 30 20 16 12 14 10 50
BCUE 04N4A NPT1/4 10 46 35 2 175 | 14 50 BCUE 04N4B NPT1/4 10 46 35 2 175 | 14 50
BCUE 04N6A NPT3/8 125| 46 | 375 | 23 21 17 50 BCUE 04N6B NPT3/8 12.5| 46 375 | 23 21 17 50
BCUE 05N2A NPT1/8 7 35 30 23 14 10 25 BCUE 05N2B NPT1/8 7 35 30 23 14 10 25
BCUE 05N4A 5/16 NPT1/4 10 43 35 25 17 14 175 | 14 25 BCUE 05N4B 516 NPT1/4 10 43 35 25 17 14 175 | 14 25
BCUE 05N6A NPT3/8 125|435 | 375 | 26 21 17 25 BCUE 05N6B NPT3/8 125|435 | 375 | 26 21 17 25
BCUE 05N7A NPT1/2 155|495 | 415 | 29 26 24 25 BCUE 05N7B NPT1/2 155|495 | 415 | 29 26 24 25
BCUE 06N4A NPT1/4 10 43 35 28 175 | 14 20 BCUE 06N4B NPT1/4 10 43 35 28 175 | 14 20
BCUE 06N6A 3/8 NPT3/8 125|435 | 375 | 29 20 | 175 21 17 20 BCUE 06N6B 3/8 NPT3/8 125|435 | 375 | 29 20 | 175 21 17 20
BCUE 06N7A NPT1/2 155|495 | 415 | 32 26 24 20 BCUE 06N7B NPT1/2 155|495 | 415 | 32 26 24 20
BCUE 07N6A 112 NPT3/8 125|435 | 375 | 31 24 | 215 21 17 20 BCUE 07N6B 112 NPT3/8 125|435 | 375 | 31 24 | 215 21 17 20
BCUE 07N7A NPT1/2 155|495 | 415 | 34 26 24 20 BCUE 07N7B NPT1/2 155|495 | 415 | 34 26 24 20

« Use a silver plated Lock Nut with 'A’ inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?) o Use assilver plated Lock Nut with 'B' inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)

—104 — —105 —



SPEED CONTROL VALVES

0 21\ Control Eoow Straight A Type

Metric Screw
Type

(Unit:mm)
Tube O.D PT Thread Hex %t
Parts No. 4D R A B L1 L2 C ¢PLgP2 E || ( g’)
BCES 01M5A M5x0. . 28. 2 27 11. 11
CES 01M5 5/32 5x0.8 3.5 8.5| 25 14 10 5 8 50
BCES 0102A PT1/8 8 34 | 30 32 14 14 10 | 50
BCES 04M5A M5x0.8 35 | 285| 25 28 11.5| 12 8 50
BCES 0402A 1/4 PT1/8 8 34 | 30 | 33 | 16 12 | 14 | 13 | 10 | 50
BCES 0404A PT1/4 12 41 | 35 34 18 16 14 | 50
BCES 0502A PT1/8 8 34 | 30 | 34 14 | 15 | 10 | 25
BCES 0504A 5/16 PT1/4 12 41 | 35 35 17 14 | 18 17 14 25
BCES 0506A PT3/8 12 44 | 375| 38 21 20 17 25
BCE 4A PT1/4 12 41 1 17 14 2
CES 060 a8 / 35 | 38 20 | 17.6 8 0
BCES 0606A PT3/8 12 44 | 375 41 21 19 17 20
BCES 0706A PT 12 44 7. 4. 21 21 17 2
CES 0706 12 3/8 37.5| 43 o4 | 215 0
BCES 0707A PT1/2 15 50 | 415 44 26 25 22 20
Parts No. N Ewead
BCES 01U1A 10-32UNF . 28. 2 27 11. 11
CES 01U 5/32 0-32U 3.5 8.5| 25 14 10 5 8 50
BCES 01N2A NPT1/8 8 34 | 30 32 14 14 10 | 50
BCES 04U1A 10-32UNF 35 | 285| 25 28 11.5| 12 8 50
BCES 04N2A 1/4 NPT1/8 8 34 | 30 33 16 12 14 13 10 | 50
BCES 04N4A NPT1/4 11 42 35 34 18 16 14 | 50
BCES 05N2A NPT1/8 8 34 | 30 34 14 15 10 25
BCES 05N4A 5/16 NPT1/4 11 42 35 35 17 14 | 18 17 14 25
BCES 05N6A NPT3/8 13 45 | 37.5| 38 21 20 17 25
BCE N4A NPT1/4 11 42 1 17 14 2
CES 06 a8 / 35 | 38 20 | 17.6 8 0
BCES 06N6A NPT3/8 13 45 | 375 41 21 19 17 20
BCES 07N6A NPT 1 4! 7. 4. 21 21 17 2
CES 07N6 12 3/8 3 5 |375]| 43 oa | 215 0
BCES 07N7A NPT1/2 15 50 | 415 44 26 25 22 20
e Use a silver plated Lock Nut with 'A" inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)
(Uni:mm)

Control Union Straight Parts No. T”bgg'D BL B2 ¢P L C FL F2 g¢d 3 @Y
50

BCUS 0101 5/32 40 13 10 23 14 4.5 12 3.2 14

BCUS 0404 1/4 48 17.5 12 | 30.5 16 75 | 155 3.2 20 50
BCUS 0505 5/16 52 17.5 14 | 315 17 7.5 15 4.3 21 25
BCUS 0606 3/8 61 215 | 175 | 34 2 9 15 4.3 26 20
BCUS 0707 12 64 23 215 | 355 22 95 | 145 4.3 26 20

&

— 106 —

0 210 ControlElbow Straight B Type

Metric Screw
Type

DMfit*

(Unit:mm)
Tube O.D PT Thread Hex %t

Parts No. 5D R A B L1 L2 C gPLgP2 E "\ ¢ /g’)
BCE 1M5B M . . 28. 2 27 11. 11

CES 01M5 5/32 5x0.8 35 8.5 5 14 10 5 8 50
BCES 0102B PT1/8 8 34 30 32 14 14 10 50
BCES 04M5B M5x0.8 3.5 | 285| 25 28 11.5| 12 8 50
BCES 0402B 1/4 PT1/8 8 34 30 33 16 12 14 13 1 50
BCES 0404B PT1/4 12 41 35 34 18 16 14 50
BCES 0502B PT1/8 8 34 30 34 14 15 10 25
BCES 0504B 5/16 PT1/4 12 41 35 35 17 14 18 17 14 25
BCES 0506B PT3/8 12 44 | 37.5| 38 21 20 17 25
BCE 4B PT1/4 12 41 1 17 14 2

CES 060 38 / 35 38 20 176 8 0
BCES 0606B PT3/8 12 44 | 37.5| 41 21 19 17 20
BCES 0706B PT 12 44 7. 4 21 21 17 2

CES 0706 12 3/8 375 3 24 | 215 0
BCES 0707B PT1/2 15 50 | 41.5| 44 26 25 22 20
Parts No. IEY Ewead
BCES 01U1B 5/32 10-32UNF 3.5 | 285| 25 27 14 10 115 11 8 50
BCES 01N2B NPT1/8 8 34 30 32 14 14 10 50
BCES 04U1B 10-32UNF 3.5 | 285| 25 28 11.5| 12 8 50
BCES 04N2B 1/4 NPT1/8 8 34 30 33 16 12 14 13 10 50
BCES 04N4B NPT1/4 11 42 35 34 18 16 14 50
BCES 05N2B NPT1/8 8 34 30 34 14 15 10 25
BCES 05N4B 5/16 NPT1/4 11 42 35 35 17 14 18 17 14 25
BCES 05N6B NPT 3/8 13 45 | 37.5| 38 21 20 17 25
BCES 06N4B 38 NPT1/4 11 42 35 38 20 176 18 17 14 20
BCES 06N6B NPT3/8 13 45 | 37.5| 41 21 19 17 20
BCES 07N6B 112 NPT3/8 13 45 | 37.5| 43 24 | 215 21 21 17 20
BCES 07N7B NPT1/2 15 50 | 415]| 44 26 25 22 20

o Use a gold plated Lock Nut with 'B' inscribed on top of Handle. (Check valve automatic pressure: 0.5kgf/Cm?)

— 107 —

—
=]
=
=
=l
-
-
F—]
==
(]
-
—
| -]
[ —J
[ ]
==}
—
—
==
—]
—
=
[— 3



THROTTLE VALVES

DMfit*

ORDER INFORMATION

|__||3_| [TUE]| [06] ([o4]) [06] - ([BKI])
L =

(Unit:mm)
83};2;;2 03’:?2/16 ,04=1/4", 05=5/18", TU E Throttle Universal Elbow Parts No. TubgDO.D PT Tlgread A B L E C ¢Pl ¢P2 Hﬁx ((é% E’
BTUE 01M5 M5X0.8 35 |285 | 25 | 17 15| 8 | 50 =
Part Name BTUE 0102 5/32 PT1/8 8 34 |30 (19 | 14 | 10 | 14 | 10 | 50 —
BTUE 0104 PT1/4 12 |41 |3 |20 175 | 14 | 50 =
o /fcetal 1A BTUE 04M5 M5X0.8 35 |285 | 25 | 18 115 8 | 50 %
® Polybuty lene Terepthalate PBT) : B BTUE 0402 14 PT1/8 8 34 30 | 20 16 1 14 | 10 50 E
2 BTUE 0404 PT1/4 12 |41 |3 |21 175 | 14 | 50 .
01=5/32", 03=3/16", D4=1/4", 05=5/16", | | BTUE 0406 PT3/8 12 | 44 [375] 23 21 | 17 | 50 E
05=3/8" 07=1/2" BTUE 0502 PT1/8 8 |34 [30 |23 14 | 10 | 25 [~
- - - - T BTUE 0504 516 PT1/4 12 |41 [ 35 |25 | |, [175]14 |25
(@=PTIR", 04=PTIA", (5=PTYE’, O7=PT12 ! BTUE 0506 PT3/8 12 | 44 [375] 26 21 | 17 | 25
Thread Type WIEIZHTS T BTUE 0507 PT1/2 15 | 50 |415 | 29 2% |22 | 25
NO=NPTI/E, NANPTLA N6=NPTSB" NT=NPTHZ . [ = BTUE 0604 PTL/4 12 |41 | 35 |28 175 | 14 | 20
SHEEORRE (=5 033116, (=14, 055516, 06=38", (7=1/" : BTUE 0606 3/8 PT3/8 12 | 44 [375 |29 | 20 (175 | 21 | 17 | 20
— \ '75 | ] BTUE 0607 PT1/2 15 | 50 |415 | 32 26 | 22 | 20
eBlack :BK |— vt S = BTUE 0706 " PT3/8 12 |44 [375|31 |, [, |2 [17 |20
e These valves are used for flow control of air pressure driving il e e Rl e
devices. Parts No. Tubgé) ADJ L Ewead A B L E C gP1 ¢P2 Hﬁx (%%
eThese valves can be useful for control and operation of Specificat ion BTUE 01U1 10-32UNF | 35 |285 | 25 | 17 115 | 8 50
cylinders and other devices in a confined space. BTUE 01N2 5/32 NPT1/8 35 (385 |30 |19 | 14 |10 | 14 | 10 | 50
BTUE 01N4 NPT1/4 7 |46 [ 35 | 20 175 | 14 | 50
Fluid Air BTUE 03U1 10-32UNF | 35 |285 | 25 | 18 115 | 8 50
BTUE 03N2 NPT1/8 35 |375 | 30 | 20 14 | 10 | 50
Pressure 0 ~ 1.0Mpa (10kgf/cm”) BTUE 03N4 316 NPT1/4 7 T2 [ 2 | 2| s 1 =
e Flow control is possible from low volume to large volume. BTUE 03N6 NPT3/8 10 | 46 [375 | 23 21 | 17 | 50
eValve configuration and dimensions are uniform for different Vacuum =78m mixg (1 UTer) 2135 g:;’; 1‘$i’g': 3%5 zjz 22 23 111‘-15 180 ig
\C/ia:::\ijemzi)aennclzgs so that they facilitate applications in diverse Hose Used Polyurethane, Nylon, Polysthylene e oin 14 e TR 16 | 12 T
. . BTUE 04N6 NPT3/8 |125 | 46 |37.5 | 23 21 | 17 | 50
e Same flow rate can be achieved regardless of valve size.
BTUE 05N2 NPT1/8 7 |35 [ 3 |23 14 | 10 | 25
BTUE 05N4 NPT1/4 10 | 43 | 35 | 25 175 ] 14 | 25
_— 5/16 17 | 14
- ~ Throttle Valve Label \7// BTUE 05N6 NPT3/8 |125 435 |375 | 26 21 | 17 | 25
BTUE 05N7 NPT12 |155 [49.5 [ 415 | 29 26 | 24 | 25
j\ BTUE 06N4 NPTL/4 | 10 | 43 | 35 | 28 175 | 14 | 20
BTUE 06N6 3/8 NPT3/8 |125 |435 [375| 29 | 20 [175 | 21 | 17 | 20
BTUE 06N7 NPT1/2 |155 |49.5 [415 | 32 26 | 24 | 20
BTUE 07N6 NPT3/8 |125 |435 [375 | 31 21 |17 | 20
Body ezl - 12 24 |215
A Safety Instruction BTUE 07N7 NPT1/2 |155 |49.5 |415 | 34 26 | 24 | 20
Lock
Look_Can Lock Nut ePlease read the _safety instruction (page 5) of the Product
Catalog before using products.
Skeeve e Eetly olf needle is used in rough manner, it can be separated from the Wnit:mm)
main body. ' ' Tube O.D t
T eThese valves may have minute amounts of air leak. Do not use TU s Thiottle Union Stralght FESNO oD B I - RO RER Bodi (%&I)
these products where required air leak is zero. BTUS 0101 5/32 40 13 10 | 23 | 14 45 | 12 32 | 14 50
BTUS 0404 1/4 48 | 175| 12 | 305 | 16 75 | 155 | 32 | 20 50
BTUS 0505 5/16 52 | 175| 14 | 315 | 17 75 | 15 43 | 21 25
Thread BTUS 0606 3/8 61 | 215| 175 | 34 | 20 9 15 43 | 26 20
BTUS 0707 12 64 23 | 215 | 355 | 22 95 | 145 | 43 | 26 20
Shaft Hole e Verify product features and circuit diagram and ensure that air
control direction has been set right before using product.
©7Ang eWhen controlling speed of a driving device, slowly open the o s &
Backup—Ring valve from needle fully closed condition and apply control. R e A
eDo not forcibly drive or rotate the product where the main body ‘ _H H L( H! \©/
& J itself rotates. ~

— 108 — — 109 —



THROTTLE VALVES

TES

SPEED CONTROL VALVES

Metric Screw
Type

Al
e

B

(Unit:mm)
Parts No. %
BTES 01M5 532 M5x0.8 285| 25 | 27 | | 0 |1L5 8 | 50
BTES 0102 PT1/8 34 | 30 | 32 14 10 | 50
BTES 04M5 M5x0.8 285 | 25 | 28 115 8 | 50
BTES 0402 1/4 PT1/8 34 [ 30 | 33|16 | 12 | 14 10 | 50
BTES 0404 PT1/4 41 | 35 | 34 18 14 | 50
BTES 0502 PT1/8 34 | 30 | 34 14 10 | 25
BTES 0504 5/16 PT1/4 41 | 35 | 35 | 17 | 14 | 18 14 | 25
BTES 0506 PT3/8 44 [375| 38 21 17 | 25
BTES 0604 8 PT1/4 4113538 | 0|, 18 14 | 20
BTES 0606 PT3/8 44 [375| 41 21 17 | 20
BTES 0706 o PT3/8 44 [375) 43 |, |, | 2 17 | 20
BTES 0707 PT1/2 50 |41.5| 44 26 22 | 20
NPT Thread
Parts No. R
BTES 01U1 10-32UNF 285 | 25 27 115 8 50
5/32 14 | 10
BTES 01N2 NPT1/8 34 30 32 14 10 50
BTES 04U1 10-32UNF 285 | 25 28 115 8 50
BTES 04N2 1/4 NPT1/8 34 30 33 16 12 14 10 50
BTES 04N4 NPT1/4 42 35 34 18 14 50
BTES 05N2 NPT1/8 34 30 34 14 10 25
BTES 05N4 5/16 NPT1/4 42 35 35 17 14 18 14 25
BTES 05N6 NPT3/8 45 | 375 | 38 21 17 25
BTES 06N4 NPT1/4 42 35 38 18 14 20
3/8 20 |17.6
BTES 06N6 NPT3/8 45 | 375 41 21 17 20
BTES 07N6 NPT3/8 45 | 375| 43 21 17 20
1/2 24 | 215
BTES 07N7 NPT1/2 50 |415| 44 26 22 20
— 110 —

BCUE 04M5
BCUE 06M5

BCES 04M5
BCES 06M5

BCUE 0402M
BCUE 0602M
BCUE 0802M

BCES 0402M
BCES 0602M
BCES 0802M

BCUE 0404M
BCUE 0604M
BCUE 0804M
BCUE 1004M

BCES 0404M
BCES 0604M
BCES 0804M
BCES 1004M

BCUE 0606M
BCUE 0806M
BCUE 1006M
BCUE 1206M

BCES 0606M
BCES 0806M
BCES 1006M
BCES 1206M

BCUE 0807M
BCUE 1007M
BCUE 1207M

BCES 0807M
BCES 1007M
BCES 1207M

Hol=

FLOW RATE(N£/min) FLOW RATE(N2/min) FLOW RATE(N£/min)

FLOW RATE(N£/min)

FLOW RATE(N£/min)

4 o N
[} (0.} o
S o

s 3 8

100

80

60

40

20

250

200

150

100

50

500

400

300

200

100

1800

N
5]
1]

1000

600

200

2500

500

Needle Return

—111 —

©o

- o N

1
|
1 P
]
L~ ; e
/ ///
——
1 2 3 4 5 6
Needle Return
1
L1
s
]
L~ ;
— A 7~ —1 |
iz /:"'——
1 2 3 4 5 7 8
Needle Return
1]
/'4 ot
- 1 _+—
//l/
I
// ]
et
1 2 3 4 5 6 7 8 9 10 11 12
Needle Return
o1
=1
//,
// —
/{// —
"
1 4 6 8 10 12 14
Needle Return
=
4/ 4/
/ ~
'/'//
—
//ﬁ//
1 T
1 4 6 8 10 12 14

PRESSURE (kgf/ cr) PRESSURE(kgf/ cr) PRESSURE(kgf/ cr)

PRESSURE (kgf/ cr)

PRESSURE (kgf/ cr)

FLOW RATE(N£/min) FLOW RATE(N2/min) FLOW RATE(N£/min)

FLOW RATE(NZ/min)

FLOW RATE(NZ/min)

_._.
o o

o B & 8 &

o o o o

- o N
o u

s o 8
o o o

100

80

60

40

20

400

300

200

100

700

500

300

100

500

3 4 5 6 7 8

PRESSURE(kgf/ o)

3 4 5 6 7 8

PRESSURE(kgf/ o)

3 4 5 6 7 8

PRESSURE(kgf/ o)

T

3 4 5 6 7 8

PRESSURE(kgf/ o)

2~

3 4 5 6 7 8

PRESSURE(kgf/ o)

“
F
=
=
=
=
=
M




SPEED CONTROL VALVES . BALL VALVES

ORDER INFORMATION

[B| [BvMC| [06] [06] -
FLOW RATE / CUS TYPE ] =
— —
ED
QILIONRE  4=14", 05=5/16", 06= 38", 07=1/2° ~
= o= b w |
e ] o e Thread Type Bl RULR it =
100 o , 100 —— N=NPTI/B', N4=NPTY4" ,N6=NPT3/8', NT=NPTI 2 =
BCUS 0404M £ P — 5 = -
€ 80 = — 5 E 80 L
s L~ 5 £ E Part Name -—
Y L g T 60 < E
g L~ | — 32 g ) B
z 40 /‘/’ — i z 40 e *PPS'B ]
© A 1 © o = * Polybutylene Terepthalate (PBT) : B
T T, s 4 s s 7 s T T, s 4 s s 7 8 s LCLCAOHDES  04=14", 05=5/16", 06= 38", 07=1/2"
Needle Return PRESSURE(ket/ or) (02=PT1/8 , 04=PT1/4", 06=PT3/8’, (7=PT1/2" _
N2=NPTI/8", NA=NPT1/", N6=NPT3/8" N7=NPT1/2"
g ° Body Color YT 8=l |—
250 " 7 . " :
BOUS 0606M T o0 — g 2 oo @ These valves are used for open-close of air pressure in a device.
= = | Y =
g 150 /C/ 5 % 2 300 L e These valves can be applied appropriately to suit the user's
= - > - L= . . . agae
S /// - 508 & ] intended application (Fitting-Tube, Thread).
= 100 < = 200 — ) ) ) ) i .
¢ “ A L+ 1 = o ] e Bulkhead products are suitable for tubing fixation. Specification
k;/’ ~
0 1 2 3 4 5 6 7 8 ° 1 2 3 4 5 6 7 8 9 Fluid
A Wat
Needle Return PRESSURE(if/ or) Featur% Conditions ! arer
e These products are made of PPS.
_ ) Pressure 0 ~1.0Mpa{10gficm? | 0~0.3Mpa (Kgficm?)
R 500 . e Compressed air and water can be used with these valves.
% o — , 5 T e These valves are small in size but have sufficient effective V.
s A ] z B L~ cross sections corresponding to tube dimensions. acuum =750mmHg ({1 0Torr) =
T 300 g T 500
2 ~ ° 3 g
o @ EC /
= 200 v ——— 3 ¢ £ 300 /,’ Temperature 0C ~607C
= / ] 1 g
100 é — 100 ( N
] 1
0 ; p P " s . . s 0 2 3 4+ 5 & 7 & o Hardle Hose Used Polyurethane, Nylon, Polyethylene
Needle Return PRESSURE(kgf/ cm)
Balt
Shaft
BCUS 1010M 1800 ~ .
. ] 5 . A\ Safety Instruction
£ 1400 = . E 1400
§1ooo /,4/’ 5 % ﬁmoo ,4/ ePlease read safety instructions (P.5) of this Product Catalog
g 500 ,/ | - ' g 500 P before using these products.
7 & . . .
z 200 A //:_—- 1 e 200 | eWhen operating the handle, make sure to turn it fully to either
4%9 A Close or Open direction. Otherwise, incomplete cutoff/open
o ’ > 3 " s s = s ° T 2 3 4 5 s 7 8 o action can result in insufficient flow rate.
Needle Return PRESSURE(kgf/ cm)
BCUS 1212M 2500 9 Body A Warning
€ 2000 = 7o £ 2000 — S—Ring . . . .
§ // - B § = ‘ eWhen using water as the fluid medium, the operating pressure
1500 = 5 & £ 1500 /,/ O—Ring must not exceed 0~3kgf/cm?. Do not use in situations subject to
< /] 5 3 < 1 Pi vibration, bending or shock
Z 1000 7 — g Z 1000 = in ) .
@ A 1 = // Tube Backup—Rin eVerify Lock Pin is installed correctly before using a valve. If
500 — 500 P 9 o X : .
—| A Lock Pin is missing, the main body will be disassembled.
0 1 2 3 4 S5 6 7 8 0 1 2 3 4 S5 6 7 8 9 \ )

Needle Return PRESSURE(kgf/ o)

—112 — — 113 —



BALL VALVES

DMfit*

(Unit:mm) (Unit:mm)
Ball Valve Union Gonnecor Ball Valve Elbow Union
BBVUC 0404 1/4 1/4 16 | 16 17 | 17 56 | 235 | 17 5 50 BBVEU 0404 va 1/4 16 16 17 17 51 28 17 5 50
BBVUC 0504 5/16 1/4 17 | 16 17 | 17 57 | 23 17 5 50 BBVEU 0405 5/16 16 14 51 29 5 50
BBVUC 0505 5/16 5/16 17 | 17 17 | 17 58 | 235 | 17 6 50 BBVEU 0504 516 1/4 14 16 17 17 52 28 17 5 50
BBVUC 0606 3/8 3/8 20 | 20 24 | 24 76 | 28 24 8 25 BBVEU 0505 5/16 17 17 52 29 6 50
BBVUC 0706 1/2 3/8 22 | 20 24 | 24 76 | 28 24 8 20 BBVEU 0606 38 3/8 20 20 " - 66 38 - 8 25
BBVUC 0707 1/2 1/2 22 | 22 24 | 24 76 | 28 24 9 20 BBVEU 0607 1/2 20 22 66 38 8 25
BBVEU 0706 3/8 22 20 66 38 8 20
BBVEU 0707 12 1/2 22 22 2 24 66 38 24 9 20
£ BK
gai 11 I I ML gis
c1 . 2 gt
leo|
#P1
(Unit:mm)
(Unit:mm)
Ball Vialve Male Elbow
Ball Valve Male Connector
_ BBVME 0402 | NPT1/8 57 8 50
BBVMC 0402 NPT1/8 61 8 50 BBVME 0404 1/4 NPT1/4 16 17 60 | 28 17 1 | 17 5 50
BBVMC 0404 1/4 NPTL1/4 16 17 64 | 322 | 17 1 | 17 5 50 BBVME 0406 NPT3/8 61 12 50
BBVMC 0406 NPT3/8 65 12 50 BBVME 0502 NPT1/8 57 8 50
BBVMC 0502 NPT1/8 63 8 50 BBVME 0504 5/16 NPT1/4 17 17 60 | 29 17 1 | 17 6 50
BBVMC 0504 5/16 NPTL1/4 17 17 66 | 322 | 17 1 | 17 6 50 BBVME 0506 NPT3/8 61 12 50
BBVMC 0506 NPT3/8 67 12 50 BBVME 0604 NPT1/4 72.5 11 25
BBVMC 0604 NPTL1/4 82 11 25 BBVME 0606 3/8 NPT3/8 20 24 | 735]| 38 24 12 | 24 8 25
u BBVMC 0606 3/8 NPT3/8 20 24 83 | 403 | 24 12 | 24 8 25 BBVME 0607 NPT1/2 76.5 15 25
R BBVMC 0607 NPT1/2 86 15 25 BBVME 0704 NPT1/4 72.5 11 20
; BBVMC 0704 NPTL1/4 82 11 20 e BBVME 0706 1/2 NPT3/8 22 24 | 735]| 38 24 12 | 24 9 20
1 BBVMC 0706 1/2 NPT3/8 22 24 83 | 403 | 24 12 | 24 9 20 BBVME 0707 NPT1/2 76.5 15 20
. BBVMC 0707 NPT1/2 86 15 20
B1
(Unit:mm)
Ball Valve Bulkhead Elbow
(Unit:mm) BBVBE 0404 1/4 1/4 M14X1.0 | 16 | 16 |17 |17 | 23 |66 |28 | 17 | 5 | 50
Ball Valve Bulkhead Union BBVBE 0504 5/16 1/4 M16X1.0 | 17 |16 |17 |17 |23 |67 |28 | 17| 5 | 50
BBVBE 0505 5/16 5/16 M16X1.0 | 17 | 17 |17 |17 |23 |67 |29 | 17| 6 | 50
BBVBU 0404 1/4 1/4 M14X1.0 | 16 | 16 | 17 | 17 | 43 | 71| 23| 17| 5 | 50 BBVBE 0606 3/8 3/8 M20X1.0 | 20 |20 |24 |24 |28 |82 |38 | 24| 7 | 25
BBVBU 0504 5/16 1/4 M16X1.0 | 17 | 16 | 17 | 17 | 44 | 73| 23| 17| 5 | 50 BBVBE 0706 1/2 3/8 M20X1.0 | 22 |20 |24 |24 |28 |82 |38 | 24| 7 | 20
BBVBU 0505 5/16 5/16 | MI6X1.0 | 17 | 17 | 17 | 17 | 44 | 73| 23 | 17| 6 | 50 BBVBE 0707 112 112 M22X1.0 |22 | 22 |24 |24 |28 |82 |38 [ 24| 8 | 20
BBVBU 0606 3/8 3/8 M20X1.0 | 20 | 20 | 24 | 24 | 53 | 91| 28| 24| 7 | 25
BBVBU 0706 1/2 3/8 M20X1.0 | 22 | 20 | 24 | 24 | 54 | 92| 28| 24| 7 | 20
BBVBU 0707 1/2 1/2 M22X1.0 | 22 | 22 | 24 | 24 | 54 | 92| 28| 24| 8 | 20
oK
H1 "
— Ho N
B! 25 K/ :
TAENZAAE =ETEn
i el lin [y
E
B1

—114 — —115 —



e Check valves are used where air flow has to be in one direction only.

e These valves are used where the air flow has to be constant
without variation in the fluid pressure at the output side.

e Check valves ensure that air flows in one direction only and
block air flow of reverse direction.

eCheck valves operate at the pressure of 0.1kgf/cm? and
1.42(PS) vacuum pressure is maintained. They are connected
at low pressure.

( )

Valve Spring

Sleeve

Case

Backup—Ring

Tube ———— Lock—Cap

] Bl ke B2 - (ER)

01=437, B=316, (1=114", 06=516", 06=38", 07177

(2=PT18", 04=PTI/4", 06=PT3/8", 07=PT1/2"
M5=M5X(.8P, M6=M6X1.0P
N=NPT1/8", Né= \PTI4" N6=NPT38'', N7=NPT1/2"

Thread Type

Part Name

—

Tube O.D

o Bragss ' B
o Polybutylene Terepthalate(PBT) : B

(=432, B=316, 4=1/4" 05=5/16", 06=38", 0717

(2=PT18", 04=PTI/4", 06=PT3/8", 07=PT1/2" -
M5=M5X0.8P, MB=MBX1.0P
N2=NPT1/B", Nd= NP TI/4", NG=NPT3B", N7=NPT1 /2"

Thread Type

Body Color

I_

o Black ' BK

Specification

Conditions sl Al
Pressure 0 ~ 1.0Mpa (1 Okgf/cm?
Vacuum —750mmHg(10T orr)
Temperature 0C ~60TC
Hose Used Polyurethane, Nylon, Polyethylene

Control Method

Type Meter IN Meter OUT
Air Flow Thread to Tube Tube to Thread
CVMC o— o
CVBU o P
CcvucC <3 Justkeep te direction marke on the Bocy

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

e\When tightening a screw product, screw can be stuck into the
main body, resulting in a malfunction.

e Verify air flow direction before using a check valve.

eln case of too frequent operations of a valve body, excessive
heat generation could inflict burn injury to human skin.

—116 —

0\ [os] Check Valve Union Comector

@D

P

DMfit*

‘
e
\

|
T
S ——

P
7

(@]

o' 1:11F Check Valve BUsh

b=

n

(Unit:mm)
Parts No. 'Y bgt? 2 ) c sP B Qty (EA)
BCVUC 0101 5/32 5/32 14 10 42 100
BCVUC 0404 1/4 1/4 15 12 45 50
BCVUC 0505 5/16 5/16 17 14 53 50
BCVUC 0606 3/8 3/8 20 17.5 58 25
BCVUC 0707 12 12 22 215 70 20

{(Unit:mm)

Tube O.D NPT Thread Hex Qty

Parts No. 5D R A P C B H (EA)
BCVMC 01U1 530 10-32UNF 5.5 10 14 32 7/16 100
BCVMC 01N2 NPT1/8 8 10 14 36 7/16 100
BCVMC 03U1 10-32UNF 4 12 14 30 7/16 50
BCVMC 03N2 3/16 NPT1/8 8 12 15 30 7/16 50
BCVMC 03N4 NPT1/4 11 12 15 30 9/16 50
BCVMC 04N2 Ua NPT1/8 8 12 15 30 12 50
BCVMC 04N4 NPT1/4 11 12 15 30 112 50
BCVMC 05N2 516 NPT1/8 8 14 17 43 9/16 50
BCVMC 05N4 NPT1/4 11 14 17 30 9/16 50
BCVMC 06N6 8 NPT3/8 12 175 20 46 11/16 25
BCVMC 06N7 NPT1/2 15 17.5 20 46 718 25
BCVMC 07N6 1 NPT3/8 12 215 22 53 7/8 20
BCVMC 07N7 NPT1/2 15 215 22 53 718 20

(Unit:mm)

NPT Thread NPT Thread Hex

Parts No. R1 R2 Al A2 2] H Qty (EA)
BCVBU N2N2 NPT1/8 NPT1/8 8 8 22 14 100
BCVBU N4N4 NPT1/4 NPT1/4 11 11 28 17 50
BCVBU N6N6 NPT3/8 NPT3/8 10 13 37 24 25
BCVBU N7N7 NPT1/2 NPT1/2 12 16 45 27 20

—117 —

—]
(—r]
==
L
| — |
[ ]
—
[—]
=5
(-]
===
M
(-]
=
E=
[
=]
[E25)




DMfir

ORDER INFORMATION

(Unit:mm)
[B] [sTmC] [o6] [02] - ([BK]) o
—1 STop ftting Union Connector
BSTUC 0101 5/32 14 10 42 100
UICIIHOPl (=537, (B=3/16, d=1id", 05=516, (B=3/g, OT=I2" | BSTUC 0404 14 16 1 45 50
e BSTUC 0505 5/16 17 14 53 50
Part Name BSTUC 0606 3/8 20 17.5 58 25
BSTUC 0707 12 22 215 70 20
*Brass: B C a
* Pohbutylene Terephhalate(PBT) : B B
}('*m—miﬂ* N
HoH-Ee
02=PTY/8", 04=PT1/4". 0B=PT38", O7=PTI/2", I —”“f g
0RO M5=H5X0. P, MG=MBX1.0P —
N2=NPT1/8", NA=NPT1A", N6=NPT3B", N7=NPT12"
Body Color BN :EVea: . '—
e Stop fittings are used mostly where pneumatic tubing is frequently
changed.
9 (Unit:mm)
e Stop fittings are also used widely in laboratory and instructional -
devices. STop fitting Male Elbow
BSTME 01U1 10-32UNF 235 10 5.5 100
BSTME 01N2 5/82 NPT1/8 14 % 10 26.5 10 8 100
T Air BSTME 03U1 10-32UNF 275 12 55 50
BSTME 03N2 3/16 NPT1/8 16 33 12 29 12 8 50
e Stop Valve is imbedded to allow bi-directional air flow when BSTME 03N4 NPT1/4 32 14 11 50
connected to Tube. When Tube is separated air flow stops. Op. Pressure 0~ 1.0Mpa (1 0kgf/cm?) BSTME 04U1 10-32UNF 275 12 55 50
elnterior is of two-stage structure to facilitate attachment and —:zmi gj’:li ua Egiﬁ 16 33 12 gz ii 181 28
detachment. L
Vacuum —750mm Hg (10Torr) S —— BSTME 05N2 NPT1/8 30.5 14 8 50
] I BSTME 05N4 5/16 NPT1/4 17 40 145 | 335 14 11 50
M BSTME 05N6 NPT3/8 35 17 12 50
Hose Used Polyurethane, Nylon, Palyethyle ne 0 BSTME 06N4 NPT1/4 375 17 11 25
s ~N - BSTME 06N6 3/8 NPT3/8 20 46 17.5 39 17 12 25
. BSTME 06N7 NPT1/2 43 22 15 25
BSTME 07N6 NPT3/8 41 21 12 20
BSTME 07N7 1z NPT1/2 2 > 22 45 22 15 20
Valve Spring
Liner
O—Ri ePlease read the safety instruction (page 5) of the Product
'ng Catalog before using products.
Lock e Verify flow direction of Stop Fitting before using it. Wrong flow (Unit:mm)
Slesve connection can result in no air flow. STopﬁtting Male Connector
BSTMC 01U1 532 10-32UNF 5.5 10 14 20.5 10 100
BSTMC 01N2 NPT1/8 8 10 14 23 10 100
BSTMC 03N2 316 NPT1/8 8 12 16 26 12 50
BSTMC 03N4 NPT1/4 11 12 16 26 14 50
BSTMC 04N2 1 NPT1/8 8 12 16 26 12 50
A BSTMC 04N4 NPT1/4 11 12 16 26 14 50
Case . ) . » BSTMC 05N2 NPT1/8 8 14 17 35 14 50
eWhen separating Tube with pressure applied to .S.top Fitting, H T BSTMC O5N4 | 5/16 NPTL/4 1 12 17 35 12 50
Backup—Ring the Tube may abruptly shoot out and cause bodily injury. R BSTMC 05N6 NPT3/8 12 14 17 35 17 50
i BSTMC 06N4 NPT1/4 11 17 20 39 17 25
Tube ———— Lock—Cap S BSTMC 06N6 3/8 NPT3/8 12 17 20 39 17 25
BSTMC 06N7 NPT1/2 15 17.5 20 39 22 25
BSTMC 07N6 1 NPT3/8 12 21 22 46 22 20
\ J BSTMC 07N7 NPT1/2 15 22 22 46 22 20

—118 — — 119 —



ROTARY JOINTS

eRotary joints are used for piping of swing area and rotating area.

e Rotary joints are applied to Index Tables and industrial robots.

eBearings are imbedded to enable use in high speed rotation
and swinging areas.

e High Rotary Joint, which has double bearings, are used where
higher rotation rate than for regular Rotary Joint is required or
for other difficult connections.

e A
Diagram

Body

O—Ring

Backup—Ring
LocK

Lock—Cap

Sleeve

Bearing

Tube

(BK])

|IB| |RHMC| |06] [02] -
— |

Tube O.D

(2= 532", 04=1/1", (b=5/16", 06=3/8 , 07=1/2"

(2=PT18", 04=PTI/4", 06=PT3/§", 07=PT1/2"
M5=h5X0.8P, ME=MGX1.0P
Ne=NPT1/8", Né= \PTI/4", N6=NPT38', N7=NPT1/2"

Part Name ‘

* Brags ' B
* Polybutylene Terepthalate(PBT) : B

ANLSOHR 0= 532, 04=1/4", (6=5/16", 06=3/8 , 07=1/2"

(2=PT18", 04=PTI/4", 06=PT3/8", 07=PT1/2" L
M5=M5X(.8P, M6=M6X1.0P
N2=NPT1/8', Nd= NP TY/4", NG=NPT3B", N7=NPT1 /2"

ORDER INFORMATION

Body Color BN:EYEHE]e '—

Specification

Fluid .
i Air
Conditions
Pressure 0~ 1.0Mpa (10kgf/cm?)
Vacuum —750mmHg(10Torr)
Temperature 0'C ~607C
Hose Used Polyurethane, Nylon, Polyethyle ne

A Safety Instruction

ePlease read the safety instruction (page 5) of the Product
Catalog before using products.

eTiny bearings are imbedded within a rotary joint. Therefore,
applied load on a rotary joint should be kept a minimum.

eln case of high speed movement, use urethane tubing. Hard
tubing can cause additional increase of the rotational load.

—120 —

0]V (ol Rotery Joint Male Connectr

V)

ANV = Rotary Joint Male Elbow

243 01, Lol Rotay o igh el Comector

gP

DMfir

(Unit:mm)
Tube O.D NPT Thread Hex  Qty
Parts No. #D Rc A B oP C RPM H )
BRJMC 01U1 10-32UNF | 55 32,5 100
BRJIMC 01N2 532 NPT1/8 8 34 10 16 500 12 100
BRJMC 03U1 10-32UNF | 55 35 50
BRJMC 03N2 3/16 NPT1/8 8 36.5 12 17 500 14 50
BRJMC 03N4 NPT1/4 11 36.5 50
BRJMC 04U1 10-32UNF | 55 35 50
BRJMC 04N2 14 NPT1/8 8 36.5 12 17 500 14 50
BRJIMC 04N4 NPT1/4 11 36.5 50
BRJMC 05N2 NPT1/8 8 435 50
BRJMC 05N4 5/16 NPT1/4 11 435 14 18.5 400 17 50
BRJMC 05N6 NPT3/8 12 435 50
BRJMC 06N6 NPT3/8 12 56 25
BRJMC 06N7 38 NPT1/2 15 55 1.6 21 300 = 25
BRJMC 07N6 NPT3/8 12 62 20
BRJMC 07N7 12 NPT1/2 15 61 216 225 250 24 20
(Unit:mm)
Tube O.D NPT Thread Hex  Qty
Parts No. ¢D Rc A 2] P C RPM H )
BRJME 01U1 10-32UNF | 55 19.5 100
2 1 14 12
BRJME 01N2 513 NPT1/8 8 22 0 500 100
BRJME 03N2 NPT1/8 8 24.5 50
BRJME 03N4 3/16 NPT1/4 11 24.5 16 1 500 14 50
BRJME 04U1 10-32UNF 5.5 23 50
BRJIME 04N2 1/4 NPT1/8 8 24.5 16 17 500 14 50
BRJIME 04N4 NPT1/4 11 24.5 50
BRJME 05N2 NPT1/8 8 30.5 50
BRJME 05N4 5/16 NPT1/4 11 30.5 18 18.5 400 17 50
BRJME 05N6 NPT3/8 12 30.5 50
BRJME 06N6 8 NPT3/8 12 35 176 15 300 - 25
BRJME 06N7 NPT1/2 15 34 25
BRJME 07N6 1 NPT3/8 12 31 "6 . 250 o4 20
BRJME 07N7 NPT1/2 15 30 20
(Unit:mm)
Tube O.D NPT Thread Hex  Qty
Parts No. #D Rc A B oP C RPM H )
BRHMC 01U1 10-32UNF | 5.5 415 100
BRHMC 01N2 5182 NPT1/8 8 47 10 16 1500 12 100
BRHMC 03U1 10-32UNF | 55 46.5 50
BRHMC 03N2 3/16 NPT1/8 8 52 16 17 1200 17 50
BRHMC 03N4 NPT1/4 11 52 50
BRHMC 04N2 NPT1/8 8 52 50
BRHMC 04N4 1/a NPT1/4 11 52 16 1 1200 1 50
BRHMC 05N2 NPT1/8 12 52.5 50
BRHMC 05N4 516 NPT1/4 12 52.5 18 185 1200 o 50
BRHMC 06N6 NPT3/8 12 65 25
BRHMC 06N7 38 NPT1/2 15 68 17.6 215 1000 24 25
BRHMC 07N6 NPT3/8 12 67 20
BRHMC 07N7 12 NPT1/2 15 70 216 225 1000 24 20

—121 —




ROTARY JOINTS

m Aoy i ghMee Eoy

(Unit:mm)
Tube O.D NPT Thread Hex Qty
Parts No. 5D Rc A B E gP  C RPM ' (EA)
BRHME 01U1 10-32UNF | 55 33 17.5 100
BRHME 01N2 532 NPT1/8 8 375 | 175 10 14 1500 12 100
BRHME 03U1 10-32UNF | 55 43 20.6 50
BRHME 03N2 3/16 NPT1/8 8 46 20.6 16 17 1200 17 50
BRHME 03N4 NPT1/4 11 46 20.6 50
BRHME 04N2 NPT1/8 8 43 20.6 50
BRHME 04N4 va NPT1/4 11 46 20.6 16 1 1200 1 50
BRHME 05N2 NPT1/8 8 44 24 50
BRHME 05N4 516 NPT1/4 11 47 24 18 185 | 1200 1 50
BRHME 06N6 NPT3/8 12 55 28 25
BRHME 06N7 3/ NPT1/2 15 58 28 176 | 215 ) 1000 24 25
BRHME 07N6 NPT3/8 12 57 31 20
BRHME 07N7 12 NPT1/2 15 60 31 216 | 225 | 1000 24 20
(Unit:mm)
NPT Thread NPT Thread Hex Hex Qty
Parts No. Rcl Rc2 Al A2 B RPM H1 Ho )
BRHMF N2N2 NPTL/8 NPT1/8 8 8 45 1200 17 14 100
BRHMF N2N4 NPT1/4 8 11 52 17 100
BRHMF N4N2
NPT1/4 NPT1/8 11 8 52 1200 17 14 50
BRHMF N4N4 NPT1/4 11 11 55 17 50
BRHMF N6N6 NPT3/8 12 12 63.5 22 25
BRHMF N6N7 NPT3/8 NPT1/2 12 15 66.5 1000 24 24 25
BRHMF N7N6 NPT1/2 NPT3/8 15 12 66.5 1000 o4 22 20
BRHMF N7N7 NPT1/2 15 15 69.5 24 20
(Unit:mm)
NPT Thread NPT Thread Hex Hex Qty
Parts No. Rcl RC2 Al A2 B RPM H1 Ho )
BRHMM N2N2 NPT1/8 8 8 49 14 100
BRHMM N2N4 NPT1/8 NPT1/4 8 11 52 1200 1 14 100
BRHMM N4N2 NPT1/8 11 8 52 14 50
BRHMM N4N4 NPTL/4 NPT1/4 11 11 55 1200 1 14 50
BRHMM N6N6 NPT3/8 12 12 63.5 22 25
BRHMM N6N7 NPT3/8 NPT1/2 12 15 65.5 1000 24 22 25
BRHMM N7N6 NPT3/8 15 12 66.5 22 20
BRHMM N7N7 NPT1/2 NPT1/2 15 15 68.5 1000 24 22 20
— 122 —

POLYURETHANE TUBES

_\

eln general, polyurethane tubes are used for industrial robots
and pneumatic tubing.

e These tube products can be applied to diverse applications
based on user's requirements..

e Better flexibility than nylon tubes, then excellent workability.
e Excellent flexibility even at low temperatures.

e Good wear resistance, climate resistance and bending fatigue
resistance.

e No static accumulation and excellent dimensional stability.

Colors

Code | Color | 3mm | 4mm | 6mm | 8mm | 10mm | 12mm
BL Blue O O O O O O
YE | Yellow | O O O O O O
WT White O O O O O O
NA | Natural | O O O O O O
BK Black O O O O O O
RE Red O O O O O O
GR Gray O O O O O O
GN | Green | O O @) O O O

s Colors may be used by usage or by fluid medium.

Max Operating Pressure & Temperature

Category
Material
Operating Pressure
Vacuum Pressure
Operating Temperature
Fluid Medium

3mm, 4mm, 6mm, 8mm, 10mm, 12mm
Polyurethane
0 ~ 1.0Mpa (10kgf/cm?)
—750mmHg (10Torr)
—15C ~60%C
Air, Water(No other gases or liquids)

s Max op pressure can vary by operating temperature.

ORDER INFORMATION

[Duo425] ([m]) [BL] [0200]

» Tube length
——» Color: Blue
» Size: mm

» Part No.(O.D & 1.D)

1/’8“, 5/32n! 3/1 6“, 1/4n! /16“, 3/8", 1/2n

Tube I.D TUBE |.D : Metric Size{mm)

DU 5/32—20 : PolyUrethane Tube
Tube O.D: 5/32"
Tube |.D: 2.0(mm)

Operating pressure graph

Op. Pressure

100

90 AN

80 =

70
[} 60 ~
E 50 \
c
g ;\5 o \‘\
kel
53
2 8 2
gyg
a0

0

0 10 20 30 40 50 60 70 80

Temperature(°C)

A Safety Instruction

oDo not use tube beyond its the minimum bending radius.

oCut tube sufficient length in consideration of future length
adjustment possibility.

eEnsure tube is cut squarely with fitting surface. Also, avoid
oblong cross section area of tube when cutting.

Do not use product other than for air. Gas decomposition can
result in tube cracking or splitting, thus leading to gas leak.

Do not store or install this product close to a heating device.
Tube heating can result in blow up.

eMake sure the tube is not damaged by sharp tools or objects. It
can result in tube rupture.

eMake sure no excessive twisting, bending or twirling of tube
occurs. It can result in tube rupture or slippage.

Do not use where sparks occur.

— 123 —

b — |
S
—
[—
=]
]
—]
——
=
——
Il
—
[—]
Eg
Fr
(-]




POLYURETHANE TUBES

m PolyUrethane tube

D) ! [@s| PolyUrethane - Coil tube

(Unit:INCH)

POLYETHYLENE TUBES

Parts No. Tube 0.D Tube I.D wall Ree'(hf)”gth
DU 1/8-16 1/8 0.062 0.032 200
DU 1/8-20 1/8 0.079 0.024 200
DU 5/32-20 5/32 0.079 0.039 200
DU 5/32-25 5/32 0.098 0.028 100
DU 3/16-32 3/16 0.126 0.031 100
DU 1/4-42 1/4 0.165 0.039 100
DU 5/16-50 5/16 0.197 0.059 100
DU 3/8-64 3/8 0.252 0.059 100
DU 1/2-85 1/2 0.335 0.079 100
(Unit:INCH)

Parts No.

Tube O.D

Tube I.D

Wall

L Reel Length

(m)

DUC 1/8-20M1 49 189 1
DUC 1/8-20M2 1/8 0.079 0.024 |23.7| 97 | 70 | 70 | 237 2
DUC 1/8-20M5 243 383 5
DUC 5/32-20M2 407 547 2
DUC 5/32-20M5 437 577 5
DUC 5/32-20M10 5/32 0.079 0.039 |253| 586 | 70 | 70 | 726 10
DUC 5/32-20M15 877 1017 15
DUC 5/32-20M20 1169 1309 20
DUC 3/16-32M2 135 295 2
DUC 3/16-32M5 338 498 5
DUC 3/16-32M10 3/16 0.126 0.031 |26.9| 677 | 80 | 80 | 837 10
DUC 3/16-32M15 1015 1175 15
DUC 3/16-32M20 1354 1514 20
DUC 1/4-42M2 69 229 2
DUC 1/4-42M5 149 309 5
DUC 1/4-42M10 1/4 0.165 0.039 42 | 175 | 80 | 80 | 335 10
DUC 1/4-42M15 228 388 15
DUC 1/4-42M20 255 415 20
DUC 5/16-50M5 79 259 5
DUC 5/16-50M10 516 0197 0.059 50 140 90 | 90 320 10
DUC 5/16-50M15 170 350 15
DUC 5/16-50M20 200 380 20
DUC 3/8-64M5 199 399 5
_ DUCS/B64MI0 | 3/8 0.252 0.059 |62.7 290 100 | 100 490 10
DUC 3/8-64M15 441 641 15
DUC 3/8-64M20 592 792 20
DUC 1/2-85M5 174 374 5
_ DUC 1/2-85M10 | 12 0.335 0.079 | 845 253 100 | 100 453 10
DUC 1/2-85M15 385 585 15
DUC 1/2-85M20 517 717 20

— 124 —

eIn general, polyethylene tubes are used for food industry.
Coiled tube is suitable for air tubing and air driver tubing.

e These tube products enable tubing in confined spaces such as
within a device driving mechanism.

e Excellent durability and flexibility.
e Diverse tube colors enable different colors to be used for different
uses. Also, same color may be used for same type of devices.

Colors

Code Color 4mm 6 mm 8mm 10mm 12 mm
BL Blue O O O O O
YE Yellow O O O O O
WT White @ O O O O
NA | Natual O O O O O
BK Black O O O O O
RE Red O O O O O
GR CGray O O O O O
GN Green O O O O O

s« Colors may be used by usage or by fluid medium.

Max Operating Pressure & Temperature

Category
Material
Operating Pressure
Vacuum Pressure
Operating Temperature
Fluid Medium

4mm, 6mm, 8mm, 10mm, 1 2mm
Polyethylene
0 ~ 1.0Mpa (10kgf/cm?)
—750mmHg (10Torr)
—15C ~607C
Air, Water(No other gases or liquids)

% Max op pressure can vary by operating temperature.

ORDER INFORMATION

IDPE 0425] ([M]) [BL] [0200]

Tube length
———» Color: Blue
> Size: mm

- Part No.(O.D & I.D)

Tube O.D 5/32", 3/16", 1/4",5/16", 3/8", 1/2"

TUBE I.D : Metric Size{mm)

Tube I.D

DPE 5/32—20 : PolyEthylene Tube
Tube O.D: 5/32" Tube I.D : 2.0{mm)

ARE|

Operating pressure graph

Op. Pressure

The Variation rate
Pressure(%)

o 10 20 30 40 50 60

Temperature(°C)

A Safety Instruction

eUse the tube in consideration of the minimum bending radius.

oCut tube sufficient length in consideration of future length
adjustment possibility.

eEnsure tube is cut squarely with fitting surface. Also, avoid
oblong cross section area of tube when cutting.

Do not use product other than for air. Gas decomposition can
result in tube cracking or splitting, thus leading to gas leak.

Do not store or install this product close to a heating device.
Tube heating can result in blow up.

eMake sure the tube is not damaged by sharp tools or objects. It
can result in tube rupture.

eMake sure no excessive twisting, bending or twirling of tube
occurs. It can result in tube rupture or slippage.

Do not use where sparks occur.

(Unit:INCH)

m PolyEthylene tube Parts No. Tube 0.D Tube I.D wall Ree'(fnf;“gth
7 3 ‘ DPE 1/8-24 1/8 0.094 0.75 500
- DPE 5/32-24 5/32 0.094 0.75 500
DPE 3/16-32 3/16 0.126 0.75 400
DPE 1/4-43 1/4 0.169 1 300
DPE 5/16-48 5/16 0.189 1 200
DPE 3/8-64 3/8 0.252 1.5 150
DPE 1/2-95 1/2 0.374 1.5 100

— 125 —




e Widely used for pneumatic tool tubing.
e Used for chemical plant pneumatic piping, medical industry and food industry.

e Excellent wear resistance, climate resistance and bending fatigue
resistance, hence longer useful life.

e Excellent pressure resistance, vibration resistance and heat resistance.

o Light and flexible to facilitate tubing work.

e Food originated material use allows these tubes to be used for medical
devices and food handling devices.

Code Color 3mm 4mm Bmm 8mm 10mm | 12mm
BL Blue @) O O @ O O
YE Yellow O O O O O O
WT White O O O O O O
NA Natual O O O O O O
BK Black O O O O O O
RE Red O O O O O O
GR Gray O O O O O O
GN Green O O O O O O

s Colors may be used by usage or by fluid medium.

Max Operating Pressure & Temperature

Category 3mm, 4mm, Bmm, 8mm, 10mm, 12mm
Material Nylon
Operating Pressure 0 ~ 1.0Mpa (10kgf/cm?)
Vacuum Pressure —750mmHg (10Torr)
Operating Temperature —15C ~60C
Fluid Medium Air (No other gases or liquids)

% Max op pressure can vary by operating temperature.

ORDER INFORMATION

[DN 0425] ([M]) [BL] [0200]

Tube length

-~ Color: Blue

» Size: mm

» Part No.(O.D & I.D)

1/8", 532", 3/1€', 1/4", 5/16", 3/8", 1/2'

Tube I.D TUBE I.D : Metric Size{mm)

AREY

DN 5/32—20: Nylon Tube
Tube O.D: 5/32"

Tube |.D : 2.0(mm)

Operating pressure graph

Op. Pressure

]

The Variation rate
Pressure(%)

0 10 20

Temperature(°C)

30 40 50 60

A Safety Instruction

oDo not bend the tube beyond its minimum bending radius.

oCut tube sufficient length in consideration of future length
adjustment possibility.

eEnsure tube is cut squarely with fitting surface. Also, avoid
oblong cross section area of tube when cutting.

oDo not use product other than for air. Gas decomposition can result
in tube cracking or splitting, thus leading to gas leak.

eDo not store or install this product close to a heating device. Tube
heating can result in blow up.

eMake sure the tube is not damaged by sharp tools or objects. It can
result in tube rupture.

eMake sure no excessive twisting, bending or twirling of tube occurs.
It can result in tube rupture or slippage.

eDo not use where sparks occur.

(Unit:INCH)
m Nylon Tube
— DN 1/8-16 1/8 0.063 0.031 200
‘ DN1/8-20 1/8 0.079 0.024 200
N DN 5/32-20 5/32 0.079 0.039 200
DN 5/32-25 5/32 0.098 0.030 200
DN 3/16-35 3/16 0.138 0.024 200
DN 1/4-46 1/4 0.181 0.875 100
DN 5/16-60 5/16 0.236 0.039 100
DN 3/8-69 3/8 0.272 0.052 100
DN 1/2-95 12 0.374 0.063 100

— 126 —

THE OTHER PARTS

A Instructions on Using Tube Cutter

eWhen using Tube Cutter, as shown in
Figure (@), raise cutter clip upward, insert
Tube into Cutter groove, apply force in
arrow direction while making sure that no
body part comes in touch with the blade.

e When not using Tube Cutter, rotate the
Cutter clip as in Figure @ and fix it with the
base to prevent injury from the Cutter blade.

$34N1 NOTAN

Figure D

o Use this device for cutting of various Plastic
Tubes only.

eBe Careful with the Sharp Blade during the usage

p—
[—
==
-
[~}
[ —
p—1
r—
-
=
=20
—
— —
[ ]
[—1
—1
— —
=
==
——
=
==
—1
[— 3

eKeep the Lock as no usage

Tube O.D Tube O.D
TC Tube Cutter ; (Minimum) (Maximum) Qty(EA)
i TC 5/32(4mm) 1/2(13mm)
Tube O.D Tube O.D
Hand Tube Cutter Parts No. NI i) Qty(EA)
HTC(Nylon) 5/32(4mm) 5/8(16mm)
— 127 —



COUPLER SERIES

DMfit*

ORDER INFORMATION

[R] [H [20] -
RING-S QUICK COUPLER /STEEL M =
» Product Size ‘é
- -
» Product Type =
> Model No. (Unit:mm) %
m (0531510 (S Model No.  Parts No. T“b;S'D B 4P HI H2 4D L W?g)'ht =
&2
211 QSH20 95 80 26 215 19 5 30 104 5
— . 212 QSH30 115 82 26 215 19 6.5 32 108 (5=
Specification 214 QSH40 16 84 26 24 21 9 34 130
Fluid Media Air, Water, Oll
. Zinc Steel
Material ainl |
Usages (chrome~plated)| (ch rome~plated) Stainjess stee
e These products are'used for connect?on of air pressure piping. Op. Pressure 10kgf/c nt 10kgficm’ 15kgfiem’
eCouplers are applied on pneumatic tools (such as drills and (1000kPA) (1000kPA) (1500kPA)
impactors). , , )
e Some couplers are applied to tubing of chemicals, steam or oil. Max Op. Pressure Jiseiie i AWl AUt
; - . . (1500kPA) (2000kPA) (2000kPA)
eCouplers are widely used for piping of cooling water for various
mold machines. Unit:mm)
Thread Wegiht
m (MALE)/SOCKET Model No. Parts No. ' &iog B 6P  HL H2 4D A ©
Features A Safety Instruction 216 QSM20 PT 1/4 65 26 215 19 13 103
o } 217 QSM30 PT 3/8 66 26 215 19 14 108
eThese couplers are uni-directional open-close couplers with an e\When connecting a plug into a socket, first make sure the product 218 QSM40 PT 1/2 68 26 24 21 16 128
automatic open-close valve imbedded into a hole. _ operation has been stopped before attempting the connection.
o Couplers are widely used for hose connection of pneumatic tools and Incomplete product connection can cause separation of product
air supply piping within a factory. when the device is placed in operating mode. Upon product
e Material is zinc so that products are light and small to facilitate handling. connection, pull it lightly with hand to ensure complete connection.
o These products are manufactured with high precision machining skill. eWhen dust or foreign matters are allowed within the product, they
Thus, they are high pressure couplers with high degree of air seal. can cause problems with the product functions.
oThesg products are small and light and are applicable in wide variety of eWhen connecting a screw type coupler, make sure the maximum
situations. connection torque is not exceeded. Otherwise, it can cause
o When assembling a plug, the assembly can be done in one-touch damage to the product.
ELE, eWhen inserting tube into socket body, apply some silicon sealer
and insert fully to ensure firm fixation.
(Unit:mm)
z : | QSF GG G vodel vo. | parts o, [THEB 5 e b1 | W2 [ gp | A | Ve
= A Warning g
221 QSF20 PT 1/4 58 26 215 19 15 103
eDo not detach or attach or handle produ_ct_ while applying pressure 222 QSF30 PT 3/8 60 26 24 21 17 107
on the product. Such act|0n§ can cause injury. 223 QSF40 PT 112 62 26 28.5 25 19 191
eCouplers must not be used in place of another part.
55--' = oFluid flow must be in the direction from socket to plug.

eAvoid using these products on devices that are subject to twisting,
significant load, vibration or shock.

eWhen using this product together with a vibration tool, apply rubber
hose (30Cm) as a connector between tool and the product.

— 128 —

— 129 —




GOUPLER SERIES

RING-S Hi COUPLER / STEEL

m (HOSE)/SOCKET

2k

(L]
AN

Model No. Parts No. 'uP€0D g P
¢D
226 RSH20 9.5 72 26 215 19 5 30 100
227 RSH30 115 74 26 215 19 6.5 32 106
228 RSH35 14 76 26 215 19 9 34 111
229 RSH40 16 76 26 24 21 9 34 127
(Unit:mm)
Model No. Parts No.
231 RSM20 PT 1/4 57 26 215 19 13 101
232 RSM30 PT 3/8 58 26 215 19 14 105
233 RSM40 PT 1/2 60 26 24 21 16 125
(Unt:mm)
Thread Wegiht
Model No. Parts No. Size B o P H1 H2 oD A @
236 RSF20 PT 1/4 50 26 215 19 15 100
237 RSF30 PT 3/8 52 26 24 21 17 104
238 RSF40 PT 1/2 54 26 28.5 25 19 119

— 130 —

ONE TOUCH-COUPLER / ZINC

m (HOSE)/SOCKET

DMfit®

(Unit:mm)
Model No. Parts No. Tube O.D B
oD
256 OSH20 15 80 26.5 21.5 19 5 30 88
257 OSH30 21 82 26.5 21.5 19 6.5 32 93
258 OSH40 27 84 26.5 24 21 9 34 105
(Unit:mm)
Thread Wegiht
Model No. Parts No. Size B oP H1 H2 ¢D A ©
261 0SM20 PT 1/4 65 26.5 215 19 7 13 88
262 OSM30 PT 3/8 66 26.5 215 19 9 14 94
263 OSM40 PT 1/2 68 26.5 24 21 9 16 106
(Unit:mm)
Thread
Model No. Parts No. Size
266 OSF20 PT 1/4 58 26.5 21.5 19 15 90
267 OSF30 PT 3/8 60 26.5 24 21 17 95
268 OSF40 PT 1/2 62 26.5 28.5 25 19 106
— 131 —



GOUPLER SERIES

HI COUPLER / ZINC

DMfit®

RING-S PLUG / STEEL

(Unit:mm)
m QU vocei o, Parsto. 20D B b w2 gD L
271 SH20 9.5 72 26.5 21.5 19 5 30
272 SH30 11 74 26.5 21.5 19 6.5 32
273 SH40 15 76 26.5 24 21 9 34
(Unit:mm)
MALE)/SOCKET Model No. Parts No. 'oread g p H1 H2 D A
Size 8 ¢
276 SM20 PT 1/4 57 26.5 21.5 19 13
277 SM30 PT 3/8 58 26.5 21.5 19 14
278 SM40 PT 1/2 60 26.5 24 21 16
(Unt:mm)
Thread
Model No. Parts No. Size B oP H1 H2 oD A
281 SF20 PT 1/4 50 26.5 21.5 19 15
282 SF30 PT 3/8 52 26.5 24 21 17
283 SF40 PT 1/2 54 26.5 28.5 25 19

—132 —

(Unit:mm)
m (HOSE)/PLUG Model No. Parts No. TUDEOD
oD
411 RPH20 9.5 58 5 16 30 20.5 32
412 RPH30 11.5 60 6.5 16 32 20.5 33
413 RPH35 14 62 9 21 34 20.5 45
414 RPH40 16 62 9 21 34 20.5 59
L2 L1
B
(Unit:mm)
Model No. Parts No.
416 RPM20 PT 1/4 42 7 14/16 13 20.5 26
417 RPM30 PT 3/8 43 9 19/21.5 14 20.5 42
418 RPM40 PT 1/2 45 9 21/24 16 20.5 59
H
N\ N
] o=
[NNANN
-4——'
| A
B
(Unit:mm)
Thread
Model No. Parts No. ST
421 RPF20 PT 1/4 36 19/21.5 15.5 20.5 27
422 RPF30 PT 3/8 38 21/24 17.5 20.5 38
423 RPF40 PT 1/2 40 25/28.5 19.5 20.5 49
— 133 —




GOUPLER SERIES

DMfit®

BIG-SIZE COUPLER / STEEL

HI-PLUG/ ZINC

(Unit:mm) {(Unit:mm)
| PH TR viocei o parts o, |Tibe00 N csese O R
426 PH20 9.5 58 9 16 30 20 511 SH400 15 84 35 345 30 9 36 220
427 PH30 11 60 6.5 16 32 20 512 SH600 21 93 35 345 30 14 45 238
428 PH40 15 62 9 21 34 20 513 SH800 27 103 35 345 30 18 55 302
2 | L1
R
(Unit:mm) (Unit:mm)
Thread Thread Wegiht
m (MALE)/PLUG Model No. Parts No. Lees H(Hex) Model No. Parts No. ' &i°2 B 6P  H1 H2 ¢D A 0
431 PM20 PT 1/4 14/16 516 SM400 PT 1/2 64 35 345 30 14 16 203
432 PM30 PT 3/8 19/21.5 517 SM600 PT 3/4 66 35 345 30 18 19 228
433 PM40 PT 1/2 21/24 518 SM800 PT1 70 35 40 35 20 22 280
{(Unit:mm)
Thread Thread
m (FEMALE)/PLUG Model No. Parts No. Size H(Hex) Parts No. ST
436 PF20 PT 1/4 19/21.5 521 SF400 PT 1/2 58 35 345 30 17 216
437 PF30 PT 3/8 21/24 522 SF600 PT 3/4 62 35 40 35 21 256
438 PF40 PT 1/2 25/28.5 523 SF800 PT1 71 35 47 41 30 320
— 134 — — 135 —



GOUPLER SERIES

BIG-SIZE PLUG/ STEEL

m (HOSE)/PLUG

zzz |
i

)
V/l

Model No. Parts No. Tube O.D
¢D
526 PH400 9.5 68 9 21 36 24 79
527 PH600 11.5 77 14 30 45 24 129
528 PH800 14 87 18 34 55 24 181
(Unit:mm)
Thread Wegiht
Model No. Parts No. Size B oD  H(Hex) A L ©)
531 PM400 PT 1/2 52 14 14/16 16 24 75
532 PM600 PT 3/4 56 18 19/21.5 19 24 121
533 PM800 PT1 64 20 21/24 22 24 221
(Unit:mm)
Thread Wegiht
Model No. Parts No. S B oD  H(Hex) A L @
536 PF400 PT 1/2 41 19/21.5 17 24 94
537 PF600 PT 3/4 45 21/24 21 24 135
538 PF800 PT1 54 25/28.5 30 24 229

— 136 —

DMfit®

Model No. Parts No. PT Thread

TSP Coupler / BRASS, SUS

546 TPF 02 PT 1/4
547 TPF 03 PT 3/8
548 TPF 04 PT 1/2
549 TPF 06 PT 3/4
550 TPF 08 PT1

556 TPM 02 PT 1/4
557 TPM 03 PT 3/8
558 TPM 04 PT 1/2
559 TPM 06 PT 3/4
560 TPM 08 PT1

Model No. Parts No. PT Thread
541 TSF 02 PT 1/4
542 TSF 03 PT 3/8
543 TSF 04 PT 1/2
544 TSF 06 PT 3/4
545 TSF 08 PT1
551 TSM 02 PT 1/4
552 TSM 03 PT 3/8
553 TSM 04 PT 1/2
554 TSM 06 PT 3/4
555 TSM 08 PT 1

Model No. Parts No. PT Thread
3011 BS PT 1/8
3012 BS PT 1/4
3013 BS PT 3/8
3014 FS PT 1/8
3015 FS PT 1/4
3016 FS PT 3/8
3017 HS M 09
3018 HS M 11

Mold Coupler / BRASS
Model No. Parts No. PT Thread
3020 BP PT 1/8
3021 BP PT 1/4
3022 BP PT 3/8
3023 FP PT 1/8
3024 FP PT 1/4
3025 FP PT 3/8
3026 HP M 09
3027 HP M 11

Model partsNo.  LINE
No.
One Touch Coupler
611 QL/c2 with 2 outlet 22z

LINE COUPLER

Model
NO. Parts No.
High Coupler
616 L/ce with 2 outlet 205

Parts No. LINE

One Touch Coupler

612 oL/c3 with 3 outlet

Parts No.

High Coupler

617 L/C3 with 3 outlet

Model Wegiht
Parts No. LINE
No. ©)
One Touch Coupler
613 ORL/CS i srondpeoutet |~ 326

Model

Parts No.

No.

618 RL/C3 High Coupler with

round type 3 outlet 302

— 137 —




GOUPLER SERIES

NUT PLUG / SOCKET & PLUG

Model No.  Parts No. PO'&QPEBEQNE Material W?g'f)’ht
311 QSN8 25X @8 STEEL 121
312 QSN10 26.5X @10 STEEL 131
313 QSN12 @8 X @12 STEEL 136
316 RSN8 25X @8 STEEL 118
317 RSN10 26.5X @10 STEEL 128
318 RSN12 @8 X @12 STEEL 133
326 OSN8 25X @8 ZINC 102
327 OSN10 26.5X @10 ZINC 110
328 OSN12 @8 X @12 ZINC 115
331 SN 8 25X @8 ZINC 95
332 SN10 26.5X @10 ZINC 103
333 SN12 @8 X @12 ZINC 107
336 RPN8 25X @8 STEEL 35
337 RPN10 26.5X @10 STEEL 45
338 RPN12 @8 X @12 STEEL 54
341 PN8 25X @8 ZINC 33
342 PN10 26.5X @10 ZINC 43
343 PN12 @8 X @12 ZINC 52

— 138 —

eIn general, air guns are used for product cleaning.

[AG]

[10]

- Product Size

Model No.

Specification

ORDER INFORMATION

Fluid Media

Air (No other gases or liquids)

Op. pressure

0~1.0MPa(0~10kgf/c m?)

Op. Temperature

0~60C(32~140°F)

e Air guns are suitable for removing foreign matters from small

devices and surroundings.

e Nozzle lengths come in diverse lengths to facilitate cleaning of

hazardous area or extraction of parts.

e Engineering plastic is used so that the products are light and

durable.
e Air blow rate can be adjusted easily.

FNI°&cIV]\\B PLASTIC

A Safety Instruction

eRead the safety instruction (page 5) of this product brochure

before using a product.

e\When cleaning a machine, stop the machine completely before

using this product for cleaning.

eDo not apply strong shock to this product body. It can be
damaged and result in air leak.

(Unit:mm)
Nozzle Qty
Model No. Parts No. (mm) (EA)
711 AG-10 10
712 AG-100 100
713 AG-200 200
714 AG-300 300
(Unit:mm)
Nozzle Qty
Model No. Parts No. (mm) EA)
716 AG-10 10
171 AG-100 100
718 AG-200 200
719 AG-300 300
— 139 —



PARALLEL THREA

® BSP(P): British Standard Pipe Parallel Thread Eemale
® UNF: Unified National Fine Thread Pitch of 1o o -
o . . Major Dia(D) | Pitch Dia. (D2) | Minor Dia.(D1
ORDER INFORMATION e UNS: Unified National Special Thread Nominalsze | A" | Trread | [ [rte
@ UN: Unified National Thread (6) (p) Male
@ UNEF: Unified National Extra Fine Major Diam. (d) | Pitch Diam. (d2)  Minor Diam.(dZ)
| ST | | 02 | @ NPSM: Natlonal Pipe Strglght Mechanical Thread 1/8-28 BSPP(PF) 0907 | 9728 9147 | 8556
@ NH: National Hose coupling Thread
» Product Thread Size @ BSW : British Standard whitworth Thread 1/4-19 BSPP(PF) 1337 | 13157 | 12301 | 11.445 en
» Model No 3/8-19 BSPP(PF) 55 1.337 | 16.662 | 15.806 | 14.950 o
1/2-14 BSPP(PF) 1.814 20.955 | 19.793 | 18.631 E
0 5/8-14 BSPP(PF) 1814 | 22911 | 21749 | 20587 ]
m 3/4-14 BSPP(PF) 1.814 | 26.411 | 25.279 | 24.117 a
Specmcatlon 2 7/16-20 UNF 1.270 11.112 | 10.287 9.738
 |internal thread 1/2-20 UNF 1.270 12.70 11.874 | 11.326
Model o 60 =
ST | ST | ST | ST | MST | MST | MST | MST 7 / // Yy //// 5/8-18 UNF 1.4111 | 15.875 | 14.958 | 14.348 =
o) (PTLB) | (PTL/4) | (PT3I8) | (PTL2) | (PTLI8) | (PTLIA) | (PT3(8) | (PTL2) // / A 3/4-16 UNF 15875 | 19.05 | 18.019 | 17.33 =
Max kafl Okaflem? kaflem? Skaflemt //}/‘ N )‘f/ / 7116-24 UNS 2B 60 R 11.113 | 10.549 | 10.211 %
. Tkgflem? cm Tkgflem cm i PN . =
Working g ! ! / SN y Y4 2A 11.085 | 10.396 | 9.825 —
///// ==
Pressue (700kPa) (900kPa) (700kPa) (900kPa) s Storna thread /7~ =
m S RN s B 12.700 | 11.824 | 11328 =
S S S s 1/2-16 UN +—— 60 1.588 =
e Silencers are applied to exhaust port of a device to reduce the /, // S S 2A 12.664 | 11.633 | 1077 =
noise caused by the exhaust air. (L 2B 14.288 | 13.729 | 13.386
9/16-24 UNEF —— 60 1.058
m 2A 14257 | 13569 | 12.997
Sil llent at reduci ise level. 20.904 | 19.942 | 19.279
eSilencers are ex_ce ent at reducing noise eve. PN 60 il
eThese are plastic products, not steel or aluminum, so that they 20.904 | 19.733 | 19.279
( ) are light and durable.
27.242 | 26.022 | 24.803
Diagram eThese products are compact and thus are useful for small 0.75-11.5 NH 60 2.209
g devices and confined spaces. 26.988 | 25.552 | 24.117
3/8-24 BSW 1.588 9.525 8.509 7.492
Body Cap 1/2-24 BSW | 55 | 2117 | 12700 | 11.345 | 9.990

A Safety Instruction 9/16-24 BSW 2117 14.287 | 12931 | 11.574

eRead safety instruction (page 5) of this product brochure before

using the products.
eSilencers, when used over a long period of time, can TAPER THREAD

experience blocking of filter slots and thus increase back
pressure and negatively impact the device.

Filter

@ NPTF: National Pipe Taper Fuel Thread

eSilencers should be replaced periodically to prevent device i . _ Effective | Nominal
damage. Since the silencer screw area does not come with a ® BSP(T): British Standard Pipe Tapered Thread ; _ Angle Pitchof | | Thread |COMPlete
sealant, apply Teflon tape for device assembly to prevent air Nominal Size (9) Thread |Pitch Dia.| -, | External
leak. (p) (1) Threads
eExcessive application of pressure on silencer for assembly can Taper internal thread ~ ~ (a)
L ) result in device damage. 1/8-27 NPTF 0.941 9.489 6.924 4.102
1/4-18 NPTF 1411 12.487 | 10.020 5.786
3/8-18 NPTF 60 1411 15.926 | 10.330 6.096
1/2-14 NPTF 1.814 19.772 | 13.571 8.128
(Unit:m m) WUni:mm) 3/4-14 NPTF 1.814 | 25117 | 14504 | 8611
s I LE N C E R METAL SH-ENCER 1/8-28 BSPT(PT) 0.907 9.147 8.000 3.970
ST 02 18 100 MST 02 18 100 5 1/4-19 BSPT(PT) 1.337 12.301 | 11.000 6.010
ST 04 1/4 100 MST 04 1/4 100 g
e 7 v ST 06 o8 s 5 3/8-19BSPT(PT) | 55 | 1.337 | 15.806 | 12.000 | 6.350
> " ST 07 1/2 25 MST 07 1/2 25 S 1/2-14 BSPT(PT) 1.814 19.793 | 15.000 | 8.160
£ = -
T 21 22 i’f zg ’ mz: ‘l’z i’;‘ ig - i 3/4-14 BSPT(PT) 1.814 | 25279 | 17.000 | 9.530

— 140 — — 141 —



CHEMICAL RBESISTANCE OF PRODUCTS

DMfit® provides excellent resistance to organic chemicals, carbohydrates and chemical
detergents (refer to the table). In particular, DMfit* products have strong resistance against
inorganic chemicals except strong acids, thus they have a wide range of applications.

Chemical Tubes Fitting Seal Material
(Weight-Temp %, Temp “C) |yrethane| Nylon |Polyolefin| Fluoride | Brass | SUS304| SUS316| POM | PBT | PP NBR | EPDM| KFM
Caustic (10% 207C) x| Ol O|O| a|l a|lO]O| A O O] O] O
Caustic (30% 217C) x| O] O] O - - -] O] x O i
Caustic (30% 70°C) < | X s | O - - -] O] x A - i
Gasoline Ojlo || O] O] O]O| O] O0O| & 0O xX| O
Air ojloj]o0|] O] Ol ©OlO|l O] O O O O| O
Sodium perborate -1 O] O| O X -1 O] O] 0] O O] O] 0O
Sodium peroxde — | X O | O X - O - -0 O O] 0
Hydrogen peroxide
(5%, 20°C) O] © | O| O x| O] O] O O] O - - | -
?;gjo/;o!g: OHOCK;GFOXide VAN A O O X O] O A O O - - -
l(—|3>;do/zo’g: Onocp;eroxid ° x| % O | O x| O] O x| O] O = — | =
Perchioric acid x | X O | O x x x x| O] O =] 0|0
Grease O] O | 2a| O Ol O] ©| O] O | & O] x| O
Sodium silicate Ol 0| 0| 0 A -1 O] O O] O O| O] O
Glycerin Ojlo|]o || O0O|©O|O|O|] OO O|O0]|O0O
Naphtha 61O |6 O a0 |0 |0 | 0| a A X 1O
Naphthaline A |lO | o |O| a| —|a |O| OO X X | O
Nitropropane - |- 10 |0 - - 10 - O - | - -
Kerosene O] O |2 | O © |0 | O O | A O| x | O
Dichloro benzene X | A X O - = | & A i -
Linoleic acid - |l a | a | O - - - 10 - | & O] x | O
Maleic acid s O | O | O - A A = - | O - | a | O
Cottonseed oil o]0 | O | o A O | O - | O O| 0|0
Methane O] O |0 | O O -2 |0 (O @) O| x | O
Methyl alcohol (Methanal) A | O | O | O O & | O | O O | O O | O | A
Methyl ethyl ketone (MEK) x | O | O O (@) O O O | O X O | x
Methyt is obutyl ketone (MIBK) x | O | O O A - | & O O | O X A X
Monoethanolamine - 1O | & | O - - | A& | O - | O x| O | X
Monochl orobe nzene X | X X O - - - 10O - | X X X | O
Chloroacstic acid x x x O - ol A VAR I S = | = =

— 142 —

Chemical Tubes Fitting Seal Material

(Weight-Temp %, Temp °C) |rethane| Nylon |Polyolefin| Fluoride | Brass | SUS304 | SUS316| POM | PBT | PP | NBR | EPDM| KFM
Hydroflu oric acid Anhydride X X X O X — X X — X - O -
Acetic Anhydride X X A O X Ol O X = A A O X
Water(24°C) ol ool o O] O] O] ©|] O] 0O O] O
Water(100C) Al Al A O] X| OO & x| & = || =
Sea Water Ol O 0| 0O Al O O] O] O O] — - -
Bunker oil - O] O — A - O - - O] O] - O
Benzene(Benzol) x| O] X O x| a| a] O O & X X O
Butane ©o|l o0 aa|]O] Ol O]l O O] O] O| O] x O
fluorine X = X X X X A X — X A O
B orax O] O] ©O| O X -1 0| -| -] O] O| O] O
Boric acid o] | 0| O o] o] 0] O] O0|lOo| O 0| 0O
Amy| borate — - AN O - - - O = A O X O
Bromine X X X O x - X X X Jay = - | O
Arsenic acid - a| O] O AL O O — - | O - - -
Carbon tetrachloride X JaN X O A A A O O A A X O
Oxygen ojloj]o0o|j]0o] © O] O O] O] O] ©O|] O] O
Petroleum O] O X @] - - | - O| O x O | X O
Salt Water - O] O O X A A o O] O — — —
Soda Water O] O O] O - - | - O| O O| - - -
Soda ash—Sodum carbonate ©olo|]o|] O] Ol 2| 22| O] O] O] O] O] O
Pine oil - | x| O] O| & - O] O] O] x O
Oxalic acid Al O|lO|O| & & & X O|O| O| O] O
Ethyl oxalate X O X O = = O O X X O (@)
Magnesium hydroxide A @) @) @) A = A @) X O O @) ©
Barnum hydroxide O O (@) X (@) O A O O O (@)
Ammonium hydroxide YN O | O O X A O O X O X O O
Potassium hydroxide Al A O (@) Al A A © x O O | O O
Calcium hydroxide A O O (@) Al A A © X O O | O O
Hydroge n ojlojlo|]oOo| o) O] O O] O] O] O] O] O
Marcury O | O O X A = — (@) O | O O
Steam (1507C) X X X O O - O A A X X O X
Steam (150C) x| x| x| O - = - X X | A x | O] X
Vegetable oil - O | O O — — Ol O] O O | O O
Salt Water Olo| O] O] 2| &a| & O] O| O - - | -
Slicone greases -1 Ol & | O - = - Ol 0o o O O O
Silicone all - O] & | O - - | - Ol o | O O O
Glue - O O O AN - - - O - - -
Aniline X x x O x| a O] O| & x| O &

— 143 —




Chemical Tubes Fitting Seal Material

(Weight-Temp %, Temp °C) |yrethane| Nylon |Polyolefin| Fuoride | Brass | SUS304 | SUS316| POM | PBT | PP | NBR | EPDM | KFM
Amyl naphtalene = = A O = = = O | O PaN X X O
Amy! alcoh ol O] O | O] O O Al O]lO] O] O] O] O
Acetone x| O | A O O O] O] O VAN x O | x
Acetamide = | = A O - - - O] O A | O] O
Acetaldehyde Ol O A O O O| © O | O O X O X
Acetylence O | O O O X O| © O | O @) O] O] O
Sulfurous acid X X O | O X AA X O] O O] O] O
Sulfurous acid gas X X A O — - O A O O Ol O] O
Sodium sulfite - | A O | O Ol OO | o] O| O] = - -
Amm onia -1 O] O| O Al O] O O & O| O] O] x
Amm onia gas X | A AN O X Ol O O | A A O | O X
Ammonia gas X X X O X O O O X X O | O -
Licuid AMmonia -] O] O] O |l O] | O & o | - — —
Chlorine Liquide X X X O - - | - X O X — — —
Liquefied petroleum gas _ O A O o) ol o o) o) A o 3 o
(LPG)
Ethanolamine - | A A O — - - O A A O] O X
Ethylene glycol (@) O O © AN AN AN O O O (@) (@) (@)
Ethyl cellulose = = O © = = AN O O O = O X
Ethy alc ohol(Ethanol) A O O O O O| O O | O O O] O] O
Lye solution - O O O — — — O | O O O] O] O
Hydrochloric acid A O o o % % % >< O o) . . .
(10%, 20C)
Hydrochloric acid 5% 5% O S . . . . A O . . _
(20%, 20C)
Hydrochloric acid 5% S% 5% O 5% 5% 5% 5% 5% 5% 52 A o
(20%, 80°C)
Hydrochloric acid 52 52 O o 5 5 " " A O O o o
(38%, 20C)
Magne sium ¢ hloride O | O @) @) A A O @) O @) © © ©
Methyle chloride X AN X O O O| O @) - X X A ©
Barium chloride O] 0| 0| O X -1 O - O] O O] O] O
Zinc chloride O | O O O X A O X O O O] O] O
Acetyl chloride X X X = = = AN X = X = = (@)
Aluminum chloride - | A O O X X X - O O O] O] O
Ammounium chloride O O O O X Al A O | O O O] O] O
Etyle chloride X @) X — O O| O O — X O] O] O
Sulfur chloride - = Ja\ O X - | A = JaN JaN x O
Kalium chloride O] O | O] O JaN O] o]0 O] O| O| O
Calcium chloride Al O O O O PN Ol O] O O] O| O
Ozone Al O & O O O| aAa] 0| | O O| O

— 144 —

Chemical Tubes Fitting Seal Material

(Weight-Temp %, Temp °C) |urethane| Nylon |Polyolefin| Fluoride | Brass | SUS304 | SUS316| POM | PBT | PP | NBR | EPDM| KFM
Oleic acod Al Ol &l O| & &l a] &a] OO 2] O] O
Olive oil O|lOoO|lO|lO| 2] O] O] O O] O O] O
Uric acid x| O| — O - - | - Ol O - -
Aqgua acid X X X O — - = X = A - A O
Lactic acid - O| O| O X| Ao o O O] O] O] O] O
Sulfur VAN O O O X O O O - O X O O
Lubricating ol (Pertrodeum base) | © | O X O O| O] O O| O X O X O
Lubricating oil (Easter base) x O X O O| O] O O | O X — — —
Iscoctane &A1 Ol x| O O] O] O] O] O % O | x O
isopropyl alchol -l 20 0| O] O] O] O] O] O x| ©| O
isopropyl ether - | &l o O O] O] O] O] O] O X X
Carbon disulfide X O X O O O O O - X A X O
Phenyle disulfide P O | - O - - - - - - - - -
Carbon monoxide ©] ©O| ©O| O © o] o] 0] ©O|O| O 0| O
Gelatin ojloj]o0o|] O] ©L 0O O] O] O] O] O| O
Heavy water o] ©O| O| O - - | - O| O| O| — - -
Soap soultions Ol O | O o o] o] 0] OO O O O
Sodium nitrate O] ©O| O O O O O O] O] O Ol O —
Aluminum nitric A O O] O - A O O O] O O] =
Ammonium nitric O] ©| ©O| O x O]l Ol 0| | 0| -
Kalium nitric Ol O0O|lO|O| 2| &a| 2] O]l Ol O O| O| O
Calcium nitric - O] O] © - - | - O]l oo O 0| 0O
Nitroge n ojoj]o0|]0o0] O 0|0 O] O] O] O] O| O
Natural gas = O O O (@) (@) (@) O O O O X O
Acetic acid (10%, 207C) X | o | O| O x| Ol O] 2| O] O O] x O
Acetic acid (50%, 20C) X x| O] O x| O] O x| O] O] — - | -
Acstic acid (50%, 707C) X X X O x| O] O X A X - - -
Acstic acid (100%, 207C) X X X O X A A X A X = = =
Lead acetate - O] O] O —| & | — -1 0] O] O] O] O
Nickel acetate -] O] O] O — - | A — Ol o0 | O] O X
Zinc acetate - O] O] O - - | - O] 0| O O| O x
Aluminum acetate - O] O] O - - O] | O| O| O
Calcium acetate o] O O] O Al —| &a| Ol O] O] O] O X
Cresol X | X &8O Ol 24O &4 O O] & x| O
Chlorosulfonic acid — X X O A X X X O | x X X JaN
Chloroacetons - | - X — — — — — — X X O X
Chlorotoluene — X X O — — — O] O X X X O
Chloroform x| O] X O O] O] O] &a| & X X X O




Chemical Tubes Fitting Seal Material

(Weight-Temp %, Temp °C) |yrethane| Nylon |Polyolefin| Fuoride | Brass | SUS304 | SUS316| POM | PBT | PP | NBR | EPDM | KFM
Soybeanoil = O O © AN O O O O O (@) JAN (@)
Tannic acid Al O| O| O X oA O - O] O] O O
Tar O | O O O A O | O — - O O X O
Carbonic acid Al O| O| O O| a| A — - O] O] O O
Carbon dioxide Ol O O O O O] O O | O O — — —
Sodium carbonate O] O O| O Ol oa|la| O O O] — i
Asmmonium carbonate -1 O] O O - 2| & O O O x| O —
Tolue ne Al O o] O Ol O] O] O & A x x | O
Triacetin - =1 0O - - - | - - - O O ©] X%
Phenol x| x| O]|]O| O] O|lO| x| O| O —-—| O] O
Glucose ojloj]o|]0O0O|] O] O]O| O|O| O| O O] O
Freon 11 - O | — O O]l O]l O | O| O -] O] x| O
Freon 12 - O | — O O]l O]l O | O| O -] ©] O] O
Freon 21 - O | — O O]l O]l O | O| O - x x X
Freon 21 - O] = O] O] O] ©O| O] O - x| O %
Freon 113 - O | — O O]l O]l O | O| O -] O] x| O
Freon 114 - O | — O O]l O]l O | O| O -1 ©] O] O
Propane O] O | O] O ©l 00| 0] O] O] O] x| O
Propylene - O = O O| O| O O | O — X X @)
Castor al A1 Ol O] O O] OO OO O] O] O] O
Hexane O| O x (@) Ol 0|l O] 0O0] 0| &a] O] x| O
Sulfuric acid (10%, 20C) x| O| O| O X X | % x| O] O] x| O| O
Sulfuric acid (10%, 70°C) x | X A O x x x X X A = = | =
Sulfuric acid (30%, 20%C) x | X O | O x x X X Al O = i
Sulfuric acid (30%, 70°C) X e A O X X X % % A = = —
Sulfuric acid (98%, 207C) x X X O X X X X X X - - -
Sulfuric acid (, 70 C) x| % x O x x x x x x - - | -
Sodium sulfate ©|l 0| 0| O Ol O] O] O O] O| O| O
Nickel sulfate -1 O] O| O - | O -1 0] O] O] O| O
Copper sulfate ©|l 0| 0| O Ol O] O] O O] O| O| O
Magnesium sulfate O | O O © Ol O| © — O O O O] O
Metyl sulfate X A X © — — — — O X - - -
Barium suliate x| O| O| O Al O] O -1 0] O] O] O| O
Aluminium sulfate -1 O0O| O O x| O]l Ol o 0| o0 O O] O
Ammonium sulfate ©|] ©O| O| O Al Al A OO O O O -
Lead sulfate O] O | O] O A A - O] O| - - -
Sodium sulfate O] O] O] O X| a|la | OO0 O O O] O
Barium sulfate -1 O] O| O - -1 O] O O] O| O] O] O
Zinc sulfate Al X O | O Al O] O] O O| O — i
Calcium sulfate -1 O] O| O - - 2] O O] O O] O] O

— 146 —



	07_April_Pneumatic(metric)
	07_April_Pneumatic(inch)

